SUB HEAD : 9.0 WOOD WORK & PVC WORK

SUB HEAD : 9.0 WOOD & PVC WORK

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.1	Providing wood work in frames of doors, window	vs, cleresto	ory window	s and othe	r frames,
	wrought framed and fixed in position with hold fa	ast lugs or	with dash	fasteners o	t required
	dia & length (hold fast lugs or dash fastener sha	III be paid t	for separate	ely).	
9.1.1	Second class teak wood				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	MATERIAL:				
	Superior class teakwood such as Dandeli	•			
	Balarshah or Malabar				
	2x206.75x9.5x7.0cm =0.028cum+				
	$1 \times 117.5 \times 9.5 \times 7.0 \text{cm} = 0.008 \text{cum.} = 0.036 \text{cum}.$				
	Add for wastage @ 5%=0.002 cum.				
	Grand Total = 0.038cum = 38 cudm				
1189	Second class teak wood in scantling	10 cudm	38.00	776.00	2948.80
2204	Carriage of timber	cum	0.038	187.35	7.12
	LABOUR:				
156	Carpenter (average)	day	0.72	369.00	265.68
114	Beldar	day	0.07	306.00	21.42
	TOTAL				3243.02
	Add Water Charges @ 1%				32.43
	TOTAL				3275.45
	Add GST 12% on "X"(multiplying factor 0.1405)				460.20
	Total Add CPOH @ 15%				3735.65 560.35
	Cost of 0.036 cum				4296.00
	Cost of 1 cum				119333.27
	labour cess @1%				1193.33
	Rate including labour cess				120526.60
	,	Say Rs.	120526.60	per cum	120320.00
9.1.2	Sal wood				
J. 1.L	Details of cost for chowkhat of a door				
	206.75x117.5cm				
•	MATERIAL:				
	Salwood				
	2x206.75x9.5x7.0cm =0.028cum+				
	1x117.50x9.5 x 7.0cm = 0.008cum.				
	= 0.036cum.				
	Add for wastage @ 5% = 0.002cum.				
	Grand Total = 0.038cum = 38 cudm				
1199	Sal wood in scantling	10 cudm	38.00	600.00	0000.00
2204	Carriage of timber	cum	0.04	187.35	2280.00
2204	LABOUR:	Culli	0.04	107.33	7.12
0156	Carpenter (average)	day	0.72	260.00	00
)114	Beldar *	day day	0.72	369.00	265.68
7114	TOTAL	uay	0.07	306.00	21.42
					2574.22
	Add Water Charges @ 1%				25.74
	TOTAL	1	7		2599.96

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add CPOH @ 15%				444.79
	Cost of 0.036 cum				3410.04
	Cost of 1 cum				94723.46
	labour cess @1%				947.23
	Rate including labour cess				95670.69
		Say Rs.	95670.70	per cum	
9.1.3	Kiln seasoned and chemically treated Hollock wood				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	MATERIAL:				
	Hollock wood				
	2x206.75x9.5x7.0cm =0.028cum+				
	1x117.50 x9.5x7.0cm = 0.008cum.				
	= 0.036cum,+				
	Add for wastage @ 5% = 0.002cum.				
	Grand Total = 0.038cum = 38 cudm				
2466	Hollock wood in scantling	10 cudm	38.00	357.00	1356.60
2204	Carriage of timber	cum	0.04	187.35	7.12
2504	Kiln seasoning of timber	cum	0.04	772.00	29.34
9999	Chemical treatment	L.S.	8.97	2.12	19.02
	LABOUR:	2.0.	0.01	2.12	10.02
0156	Carpenter (average)	day	0.72	369.00	265.68
0114	Beldar	day	0.07	306.00	21.42
	TOTAL	20,	0.01	000.00	1699.1
	Add Water Charges @ 1%				16.9
	TOTAL				1716.1
	Add GST 12% on "X"(multiplying factor 0.1405)				241.1
	Total				1957.2
	Add CPOH @ 15%				293.5
	Cost of 0.036 cum				2250.8
	Cost of 1 cum				62524.3
	labour cess @1%				
	Rate including labour cess				625.2 63149.6
	•	Say Rs.	63149.60	per cum	00143.0
9.1.4	Local wood				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	MATERIAL:				
	Local wood				
	2x206.75x9.5x7.0cm =0.028cum+				
	1x117.50x9.5 x 7.0cm = 0.008cum.				
	= 0.036cum.				
	Add for wastage @ $5\% = 0.002$ cum.				
	Grand Total = 0.038cum = 38 cudm				
1195	Local wood in scantling	10 cudm	38.00	309.39	1175.6
2204	Carriage of timber	cum	0.04	187.35	7.1
	LABOUR:		3.01	107.00	4.0
0156	Carpenter (average)	day	0.72	369.00	265.6
		uuy	0.12	JU3.UU	200.0
0114	Beldar	day	0.07	306.00	21.4

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL				1469.9
	Add Water Charges @ 1%				14.7
	TOTAL				1484.6
	Add GST 12% on "X"(multiplying factor 0.1405)				208.5
	Total				1693.1
	Add CPOH @ 15%				253.9
	Cost of 0.036 cum				1947.1
	Cost of 1 cum				54088.0
	labour cess @1%				540.8
	Rate including labour cess				54628.9
		Say Rs.	54628.90	per cum	
9.2	Providing laminated veneer lumber conforming to				
	IS:14616 and TAD -15: 2001(Part B) in factory made				
	frames of doors, windows, clerestory windows and				
	other frames, wrought framed and fixing in position				
	with hold fast lugs or with dash fasteners of required				
	dia & length (hold fast lugs or dash fastener shall be				
	paid for separately).				
	1				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	MATERIAL:				
	Laminated veneer lumber including wastage @ 5%				
	2x206.75x9.5x7.0cm =0.028cum				
	1x117.50x9.5x 7.0cm = 0.008cum.				
	= 0.036cum.				
	Add for wastage @ 5% = 0.002cum.				
	Grand Total = 0.038cum = 38 cudm				
7157	Laminated veneer lumber confirming to TADS 15:1995 manufactured in factory in frames of doors, windows				
0004		10 cudm	38.00	700.00	2660.00
2204	Carriage of timber	cum	0.04	187.35	7.12
	LABOUR:				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
0111	Carpenter 1 st class	day	0.20	413.00	82.60
1142	Carpenter 2nd class	day	0.20	369.00	73.80
0114	Beldar	day	0.20	306.00	61.20
	TOTAL				2884.72
	Add Water Charges @ 1%				28.85
	TOTAL				2913.57
	Add GST 12% on "X"(multiplying factor 0.1405)				409.36
	Total				3322.92
	Add CPOH @ 15%				
	Cost of 0.036 cum				498.44
	Cost of 1 cum				3821.36
	labour cess @1%				106148.92
	Rate including labour cess				1061.49
	· · · · · · · · · · · · · · · · · · ·	Say Rs.	107210.40	per cum	107210.41
9.3	Providing wood work in frames of false ceiling,				
	partitions etc. sawn and fixed in position:				
	By 391 Q	/ A	~		

1199 S 2204 C 0112 C 0114 E	Sal wood Details of cost for ceiling for a room 3x3m MATERIAL: Salwood= 6x3.30x(50/1000)x(125/1000)= 0.1238 cum. +Cross battens 60mm centre to center 38x50mm. 6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc. TOTAL Add Water Charges @ 1%	10 cudm cum day day	166.00 0.17 1.00	600.00 187.35	9960.00 31.10
1199 S 2204 C 0112 C	MATERIAL: Salwood= 6x3.30x(50/1000)x(125/1000)= 0.1238 cum. +Cross battens 60mm centre to center 38x50mm. 6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C	MATERIAL: Salwood= 6x3.30x(50/1000)x(125/1000)= 0.1238 cum. +Cross battens 60mm centre to center 38x50mm. 6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C	+Cross battens 60mm centre to center 38x50mm. 6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C	+Cross battens 60mm centre to center 38x50mm. 6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C	6x3x(38/1000)x(50/1000)=0.0342cum.= 0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C	0.1580 cum.+ Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C 0114 E	Add for wastage @ 5% = 0.0079 cum.= 0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C 0114 E	0.1659 cum. say 166 cudm Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc.	cum day day	0.17 1.00		7.5
1199 S 2204 C 0112 C 0114 E	Sal wood in scantling Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc. TOTAL	cum day day	0.17 1.00		7.5
2204 C 0112 C 0114 E	Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries and screws etc. TOTAL	cum day day	0.17 1.00		7.5
0112 C 0114 E	LABOUR: Carpenter 2nd class Beldar Sundries and screws etc. TOTAL	day day	1.00	187.35	31.10
0112 C	Carpenter 2nd class Beldar Sundries and screws etc. TOTAL	day			
0114 E	Beldar Sundries and screws etc. TOTAL	day			
	Sundries and screws etc. TOTAL			369.00	369.00
9999 (TOTAL	1.0	1.00	306.00	306.00
		L.S.	53.82	2.12	114.10
	Add Water Charges @ 1%				10780.20
					107.80
	TOTAL				10888.00 (
	Add GST 12% on "X"(multiplying factor 0.1405)				1529.76
	Total				12417.76 (
	Add CPOH @ 15%				1862.66
	Cost of 0.158 cum				14280.43
	Cost of 1 cum				90382.46
	labour cess @1%				903.82
	Rate including labour cess				91286.29
		Say Rs.	91286.30	per cum	
9.3.2 K	Kiln seasoned and chemically treated hollock wood				
	Details of cost for ceiling for a room 3x3m				
	MATERIAL:				
	Hollock wood				
	= 6x3.30x(50/1000)x(125/1000)=0.1238 cum.				
	+Cross battens 60mm centre to center				
	38x50mm.				
	6x3 x (38/1000)x(50/1000)=0.0342cum.				
	= 0.1580 cum.+				
	Add for wastage @ 5% = 0.0079 cum.				
	= 0.1659 cum. say 166 cudm				
	Hollock wood in scantling	10 cudm	166.00	357.00	5926.20
	Carriage of timber	cum	0.17	187.35	31.10
	Kiln seasoning of timber	cum	0.17	772.00	128.15
	Chemical treatment	L.S.	18.20	2.12	38.58
	LABOUR:				
	Carpenter 2nd class	day	1.00	369.00	369.00
0114 B	Beldar	day	1.00	306.00	306.00
9999 S	Sundries screws etc.	L.S.	53.82	2.12	114.10
	TOTAL		50.02	2.12	6913.13
	Add Water Charges @ 1%				69.13
	TOTAL				6982.27
D/SOR_11"	0 4 1	^	A-	_ /	1 - 6902.27

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add GST 12% on "X"(multiplying factor 0.1405)				981.01
	Total				7963.27
	Add CPOH @ 15%				1194.49
	Cost of 0.158 cum				9157.77
	Cost of 1 cum				57960.54
	labour cess @1%				579.61
	Rate including labour cess				58540.15
	,,	Say Rs.	58540.10	per cum	500.10
		cuj no.	000,0,,0	por cum	
9.4	Extra for additional labour for cirular works, such as in				
	frames of fan light.				
9.4.1	Second class teak wood				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	Extra Materials and labour for wastage @				
	10% on quantity of item no 9.1.1				
	MATERIAL:				
189	Second class teak wood in scantling	10 cudm	3.80	776.00	294.88
204	Carriage of timber	cum	0.004	187.35	0.75
	LABOUR:		0.001	107.00	0.73
156	Carpenter (average)	day	0.07	369.00	26.57
114	Beldar	day	0.01	306.00	20.37
	TOTAL	,	0.01	000.00	324.34
	Add Water Charges @ 1%				3.24
	TOTAL				327.58
	Add GST 12% on "X"(multiplying factor 0.1405)				46.03
	Total				373.61
	Add CPOH @ 15%				56.04
	Cost of 0.036 cum				429.65
	Cost of 1 cum				
	labour cess @1%				11934.71
	Rate including labour cess				119.35 12054.05
		Say Rs.	12054.10	per cum	12034.05
				per cuiti	
.4.2	Sal wood				
*-	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	Extra Materials and labour for wastage				
	@10% on quantity of item no 9.1.2				
	MATERIAL:				
199	Sal wood in scantling	10 cudm	3.80	600.00	228.00
204	Carriage of timber	cum	0.004	187.35	0.71
	LABOUR:			101.00	0.71
156	Carpenter (average)	day	0.07	369.00	20.57
114	Beldar	day	0.01	306.00	26.57
	TOTAL	uny	0.01	300.00	2.14
	Add Water Charges @ 1%				257.42
	TOTAL				2.57
	Add GST 12% on "X"(multiplying factor 0.1405)				260.00
	Total				36.53
	Add CPOH @ 15%				296.53 44.48

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
110	Cost of 0.036 cum				341.00
	Cost of 1 cum				9472.35
	labour cess @1%				94.72
	Rate including labour cess				9567.07
		Say Rs.	9567.10	per cum	
9.4.3	Kiln seasoned and chemically treated hollock wood				
	Details of cost for chowkhat of a door				
	206.75x117.5cm				
	Extra Materials and labour for wastage				
	@10% on quantity of item no 9.1.3				
	MATERIAL:				
2466	Hollock wood in scantling	10 cudm	3.80	357.00	135.66
2204	Carriage of timber	cum	0.004	187.35	0.71
2504	Kiln seasoning of timber	cum	0.004	772.00	2.93
9999	Chemical treatment	L.S.	0.90	2.12	1.91
	LABOUR:				
0156	Carpenter (average)	day	0.07	369.00	26.57
0114	Beldar	day	0.007	306.00	2.14
	; TOTAL				169.92
	Add Water Charges @ 1%				1.70
	TOTAL				171.62 (X
	Add GST 12% on "X"(multiplying factor 0.1405)				24.11
	Total				195.74 (Y
	Add CPOH @ 15%				29.36
	Cost of 0.036 cum				225,10
	Cost of 1 cum				6252.67
	labour cess @1%				62.53
	Rate including labour cess				6315.20
		Say Rs.	6315.20	per cum	

9.5 Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows, including ISI marked M.S. pressed butt hinges bright finished of required size with necessery screws, excluding panelling which will be paid for separately, all complete as per direction of Engineerincharge.

9.5.1 Second class teak wood

9.5.1.1 35 mm thick shutters

Details of cost for shutters of a Door (I/3rd glazed and 2/3rd panelled) 200xl08cm = 2.16sqm)

MATERIAL:

Teak wood

Styles 4x200x10.0x3.5cm = 0.028 cum +

Rails

Top rails1x110.5x3.5cm = 0.004cum.+

Bottom rails 1x110.5x20x3.5cm = 0.008cum+

Lock rails $1x110.5x15 \times 3.5cm = 0.006cum +$

Beading 2x186. 1x1. 9x1.2cm = 0.001cum.

Total = 0.047 cum+

Add for wastage @ 10% = 0.005cum

Grand Total = 0.051 cum = 51 cudm

Second class teak wood in planks

394 2 By @m

4034.10

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
2204	Carriage of timber	cum	0.05	187.35	9.55
0595	Bright finished or black enameled mild steel butt				
0000	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt	101100			
0001	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws	10 1103	2.00	70.00	
0007	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	100 1103	40.00		
0,040	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:	1001103	0.00	00.00	
0156	Carpenter (average)	day	1.83	369.00	675.27
0114	Beldar	day	0.76	306.00	232.56
9999	Sundries	L.S.	35.88	2.12	76.07
3333	TOTAL	L.S.	33.00	2.12	5116.95
	Add Water Charges @ 1%				51.17
	Add Water Charges @ 1% TOTAL				5168.12
	Add GST 12% on "X"(multiplying factor 0.1405)				726.12
	Total				5894.24
	Add CPOH @ 15%				884.14
	Cost of 2.16 sqm				6778.38
	Cost of 1 sqm				3138.14
	labour cess @1%				
	Rate including labour cess				31.38 3169.52
	Nate including labour coss	Say Rs.	3169.50	per sqm	3 109.52
.5.1.2	30 mm thick shutters				
	Details of cost for shutters of a Door (I/3rd glazed and				
	2/3rd panelled) 200x108cm = 2.16 sqm				
	MATERIAL:				
	Teak wood				
	Styles : 4x200x10.0x3.0cm = 0.024 cum +				
	Top rails: 1x110.5x9.5x3.0cm=0.003cum+				
	Bottom rails: 1x110.5x19.7x3.0cm =0.007cum+				
	DOMONITANS, 1X110.3X19.7X3.0CM =0.007CMM+				
	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+				
	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. +				
	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum.				
1190	Lockrails: 1x110.5 x15.0x3.0cm = 0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm	10 cudm	44.00	791.00	2400 40
1190 2204	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks	10 cudm	44.00	791.00	3480.40
2204	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber	10 cudm cum	44.00 0.04	791.00 187.35	3480.40 8.24
	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt	cum	0.04	187.35	8.24
2204 0595	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm				
2204	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt	cum 10 Nos	0.04 6.00	187.35 80.00	8.24 48.00
2204 0595 0597	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm	cum	0.04	187.35	8.24
2204 0595 0597	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm Bright finished or black enameled mild steel	cum 10 Nos 10 Nos	0.046.002.00	187.35 80.00 49.00	8.24 48.00 9.80
2204 0595 0597 0637	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm Bright finished or black enameled mild steel screws 40 mm	cum 10 Nos	0.04 6.00	187.35 80.00	8.24 48.00
2204 0595 0597 0637	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm Bright finished or black enameled mild steel screws 40 mm Bright finished or black enameled mild steel	cum 10 Nos 10 Nos 10 Nos	0.04 6.00 2.00 48.00	187.35 80.00 49.00 60.00	8.24 48.00 9.80 28.80
2204 0595	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm Bright finished or black enameled mild steel screws 40 mm Bright finished or black enameled mild steel screws 40 mm	cum 10 Nos 10 Nos	0.046.002.00	187.35 80.00 49.00	8.24 48.00 9.80
2204 0595 0597 0637	Lockrails: 1x110.5 x15.0x3.0cm =0.005 cum+ Beading: 2x186.lxl.9x1.2cm = 0.001 cum. Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. Grand Total = 0.044 cum = 44 cudm Second class teak wood in planks Carriage of timber Bright finished or black enameled mild steel butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt hinges 50x37x1.50 mm Bright finished or black enameled mild steel screws 40 mm Bright finished or black enameled mild steel	cum 10 Nos 10 Nos 10 Nos	0.04 6.00 2.00 48.00	187.35 80.00 49.00 60.00	8.24 48.00 9.80 28.80

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0114	Beldar	day	0.76	306.00	232.56
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				4561.94
	Add Water Charges @ 1%				45.62
	TOTAL				4607.56 (>
	Add GST 12% on "X"(multiplying factor 0.1405)				647.36
	Total				5254.92 (\
	Add CPOH @ 15%				788.24
	Cost of 2.16 sqm				6043.16
	Cost of 1 sqm				2797.76
	labour cess @1%				27.98 2825.74
	Rate including labour cess	Say Rs.	2825.70	per sqm	2023.74
0.5.0					
9.5.2 9.5.2.1	Kiln seasoned and chemically treated hollock wood				
9.5.2.1	35 mm thick shutters Details of cost for shutters of a door (I/3rd				
	glazed and 2/3rd panelled) 200x108cm =				
	2.16 sqm				
	MATERIAL:				
	Hollock wood				
	Styles 4x200x10.0x3.5cm = 0.028cum +				
	Rails				
	Top rails 1x110.5x10.0x3.5cm=0.004cum.+				
	Bottom rails $1x110.5x20.0x3.5cm = 0.008cum +$				
	Lock rails 1 x 110.5x15.00x3.5cm = 0.006cum+				
	Beading 2xl86.1x1.9 x 1.2cm = 0.001cum.				
	Total = 0.047 cum+				
	Add for wastage				
	@ 10% = 0.005cum				
2505	Grand Total = 0.051 cum = 51 cudm Hollock wood in planks	10 cudm	51.00	402.00	2050 20
2204	Carriage of timber	cum	0.05	187.35	2050.20 9.55
2504	Kiln seasoning of timber	cum	0.05	772.00	39.37
9999	Chemical treatment	L.S.	9.10	2.12	19.29
0595	Bright finished or black enameled mild steel butt	-,,,,	0.,0	22	10.20
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel				
	screws 40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel				
	screws 20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:				
0156	Carpenter (average)	day	1.83	369.00	675.27
0114	Beldar	day	0.76	306.00	232.56
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				3191.71
	Add Water Charges @ 1%				31.92
	TOTAL				3223.63 (
	Add GST 12% on "X"(multiplying factor 0.1405)			/ ^	452.92
	11 th Edition_2022				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
.,,	Total				3676.55
	Add CPOH @ 15%				551.48
	Cost of 2.16 sqm				4228.03
	Cost of 1 sqm				1957.42
	labour cess @1%				19.57
	Rate including labour cess				1977.00
	Nate metading labour 0033	Say Rs.	1977.00	per sqm	**
		Ouy No.	1011100	por og	
9.5.2.2	30 mm thick shutters				
J.U.L.E	Details of cost for shutters of a door (I/3rd				
	glazed and 2/3rd panelled) 200xI08cm =				
	2.16sqm				
	MATERIAL:				
	Hollock wood				
	Styles 4x200xl0.0x3.0cm = 0.024 cum +				
	Rails				
	Top rails 1x110.5x9.50x3.0cm = 0.003cum.+				
	Lock rails 1x110.5x15.0x3.0cm = 0.005cum+				
	Bottom rails 1 x 110.5xl9.7x3.0cm = 0.007cum+				
	Beading 2x186.1 x 1.9x1.2cm = 0.001cum Total = 0.040 cum.+				
	Add for wastage @ 10% = 0.004cum				
2505	Grand Total = 0.044 cum or = 44 cudm	40	44.00		
2204	Hollock wood in planks	10 cudm	44.00	402.00	1768.80
2504	Carriage of timber	cum	0.04	187.35	8.24
9999	Kiln seasoning of timber	cum	0.04	772.00	33.97
0595	Chemical treatment	L.S.	9.10	2.12	19.29
0333	Bright finished or black enameled mild steel butt				
0597	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0397	Bright finished or black enameled mild steel butt				
0637	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0037	Bright finished or black enameled mild steel				
0040	screws 40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel			- •	
	screws 20 mm	100 Nos	8.00	35.00	2.80
0456	LABOUR:				
0156	Carpenter (average)	day	1.83	369.00	675.27
0114	Beldar	day	0.76	306.00	232.56
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				2903.60
	Add Water Charges @ 1%				29.04
	TOTAL				2932.63
	Add GST 12% on "X"(multiplying factor 0.1405)				412.04
	Total				3344.67
	Add CPOH @ 15%				501.70
	Cost of 2.16 sqm				3846.37
	Cost of 1 sqm				1780.73
	labour cess @1%				17.81
	Rate including labour cess				1798.53

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.5.3	Kiln seasoned selected planks of sheesham wood				
9.5.3.1	35 mm thick shutters				
	Details of cost for Details of cost for shutters				
	of a door (1/3rd glazed and 2/3rd panelled)				
	200x108cm = 2.16 sqm				
	Sheesham wood				
	Styles 4x200x10.0x3.5cm = 0.028cum +				
	Rails				
	Top rails $1x110.5x10.0x3.5cm = 0.004cum$.				
	Lock rails $1x110.5x15.0x3.5cm = 0.006cum+$				
	Beading 2x86.1 x 1.9x1.2cm = 0.001 cum				
	Total = 0.047 cum.+				
	Add for wastage @ 10% = 0.005cum				
	Grand Total = 0.051 cum or = 51 cudm				
1200	Kiln seasoned selected sheesham wood planks	10 cudm	51.00	650.00	3315.00
2204	Carriage of timber	cum	0.05	187.35	9.55
2504	Kiln seasoning of timber	cum	0.05	772.00	39.37
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
0007	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel				
0040	screws 40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel				
	screws 20 mm	100 Nos	8.00	35.00	2.80
0156	LABOUR:				
0114	Carpenter (average) Beldar	day	1.83	369.00	675.27
9999	Carriage	day	0.76	306.00	232.56
3333		L.S.	35.88	2.12	76.07
	TOTAL				4437.22
	Add Water Charges @ 1% TOTAL				44.37
	Add GST 12% on "X"(multiplying factor 0.1405)				4481.59 629.66
	Total				
	Add CPOH @ 15%				5111.26
ė	Cost of 2.16 sqm				766.69
	Cost of 1 sqm				5877.95 2721.27
	labour cess @1%				
	Rate including labour cess				27.21 2748.48
	•	Say Rs.	2748.50	per sqm	2740.40
9.5.3.2	30 mm thick shutters				
-	Details of cost for shutters of a door (1/3rd				
	glazed and 2/3rd panelled) 200x108cm =				
	2.16sqm				
	Sheesham wood				
	Styles 4x200x10.0x3.5cm = 0.028cum+				
	Rails				
	Top rails 1x110.5x10.0x3.5cm = 0.004cum.+				
	Lock rails 1x110.5x15.0x3.5cm = 0.006cum+				
	Beading 2x186.1x1.9x1.2cm = 0.001 cum.				
	0 4 1	•	α	/ A	a
D/SOR_	11th Edition_2022	· B1	- Com-	0//	1

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total = 0.047 cum.+				
	Add for wastage @ 10% = 0.005cum				
	Grand Total=0.051 cum or = 51 cudm	401	44.00	050.00	2860.00
1200	Kiln seasoned selected sheesham wood planks	10 cudm	44.00	650.00	8.24
2204	Carriage of timber	cum	0.04	187.35	33.97
2504	Kiln seasoning of timber	cum	0.04	772.00	33.57
0596	Bright finished or black enameled mild steel butt hinges 75x47x1.70 mm	10 Nos	6.00	56.00	33.60
0637	Bright finished or black enameled mild steel	10 1005	0.00	30.00	33.00
0037	screws 40 mm	100 Nos	48.00	60.00	28.80
	LABOUR:	100 1103	40.00	00.00	20.00
0156	Carpenter (average)	day	1.83	369.00	675.27
0114	Beldar	day	0.76	306.00	232.56
9999	Carriage	L.S.	35.88	2.12	76.07
	TOTAL	2.0.			3948.51
	Add Water Charges @ 1%				39.49
	TOTAL				3987.99 (X)
	Add GST 12% on "X"(multiplying factor 0.1405)				560.31
	Total				4548.30 (Y)
	Add CPOH @ 15%				682.25
	Cost of 2.16 sqm				5230.55
	Cost of 1 sqm				2421.55
	labour cess @1%				24.22
	Rate including labour cess				2445.77
		Say Rs.	2445.80	per sqm	
9.6.1	14616 and TADS 15:2001 (Part B), including ISI marked N required size with necessery screws, all complete as per with panels of: 12 mm thick plain grade - 1, medium density flat pressed wood particle board FPT-I, IS :3087 marked, bonded with	directions of three layer	Engineer-in	-Charge and rd FPT - I or g	panelling graded
	848:				
	Details of cost for one shutter 220 x 108 cm =				
	2.38sqm				
	MATERIAL:				
7137	Factory made 35 mm thick shutters with laminated				
	veneer lumber styles & rails as per TADS 15:1995 and				
	panels of 12 mm thick plain type-I, medium density flat				
	pressed three layer, graded particle board (FPT-I) as per				
	IS:3087 bonded with BWP type synthetic resin				
	adhesive, as per IS:848				
		sqm	2.38	1620.00	3855.60
9999	Carriage of shutters	L.S.	29.64	2.12	62.84
0505	FITTINGS:				
0595	Bright finished or black enameled mild steel butt	40.11	0.00		
0507	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt	40.14	0.00	10.55	
o *	hinges 50x37x1.50 mm	10 Nos	2.00	49,00	9.80
4	- L 2 B 399 9		BCD	/SOR_11th E	dition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount
0637	Bright finished or black enameled mild steel screws 40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws 20 mm LABOUR:		8.00	35.00	2.80
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				4459.38
	Add Water Charges @ 1%				44.59
	TOTAL				4503.98 (
	Add GST 12% on "X"(multiplying factor 0.1405)				632.81
	Total				5136.78 (
	Add CPOH @ 15%				770.52
	Cost of 2.38 sqm				5907.30
	Cost of 1 sqm				2482.06
	labour cess @1%				24.82
	Rate including labour cess				2506.88
		Say Rs.	2506.90	per sqm	

9.6.2 12 mm thick pre-laminated particle board (decorative lamination on both sides) grade - 1, medium density flat pressed, three layer particle board FPT - I or graded wood particle board FPT - I, conforming to IS: 3087, bonded with BWP type synthetic resin adhesive as per IS: 848 and prelaminated conforming to IS: 12823, Grade 1, Type - II marked:

7139	Details of cost for one shutter 220x108cm = 2.38sqm MATERIAL: Factory made 35 mm thick shutters with laminated veneer lumber styles & rails as per TADS 15:1995 and panels of 12 mm thick both sides prelaminated type-I, medium density flat pressed three layer, graded particle board (FPT-I) as per IS:3087 bonded with BWP type synthetic resin adhesive, as per IS:848
9999	Carriage of shutters

	medium density flat pressed three layer, graded particle board (FPT-I) as per IS:3087 bonded with BWP type				
	synthetic resin adhesive, as per IS:848				
		sqm	2.38	1720.00	4093.60
9999	Carriage of shutters	L.S.	29.64	2.12	62.84
	Fittings				
0595	Bright finished or black enameled mild steel butt			20	
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws 40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws 20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:				
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				4697.38
	Add Water Charges @ 1%				46.97
	TOTAL				4744.36 (X)
	Add GST 12% on "X"(multiplying factor 0.1405)				666.58
	Total				5410.94 (Y)
	Add CPOH @ 15%				811.64
	Cost of 2 38 sam				6222 58

https://civil.amitkumarsachin.com

By Or of A

Code	Description	Unit	Quantity	Rato ₹	Amount ₹
of the latest designation of the latest desi	Cost of 1 s	qm			2614.53
	labour cess @	1%			26.15
	Rate Including labour ces	5			2640.67
		Say Rs.	2640.70	per sqm	

9.6.3 12 mm thick one side Pre-laminated particle board (decorative lamination on one side and other sides balancing lamination) grade - 1 medium density flat pressed, three layer particle board FPT - I or graded wood particle board FPT-1 conforming to IS: 3087 bonded with BWP type synthetic resin adhesive as per IS: 848 and pre-laminated conforming to IS: 12823 Grade -1, Type II marked:

Details of cost for one shutter 220x108cm = 2.38sqm

MATERIAL:

7143 Factory made 35 mm thick shutters with laminated veneer lumber styles & rails as per TADS 15:1995 and panels of 12 mm thick one side prelaminated type-I, and other side balancing lamination, medium density flat

	pressed three layer, graded particle board FPT-I) as per IS:3087 bonded with BWP type synthetic resin adhesive,				
	as per IS:848	sqm	2.38	1910.00	4545.80
9999	Carriage of shutters	L.S.	29.64	2.12	62.84
	<u>Fittings</u>			2.72	02.04
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt		0.00	00.00	46.00
	hinges 50x37x1.50 mm Bright finished or black enameled mild steel screws 40	10 Nos	2.00	49.00	9.80
0637	mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws 20				20.00
0640	mm	100 Nos	8.00	35.00	2.80
0450	LABOUR:				
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				5149.58
	Add Water Charges @ 1%				51.50
	TOTAL				5201.08 (X)
	Add GST 12% on "X"(multiplying factor 0.1405)				730.75
	Total				5931.83 (Y)
	Add CPOH @ 15%				889.77
	Cost of 2.38 sqm				6821.60
	Cost of 1 sqm				2866.22
	labour cess @1%				28.66
	Rate including labour cess				2894.88
					2007.00

Say Rs. 2894.90

Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for 9.7 doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick:

Second class teak wood

Details of cost for shutters of a door with 2/3rd 401 9 A BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	panelling 200x 108cm = 2.16sqm.				
	Panel area = 4x45.1x36.55cm = 0.66 sqm				
	MATERIAL:				
	Panels 4x47.2x38.65xl.6cm = 0.0117cum +				
	Add for wastage @ 10% = 0.0012cum.				
	= 0.0129 cum				
1190	Second class teak wood in planks	10 cudm	12.90	791.00	1020.39
2204	Carriage of timber	cum	0.0129	187.35	2.42
	LABOUR:	Jann	0.0.120		
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
0000	TOTAL	L.O.	4.42	2.12	1267.59
					12.68
	Add Water Charges @ 1% TOTAL				1280.26
					179.88
	Add GST 12% on "X"(multiplying factor 0.1405) Total				
					1460.14
	Add CPOH @ 15%				219.02
	Cost of 0.66 sqm				1679.16
	Cost of 1 sqm				2544.18
	labour cess @1%				25.44
	Rate including labour cess				2569.63
		Say Rs.	2569.60	per sqm	
9.7.2	Kiln seasoned and chemically treated hollock wood				
	Details of cost for shutters of a door 200x108cm				
	= 2.16 sqmPanel area 4x45.1x36.55cm=0.66sqm				
	MATERIAL:				
2505	Hollock wood in planks	10 cudm	12.90	402.00	518.58
	Hollock wood				
	panels 4x45.1x36.55cm = 0.0117 cum+				
	Add for wastage @ 10% = 0.0012cum.				
	Total = 0.0129 cum = 12.90 cudm				
2204	Carriage of timber	cum	0.01	187.35	2.42
2504	Kiln seasoning of timber	cum	0.01	772.00	9.96
9999	Chemical treatment	L.S.	8.97	2.12	19.02
	LABOUR:	2.0.	0.07	2.12	13.02
0111	Carpenter 1 st class	day	0.57	413.00	225 44
9999	Sundries	L.S.			235.41
3333		L.O.	4.42	2.12	9.37
	TOTAL				794.75
	Add Water Charges @ 1%				7.95
	TOTAL				802.70
	Add GST 12% on "X"(multiplying factor 0.1405)				112.78
	Total				915.48
	Add CPOH @ 15%				137.32
	Cost of 0.66 sqm				1052.80
	Cost of 1 sqm				1595.15
	labour cess @1%				15.95
	Rate including labour cess				1611.10
		Say Rs.	1611.10	per sqm	
	11th Edition_2022	^	0.	/ /	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.7.3	Ply wood 5 ply, 9 mm thick				
9.7.3.1	Decorative plywood both side decorative veneer (Type				
	- I) conforming to IS 1328 BWR type.				
	Details of cost for shutters of a door with 2/3 rd				
	panelling. 200 x 108cm = 2.16 sqm Panel area				
	4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm				
2480	Ply wood 5 ply with teak ply on both faces 9 mm thick	nam	08.0	884.00	707.20
9999	Carriage of plywood	sqm L.S.	1.82	2.12	3.86
0000	LABOUR:	L.J.	1.02	2.12	3.00
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL	2.0.		2.72	955.84
	Add Water Charges @ 1%				9.56
	TOTAL				965.40
	Add GST 12% on "X"(multiplying factor 0.1405)				135.64
	Total				1101.04
	Add CPOH @ 15%				165.16
	Cost of 0.66 sqm				1266.19
	Cost of 1 sqm				1918.47
	labour cess @1%				19.18
	Rate including labour cess	Say Rs.	1937.70	per sqm	1937.66
).7 <i>.</i> 3.2	December of the second				
7.7.3.2	Decorative plywood one side decorative veneer and				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL:				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick)				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm				
2481	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm				
2481	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm	sam	0.80	905.00	724.00
2481 9999	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial	sqm L.S.	. 0.80 1.82	905.00 2 12	724.00
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick	sqm L.S.	. 0.80 1.82	905.00 2.12	724.00 3.86
9999 0111	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood	L.S.	1.82	2.12	3.86
9999 0111	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood LABOUR:	-			3.86 235.41
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries	L.S. day	1.82 0.57	2.12 413.00	3.86 235.41 9.37
9999 0111	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries	L.S. day	1.82 0.57	2.12 413.00	3.86 235.41 9.37 972.64
9999 0111	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1% TOTAL	L.S. day	1.82 0.57	2.12 413.00	3.86 235.41 9.37
9999 0111	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type Details of cost for shutters of a door with 2/3rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL: Plywood (9mm thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Ply wood 5 ply with teak ply on one face and commercial ply on another face 9 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1%	L.S. day	1.82 0.57	2.12 413.00	3.86 235.41 9.37 972.64 9.73

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
-110	Add CPOH @ 15%				168.06
	Cost of 0.66 sgm				1288.45
	Cost of 1 sqm				1952.19
	labour cess @1%				19.52
	Rate including labour cess				1971.71
	Kate menung labour cess	Say Rs.	1971.70	per sqm	
9.7.4	Ply wood 7 ply, 9 mm thick				
9.7.4.1	Decorative plywood one side decorative veneer and				
	commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type				
	Details of cost for shutters of a door with 2/3 rd				
	panelling, 200x108cm = 2.16 sqmPanel area				
	4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
2483	Ply wood 7 ply with teak ply on one face and				
	commercial ply on another face 9 mm thick	sqm	0.80	1010.00	808.00
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.57	413.00	235,41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL				1056.64
	Add Water Charges @ 1%				10.57
	TOTAL				1067.21
	Add GST 12% on "X"(multiplying factor 0.1405)				149.94
	Total				1217.15
	Add CPOH @ 15%				182.57
	Cost of 0.66 sqm				1399.72
	•				
	Cost of 1 sqm				2120.79
	labour cess @1% Rate including labour cess				21.21
	Rate including labour cess	C D-	2442.00		2142.00
		Say Rs.	2142.00	per sqm	
9.7.5	Particle Board 12 mm thick				
.7.5.1	Plain particle board flat pressed, 3 layer or graded				
	wood particle board medium density Grade I, IS: 3087				
	marked				
	Details of cost for shutters of a door with 2/3rd				
	panelling. 200x108cm = 2.16 sqm				
	Panel area 4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm		O =	/ .	
SOR_	11th Edition_2022	Q,	(B)	Q/ \	- 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total = 0.80 sqm				
0341	Flat pressed 3 layer particle board (medium density)				
	Grade 1, 12 mm thick	sqm	0.80	288.00	230.40
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
-	TOTAL				479.04
	Add Water Charges @ 1%				4.79
	TOTAL				483.83
,	Add GST 12% on "X"(multiplying factor 0.1405)				67.98
	Total				551.81
į.	Add CPOH @ 15%				82.77
•	Cost of 0.66 sqm				634.58
	Cost of 1 sqm				961.48
	labour cess @1%				9.61
	Rate including labour cess				971.10
1		Say Rs.	971.10	per sqm	
9.7.5.2	Veneered flat pressed three layer or graded wood				
	particle board with commercial veneering on both				
ì	sides conforming to IS :3097, grade I				
:					
	Details of cost for shutters of a door with 2/3 rd				
	panelling. 200x108cm=2.16 sqm				
	Panel area 4x45.1x36.55cm = 0.66sqm				
•	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
7468	Veneered particle board with commercial veneering on				
, 100	both sides 12 mm thick	sqm	0.80	480.00	384.00
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:		,,,		0.00
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL			2.12	632.64
	Add Water Charges @ 1%				6.33
	TOTAL				638.97
. •	Add GST 12% on "X"(multiplying factor 0.1405)				89.77
	Total				728.74
	Add CPOH @ 15%				109.31
	Cost of 0.66 sqm				838.05
	Cost of 1 sqm				1269.77
	labour cess @1%				12.70
	Rate including labour cess				1282.47
	•	Say Rs.	1282.50	per sqm	1202.47
.7.5.3	Pre-laminated particle board with decorative lamination side, Grade I, Type II, IS: 12823 marked	-			on on other
	Details of cost for shutters of a door with 2/3 rd				
) Y		/ /	a -		
, .	- \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	/ I\	- O DO	D/SOR_11th	C-1:1: 000

https://civil.amitkumarsachin.com

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total = 0.80 sqm			-	
0341	Flat pressed 3 layer particle board (medium density)				
	Grade 1, 12 mm thick	sqm	0.80	288.00	230.40
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL				479.04
	Add Water Charges @ 1%				4.79
	TOTAL				483.83 (
	Add GST 12% on "X"(multiplying factor 0.1405)				67.98
	Total				551.81 (
	Add CPOH @ 15%				82.77
	Cost of 0.66 sgm				634.58
	Cost of 1 sqm				961.48
	labour cess @1%				9.61
	Rate including labour cess				971.10
	rate metaling raped 6000	Say Rs.	971.10	per sqm	371.10
9.7,5.2	Veneered flat pressed three layer or graded wood particle board with commercial veneering on both sides conforming to IS:3097, grade I Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm=2.16 sqm				
	Panel area 4x45.1x36.55cm = 0.66sqm MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
7468	Veneered particle board with commercial veneering on				
7400	both sides 12 mm thick	sqm	0.80	480.00	384.00
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:	2.0.	1.02	2.12	3.00
0111	Carpenter 1 st class	day	0.57	413.00	225 44
9999	0	L.S.	4.42		235.41
	TOTAL	L.S.	4.42	2.12	9.37
	Add Water Charges @ 1%				632.64
					6.33
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				638.97
					89.77
	Total				728.74 (
	Add CPOH @ 15%				109.31
	Cost of 0.66 sqm				838.05
	Cost of 1 sqm				1269.77
	labour cess @1%				12.70
	Rate including labour cess				1282,47
		Say Rs.	1282.50	per sqm	

9.7.5.3 Pre-laminated particle board with decorative lamination on one side and balancing lamination on other side, Grade I, Type II, IS: 12823 marked

Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm=2.16 sqm

BCD/SOR_11th Edition_ 2022

\$ X \ 406 \ B B B A 3

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
	Panel area 4x45 1x36.55cm = 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73 sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
7477	Prelaminated particle board with one side decorative				
·	and other side balancing lamination, flat pressed 3				
	layer & graded (medium density) Grade I, Type II				
	conforming to IS: 12823 (exterior grade) 12 mm thick	sqm	0.80	500.00	400.00
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL				648.64
	Add Water Charges @ 1%				6.49
	TOTAL				655.13
	Add GST 12% on "X"(multiplying factor 0.1405)				92.05
i	Total				747.17
•	Add CPOH @ 15%				112.08
,	Cost of 0.66 sqm				859.25
į	Cost of 1 sqm				1301.89
	labour cess @1%				13.02
	Rate including labour cess				1314.91
		Say Rs.		per sqm	
.7.5.4	Pre-laminated particle board with decorative lamination marked	on both sid	les, Grade I, 1	Type II, IS :1	2823
	Details of cost for shutters of a door with 2/3 rd				
	panelling. 200x108cm = 2.16 sqm				
	Panel area 4x45.1x36.55cm= 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sgm .				
480	Pre/aminated particle board with both sides				
	decorative lamination, flat pressed 3 layer &				
	graded (medium density) Grade I, Type II conforming				
•	to IS: 12823 (exterior grade) 12 mm thick	cam	0.80	400.00	
999	Carriage of plywood	sqm L.S.		490.00	392.00
•	LABOUR:	L.J.	1.82	2.12	3.86
111	Carpenter 1 st class	day	0 F 7	442.00	
999	Sundries	day	0.57	413.00	235.41
		L.S.	4.42	2.12	9.37
	TOTAL Add Water Charges @ 1%				640.64
					6.41
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				647.05
					90.91
	Total				737.96

PX 2 BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Details of cost for shutters of a door with 2/3 rd				
	panelling. 200x108cm=2.16 sqm				
	Panel area 4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
	Plywood (9mm thick)				
	4x47.2x38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
7477	Prelaminated particle board with one side decorative				
	and other side balancing lamination, flat pressed 3				
	layer & graded (medium density) Grade I, Type II				
	conforming to IS: 12823 (exterior grade) 12 mm thick	sqm	0.80	500.00	400.00
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL				648.64
	Add Water Charges @ 1%				6.49
	TOTAL				655.13
	Add GST 12% on "X"(multiplying factor 0.1405)				92.05
	Total				747.17
	Add CPOH @ 15%				112.08
	Cost of 0.66 sqm				859.25
	C031 01 0.00 3q111				1301.89
	•				1301.03
	Cost of 1 sqm				
	•	Say R	s. 1314.90	per sqm	13.02 1314.91
9.7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination	-			13.02 1314.91
9.7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess	-			13.02 1314.91
9.7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination	-			13.02 1314.91
).7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd	-			13.02 1314.91
).7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm	-			13.02 1314.91
9.7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm	-			13.02 1314.91
9.7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL:	-			13.02 1314.91
).7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick)	-			13.02 1314.91
).7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm	-			13.02 1314.91
).7.5.4	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick)	-			13.02 1314.91
7480	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm	-			13.02 1314.91
	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm	-			13.02 1314.91
	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides	-			13.02 1314.91
	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer &	-			13.02 1314.91 2823
	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming	on both s	ides, Grade I,	Type II, IS :1	13.02 1314.91
7480	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick	on both s	ides, Grade I, [·] 0.80	Type II, IS :1	13.02 1314.91 2823 392.00
7480	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood	on both s sqm L.S.	ides, Grade I, [·] 0.80	490.00 2.12	13.02 1314.91 2823 392.00 3.86
7480 9999 0111	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR:	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41
7480 9999	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries	on both s sqm L.S.	0.80 1.82	490.00 2.12	13.02 1314.91 2823 392.00 3.86 235.41 9.37
7480 9999 0111	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41 9.37 640.64
7480 9999 0111	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1%	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41 9.37 640.64 6.41
7480 9999 0111	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1% TOTAL	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41 9.37 640.64 6.41 647.05
7480 9999 0111	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405)	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41 9.37 640.64 6.41 647.05 90.91
7480 9999 0111 9999	Cost of 1 sqm labour cess @1% Rate including labour cess Pre-laminated particle board with decorative lamination marked Details of cost for shutters of a door with 2/3 rd panelling. 200x108cm = 2.16 sqm Panel area 4x45.1x36.55cm= 0.66sqm MATERIAL: Plywood (9mm.thick) 4x47.2x38.65cm = 0.73sqm Add for wastage @ 10% = 0.07sqm Total = 0.80 sqm Pre/aminated particle board with both sides decorative lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 12 mm thick Carriage of plywood LABOUR: Carpenter 1 st class Sundries TOTAL Add Water Charges @ 1% TOTAL	sqm L.S.	0.80 1.82 0.57	490.00 2.12 413.00	13.02 1314.91 2823 392.00 3.86 235.41 9.37 640.64 6.41 647.05

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add CPOH @ 15%				110.69
	Cost of 0.66 sqm				848.65
	Cost of 1 sqm				1285.83
	labour cess @1%				12.86
	Rate including labour cess				1298.69
		Say Rs.	1298.70	per sqm	
9.7.6	Coir Veneer Board (conforming to IS 14842)				
9.7.6.1	12 mm thick				
	Details of cost for shutters of a door with 2/3 rd				
	panelling 200x108cm = 2.16 sqm				
	Panel area 4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
·	Coir veneered board 12mm thick				
•	4x47.2 x 38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
7555	Coir veneered board 12 mm thick	sqm	0.80	625.00	500.00
9999	Carriage	L.S.	1.82	2.12	3.86
	LABOUR:		1.02	2.12	3.00
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	, Sundries i	L.S.	4.42	2.12	
	Į TOTAL	2.0.	4.42	2.12	9.37
	Add Water Charges @ 1%				748.64
	TOTAL				7.49
	Add GST 12% on "X"(multiplying factor 0.1405)				756.13 106.24
	Total				
	Add CPOH @ 15%				862.36 (
	Cost of 0.66 sqm				129.35
	Cost of 1 sqm				991.71
	labour cess @1%				1502.60
	Rate including labour cess				15.03
	, and an	Say Rs.	1517.60		1517.62
9.7.7	Float glass panes	ody its.	1317.00	per sqm	
9.7.7.1	4 mm thick glass pane				
	Details of cost for shutters of a door with 2/3 rd				
	panelling 200x108cm = 2.16 sqm				7
,	Panel area 4x45.1x36.55cm = 0.66sqm				
	MATERIAL:				
	Coir veneered board 12mm thick				
	4x47.2x 38.65cm = 0.73sqm				
	Add for weeters @ 400% of or				
•					
•	Add for wastage @ 10% = 0.07sqm				
2406	Total = 0.80 sqm				
2406	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm				
	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)	sqm	0.80	309.00	247.20
9999	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage	L.S.	0.80 1.82	309.00 2.12	247.20 3.86
9999 0156	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average)				
9999 0156 0119	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average) Glazier	L.S.	1.82	2.12	3.86
9999 0156 0119 0114	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average) Glazier Beldar	L.S. day	1.82 0.57	2.12 369.00	3.86 210.33 51.60
9999 0156 0119 0114	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average) Glazier	L.S. day day	1.82 0.57 0.15	2.12 369.00 344.00	3.86 210.33 51.60 45.90
9999 0156 0119 0114	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average) Glazier Beldar Sundries TOTAL	L.S. day day day	1.82 0.57 0.15 0.15	2.12 369.00 344.00 306.00	3.86 210.33 51.60 45.90 54.00
9999 0156	Total = 0.80 sqm Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) Carriage Carpenter (average) Glazier Beldar Sundries	L.S. day day day	1.82 0.57 0.15 0.15	2.12 369.00 344.00 306.00	3.86 210.33 51.60 45.90

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL			1	619.01
	Add GST 12% on "X"(multiplying factor 0.1405)				86.97
	Total				705.99 (`
	Add CPOH @ 15%				105.90
	Cost of 0.66 sqm				811.88
	Cost of 1 sqm				1230.13
	labour cess @1%				12.30
-	Rate including labour cess				1242.43
		Say Rs.	1242.40	per sqm	
9.7.7.2	5.5 mm thick glass pane				
	Details of cost for Details of cost for shutters of a				
Ì	door with 2/3 rd panelling200x108cm = 2.16sqm				
i	Panel area 4x45.1x36.55cm=0.66sqm				
	MATERIAL:				
	Coir veneered board 12mm thick				
	4x47.2x 38.65cm=0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
1	Total = 0.80 sqm				
2407	Float glass sheet of nominal thickness 5.5 mm				
	(weight not less than 13.50 kg/sqm)	sqm	0.80	515.00	412.00
9999	Carriage	L.S.	1.82	2.12	3.86
0156	Carpenter (average)	day	0.57	369.00	210.33
0119	Glazier	day	0.15	344.00	51.60
0114	Beldar	day	0.15	306.00	45.90
9999	Sundries	L.S.	25.47	2.12	54.00
	TOTAL				777.68
	Add Water Charges @ 1%				7.78
	TOTAL				785.46
	Add GST 12% on "X"(multiplying factor 0.1405)				110.36
	Total				895.82 (
	Add CPOH @ 15%				134.37
	Cost of 0.66 sqm				1030.19
	Cost of 1 sqm				1560.90
	labour cess @1%				15.61
	. Rate including labour cess				1576.51
	.	Say Rs.	1576.50	per sqm	
9.7.8	Fly proof stainless steel grade 304 wire gauge				
	with 0.5 mm dia wire and 1.4 mm wide aperture				
•	with matching wood beading				
•	Details of cost for shutters of a door with 2/3 rd				
	panelling 200x108 cm = 2.16 sqm				
	Panel area 4x45.1x36.55 cm = 0.66 sqm				
	MATERIAL:				
	Coir veneered board 12mm thick				
	4x47.2 x 38.65cm = 0.73sqm				
	Add for wastage @ 10% = 0.07sqm				
	Total = 0.80 sqm				
8737	Stainless steel wire guage (Grade-304)				
0101	aperture 1.4 mm and 0.50 mm dia wire				
9999		sqm	0.80	413.00	330.40
צננכ	Carriage	L.S.	1.82	2.12	3.86
CD/SOR_	11th Edition_2022 410 410	Q_{i}	(B)	0/1	-3
		12		W 6	1

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0112	Carpenter 2nd class	day	0.57	369.00	210.33
9999	Sundries	L.S.	4.42	2.12	9.37
	TOTAL				553.96
	Add Water Charges @ 1%				5.54
	TOTAL				559.50
	Add GST 12% on "X"(multiplying factor 0.1405)				78.61
	Total				638.11
	Add CPOH @ 15%				95.72
	Cost of 0.66 sqm				733.82
	Cost of 1 sqm				1111.85
	labour cess @1%				11.12
	Rate including labour cess				1122.97
9.9	Providing and fixing glazed shutters for doors, windows a	Say Rs.	1123.00	per sqm	
9.9.1	glass panes including ISI marked M.S. pressed butt hinge screws. Second class teak wood	s bright finis	ned of requ	iired size witi	h necessary
9.9.1.1	35 mm thick				
	Details of cost for shutter of a door (glazed)				
	200x108cm = 2.16 sqm	í -			
	Teak wood (2nd class)				
	Styles : 4x200x9.5x3.5cm =0.027cum				
	Rails:				
	Top & intermediate rails				
	2x110.5x9.5x3.5cm = 0.008cum Lock and bottom rails				
	2x110.5xl9.7x3.5cm= 0.015cum Beadings				
	:2x186.1x1.9x1.2cm = 0.001cum				
	4x171.70x 1.9x 1.2cm = 0.002cum.				
	Total = 0.053 cum.				
	Add for wastage @ 10% = 0.005cum.				
1190	Grand Total = 0.058 cum = 58 cudm				
2406	Second class teak wood in planks	10 cudm	58.00	791.00	4587.80
2400	Float glass sheet of nominar thickness 4 mm				
0505	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0595	Bright finished or black enameled mild steel butt				32.10
0507	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				40.00
0007	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				9.60
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws			00.00	20.60
	20 mm	100 Nos	8.00	35.00	2.00
	Carriage of timber	cum	0.06	187.35	2.80
2204			2.00	107.35	10.87
	LABOUR:				
0156	LABOUR: Carpenter (average)	- day	1.83	360.00	675.07
0156		day	1.83	369.00	675.27
2204 0156 0119 0114	Carpenter (average)	day	0.23	344.00	79.12
0156 0119	Carpenter (average) Glazier				

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL				6156.22
	Add Waler Charges @ 1%				61.56
	TOTAL				6217.78
	Add GST 12% on "X"(multiplying factor 0.1405)				873.60
					7091.38
	Total				
	Add CPOH @ 15%				1063.71
	Cost of 2.16 sqm				8155.08
	Cost of 1 sqm				3775.50
	labour cess @1%				37.76
	Rate including labour cess				3813.26
	•	Say Rs.	3813.30	per sqm	
9.9.1.2	30 mm thick				
(Details of cost for shutter of a door (glazed)				
	$200 \times 108 \text{cm} = 2.16 \text{ sqm}$				
	MATERIAL:				
	Teak wood Styles:				
	4x200x9.5x3.0cm = 0.023cum +				
ł	Rails:				
:	Top & intermediate rails				
•	2x110.5x9.5x3.0 cm = 0.006cum+				
,	Lock and bottom rails				
į	2x110.5x19.7x 3.0cm = 0.013cum+				
	Beadings-2x186.1xl.9xl.2cm =0.001cum +				
	4x 171.70x 1.9x 1.2cm = 0.002cum.				
	Total = 0.045 cum. +				
	Add for wastage @ 10% = 0.005cum.				
1190	Grand Total = 0.050 cum = 50 cudm				
	Second class teak wood in planks	10 cudm	50.00	791.00	3955.00
2406	Float glass sheet of nominal thickness 4 mm				
	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws		2.00	40.00	9.00
	40 mm	100 Nos	48.00	60.00	20.00
0640	Bright finished or black enameled mild steel screws	100 1103	40.00	60.00	28.80
	20 mm	100 Na-	0.00		
2204	Carriage of timber	100 Nos	8.00	35.00	2.80
	LABOUR:	cum	0.05	187.35	9.37
156					
	Carpenter (average)	day	1.83	369.00	675.27
0119	Glazier	day	0.23	344.00	79.12
)114	Beldar	day	0.77	306.00	235.62
9999	Sundries	L.S.	40.43	2.12	85.71
	TOTAL		- 1,0.0	12	
	Add Water Charges @ 1%				5521.92
	TOTAL				55.22
	Add GST 12% on "X"(multiplying factor 0.1405)				5577.14
					783.59
	Total				6360.73
	Add CPOH @ 15%				954.11
	Cost of 2 16 sqm				7314.84
			(Bre-	/ .	- 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Cost of 1 sqm				3386.50
	labour cess @1%				33.86
	Rate including labour cess				3420.36
0.00	120	Say Rs.	3420.40	per sqm	
9.9.2	Kiln seasoned and chemically treated hollock wo	od			
9.9.2.1	35 mm thick				
	Details of cost for shutter of a door (glazed)				
	200x108cm = 2.16 sqm				
	MATERIAL:				
	i) Hollock wood				
	Styles: 4x200x9.5x3.5cm = 0.027cum+				
	Rails				
	Top & intermediate rails				
	2x110.5x9.5x3.50cm = 0.008cum+				
	Lock and bottom rails				
	2x110.5x19.7x3.50cm = 0.015cum+				
	Beadings-				
	2xl86.1x1.9x1.2cm = 0.001cum +				
	4x 171.70x 1.9x 1.2cm = 0.002cum.				
	Total = 0.053 cum.	1			
	+ Ada for wastage @ 10% = 0.005cum.				
	Grand Total = 0.058 cum or = 58 cudm				
2505	Hollock wood in planks	10 cudm	58.00	402.00	2331.60
2504	Kiln seasoning of timber	cum	0.06	772.00	44.78
9999	Chemical treatment	L.S.	9.10	2.12	19.29
2406	Float glass sheet of nominal thickness 4 mm				, , , ,
	weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0595	Bright finished or black enameled mild steel butt				552.75
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				70.00
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws			10.00	5.00
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws		10.00	00.00	20.00
	20 mm	100 Nos	8.00	35.00	2.80
2204	Carriage of timber	cum	0.06	187.35	
	LABOUR:	54117	0.00	107.00	10.87
0156	Carpenter (average)	day	1.83	369.00	675.07
0119	Glazier	day	0.23	344.00	675.27
0114	Beldår	day	0.23	306.00	79.12
9999	Sundries	L.S.	40.43	2.12	235.62
	TOTAL	L.O.	40.45	2.12	85.71
	Add Water Charges @ 1%				3964.09
	TOTAL				39.64
	Add GST 12% on "X"(multiplying factor 0.1405)				4003.73
	Total				562.52
					4566.25 (
	Add CPOH @ 15%	,			684.94
	Cost of 2.16 sqm				5251.19
	Cost of 1 sqm				2431.11
	labour cess @1%				24.31

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Rate including labour cess				2455.42
		Say Rs.	2455.40	per sqm	
9.9.2.2	30 mm thick				
	Details of cost for shutter of a door (glazed)				
	200x108cm = 2.16 sqm				
	MATERIAL:				
	(i) Hollock wood Styles:				
	4x200x9.50x3.0cm=0.023cum+				
	Rails				
	Top & intermediate rails				
	2x110.5x9.50x3.0cm=0.006cum+				
	Lock and bottom rails				
	2x110.5x19.70x3.0cm =0.013cum+				
	Beadings-				
	2x186.1x1.9x1.2cm = 0.001cum+				
	4x 171.70x 1.9x 1.2cm = 0.002cum.				
	Total = 0.045 cum.+				
	Add for wastage @ 10%=0.005cum.				
2505	Grand Total = 0.050 = 50 cudm	1.40	F0.00	400.00	0040.00
2505	•	10 cudm	50.00	402.00	2010.00
2504	Kiln seasoning of timber	cum	0.05	772.00	38.60
9999	Chemical treatment	L.S.	9.10	2.12	19.29
2406	Float glass sheet of nominal thickness 4 mm		4.07	200.00	202.42
0595	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0393	Bright finished or black enameled mild steel butt	10 Nos	6.00	80.00	49.00
0597	hinges 100x58x1.90 mm Bright finished or black enameled mild steel butt	10 1408	6.00	80.00	48.00
0337	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws	10 1405	2.00	49.00	9.60
0037	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	100 1105	40.00	00.00	20.00
0040	20 mm	100 Nos	8.00	35.00	2.80
2204	Carriage of timber	cum	0.05	187.35	9.37
	LABOUR:	Culti	0.00	107.55	9.57
0156	Carpenter (average)	day	1.83	369.00	675.27
0119	Glazier	day	0.23	344.00	79.12
0114	Beldar	day	0.77	306.00	235.62
9999	Sundries	L.S.	40.43	2.12	85.71
	TOTAL	2.0.	10.40	2.12	3634.81
	Add Water Charges @ 1%				36.35
	TOTAL				3671.16
	Add GST 12% on "X"(multiplying factor 0.1405)				515.80
	Total				4186.96 (Y)
	Add CPOH @ 15%				628.04
	Cost of 2.16 sgm				4815.00
	Cost of 1 sqm				2229.17
	labour cess @1%				22.29
	Rate including labour cess	,			2251.46
	_	Sav Rs.	2251.50	ner sam	ELUTIO

https://civil.amitkumarsachin.com

BCD/SOR_11th Edition_ 2022

\$ X L 414 2 B @ 9/ A =

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.9.3	Kiln seasoned selected planks of sheesham woo	d			10 Sept. 197
9.9.3.1	35 mm thick				
	Details of cost for shutter of a door (glazed)				
	$200 \times 108 \text{ cm} = 2.16 \text{ sqm}$				
	MATERIAL:				
	(i) Hollock wood				
	Styles : 4 x 200 x 9.53 x 3.5cm = 0.27 cum + Rails				
	Top & intermediate rails				
	2 x 110.5 x 9.5x3.50cm = 0.008cum +				
	Lock and bottom rails				
	2x110.5 x 19.7 x 3.50cm = 0.015cum +				
	Beading				
	2×186.1×1.9×1.2 cm = 0.001 cum +				
	4 ×171.70×1.9×1.20 cm = 0.002 cum				
	Total = 0.053 cum				
	Add for wastage@10% = 0.005 cum				
	Grand total = 0.058 cum or 58 cudm				
1200	Kiln seasoned selected sheesham wood planks	10 cudm	58.00	650.00	3770.00
2504	Kiln seasoning of timber	cum _!	0.06	772.00	44.78
2406	Float glass sheet of nominal thickness 4 mm				
	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
2204	Carriage of timber	cum	0.06	187.35	10.87
0156	Carpenter (average)	day	1.83	369.00	675.27
0119	Glazier	day	0.23	344.00	79.12
0114	Beldar	day	0.77	306.00	235.62
9999	Sundries	L.S.	40.43	2.12	85.71
	, TOTAL				5383.19
	Add Water Charges @ 1%	*			53.83
	TOTAL				5437.03
	-Add GST 12% on "X"(multiplying factor 0.1405)				763.90
	Total				6200.93 (
	Add CPOH @ 15%				930.14
	Cost of 2.16 sqm				7131.07
	Cost of 1 sqm				3301.42
	labour cess @1%				33.01
	Rate including labour cess				3334.43
		Say Rs.	3334.40	per sqm	
9.3.2	30 mm thick				
	Details of cost for shutters of a cup-board	-			
	(half glazed and half panelled) 200x108cm = 2.16 sqm				
	(i) Sheesham wood				
D X	1 1	/ /	<i>a</i>		
<u></u>	1 2 By 415 9	′ /\	BCI	DISOR 11th	Edition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Styles:				
	4x200x9.50x3.0cm = 0.023cum +				
	Rails				
	Top & intermediate rails				
	2x110.5x9.50x3.0cm= 0.006cum+				
	Lock and bottom rails				
	2x110.5x19.70x3.0cm = 0.013cum+				
	Beadings-2x186.1x1.9x1.2cm= 0.001cum+				
	4x71.70x 1.9x 1.2cm = 0.002cum.				
	Total = 0.045 cum.+				
	Add for wastage @ 10% = 0.005cum.				
	Grand Total = 0.050 = 50 cudm				
	Panels: 2 x 48 x 41 x 1.6cm = 0.006cm +				
	Sash bars 2 x 114 x 3.8 x 2.5cm = 0.003 cum +				
	$6 \times 48 \times 3.8 \times 2.5$ cm = 0.003 cum +				
	Beading - 16 x 92 x 1.4 x 1.2cm = 0.002 cum			8.80	
1200	Kiln seasoned selected sheesham wood planks	10 cudm	50.00	650.00	3250.00
2504	Kiln seasoning of timber	cum	0.05	772.00	38.60
2406	Float glass sheet of nominal thickness 4 mm	ı.			
	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0595	Bright finished or black enameled mild steel butt				
0.507	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
0040	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws		20.20		
2204	20 mm	100 Nos	8.00	35.00	2.80
0156	Carriage of timber	cum	0.05	187.35	9.37
0119	Carpenter (average) Glazier	day	1.83	369.00	675.27
0113	Beldar	day	0.23	344.00	79.12
9999	Sundries	day	0.77	306.00	235.62
5555		L.S.	40.43	2.12	85.71
	TOTAL				4855.52
	Add Water Charges @ 1%				48.56
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				4904.07
	·				689.02
	. Total				5593.10
	Add CPOH @ 15%				838.96
	Cost of 2.16 sqm				6432.06
	Cost of 1 sqm				2977.81
	labour cess @1%				29.78
	Rate including labour cess	0 - 5			3007.58
9.10	Providing and fixing factory made laminated years at least	Say Rs		per sqm	
3.10	Providing and fixing factory made laminated veneer lum	ber glazed	shutter confo	rming to IS	: 14616 and
	TADS 15:2001 (Part B), using 4 mm thick float glass pane	s for doors	, windows an	d clerestory	windows,
	including ISI marked M.S. pressed butt hinges bright fini as per directions of Engineer-in-charge.	sned of req	uired size wit	th necessar	y screws, all
9.10.1	30 mm thick shutters				
	Details of cost for one shutter 220x108cm = 2.38sqm				
			- @m_		

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:			V 4	
7151	Factory made 30 mm thick shutters with laminated				
	veneer lumber styles & rails as per TADS 15:1995				
	and panels of sheet glass using 10 kg/ sqm glass				
	panes	sqm	2.38	1620.00	3855.60
9999	Carriage of shutters	L.S.	29.64	2.12	62.84
	Fittings				
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x3 ₁ 7x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm ;	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:				
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				4459.38
	Add Water Charges @ 1%				44.59
	TOTAL				4503.98
	Add GST 12% on "X"(multiplying factor 0.1405)				632.81
	Total				5136.78
	Add CPOH @ 15%				770.52
	Cost of 2.38 sqm				
	•				5907.30
	Cost of 1 sqm		,		5907.30 2482.06
	Cost of 1 sqm labour cess @1%				
	Cost of 1 sqm				2482.06
9.11	Cost of 1 sqm labour cess @1% Rate including labour cess	Say Rs.		per sqm	2482.06 24.82 2506.88
9.11	Cost of 1 sqm labour cess @1%	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88
	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured).	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88
	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88
9.11 9.11.1	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88
	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL:	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88
9.11.1	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm	l of ordinary ass panes ex	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows ebate shall
9.11.1	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL:	of ordinary	float glass i	n glazed doo	2482.06 24.82 2506.88 ers,windows ebate shall
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct	l of ordinary ass panes ex	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows ebate shall
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows bate shall
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)	l of ordinary ass panes ex	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 rs,windows ebate shall 515.00
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 Prs,windows Pate shall 515.00 -309.00 206.00
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1%	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows ebate shall 515.00 -309.00 206.00 2.06
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows ebate shall 515.00 -309.00 206.00 2.06 208.06
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405)	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows bate shall 515.00 -309.00 206.00 2.06 208.06 29.23
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 ers,windows bate shall 515.00 -309.00 206.00 206.00 208.06 29.23 237.29
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15%	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 Prs,windows Pate shall 515.00 -309.00 206.00 2.06 208.06 29.23 237.29 35.59
9.11.1	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 Prs,windows Phate shall 515.00 -309.00 206.00 2.06 29.23 237.29 35.59 272.89
9.11.1 2407	Cost of 1 sqm labour cess @1% Rate including labour cess @1% Rate including labour cess Extra for providing heavy sheet float glass panes instead and clerestory window shutters. (Area of opening for glabe measured). 5.5 mm thick instead of 4 mm thick Details of cost for 1 sqm. MATERIAL: Float glass sheet of nominal thickness 5.5 mm (weight not less than 13.50 kg/sqm) Deduct Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15%	l of ordinary ass panes ex sqm	float glass i cluding port	n glazed doo ion inside re	2482.06 24.82 2506.88 Prs,windows Pate shall 515.00 -309.00 206.00 2.06 208.06 29.23 237.29 35.59

Code No	Description	Unit	Quantity	\	Amount ₹
		Say Rs.	275.60	per sqm	
9.12	Extra for providing frosted glass panes 4 mm thick instead	d of ordinar	y float glas:	s panes 4 mn	n thick in
	doors, windows and clerestory window shutters. (Area of	f opening fo	r glass pan	es excluding	portion
	inside rebate shall be measured).				
	Details of cost for 1 sqm.				
	MATERIAL:				
7032	Frosted glass sheet of nominal thickness 4 mm				
	(weighing not less than 10 kg/sqm)	sqm	1.00	420.00	420.00
	Deduct				
2406	Float glass sheet of nominal thickness 4 mm		n 212		000.00
	(weight not less than 10 kg/sqm)	sqm	-1.00	309.00	-309.00
	TOTAL				111.00
	Add Water Charges @ 1%				1.11 112.11
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				15.75
	Total				127.86
	Add CPOH @ 15%				19.18
	Cost of 1 sqm				147.04
	labour cess @1%				1.47
	Rate including labour cess	3			148.51
	į	Say Rs.	148.50	per sqm	
	in doors, windows and clerestory window shutters (Area	or obcumb	ioi Piggs be		
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL:	or opening	101 8,033 PC		
7454	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct				
7451	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick	sqm	1.00	345.00	345.00
7451 2406	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm	sqm	1.00	345.00	345.00
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)				345.00
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)	sqm	1.00	345.00	345.00 -309.00 36.00
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm)	sqm	1.00	345.00	345.00 -309.00 36.00 0.36
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1%	sqm	1.00	345.00	345.00 -309.00 36.00
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL	sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405)	sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm	sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @1%	sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm	sqm sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69
2406	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(_multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @ 1% Rate including labour cess	sqm	1.00	345.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48
	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @1%	sqm sqm	1.00	345.00 309.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48
2406	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @1% Rate including labour cess Extra for providing ISI marked Stainless Steel butt hinges instead of M.S. pressed butt hinges bright finished of required size with necessary	sqm sqm	1.00	345.00 309.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48
2406	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @ 1% Rate including labour cess Extra for providing ISI marked Stainless Steel butt hinges instead of M.S. pressed butt hinges bright finished of required size with necessary screws. (Shutter area to be measured).	sqm sqm	1.00	345.00 309.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48
9.14	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(.multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @ 1% Rate including labour cess Extra for providing ISI marked Stainless Steel butt hinges instead of M.S. pressed butt hinges bright finished of required size with necessary screws. (Shutter area to be measured). Details of cost for one door shutter of a door 200x108cm = 2.16 sqm	sqm sqm	1.00	345.00 309.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48
2406	inside rebate shall be measured). Details of cost for 1 sqm. MATERIAL: Deduct Glass sheet (Pin headed) 4 mm thick Float glass sheet of nominal thickness 4 mm (weight not less than 10 kg/sqm) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm labour cess @ 1% Rate including labour cess Extra for providing ISI marked Stainless Steel butt hinges instead of M.S. pressed butt hinges bright finished of required size with necessary screws. (Shutter area to be measured).	sqm sqm	1.00	345.00 309.00	345.00 -309.00 36.00 0.36 36.36 5.11 41.47 6.22 47.69 0.48

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8218	Stainless steel butt hinges 50x37x1.5 mm IS : 12817				
	marked	10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
	Deduct				
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	-6.00	80.00	-48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	-2.00	49.00	-9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	-48.00	60.00	-28.80
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	-8.00	35.00	-2.80
	TOTAL				237.60
	Add Water Charges @ 1%				2.38
	TOTAL				239.98
	Add GST 12% on "X"(multiplying factor 0.1405)				33.72
	Total				273.69
	! Add CPOH @ 15%				41.05
	Cost of 2.16 sqm				314.75
	Cost of 1 cam		1		145.72
	labour cess @1%				1.46
	Rate including labour cess				147.17
		Say Rs.	147.20	per sqm	147.17
9.15	Deduct for not providing hinges in	-,-,		por oqui	
	doors,windows and clerestory window shutters				
	with:				
9.15.1	Stainless steel butt hinges with stainless steel				
	screws				
.15.1.1	For 2nd class teak wood and other class of				
	wood shutters				
	Details of cost for fittings for shutter of size				
	200x108cm = 2.16 sqm				
	MATERIAL:				
8220	Stainless steel butt hinges (heavyweight)				
	100x60x2.5mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm IS : 12817	10 1103	0.00	275.00	165.00
	marked	10 Nos	2.00	150.00	20.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	30.00
8214	Stainless steel screws 20 mm	100 Nos			120.00
	TOTAL	100 1105	8.00	150.00	12.00
	Add Water Charges @ 1%				327.00
	TOTAL				3.27
	Add GST 12% on "X"(multiplying factor 0.1405)				330.27
	Total				46.40
					376.67 (
	Add CPOH @ 15%				56.50
	Cost of 2.16 sqm				433.17
	Cost of 1 sqm				200.54
	labour cess @1%				2.01
	Rate including labour cess				202.55
		Say Rs.	202.50	per sqm	
) T					

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.15.2	ISI marked M.S. pressed butt hinges bright				
	finished of required size with necessery screws				
9.15.2.1	For 2nd class teak wood and other class of				
	wood shutters				
	Details of cost for hinges with screws for shutters of				
	size $200x108cm = 2.16 \text{ sqm}$				
	MATERIAL:				
0595	Bright finished or black enameled mild steel butt hinges	40 Non	6.00	80.00	48.00
0507	100x58x1.90 mm	10 Nos	0.00	00.00	10.00
0597	Bright finished or black enameled mild steel butt hinges	10 Nos	2.00	49.00	9.80
0637	50x37x1.50 mm Bright finished or black enameled mild steel screws	10 1405	2.00	40.00	
0037	40 mm :	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
0040	20 mm	100 Nos	8.00	35.00	2.80
	TOTAL				89.40
	Add Water Charges @ 1%				0.89
	! TOTAL				90.29
	Add GST 12% on "X"(multiplying factor 0.1405)	1			12.69
	Total				102.98
	Add CPOH @ 15%				15.45
	Cost of 2.16 sqm				118.43
	Cost of 1 sqm				54.83
	labour cess @1%				0.55
	Rate including labour cess	0 D-	55.40		55.38
0.40	B. 18	Say Rs.	55.40	per sqm	
9.16	Providing and fixing 25 mm thick shutters for cup board etc.:				
9.16.1	Panelled or panelled & glazed shutters :				
9.16.1.1	Second class teak wood including ISI marked				
J. 10. 1. 1	■ · · · · · · · · · · · · · · · · · · ·				
	anodised aluminium butt hinges with				
	anodised aluminium butt hinges with necessary screws				
	necessary screws				
	_				
	necessary screws Details of cost for shutters of a cup-board				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm =				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm = 2.16 sqm.				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL:				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm = 2.16 sqm, MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail-				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+ Beading-16x92x 1.4x 1.2cm = 0.002cum				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+ Beading-16x92x 1.4x 1.2cm = 0.002cum Total = 0.0366				
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+ Beading-16x92x 1.4x 1.2cm = 0.002cum Total = 0.0366 Add for wastage @ 10%=0.0037 cum.	•			
	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+ Beading-16x92x 1.4x 1.2cm = 0.002cum Total = 0.0366 Add for wastage @ 10%=0.0037 cum. Grand Total = 0.0403 cum or 40 cudm				
1190 2204	necessary screws Details of cost for shutters of a cup-board (half glazed and half paneled) 200x,108cm = 2.16 sqm. MATERIAL: Styles-4x200x8.0x2.5cm = 0.016 cum+ Rails- Top rail - 1x1 10.5x8.0x2.5cm = 0.0022cum+ Lock and bottom rail- 2x110.5x8.0x2.5cm = 0.0044 cum.+ Panels-2x48x41x 1.6cm = 0.006cum+ Sash bars-2x114x3.8x2.5cm = 0.003cum +6x48x3.8x2.5cm = 0.003 cum+ Beading-16x92x 1.4x 1.2cm = 0.002cum Total = 0.0366 Add for wastage @ 10%=0.0037 cum.	10 cudm	40.00 0.04	791.00 187.35	3164.00 7.49

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
2406	Float glass sheet of nominal thickness 4 mm (weight	,	I		4
	not less than 10 kg/sqm) Fittings	sqm	0.99	309.00	305.91
0694	Anodised Aluminium butt hinges 75x45x3.2 mm	10 Nos	6.00	196.00	117.60
0586	Chromium plated Brass screws 40 mm LABOUR:	100 Nos	48.00	290.00	139.20
0111	Carpenter 1 st class	day	2,40	413.00	991.20
0119	Glazier	day	0.18	344.00	61.92
0114	Beldar	day	0.77	306.00	235.62
9999	Sundries	L.S.	40.43	2.12	85.71
	TOTAL	L.O.	40,40	2.12	5108.66
	Add Water Charges @ 1%				51.09
	TOTAL				5159.74
	Add GST 12% on "X"(multiplying factor 0.1405)				724.94
	Total				5884.69 (Y
	Add CPOH @ 15%				882.70
	Cost of 2.16 sqm				6767.39
	Cost of 1 sqm				3133.05
	labour cess @1%				
	Rate including labour cess				31.33
	reace including labour cess	Say Rs.	3164.40	norcam	3164.38
	į	Say Ks.	3164.40	per sqm	
16.1.2	The state of the s				
	nickel plated bright finished M.S. piano hinges				
	with necessary screws				
	Details of cost for shutters of a cup board				
	(half glazed and panelled) 200x108=2.16sqm MATERIAL:				
	Styles-4x200x8.0x2.25cm =0.016 cum + Rails-				
	Top rail 1 x 1 10.5x8.0x2.5 cm =0.0022 cum +				
	lock and bottom rail-2x10.5x8.0x2.5 0.0044 cum +				
	Panels :2 x 48 X 41 x 1.6 cm=0.006 cm +				
	sash bars 2 x 114 x 3.8 x 2.5cm = 0.003 cum +				
	6 x 48 x 3.8 x 2.5 cm = 0.003 cum +				
	Beading - 16 x 92 x 1.4 x 1.2cm = 0.002 cum Total=0.0336				
	Add for wastage @ 10% =0.0037 cum				
	Grand Total = 0.0403 cum or 40 cudm				
1190	Second class teak wood in planks	40 1	40.00		
2204	Carriage of timber	10 cudm	40.00	791.00	3164.00
2406		cum	0.04	187.35	7.49
2400	Float glass sheet of nominal thickness 4 mm				
	(weight not less than 10 kg/sqm)	sqm	0.99	309.00	305.91
000	Fittings:				
0608	Nickel plated bright finished mild steel piano hinges				
200	1 mm thick 25 mm wide	metre	4.00	39.00	156.00
0586	Chromium plated Brass screws 40 mm LABOUR:	100 Nos	114.00	290.00	330.60
111	Carpenter 1 st class	day	2.40	413.00	991,20
1119	Glazier	day	0.18	344.00	61.92
114	Beldar	day	0.77	306.00	235.62
) Y	1 1 0 0 -	/ Å .			
	$\frac{1}{1}$ $\frac{1}$	' ' '	0)/SOR_11 th E	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Sundries	L.S.	40.43	2.12	85.71
	TOTAL				5338.46
	Add Water Charges @ 1%				53.38
	TOTAL				5391.84
	Add GST 12% on "X"(multiplying factor 0.1405)				757.55
	Total				6149.39
	A 11 6DOLL O 45W				922.41
	Cost of 2.16 sqm				7071.80
					3273.98
	Cost of 1 sqm				32.74
	labour cess @1%				
	Rate including labour cess	C D-	2206 70		3306.72
0.400	- · · · · · · · · · · · · · · · · · · ·	Say Rs.	3306.70	per sqm	
9.16.2	Glazed shutters:				
.16.2.1	Second class teak wood including ISI marked				
	anodised aluminium butt hinges with				
	necessary screws				
	Details of cost for shutter of cup-board				
	200x108cm = 2.16 sqm				
	MATERIAL:				
	(i) Teak wood second class		!		
	Styles: 4x200x9.5x2.5 cm = 0.019 cum				
	Rails				
	Top & intermediate rails				
	2x110.5x9.5x2.5cm = 0.006 cum				
	Lock and bottom rails				
	2x110.5x19.7x2.5 cm = 0.011 cum				
	Beadings-2x186.1x1.9xI.2cm = 0.001 cum +				
	4x 171.70x1.9x1.2cm = 0.002 cum.				
	Total = 0.039 cum,				
	Add for wastage @ 10% = 0.004 cum.				
4400	Grand Total = 0.043 cum. 43 cudm				
1190	Second class teak wood in planks	10 cudm	43.00	791.00	3401.30
2406	Float glass sheet of nominal thickness 4 mm				
	(weight not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0694	Anodised Aluminium butt hinges 75x45x3.2 mm	10 Nos	6.00	196.00	117,60
0639	Bright finished or black enameled mild steel screws				
	25 mm	100 Nos	48.00	40.00	19.20
2204	Carriage of timber	cum	0.04	187.35	8.06
	LABOUR:		515.1	.01.00	0.00
0156	Carpenter (average)	day	1.83	369.00	675 07
0119	Glazier	day	0.23		675.27
0114	Beldar	•		344.00	79.12
9999	Sundries	day	0.77	306.00	235.62
3333		L.S.	40.43	2.12	85.71
	TOTAL				5014.31
	Add Water Charges @ 1%				50.14
	TOTAL				5064.45
	Add GST 12% on "X"(multiplying factor 0.1405)		-69		711.56
	Total				5776.01
	Add CPOH @ 15%				866.40
	Cost of 2.16 sqm				6642.41
	Cost of 1 sqm				3075.19
	200.0.150111				3073.13

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	labour cess @1%				30.75
	Rate including labour cess				3105.94
		Say Rs.	3105.90	per sqm	
9.16.2.2	Second class teak wood including ISI marked				
	nickel plated bright finished M.S. piano hinges	F			
	with necessary screws				
	Details of cost for shutters of a cup board				
	(half Glazed and half panelled)				
	200x108cm= 2.16 sqm				
	MATERIAL:				
	Teak wood second class styles				
	4 x 200 x 9.5 x 2.5cm = 0.019 cum				
	Rails -				
	Top & Internmediate rail				
	2 x 110.5 x 9.5 x 2.5cm=0.006 cum				
	lock and bottom rail				
	- 2 x 10.5 x19.7 x 2.5 cm=0.0011 cum				
	Total = 0.039 cum				
	Add for wastage @ 10 % =0.0004cum				
	Grand Total = 0.0403 cum or 43 cudm		!		
1190	Second class teak wood in planks	10 cudm	43.00	791.00	3401.30
2406	Float glass sheet of nominal thickness 4 mm (weight				
	not less than 10 kg/sqm)	sqm	1.27	309.00	392.43
0608	Nickel plated bright finished mild steel piano hinges				
	1 mm thick 25 mm wide	metre	4.00	39.00	156.00
0639	Bright finished or black enameled mild steel screws				
	25 mm	100 Nos	114.00	40.00	45.60
2204	Carriage of timber	cum	0.04	187.35	8.06
	LABOUR:			1 - 1 1 - 1	0.00
0156	Carpenter (average)	day	1.83	369.00	675.27
0119	Glazier	day	0.23	344.00	79.12
0114	Beldar	day	0.77	306.00	235,62
9999	Sundries	L.S.	40.43	2.12	85.71
	TOTAL			2.12	5079.11
	Add Water Charges @ 1%				50.79
	TOTAL				
	Add GST 12% on "X"(multiplying factor 0.1405)				5129.90 720.75
	Total				
	Add CPOH @ 15%				5850.65
	Cost of 2.16 sqm				877.60
	Cost of 1 sqm				6728.25
	labour cess @1%				3114.93
	Rate including labour cess				31.15
	reace including labour cess	Say Rs.	3146.10	per sqm	3146.08

9.17 Providing and fixing flat pressed 3 layer particle board medium density exterior grade (Grade I) or graded wood particle board IS: 3087 marked, to frame, backing or studding with screws etc. complete (Frames, backing or studding to be paid separately):

9.17.1 12 mm thick

Details of cost for 350x200cm = 7sqm

MATERIAL:

Code No	Description		Unit	Quantity	Rate ₹	Amount ₹
	12mm thick particle board = 7.00sqm.+					
	Add wastage @ 5% = 0.35 sqm.					
	Total = 7.35 sqm					
0341	Flat pressed 3 layer particle board (me	dium density)				
	Grade 1, 12 mm thick		sqm	7.35	288.00	2116.80
9999	Carrriage of particle board		L.S.	13.52	2.12	28.66
9999	Sundries and screws		L.S.	26.91	2.12	57.05
	LABOUR:					
0112	Carpenter 2nd class		day	0.90	369.00	332.10
0114	Beldar		day	1.00	306.00	306.00
	ţ	TOTAL				2840.61
	Add Wat	er Charges @ 1%				28.41
	i i	TOTAL				2869.02
	Add GST 12% on "X"(multiple	ying factor 0.1405)				403.10
		Total				3272.11 (Y
	A	Add CPOH @ 15%				490.82
		Cost of 7 sqm				3762.93
	į.	Cost of 1 sqm				537.56
		labour cess @1%				5.38
	Rate includ	ing labour cess		1		542.94
	1		Say Rs.	542.90	per sqm	
9.17.2	18 mm thick					
	Details of cost for 350x200cm = 7sqm					
	MATERIAL:					
	12mm thick particle board = 7.00sqm.+	+				
	Add wastage @ 5% = 0.35 sqm					
	Total = 7.35 sqm					
7055	Flat pressed 3 layer and graded partic	e board				
	(medium density) Grade 1 conforming	to				
	IS: 3087 - 18 mm thick		sqm	7.35	430.00	3160.50
9999	Carrriage of particle board		L.S.	19.76	2.12	41.89
9999	Sundries and screws		L.S.	26.91	2.12	57.05
	LABOUR:					07.00
0112	Carpenter 2nd class		day	0.90	369.00	332,10
0114	Beldar	**	day	1.00	306.00	306.00
	- J	TOTAL	aay	1.00	300.00	3897.54
	Add Wa	ter Charges @ 1%				
		TOTAL				38.98
	Add GST 12% on "X"(multip					3936.52
	,	Total				553.08
		Add CPOH @ 15%				4489.60 (
	•	Cost of 7 sqm				673.44
						5163.04
		Cost of 1 sqm				737.58
	Rate inclus	labour cess @1%				7.38
	Nate Includ	ling labour cess		_,		744.95
			Say Rs	. 745.00	per sqm	
	~ ~			<u>.</u>	,	
	W L	1	Λ	(B)	\sim /	1

9.18.1	Providing and fixing Pre-laminated flat pressed 3 graded wood particle board IS: 3087 marked, with balancing lamination. Grade I, Type II exterior grascrews and fittings wherever required, edges to be (fittings to be paid separately). 18 mm thick Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60 sqm.+! Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed	h one side de IS : 128	decorativ 23 marke	e and other d, in shelve	r side s with
9.18.1	graded wood particle board IS: 3087 marked, with balancing lamination. Grade I, Type II exterior grascrews and fittings wherever required, edges to be (fittings to be paid separately). 18 mm thick Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed	h one side de IS : 128	decorativ 23 marke	e and other d, in shelve	r side s with
9.18.1	screws and fittings wherever required, edges to be (fittings to be paid separately). 18 mm thick Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed	de IS : 128: e painted v	23 marke with polyu	d, in shelve urethane pri	s with imer
9.18.1	(fittings to be paid separately). 18 mm thick Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed	e painted v	with poly	urethane pri	imer
9.18.1	18 mm thick Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	Details of cost for 4 nos. 75x20cm shelves = 0.60 sqm MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	MATERIAL: 18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	18mm thick particle board = 4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	4x75x20cm = 0.60sqm.+ Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	Wastage @ 5% = 0.03sqm: Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	Total = 0.63 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
7478	Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed				
	and other side balancing lamination, flat pressed				
į					
	3 layer & graded (medium density) Grade I, Type II				
	conforming to IS : 12823 (exterior grade) 18 mm thick	sqm	0.63	560.00	352.80
	Carriage of board ! LABOUR:	L.S.	0.91	2.12	1.93
	Carpenter 2nd class	day	0.11	1 200 00	40.50
	Beldar i	day day	0.11 0.06	369.00 306.00	40.59
	Sundries, painting edges & screws	L.S.	7.80	2.12	18.36 16.54
	TOTAL	L.O.	7.00	2.12	430.22
	Add Water Charges @ 1%				4.30
	TOTAL				434.52
	Add GST 12% on "X"(multiplying factor 0.1405)				61.05
	Total				495.57 (Y
	Add CPOH @ 15%				74.34
	Cost of 0.6 sqm				569.90
	Cost of 1 sqm				949.84
	labour cess @1%				9.50
	Rate including labour cess				959.34
9.18.2 2	25 mm thick	Say Rs.	959.30	per sqm	
	3				
	Details of cost for 4 nos. 75x20cm shelves = ** 0.60 sqm				
	MATERIAL:				
	25mm thick particle board =				
	4x75x20cm = 0.60sqm.+				
	Nastage @ 5% = 0.03sqm				
	Total = 0.63 sqm				
7479 P	Prelaminated particle board with one side decorative				
	and other side balancing lamination, flat pressed				
	layer & graded (medium density) Grade I, Type II				
	conforming to IS: 12823 (exterior grade) 25 mm thick	sqm	0.63	850.00	535.50
	Carriage of board	L.S.	1.82	2.12	3.86
	ABOUR:		_	,	2.00
	Carpenter 2nd class	day	0.11	369.00	40.59
	Beldar	day	0.06	306.00	18.36
9999 S	undries, painting edges & screws	, L.S.	7.80	2.12	16.54

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL.				614.84
	Add Water Charges @ 1%				6.15
	TOTAL				620.99
	Add GST 12% on "X"(multiplying factor 0.1405)				87.25
	Total				708.24
	Add CPOH @ 15%				106.24
	Cost of 0.6 sqm				814.48
	Cost of 1 sqm				1357.46
	labour cess @1%				13.57
	Rate including labour cess				1371.04
	i,	Say Rs.	1371.00	per sqm	
9.20	Providing and fixing ISI marked flush door shutters conform of block board construction with frame of 1 st class hard with vertical grains or cross bands and face veneers on b	wood and w	ell matched		
9.20.1	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws				
	Details of cost for 2.2 sqm MATERIAL:				
0713	Block board construction flush door with teak wood				
0713	ply on both faces 35 mm thick		2 20	1000.00	2000.00
9999	Carriage of door	sqm L.S.	2.20 29.64	1800.00 2.12	3960.00
8220	Stainless steel butt hinges (heavyweight)	L.S.	29.04	2.12	62.84
0220	100x60x2.5mm IS : 12817 marked	10 Nos	6.00	275.00	405.00
8211	Stainless steel screws 40 mm	10 Nos	6.00 48.00	275.00	165.00
0211	LABOUR:	100 NOS	48.00	250.00	120.00
0450	For fixing shutter and fittings				
0156 0114	Carpenter (average) Beldar	day	0.55	369.00	202.95
0114		day	0.55	306.00	168.30
	TOTAL				4679.09
	Add Water Charges @ 1%				46.79
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				4725.88
					663.99
	Total				5389.86
	Add CPOH @ 15%				808.48
	Cost of 2.2 sqm				6198.34
	Cost of 1 sqm				2817.43
	labour cess @1%				28.17
	Rate including labour cess				2845.60
	•	Say Rs.	2845.60	per sqm	
9.20.2	30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws Details of cost for 2.2 sqm MATERIAL:				
0714	Block board construction flush door with teak wood ply on both faces 30 mm thick	eam	2.20	1000.00	2522.22
9999	Carriage of door L.S.	sqm L.S.	2.20	1600.00	3520.00
3220	Stainless steel butt hinges (heavyweight)	L.J.	29.64	2.12	62.84
	100x60x2.5 mm IS : 12817 marked	10 Naa	0.00	077.00	
3211	Stainless steel screws 40 mm	10 Nos 100 Nos	6.00 48.00	275.00	165.00 120.00
J			4 D D D	250.00	

Code No	Description	Unit	Quantity	Rate	Amount ₹
-	LABOUR:				
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30
	TOTAL	,			4239.09
	Add Water Charges @ 1%				42.39
	TOTAL				4281.48
	Add GST 12% on "X"(multiplying factor 0.1405)				601.55
	Total				4883.03
	Add CPOH @ 15%				732.45
	Cost of 2.2 sqm				5615.48
	Cost of 1 sqm				2552.49
	labour cess @1%				25.52
	Rate including labour cess				2578.02
		Say Rs.	2578.00	per sqm	
0715	Details of cost for 2.2 sqm MATERIAL: Block hourd construction flush door with took wood			!	
0715	Block board construction flush door with teak wood			,	
	ply on both faces 25 mm thick	sqm	2.20	1400.00	3080.00
9999	Carriage of door	L.S.	29.64	2.12	62.84
	Fittings for a door 2.2x1.00m = 2.20 sqm		20.0	22	02.07
0608	Nickel plated bright finished mild steel piano hinges				
	1 mm thick 25 mm wide	metre	4.40	39.00	171.60
0639	Bright finished or black enameled mild steel screws				
	25 mm	100 Nos	125.00	40.00	50.00
	LABOUR:				
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30
	TOTAL				3735.69
	Add Water Charges @ 1%				37.36
	TOŢAL				3773.04
	Add GST 12% on "X"(multiplying factor 0.1405)				530.11
	Total				4303.16(
	. Add CPOH @ 15%				645.47
	Cost of 2.2 sqm				4948.63
	t Cost of 1 sqm				2249.38
	labour cess @1%				22.49

Say Rs. 2271.90 per sqm

9.21 Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type,core of block board construction with frame of 1 st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters:

35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws

Details of cost for 2.2 sqm

Rate including labour cess

@ 427 9 A BCD/SOR_11th Edition_ 2022

2271.87

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:			1	
0717	Block board construction flush door with commer	cial			
	ply on both faces 35 mm thick	mps	2.20	1000.00	2200.00
9999	Carriage of door	L.S.	29.64	2.12	62.84
	Fittings for a door 2.2x1.0m = 2.20 sqm				
8220	Stainless steel butt hinges (heavy weight)				
	100x60x2.5 mm IS: 12817 marked	10 Nos	6.00	275.00	165.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
	LABOUR:				
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30
0114) (TOTAL			2919.09
	Add Water Charge				29.19
	And Water Sharge	TOTAL			2948.28
	Add GST 12% on "X"(multiplying factor				414.23
	Add 551 1270 on 75 (maniplying factor	Total			3362.51
	! Add CPOH				504.38
		-			3866.89
		2.2 sqm	• {		1757.68
		of 1 sqm			
	laboui ce	_			17.58
	Rate including labou		4775.00		1775.25
		Say R	s. 1775.30	per sqm	
9.21.2	30 mm thick including ISI marked Stainle	SS			
	Steel butt hinges with necessary screws				
	Details of cost for 2.2 sqm				
	MATERIAL:				
0718	Block board construction flush door with commer	cial			
	ply on both faces 30 mm thick	sqm	2.20	900.00	1980.00
9999	Carriage of door	L.S.	29.64	2.12	62.84
	Fittings for a door 2.2x1.0m = 2.20 sqm				
8220	Stainless steel butt hinges (heavyweight)				
	100x60x2.5mm IS: 12817 marked	10 Nos	6.00	275.00	165.00
B211	Stainless steel screws 40 mm	ے 100 Nos	48.00	250.00	120.00
	LABOUR:	900000000000000000000000000000000000000			
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30
	+	TOTAL	0.55	300.00	
	Add Water Charge				2699.09
	Add Water Charge	_			26.99
	Add GST 12% on "X"(multiplying factor	TOTAL			2726.08
	Add 931 12% on A (muliphying factor	•			383.01
		Total			3109.09
	Add CPOH	_			466.36
	Cost of	2.2 sqm			3575.46
	Cost	of 1 sqm	-		1625.21
	labour ce	ss @1%			16.25
	Pata including labor				
	Rate including labou	rcess			1041.40
	Kate including labou	r cess Say R	s. 1641.50	persqm	1641.46

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.21.3	25 mm thick (for cupboard) including ISI marked nickel p	lated bright	finished M.S	6. piano hin	ges with
	necessary screws				
	Details of cost for 2.2 sqm				
	MATERIAL:				
0719	Block board construction flush door with commercial				4059.00
	ply on both faces 25 mm thick	sqm	2.20	890.00	1958.00 62.84
9999	Carriage of door Fittings for a door 2.2x1.0m = 2.20 sgm	L.S.	29.64	2.12	02.04
0608	Nickel plated bright finished mild steel piano				
0000	hinges 1 mm thick 25 mm wide	metre	4.40	39.00	171.60
0639	Bright finished or black enameled mild steel	100 Nos	125.00	40.00	50.00
	screws 25 mm				
	LABOUR:				
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30
	TOTAL				2613.69
	Add Water Charges @ 1%				26.14
	Add CST 129/ on "Y"/ multiplying foster 0 1405\				2639.82 370.90
	Add GST 12% on "X"(multiplying factor 0.1405) Total			,	3010.72 (Y)
	Add CPOH @ 15%				451.61
	Cost of 2.2 sqm				3462.33
	Cost of 1 sqm				1573.78
	labour cess @1%				15.74
	Rate including labour cess				1589.52
		Say Rs.	1589.50	per sqm	
9.22	Extra for Providing and fixing flush doors with decorative	e veneering	instead of no	n decorativ	e ISI
	marked flush door shutters conforming to I.S. 2202 (part	: I).			
9.22.1	On one side only				
	Details of cost for 1 sqm.				
7307	For flush door shutters Extra for providing teak veneering on one side instead of commercial veneering				
	on one state meteral of commenced removing	sqm	1.00	305,00	305.00
	TOTAL	-			305.00
	Add Water Charges @ 1%				3.05
	TOTAL				308.05
	Add GST 12% on "X"(multiplying factor 0.1405)				43.28
	Total				351.33 (Y)
	Add CPOH @ 15%				52.70
	Cost of 1 sqm				404.03
	labour cess @1% Rate including labour cess				4.04
	Nate including labour cess	Say Rs.	408.10	per sqm	408.07
9.23	Extra for providing lipping with 2nd class teak wood batt	tens 25 mm			dges of
	flush door shutters (over all area of door shutter to be m	ieasured).			
	Details of cost for 1 sqm of door area	00m of de-			
0752	Block board construction flush door lipping	sqm of door area	1.00	300.00	300.00
of X	TOTAL 429 9	/ A	& BCD)/SOR_11 th	300.00 Edition_2022
		- St			

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add Water Charges @ 1%				3.00
	TOTAL				303.00
	Add GST 12% on "X"(multiplying factor 0.1405)				42.57
	Total				345.57
	Add CPOH @ 15%				51.84
	Cost of 1 sqm				397.41
	labour cess @1%				3.97
	Rate including labour cess				401.38
	rate molading labour coss	Say Rs.	401.40	per sqm	
9.23A	Providing and fixing 25 mm thick shutters for				
0.207	cupboards etc.induding black enamelled M.S. butt				
	hinges with necessary screws :				
9.23A.1	Panelled or panelled and glazed shutters				
	Second class teak wood				
,,	Details'of cost for Shutters of a board(half				
	panelled and half glazed) 200*108 cm - 2.16 sqrn				
	Materials:				
	Teak wood (2nd dass)				
	Styles 4x2.00 m = 8.00 m !				
	Rails 3x1.105 m = 3.315 m				
	= 11.315m				
	11.315x0.08x0.025 = 0.023;cum				
	Par.2ls-2x0.48x0.41x0.016 = 0.006 cum				
	Sash bare 2x1.14 =2.28				
	6x0.48 = 2.68				
	=5.16				
	5.16x0.038x0.025 = 0.005 cum				
	Beadings-16x0.92x0.014x0.012 = 0.002 cum				
	Total = 0.036 cum				
	Add wastage @ 10 % =0.004 cum				
(4400)	Total = 0.040 cum				
(1190)	Say 40 cudm	10 cudm	4.000	791.00	3164.00
(2204)	Carriage of timber	cum	0.040	187.35	7.49
(0500)	Fittings				
(0596)	Iron hinges 75*40*1.70 mm	10 Nos	0.600	56.00	33.60
(0638)	Screws 30 mm	100 Nos	0.480	45.00	21.60
(2406)	Glasses 10 kg/sqm (4.0 mm thick)	sqm'	0.990	309.00	305.91
	Labour:				
(0156)	Carpenter (Average)	per day	2.400	369.00	885.60
(0114)	Beldar	per day	0.770	306.00	235.62
(0119)	Glazier	per day	0.180	344.00	61.92
(9999)	Sundries	1 time	15.550	2.12	32.97
	Total				4748.71
	Add for water charges @ 1%				47.487
	Total				4796.197
	Add GST 12% on "X"(multiplying factor 0.1405)				673.87
	Total				5470.06
	Add for contractor's profit and over-heads @ 15%				820.509
	Cost of 2.16 sqm				6290.572
	Cost of 1 sqm				
	Add labour cess @ 1%				2912.302
	Rate including labour cess				29.12
	Trate including labour cess		Carr D-	9044 40	2941.42
			Say Rs	. 2941.40	per sqm
9.23A.2	Glazed shutters				
234 2 1	Second class teak wood				
207.2.1					

	Descripti	on	Unit	Quantity	Rate ₹	Amount ₹
	9.6.3.6					
	Details of cost for shutters of a c	loor (glazed)				
	$200 \times 108 \text{cm} = 2.16 \text{sgm}$,				
	Materials:					
	(i) Teak wood (2nd class)					
(1190)	Quantity		40	4 200	704.00	3401.30
(1100)	(ii) Glasses (10 kg/sqm)4.0 mm	Alai al	10 cudm	4.300	791.00	3401.30
(2406)	Overtity of the state of C.2.5 (25)	tnick				000.40
(2406)	Quantity as per item 9.6.3.5 (25		sqm	1.270	309.00	392.43
(0.0.4.0)	(iii) Black enamelled M.S.butt his	nges and screws-				
(9.9.1.2)	Same as per ilem 9.6.3.5			1.000	224.00	224.00
(2204)	Carnage of timber		cum	0.043	187.35	8.06
	Labour:	3				
(0156)	Carpenter (Avg.)	,	per day	1.830	369.00	675.27
(0119)	Glazier		per day	0.230	344.00	79.12
(0114)	Baldar	1	Per	0.770	306.00	235.62
(9999)	Sundaries	<u>{</u>	1 time	15.650	2.12	33.18
(/	Add for vvster charges @ 1 %	•	i time	15.650	2.12	
	Total					50.49
						5099.46
	Add GS1 12% 011 X (multiplying factor 0.1405)				716.47
	A -l -l fan a - stand to the first	Total				5815.94 (`
	Add for contractor's profit and or	ver-þeads @ ICTo				872.39
	Cost of 2.16 sqm					6688.33
	Cost of 1 sqm					3096.45
	Add labour cess @ 1%				;	30.96
	Rate including labour cess	į				3127.41
				Say Rs.	3127.40	per sqm
				•		F - 1 - J
0753	Details of cost for 1 sqm of do Square vision panel in Block boa					
0733						
	door	ard construction flush	sqm of door			
	door	ard construction flush	sqm of door area	1.00	130.00	130.00
	door	ard construction flush TOTAL		1.00	130.00	130.00
	door	TOTAL		1.00	130.00	130.00
	door	TOTAL dd Water Charges @ 1%		1.00	130.00	
	door	TOTAL dd Water Charges @ 1% TOTAL		1.00	130.00	130.00
	door	TOTAL dd Water Charges @ 1%		1.00	130.00	130.00 1.30
	door	TOTAL dd Water Charges @ 1% TOTAL		1.00	130.00	130.00 1.30 131.30 18.45
	door	TOTAL dd Water Charges @ 1% TOTAL multiplying factor 0.1405) Total	area	1.00	130.00	130.00 1.30 131.30 18.45 149.75 (Y
	door	TOTAL dd Water Charges @ 1% TOTAL multiplying factor 0.1405) Total Add CPOH @ 15%		1.00	130.00	130.00 1.30 131.30 18.45
	door	TOTAL dd Water Charges @ 1% TOTAL multiplying factor 0.1405) Total	area	1.00	130.00	130.00 1.30 131.30 18.45 149.75 (Y
	door	TOTAL dd Water Charges @ 1% TOTAL multiplying factor 0.1405) Total Add CPOH @ 15%	area	1.00	130.00	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21
	door A Add GST 12% on "X"(TOTAL dd Water Charges @ 1%	area	1.00	130.00	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72
	door A Add GST 12% on "X"(TOTAL dd Water Charges @ 1% TOTAL multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 1 sqm	area			130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21
0.04	Add GST 12% on "X"(TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
9.24	Add GST 12% on "X"(Rate Extra for providing vision pane	TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
9.24	Add GST 12% on "X"(Rate Extra for providing vision pane	TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to	TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
9.24 9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular	TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular	TOTAL dd Water Charges @ 1%	area	173.90	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do	TOTAL dd Water Charges @ 1%	Say Rs.	173.90 flush doors (d	per sqm	130.00 1.30 131.30 18.45 149.75 (\) 22.46 172.21 1.72 173.93
	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (\) 22.46 172.21 1.72 173.93
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do	TOTAL dd Water Charges @ 1%	Say Rs.	173.90 flush doors (d	per sqm	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (Y 22.46 172.21 1.72 173.93 • excluded)
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (V 22.46 172.21 1.72 173.93 excluded)
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d	per sqm cost of glass	130.00 1.30 131.30 18.45 149.75 (\text{\tilit{\texi}\text{\text{\text{\text{\text{\te\tint{\
9.24.2	Add GST 12% on "X"(Rate Extra for providing vision pane (overall area of door shutter to Circular Details of cost for 1 sqm of do Circular vision panel in Block bo	TOTAL dd Water Charges @ 1%	Say Rs. all type of	173.90 flush doors (d 1.00	per sqm cost of glass 135.00	130.00 1.30 131.30 18.45 149.75 (\(\) 22.46 172.21 1.72 173.93 • excluded)

No	Description	Unit	Quantity	Rate	Amount ₹
	Add CPOH @ 15%	Action (Control of Control of Con			23.33
	Cost of 1 sqm				178.83
	labour coss @1%				1.79
	Rate including labour cess				180.62
		Say Rs.	180.60	per sqm	
9.25	Extra if louvers (not exceeding 0.2 sqm) are				
	provided in flush door shutters (overall area of				
	door shutters to be measured).				
9.25.1	Decorative type door				
	Details of cost for 1 sqm of door area				
	3				
0755	Decorative type louvers in Block board constructionflush	sqm of door	1.00	265.00	
	door	area	1.00	200.00	265.00
	TOTAL				265.00
	Add Water Charges @ 1%				2.65
	TOTAL				267.65
	Add GST 12% on "X"(multiplying factor 0.1405)				37.60
	Total				305.25
	! Add CPOH @ 15%				45.79
	Cost of 1 sqm				351.04
	labour cess @1%				3.51
	Ratė́ including labour cess				354.55
		Say Rs.	354.60	per sqm	
9.26	Extra for cutting rebate in flush door shutters (Total area of the shutter to be measured).				
	Details of cost for 1 sqm of door area				
0757		sqm of door	4.00		
0/3/	Rebate cutting in block board construction flush door	area	1.00	70.00	70.00
	TOTAL				70.00
	Add Water Charges @ 1%				0.70
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				70.70
	Total				9.93
	Add CPOH @ 15%				80.63
	3				12.10
	Cost of 1 square				92.73
	labour cess @1% Rate including labour cess				0.93
	Nate including labour cess	Cav Da	02.70		93.66
	•	Say Rs.	93.70	per sqm	

Code	Des	cription	Unit	Quantity	Rate	Amount ₹
	Styles 4x200x9.5x3.5cm =	=0.0266cum+			2 0	
	Top Rail - 1x110.5x9.5x3.	5cm = 0.0036cum+				
	Lock and bottom rail 2x11	0.5x 19.7x3.5cm= 0.0152 cum.+				
	Beadings -					
	(2x312+2x150)x(1.2)x(1.2)cm=0.001 cum.				
	Total = 0.0464 cum. +					
	Add for wastage @ 10% =	= 0.005 cum.= 0.0514 cum.				
	Say 51.4 cudm					
1190	Second class teak wood in	n planks	10 cudm	51.40	791.00	4065.74
	Wire gauge 2x160x40cm	= 1.28 sqm.+				
	Add wastage @ 10% = 0.	13 sqm. Total= 1.41 sqm				
7029	Galvanised wire mesh of a	average width of aperture				
	1.4 mm and nominal dia o		sqm	1.41	250.00	352.50
0595	Bright finished or black en					
	hinges 100x58x1.90 mm		10 Nos	6.00	80.00	48.00
0597	Bright finished or black en	ameled mild steel butt				
	hinges 50x37x1.50 mm		10 Nos	2.00	49.00	9.80
0637	Bright finished or black en	ameled mild steel screws				
	40 mm	:	100 Nos	48.00	60.00	28.80
0640	Bright finished or black en	ameled mild steel screws				1
	20 mm	1	100 Nos	8.00	35.00	2.80
2204	Carriage of timber	1	cum	0.05	187.35	9.55
	LABOUR:					0.00
0111	Carpenter 1 st class		day	1.30	413.00	536.90
0112	Carpenter 2nd class		day	0.90	369.00	332.10
0114	Beldar	•	day	1.05	306.00	321.30
0130	Mistry		day	0,11	306.00	32.13
9999	Sundries		L.S.	33.80	2.12	71.66
		TOTAL				5811.28
		Add Water Charges @ 1%				58.11
		TOTAL				5869.39
	Add GST 12% or	"X"(multiplying factor 0.1405)				824.65
		Total				6694.04 (
		Add CPOH @ 15%				1004.11
		Cost of 2.16 sqm	· ·			7698.15
		Cost of 1 sqm				3563.96
		labour cess @1%				35.64
		Rate including labour cess				3599,60
		-	Say Rs.	3599,60	per sam	0000.00

9.27.1.1.2 Kiln seasoned and chemically treated hollock wood

Details of cost for door shutters 2.00x1.08m = 2.16sqm

(i) Hollock wood.

Styles 4x200x9.5x3.5cm = 0.0266cum+

Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum +

Lock and bottom rail

2x110.5x19.7x3.5cm = 0.0152 cum. +

Beadings

(2x312+2x150)x(1.2)x(1.2)cm = 0.001 cum.

Total = 0.0464 cum.+

433 9 A BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add for wastage @ 10% = 0.005 cum.				
	Total = 0.0514 cum. Say 51.4 cudm				
2505	Hollock wood in planks	10 cudm	51.40	402.00	2066.28
2204	Carriage of timber	cum	0.05	187.35	9.63
2504	Kiln seasoning of timber	cum	0.05	772.00	39.68
9999	Chemical Treatment Wire gauge				
	2xl60x40cm = 1.28 sqm.				
	+Add wastage @ 10% = 0.13 sqm.				
	Total= 1.41 sqm	L.S.	8.97	2.12	19.02
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
0595	Bright finished or black enameled mild steel butt				
	hinges100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt	10 1103	0.00	00.00	40.00
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	0.90
0637	Bright finished or black enameled mild steel screws	10 1405	2.00	49.00	9.80
	40 mm	100 Na-	40.00	00.00	
0640	Bright finished or black enameled mild steel screws	100 Nos	48.00	60.00	28.80
0040	20 mm	400 11	2.22		
	LABOUR:	100 Nos	8.00	35.00	2.80
0111	Companies 4 of slave		F- 14 77	1	
	Carpenter 1 st class	day	1.30	413.00	536.90
0112	Carpenter 2nd class	day	0.90	369.00	332.10
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32.13
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				3870.59
	Add Water Charges @ 1%				38.71
	TOTAL				3909.30
	Add GST 12% on "X"(multiplying factor 0.1405)				549.26
	Total				4458.56
	Add CPOH @ 15%				668.78
	Cost of 2.16 sqm				5127.34
	Cost of 1 sqm				2373.77
	labour cess @1%				23.74
	Rate including labour cess				
		Say Re	2397.50	2010	2397.51
7.1.1.3	Kiln seasoned selected class of shesham wood	Jay Its.	2397.50	per sqm	
	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm				
	MATERIAL:				
	Sheesham Wood				
	Styles 4 x 200 x 9.5x3.5 cm= 0.0266 cum+				
	Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum+				
	Styles 4x200x9.5x3.5cm = 0.0266cum+				
	Top Rail - 1 x 110.5x9.5x3.5cm = 0.0036cum+				
	Lock and bottom rail				
	2 x 110.5x19.7x3.5 cm = 0.0152 cum. +			•	
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm = 0.001 cum				
	Table 6 6 46 4				
	Total = 0.0464 cum. +				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add for wastage @ 10% = 0.005 cum.				L
	=0.0514 cum.				
	say 51.4 cudm				
1200	Kiln seasoned selected sheesham wood planks	10 cudm	51.40	650.00	3341.00
2204	Carriage of timber	cum	0.05	187.35	9.63
2504	Kiln seasoning of timber	cum	0.05	772.00	39.68
	Wire guage 2x160x40cm=1.28 sqm.+		0,00		
	Add wastage@ 10 % = 0.13 sqm				
	Total = 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
0595	Bright finished or black enameled mild steel butt	sqiii	1.24 1	250.00	332.30
	hinges 100x58x1.90 mm	10 Nos	C 00	00.00	40.00
0597	Bright finished or black enameled mild steel butt	10 Nos	6.00	80.00	48.00
	hinges 50x37x1.50 mm	40 N	0.00	45.55	
0637		10 Nos	2.00	49.00	9.80
000,	Bright finished or black enameled mild steel screws 40 mm				
0640		100 Nos	48.00	60.00	28.80
0040	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
0111	LABOUR:				1
	Carpenter 1 st class	day	1.30	413.00	536.90
0112	or, periter zira diada	day	0.90	369.00	332.10
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32.13
9999	Sundries	L.S.	33.80	2.12	71.66
	. TOTAL				5126.30
	Add Water Charges @ 1%				51.26
	TOTAL				5177.56
	Add GST 12% on "X"(multiplying factor 0.1405)				727.45
	Total				5905.01 (
	Add CPOH @ 15%				885.75
	Cost of 2.16 sgm				6790.76
	Cost of 1 sqm				3143.87
	labour cess @1%				
	Rate including labour cess				31.44
	3	Say Rs.	3175.30	per sqm	3175.31
9.27.1.2	With ISI marked stainless steel butt hinges of	ouy its.	3173.30	per sqm	
	required size				
27.1.2.1	Second class teak wood				
	Details of cost for door shutters 2.00x1.08m=				
	2.16sqm				
	MATERIAL:				
	Second class Teak wood				
	Styles 4x200x9.5x3.5cm = 0.0266cum+				
	Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum+				
	Lock and bottom rail				
	2x110.5x19.7x3.5cm = 0.0152 cum.+				
	Beadings -				•
	(2x312+2x 150)x(1.2)x(1.2)cm = 0.001 cum.				
	Total = 0.0464 cum.+				
	Add for wastage @ 10% = 0.005 cum.				
n Y	1 2 By 6 435 9	/ ^	a		
~		· 11 -		D/SOR_11" E	

Description	Unit	Quantity	₹	₹
Total = 0.0514 cum. Say 51.4 cudm				
Second class teak wood in planks	10 cudm	51.40	791.00	4065.74
Wire gauge 2xl60x40cm = 1.28 sqm.+				
Add wastage @ 10% = 0.13 sqm.				
Total= 1.41 sqm				
Galvanised wire mesh of average width of aperture				
1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
Stainless steel butt hinges (heavyweight)				
100x60x2.5 mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
		2.00		30.00
1	100 Nos	48.00	250.00	120.00
	100 Nos		150.00	12.00
	cum	0.05	187.35	9.63
	•			536.90
				332.10
	•			321.30
				32.13
		33.80	2.12	
•				6048.96
				60.49
				6109.45
				858.38
				6967.82 (Y
				916.42
				14852.06
·				6875.95
9				68.76
, and a second of the second o	Say Rs	6944 70	nercam	6944.71
2 Kiln seasoned and chemically treated hollock w		0044.70	her squi	
	•••			
2.16sqm				
MATERIAL:				
Hollock wood	-			
Styles 4x200x9.5x3.5cm = 0.0266cum +				
Top Rail - 1x1 10.5x9.5x3.5cm = 0.0036cum+				
Lock and bottom rail				
2x110.5x19.7x3.5cm = 0.0152 cum.+				
Beadings -				
Total = 0.0514 cum. Say 51.4 cudm				
Hollock wood in planks	10 cudm	51.40	402.00	2066.28
	cum	0.05		39.68
Chemical treatment	L.S.	8.97		19.02
·				
Add wastage				
@ 10% = 0.13 sqm.				
1078 - 0.13 Sqiii.				
	Second class teak wood in planks Wire gauge 2xl60x40cm = 1.28 sqm.+ Add wastage @ 10% = 0.13 sqm. Total= 1.41 sqm Galvanised wire mesh of average width of aperture 1.4 mm and nominal dia of wire 0.63 mm Stainless steel butt hinges (heavyweight) 100x60x2.5 mm IS : 12817 marked Stainless steel butt hinges 50x37x1.5 mm IS : 12817 marked Stainless steel screws 40 mm Stainless steel screws 20 mm Carriage of timber LABOUR: Carpenter 1 st class Carpenter 2nd class Beldar Mistry Sundries TOTAL Add Water Charges @ 1% TOTAL Add CPOH @ 15% Cost of 2.16 sqm Cost of 1 sqm labour cess @ 1% Rate including labour cess 2. Kiln seasoned and chemically treated hollock w Details of cost for door shutters 2.00x1.08m= 2.16sqm MATERIAL: Hollock wood Styles 4x200x9.5x3.5cm = 0.0266cum + Top Rail - 1x1 10.5x9.5x3.5cm = 0.0036cum+ Lock and bottom rail 2x110.5x19.7x3.5cm = 0.0152 cum.+ Beadings - (2x312+2x 150)x(1.2)x(1.2)cm = 0.001 cum. Total = 0.0464 cum.+ Add for wastage @ 10% = 0.005 cum. Total = 0.0464 cum.+ Add for wastage @ 10% = 0.005 cum. Total = 0.0514 cum. Say 51.4 cudm Hollock wood in planks Kiln seasoning of timber Chemical treatment Wire gauge 2x160x40cm = 1.28 sqm.+ Add wastage	Second class teak wood in planks 10 cudm	Second class teak wood in planks 10 cudm 51.40	Second class teak wood in planks 10 cudm 51.40 791.00

Code No	Description		Unit	Quantity	Rate ₹	Amount ₹
	Total= 1.41 sqm					
7029	Galvanised wire mesh of average v					
	aperture 1.4 mm and nominal dia o	f wire 0.63 mm	sqm	1.41	250.00	352.50
8220	Stainless steel butt hinges (heavyw	reight)	-2.4			
	100x60x2.5 mm IS: 12817 marked		10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1	.5 mm				
	IS: 12817 marked		10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm	•	100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm		100 Nos	8.00	150.00	12.00
2204	Carriage of timber		cum	0.05	187.35	9.55
	LABOUR:		ou	0.00	107.00	0.00
0111	Carpenter 1 st class		day	1.30	413.00	536.90
0112	Carpenter 2nd class		day	0.90	369.00	332.10
0114	Beldar	<u> </u>	day	1.05	306.00	321.30
0130	Mistry	·	day	0.11	306.00	
9999	Sundries		L.S.	33.80	2.12	32.13
		· TOTAL	L.G.	33.00	2.12	71.66
	bbA	Water Charges @ 1%				4108.12
		TOTAL				41.08
	Add GST 12% on "X"(mu					4149.20
	(. Total				58,2.96
		Add CPOH @ 15%				4732.16
		Cost of 2.16 sqm				709.82
		Cost of 1 sqm				5441.99
		Cost of 1 squi				2519.44
		labour soon @10/				
	Rate inc	labour cess @1%				25.19
	Rate inc	labour cess @1% luding labour cess	Sau Da	2544.00		25.19 2544.63
27.1.2.3		luding labour cess	Say Rs.	2544.60	per sqm	
27.1.2.3	3 Kiln seasoned selected class	luding labour cess of sheesham wood	Say Rs.	2544.60	per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0	luding labour cess of sheesham wood	Say Rs.	2544.60	per sqm	
27.1.2.3	3 Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm	luding labour cess of sheesham wood	Say Rs.	2544.60	per sqm	
27.1.2.3	3 Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL:	luding labour cess of sheesham wood	Say Rs.	2544.60	per sqm	
27.1.2.3	3 Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood	luding labour cess of sheesham wood 0 x	Say Rs.	2544.60	per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02	luding labour cess of sheesham wood 0 x 66 cum+	Say Rs.	2544.60	per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0	luding labour cess of sheesham wood 0 x 66 cum+	Say Rs.	2544.60	per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail	of sheesham wood 0 x 66 cum+ 036 cum +			per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm = 0.0152 cur	of sheesham wood 0 x 66 cum+ 036 cum +		2544.60	per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm = 0.0152 cur Beadings -	of sheesham wood 0 x 66 cum+ 036 cum +			per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0	of sheesham wood 0 x 66 cum+ 036 cum +			per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. +	of sheesham wood 0 x 66 cum+ 036 cum +			per sqm	
27.1.2.3	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur	of sheesham wood 0 x 66 cum+ 036 cum +			per sqm	
	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum			per sqm	
1200	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum			per sqm 650.00	2544.63
	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham with the control of timber	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks		·•	650.00	2544.63 3341.00
1200	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham with the cost of the	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks	10 cudm	51.40		2544.63
1200	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham with the control of timber	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks	10 cudm	51.40	650.00	2544.63 3341.00
1200	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks	10 cudm	51.40	650.00	2544.63 3341.00
1200	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks	10 cudm	51.40	650.00	2544.63 3341.00
1200 2504	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm= 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm Galvanised wire mesh of average w	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks	10 cudm cum	51.40 0.05	650.00 772.00	2544.63 3341.00 39.68
1200 2504	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm Galvanised wire mesh of average w 1.4 mm and nominal dia of wire 0.65	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks .+	10 cudm	51.40	650.00	2544.63 3341.00
1200 2504 7029	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm Galvanised wire mesh of average w 1.4 mm and nominal dia of wire 0.65 Stainless steel butt hinges (heavyw	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum m. wood planks .+	10 cudm cum	51.40 0.05	650.00 772.00 250.00	2544.63 3341.00 39.68 352.50
1200 2504 7029	B Kiln seasoned selected class Details of cost for door shutters 2.0 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.02 Top Rail - 1x110.5x9.5x3.5cm = 0.0 Lock and bottom rail 2 x 110.5x19.7x3.5 cm =0.0152 cur Beadings - (2x312+2x 150) x(1.2)x(1.2) cm = 0 Total = 0.0464 cum. + Add for wastage @ 10% = 0.005cur 0.0514 cum.say 51.4 cudm Kiln seasoned selected sheesham v Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm Galvanised wire mesh of average w 1.4 mm and nominal dia of wire 0.65	of sheesham wood 0 x 66 cum+ 036 cum + n001 cum wood planks .+ idth of aperture 3 mm eight)	10 cudm cum	51.40 0.05	650.00 772.00	2544.63 3341.00 39.68

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	IS : 12817 marked	10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
2204	Carriage of timber LABOUR:	cum	0.05	187.35	9.63
0111	Carpenter 1 st class	day	1.30	413.00	536.90
0112	Carpenter 2nd class	day	0.90	369.00	332.10
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32,13
9999	Sundries	L.S.	33.80	2.12	71.66
	TC Add Water Charges @	TAL			5363.90 53.64
	•	TAL			5417.54
	Add GST 12% on "X"(multiplying factor 0.1				761.16
		Total			6178.70 (
	Add CPOH @				
	Cost of 2.16				926.80
	Cost of 1	•			7105.50
	labour cess @				3289.59
	Rate including labour ce				32.90
		Say Rs.	3322.50	per sqm	; 3322.48
9.27.2	30 mm thick shutters	ouy its.	3322.30	per squi	
9.27.2.1	With ISI marked M.S. pressed butt hinges brifinished of required size	ight			
27 2 1 1	Second class teak wood				
,,	Details of cost for door shutters 2.00x1.08m =				
	2.16sqm				
	MATERIAL:				
	Teak wood (2nd class)				
	Styles 4x209x9.5x3cm= 0.023 cum +				
	Top Rail - 1x110.5x9.5x3cm = 0.003cum+				
	Lock and bottom rail 2x110.5xl9.7x3cm = 0.013 cum-	.			
	Beadings -(2x312+2x150)x(1.2)x(1.2)cm = 0.001 cur Total = 0.040cum +				
	Add for wastage @ 10% = 0.004 cum.				
	Total = 0.44cum. Say 44 cudm	-			
1190	Second class teak wood in planks	10 aveles	44.00		
2204	Carriage of timber	10 cudm	44.00	791.00	3480.40
	Wire gauge 2x160x40cm = 1.28 sqm.+ Add wastage	cum	0.04	187.35	8.24
	@ 10% = 0.13 sqm. Total= 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
, 020	1.4 mm and nominal dia of wire 0.63 mm				
0595	Bright finished or black enameled mild steel butt	sqm	1.41	250.00	352.50
0000	hinges 100x58x1.90 mm	40.11			
0597	Bright finished or black enameled mild steel butt	10 Nos	6.00	80.00	48.00
0007	hinges 50x37x1.50 mm	40.41			
0637	Bright finished or black enameled mild steel screws	10 Nos	2.00	49.00	9,80
0037	40 mm				
0640	70 11111	100 Nos	48.00	60.00	28.80
0040	Bright finished or black enameled mild steel screws				
0040		100 Nos	8.00	35.00	2.80

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0111	Carpenter 1 st class	day	1.20	413.00	495.60
0112	Carpenter 2nd class	day	0.80	369.00	295.20
0114	Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				5129.60
	Add Water Charges @ 1%				51.30
	TOTAL				5180.90
	Add GST 12% on "X"(multiplying factor 0.1405)				727.92
	Total				5908.81
	Add CPOH,@ 15%				886.32
	Cost of 2:16 sqm				6795.13
	Cost of 1 sqm				3145.89
	labour cess @1%				31.46
	Rate including labour cess				3177.35
		Say Rs.	3177.40	per sqm	3177.33
9.27.2	30 mm thick shutters	ouy its.	3111.40	per squi	
27.2.1					
.27.2.1.2	Riln seasoned and chemically treated hollock wo	od			,
		ou			,
	Details of cost for door shutters 2.00 x 1.08 m = 1				
	2.16 sqm				
	MATERIAL:				
	Hollock wood				
	Styles 4x209x9.5x3cm = 0.023 cum +				
	Top Rail - 1x110.5x9.5x3cm = 0.003cum+				
	Lock and bottom rail				
	2x110.5x19.7x3cm = 0.013 cum+				
	Beadings -				
	(2×312+2×150)×(1.2)×(1.2)cm=0.001 cum.				
	Total = 0.040 cum+				
	Add for wastage @ 10% = 0.004 cum.				
	Total = 0.44 cum. Say 44 cudm				
2505	Hollock wood in planks	10 cudm	44.00	402.00	1768.80
2204	Carriage of timber	cum	€0.04	187.35	8.24
2504	Kiln seasoning of timber	cum	0.04	772.00	33.97
9999	Chemical treatment	L.S.	9.10	2.12	19.29
	Wire gauge 2x160x40cm = 1.28 sqm.+ -				
	Add wastage @ 10% = 0.13 sqm.				
	Total= 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	252.50
0595	Bright finished or black enameled mild steel butt	sqiii	1.41	250.00	352.50
	hinges 100x58x1.90 mm	40 N	0.00		
0597		10 Nos	6.00	80.00	48.00
0331	Bright finished or black enameled mild steel butt				
0007	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				,
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
~ ~	12 Q Q 130 Q	/ A	1		

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	LABOUR:				
0111	Carpenter 1 st class	day	1.20	413.00	495.60
0112	Carpenter 2nd class	day	0.80	369.00	295.20
0114	Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				3471.26
	Add Water Charges @ 1%				34.71
	TOTAL				3505.97
	Add GST 12% on "X"(multiplying factor 0.1405)				492.59
	Total				3998.56
	Add CPOH @ 15%				599.78
	Cost of 2.16 sqm				4598.35
	Cost of 1 sqm				2128.86
	labour cess @1%				21.29
	Rate including labour cess				2150.15
		Say Rs.	2150.20	per sqm	
	Kiln seasoned selected class of sheesham			• * * * * * * * * * * * * * * * * * * *	
.27.2.1.3					
	Details of cost for door shutters 2.00x				ţ
	1.08 m = 2.16 sam				,
	MATERIAL:				
	Sheesham wood				
	Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+				
	Top Rail - 1x110.5x9.5x3 cm = 0.003cum+				
	Lock and bottom rail				
	2 x 110.5x19.7x3 cm = 0.013 um.+				
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm =0.001cum				
	Total = 0.040 cum, +				
	Add for wastage @ 10% = 0.004cum.				
	= 0.44 cum. say 44 cudm				
1200	Kiln seasoned selected sheesham wood planks	10 cudm	44.00	650.00	2860.00
2504	Kiln seasoning of timber		0.04	650.00	
2204	Carriage of timber	cum	0.04	772.00	33.97
	Wire guage 2x160x40cm=1.28 sqm.+	, cum سعة	0.04	187.35	8.24
	Add wastage @ 10 % = 0.13 sqm				
	Total = 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
7023	1.4 mm and nominal dia of wire 0.63 mm				
0595	Bright finished or black enameled mild steel butt	sqm	1.41	250.00	352.50
0000	hinges 100x58x1.90 mm	40.11		**************************************	
0597	Bright finished or black enameled mild steel butt	10 Nos	6.00	80.00	48.00
0331	hinges 50x37x1.50 mm				
0637		10 Nos	2.00	49.00	9.80
0037	Bright finished or black enameled mild steel screws				
0040	40 mm	100 Nos	48.00	49.00	23.52
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:				
0444	Corportor 1 et elege				
0111 0112	Carpenter 1 st class Carpenter 2nd class	day	1.20	413.00	495.60

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0114	Beldar	day	1.00	306.00	306 0
0130	Mistry	day	0.10	306.00	30.6
9999	Sundries	L.S.	33.80	2.12	71.6
	TOTAL				4537.8
	Add Water Charges @ 1%				45.3
	TOTAL				4583.2
	Add GST 12% on "X"(multiplying factor 0.1405)				643.9
	Total				5227.22
	Add CPOH @ 15%				784.08
	Cost of 2.16 sqm				6011.30
	Cost of 1 sqm				2783.01
	labour cess @1%				27.83
	Rate including labour cęss				2810.84
		Say Rs.	2810.80	per sqm	
.27.2.2	With ISI marked stainless steel butt hinges of required size				
27.2.2.1	Second class teak wood				
	Details of cost for door shutters 2.00x				
	1.08m=2.16sqm				
	MATERIAL:				
	Teak wood (2nd class)				
	Styles 4x209x9.5x3cm = 0.023 cum+				
	Top Rail - $1x110.5x9.5x3cm = 0.003cum +$				
	Lock and bottom rail 2x110.5xl9.7x3cm = 0.013 cum +				
	Beadings - $(2x312+2x150)x(1.2)x(1.2)cm = 0.001$ cum.				
	Total = 0.040cum+				
	Add for wastage @ 10% = 0.004 cum.				
	Total = 0.044 cum. Say 44 cudm				
1190	Second class teak wood in planks	10 cudm	44.00	791.00	3480.40
2204	Carriage of timber	cum	0.04	187.35	8.24
	Wire gauge 2x160x40cm = 1.28 sqm.+				
	Add wastage @ 10% = 0.13 sqm.				
	Total= 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
0000	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
8220	Stainless steel butt hinges (heavyweight)		ب		
0040	100x60x2.5 mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm				
0044	IS : 12817 marked -	10 Nos	2.00	150.00	30.00
	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
	LABOUR:				
	Carpenter 1 st class	day	1.20	413.00	495.60
	Carpenter 2nd class	day	0.80	369.00	295.20
	Beldar	day	1.00	306.00	306.00
	Mistry	day	0.10	306.00	30 60
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				5367.20
	Add Water Charges @ 1%				53.67
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				5420.87 761.63

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total				6182.50
	Add CPOH @ 15%				927.38
	Cost of 2.16 sqm				7109.88
	Cost of 1 sqm				3291.61
	labour cess @1%				32.92
	Rate including labour cess				3324.53
	;	Say Rs.	3324.50	per sqm	
.27.2.2.2	Kiln seasoned and chemically treated hollock wood				
	Details of cost for door shutters 2.00x				
	1.08m=2.16sqm				
	MATERIAL:				
	Hollock wood				
	Styles 4x209x9.5x3cm = 0.023 cum +				
	Top Rail - 1x110.5x9.5x3cm = 0.003cum+				
	Lock and bottom rail				
	2x110.5x19.7x3cm = 0.013 cum+				
	Beadings -				
	2x312+2x 150)x(1.2)x(1.2)cm = 0.001 cum.				
	Total = 0.040 cum+				1
	Add for wastage @ 10% = 0.004 cum.				
	Total= 0.044 cum. Say 44 cudm				
2505	Hollock wood in planks	10 cudm	44.00	402.00	1768.80
2504	Kiln seasoning of timber	cum	0.04	772.00	33.97
9999	Chemical treatment	L.S.	8.97	2.12	19.02
2204	Carriage of timber	cum	0.04	187.35	8.24
	Wire gauge 2x160x40cm = 1.28 sqm.	•••	0.07	107.00	0.24
	Add wastage @ 10% = 0.13 sqm.				
	Total= 1.41 sgm				
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
8220	Stainless steel butt hinges (heavyweight)	04		200.00	332.30
	100x60x2.5 mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm	10 1103	0.00	275.00	103.00
0000	IS: 12817 marked	10 Nos	. 2.00	150.00	20.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	150.00	30.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	250.00	120.00
	LABOUR:	100 1105	0.00	150.00	12.00
0111	Carpenter 1 st class	day	1.20	442.00	405.00
0112	Carpenter 2nd class	day	1.20	413.00	495.60
0114	Beldar		0.80	369.00	295.20
0130	Mistry	day	1.00	306.00	306.00
9999	Sundries	day	0.10	306.00	30.60
5555		L.S.	33.80	2.12	71.66
	TOTAL				3708.58
	Add Water Charges @ 1%				37.09
	TOTAL Add GST 12% on "X"(multiplying factor 0.1405)				3745.67
					526.27
	Total				4271.94
	Add CPOH @ 15%				640.79
	Cost of 2.16 sqm				4912.73
	Cost of 1 sqm				2274.41
	1th Edition_2022	Λ	an-	\sim / Λ	. 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	labour cess @1%				22.74
	Rate including labour cess				2297,15
		Say Rs.	2297.20	per sqm	
9.27.2.2.3	Kiln seasoned selected class of sheesham				
	wood				
	Details of cost for door shutters 2.00 x				
	1.08 m = 2.16 sqm				
	MATERIAL:				
	Sheesham wood				
	Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+				
	Top Rail - 1x110.5x9.5x3 cm = 0.003cum+				
	Lock and bottom rail				
	2 x 110.5x19.7x3 cm = 0.013 cum.+				
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum				
	Total = 0.040 cum. +				
	Add for wastage @ 10% = 0.004 cum.				
	= 0.044 cum. say 44 cudm				
1200	Kiln seasoned selected sheesham wood planks	10 cudm	44.00	650.00	2860.00
2504	Kiln seasoning of timber	cum	0.04	772.00	33.97
2204	Carriage of timber	cum	0.04	187.35	8.24
	Wire guage 2x160x40cm=1.28 sqm.+				
	Add wastage @ 10 % = 0.13 sqm				
	Total = 1.41 sqm				
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.41	250.00	352.50
8220	Stainless steel butt hinges (heavy weight)	•			552.55
	100x60x2.5 mm IS: 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm				
	IS: 12817 marked	10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
	LABOUR:				12.00
0111	Carpenter 1 st class	day	1.20	413.00	495.60
0112	Carpenter 2nd class	day	0.80	369.00	295.20
0114	Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				4780.77
	Add Water Charges @ 1%				47.81
	TOTAL				4828.58
	Add GST 12% on "X"(multiplying factor 0.1405)				678.41
	Total				5506.99 (
	Add CPOH @ 15%				826.05
	Cost of 2.16 sqm				6333.04
	Cost of 1 sqm				2931.96
	labour cess @1%				
	Rate including labour cess				29.32 2961.28
	moreaning report 6633	Say Rs.	2961.30	per sqm	2901.20

PX L 2 BLD/SOR_11th Edition_2022

Code No	Description	Unit	Quantity		Amount
9.31	Providing and fixing wire gauge laminated veneer lum	ber shutters co	nforming t	o IS : 14616, a	nd as per
	TADS 15:2001 (Part B) using galvanised wire gauge wit	h average wid	th of apert	ure 1.4 mm in	both
	directions with wire of dia 0.63 mm as per IS:1568 for	doors, window	ws and cler	estory windov	vs,
	including ISI marked M.S. pressed butt hinges bright fi	nished of requ	ired size wi	th necessary	screws, as
	per directions of Engineer-in-charge:				
9.31.1	35 mm thick shutters				
3.31.1	Details of cost for one shutter 220x				
	108cm = 2.38sqm				
	MATERIAL:				
7154	Factory made 35 mm thick shutters with laminated				
1154	veneer lumber styles & rails as per TADS 15:1995				
	and panels of galvanised wire gauge with average				
	width of aperture 1.4 mm in both directions with wire				
	of dia 0.63 mm	sqm	2.38	1620.00	3855.60
9999	Carriage of door	L.S.	29.64	2.12	62.84
0000	Fittings	2.0.	2010		
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	49.00	23.52
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:				
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL	•;			4454.10
	Add Water Charges @ 1%				44.54
	TOTAL	•			4498.64
	Add GST 12% on "X"(multiplying factor 0.1405)			632.06
	Tota	L			5130.70
	Add CPOH @ 15%	o o			769.61
	Cost of 2.38 sqm	1	-		5900.31
	Cost of 1 sqm	1			2479.12
	labour cess @1%	, o			24.79
	Rate including labour cess				2503.91
		Say Rs.	2503.90	persqm	
.31.2	30 mm thick shutters				
	Details of cost for one shutter 220x108cm = 2.38sqm				
	MATERIAL:				
7155	Factory made 30 mm thick shutters with laminated				
	veneer lumber styles &rails as per TADS 15:1995 and				
	panels of galvanised wire gauge with average width				
	of aperture 1.4 mm in both directions with wire of				
	dia 0.63 mm	sqm	2.38	1430.00	3403.40
9999	Carriage of shutters	L.S.	29.64	2.12	62.84
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
	0 4 1	_	(Brown	/ A	- 3

No	Description	Unit	Quantity	Rate ₹	Amount ₹
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	49 00	23.52
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:	•			
0156	Carpenter (average)	day	0.52	369.00	191.88
0114	Beldar	day	0.60	306.00	183.60
9999	Sundries	L.S.	35.88	2.12	76.07
	TOTAL				4001.90
	Add Water Charges @ 1%	;			40.02
	TOTAL	•			4041.92
	Add GST 12% on "X"(multiplying factor 0.1405)				567.89
	Total				4609.81
	Add CPOH @ 15%				691.47
	Cost of 2.38 sqm	1			5301.28
	Cost of 1 sqm				2227.43
	labour cess @1%				22.27
	Rate including labour cess	i Say Rs.	2249.70	per sqm	2249.70
	mortar 1:3 (1 cement : 3 fine sand) and making good the Details of cost for 100nos	walls etc.			
		walls etc.			
	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm=	walls etc.			
	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum	walls etc.			
	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum.	walls etc.			
4400	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm				
1189	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling	10 cudm	14.00	776.00	1086.40
1189 2204	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber		14.00 0.01	776.00 187.35	1086.40 2.62
2204	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand)	10 cudm cum	0.01	187.35	2.62
2204 2112	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber	10 cudm			
2204 2112 0112	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class	10 cudm cum	0.01	187.35	2.62
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class	10 cudm cum cum	0.01	187.35	2.625.75
2204 2112	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class	10 cudm cum cum	0.01 0.00 0.75	187.35 2877.44 369.00	2.62 5.75 276.75
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405)	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47 2163.02 (
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15%	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 100 nos	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47 2163.02 (
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 100 nos Cost of each	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47 2163.02 (324.45
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 100 nos Cost of each labour cess @1%	10 cudm cum cum day day	0.01 0.00 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47 2163.02 (324.45 2487.47 24.87 0.25
2204 2112 0112 0124	Details of cost for 100nos MATERIAL: Teak wood (2nd class) 100x(50x50x50)mm= 0.0125cum Add wastage @ 10% = 0.0013 cum. Total =0.0138 cum. Say 14 cudm Second class teak wood in scantling Carriage of timber Cement mortar 1:3(1 cement: 3 fine sand) Rate as per Item Number 2112 of SH: Mortars LABOUR: Carpenter 2nd class Mason (brick layer) 2nd class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 100 nos Cost of each	10 cudm cum cum day day	0.01 0.00 0.75 0.75 0.75	187.35 2877.44 369.00 369.00	2.62 5.75 276.75 276.75 229.50 1877.78 18.78 1896.56 266.47 2163.02 (324.45 2487.47 24.87

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.33	Providing and fixing expandable fasteners of			, '	w _i *
	specified size with necessary plastic sleeves				
	and galvanised M.S. screws including drilling				
	holes in masonry work / C.C / R.C.C. and				
	making good etc. complete.				
9.33.1	25 mm long				
	Details of cost for 10 nos.				
	MATERIAL:				
7312	Expandable fastener with plastic sleeve and M.S. screws :				
	25 mm long	each	10.00	10.00	100.00
9999	Labour for drilling holes and making good etc.	L.S.	20.80	2.12	44.10
	TOTAL				144.10
	Add Water Charges @ 1%				1.44
	TOTAL				145.54
	Add GST 12% on "X"(multiplying factor 0.1405)				20.45
	Total				165.98 (
	Add CPOH @ 15%				24.90
	Cost of 10 nos				190.88
	Cost of each				19.09
	labour cess @1%				0.19
	Rate including labour cess				19.28
		Say Rs.	19.30	Each	
9.33.2	32 mm long				
	Details of cost for 10 nos.				
	MATERIAL:				
7313	Expandable fastener with plastic sleeve and				
	M.S. screws: 32 mm long	each	10.00	10.00	100.00
9999	Labour for drilling holes and making good etc.	L.S.	26.00	2.12	55.12
	TOTAL				155.12
	Add Water Charges @ 1%				1.55
	TOTAL				156.67
	Add GST 12% on "X"(multiplying factor 0.1405)				22.01
	Total				
					178.68 (
	Add CPOH @ 15%				26.80
	Cost of 10 nos		-		205.49
	Cost of each		•		20.55
	labour cess @1%				0.21
	Rate including labour cess				20.75
	p 1 5	Say Rs.	20.80	Each	
	,				
.33.3	40 mm long				
	Details of cost for 10 nos.				
	MATERIAL:				
7314	Expandable fastener with plastic sleeve and				
	M.S. screws : 40 mm long	each	10.00	13.00	120.00
9999	Labour for drilling holes and making good etc.	L.S.	26.00		130.00
	TOTAL	L.J.	20.00	2.12	55.12
					185.12
	Add Water Charges @ 1%				1.85
	TOTAL				186.97
	Add GST 12% on "X"(multiplying factor 0.1405)				26.27
	Total				213 24 (
					- 3

Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess 9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of 20 nos Cost o	Quantity	Rate ₹	Amount ₹
Cost of 10 nos Cost of each labour cess @1% Rate including labour cess 9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: Total Add Water Charges @ 1% Labour for drilling holes and making good etc. Add Water Charges @ 1% TOTAL Add Water Charges @ 1% Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing Coarriage of timber LABOUR: For planning and fixing Cargenter 1 st class day day day day day day day da			31.99
Rate including labour cess 9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: 7315 Expandable fastener with plastic sleeve and M.S. screws. 50 mm long Labour for drilling holes and making good etc. 70TAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @ 11% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and complete with necessary screws and priming coat on unexposed storms and priming coat on u			245.23
Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood in planks Pake wood (2nd class) 10x0.04m=0.40 cum Add wasten Gost for 10 sqm. MATERIAL: Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood in planks 10 cudm Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm cum curicy carriage of timber LABOUR: For planning and fixing			24.52
9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: Expandable fastener with plastic sleeve and M.S. screws. 50 mm long 9999 Labour for drilling holes and making good etc. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @11% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed second class teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudn Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day day			0.25
9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: Expandable fastener with plastic sleeve and M.S. screws. 50 mm long 9999 Labour for drilling holes and making good etc. Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @11% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed services with a complete with necessary screws and priming coat on unexposed services wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1990 Second class teak wood in planks 10 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing cum LABOUR: For planning and fixing Carriage of timber LABOUR: For planning and fixing 10111 Carpenter 1 st class day day day day			24.77
9.33.4 50 mm long Details of cost for 10 nos. MATERIAL: Expandable fastener with plastic sleeve and M.S. screws. 50 mm long Qach 10 Labour for drilling holes and making good etc. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed states wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 100 cudn 1231 Extra for selected planks of second class teakwood 100 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing Carriage of timber LABOUR: For planning and fixing 10111 Carpenter 1 st class day day 9000	Rs. 24.80	Each	
Details of cost for 10 nos. MATERIAL: Expandable fastener with plastic sleeve and M.S. screws. 50 mm long each 1 TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @ 1% Rate including labour cess Say F Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed states and wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 1231 Extra for selected planks of second class teakwood second class teak wood place stakwood second class teak wood place stakwood second class teak wood place stakwood second class teak wood place in lining tongued and complete with necessary screws and priming coat on unexposed staked wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudn 1231 Extra for selected planks of second class teakwood 10 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing cum LABOUR: For planning and fixing Carriage of timber LABOUR: For planning and fixing Carriage of timber LABOUR: For planning and fixing Carpenter 1 st class day day			
Final Sepandable fastener with plastic sleeve and M.S. screws. 50 mm long each Labour for drilling holes and making good etc. L.S. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess @1% Rate including labour cess Say F Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed some series of the providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed some series of the providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed some series of the providing s			
50 mm long each Labour for drilling holes and making good etc. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed so			
50 mm long Labour for drilling holes and making good etc. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudn Second class teak wood in planks 10 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm cum LABOUR: For planning and fixing Carpenter 1 st class day day Studios 8 seconds and making good etc. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add CPOH @ 15% Total Add CPOH @ 15% I Cost of 10 nos Cost of each labour cess @ 1% I count of 10 nos Cost of each labour cess @ 1% I count of 10 nos Cost of 10 nos Cost of each labour cess @ 1% I count of 10 nos Cost of each labour cess @ 1% I count of 10 nos Cost of 10 nos			
Add Water Charges @ 1%	10.00	14.00	140.00
Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day day Sundrian Second	26.00	2.12	55.12
Add Water Charges @ 1% TOTAL Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed some screws and priming cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat screws and priming sqm Carriage of timber cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day day			195.12
Add GST 12% on "X"(multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services of the complete with necessary screws and priming coat on unexposed services and priming coat on unexposed services of the complete services of t			1.95
Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1231 Extra for selected planks of second class teakwood 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day day Sundias & survey of the survey			197.07
Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudn Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day day			27.69
Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			224.76 (
Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Say F 9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed s 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			33.71
Say F			258.47
Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed sometimes of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			25.85
9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed services. 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			0.26
9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed services. 9.34.1 40 mm thick Details of cost for 10 sqm. MATERIAL: Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar symmetric services and priming coat on unexposed services and priming to cat on unexposed services and priming to cat on unexposed services and priming to cum complete with necessary screws and priming to an unexposed services and priming to a cum complete with necessary screws and priming coat on unexposed services and priming to a cum complete with necessary screws and priming coat on unexposed services and pr			26.11
9.34 Providing and fixing 2nd class teak wood plain lining tongued and complete with necessary screws and priming coat on unexposed states and priming coat and p	Rs. 26.10	Each	
Teak wood (2nd class) 10x0.04m=0.40 cum Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm 1231 Extra for selected planks of second class teakwood 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar			
Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm 1231 Extra for selected planks of second class teakwood 5 second class teak wood plugs including cutting 6 brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) 7 Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each 6 Priming coat 9.381.1 Rate as per Item Number 13.81.1 of SH: Finishing 5 sqm 6 carriage of timber 6 cum 1 Carpenter 1 st class 10 day 10 day 10 square 10 square 10 square 10 square 11 square 11 square 11 square 12 square 12 square 12 square 13 square 13 square 14 square 15 sq			
Add wastage @ 10% = 0.04 cum. Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm 1231 Extra for selected planks of second class teakwood 5 second class teak wood plugs including cutting 6 brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) 7 Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work 8 each 7 Priming coat 8 server 13.81.1 of SH: Finishing 5 sqm 6 cum 14.80UR: 7 For planning and fixing 15 carpenter 1 st class 16 day 16 day 16 server 16 server 17 st class 17 day 17 day 18 server 18 se			
Total = 0.44 cum. Say 440 cudm 1190 Second class teak wood in planks 10 cudm 1231 Extra for selected planks of second class teakwood 10 cudm Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat square 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar square steep second class teakwood 10 cudm 10 cudm 10 cudm 10 cudm 11 cudm 12 cudm 13 cudm 14 cudm 15 cudm 16 cudm 17 cudm 18 cudm 19 cud			
1190 Second class teak wood in planks 100 cudm 1231 Extra for selected planks of second class teakwood Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class 0114 Beldar 0101			
1231 Extra for selected planks of second class teakwood Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing 2204 Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class 0114 Beldar 0220 Sundaise 8 second class teakwood 10 cudm care	n 440.00	791.00	34804.00
Second class teak wood plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar Sundties & second of the standard of the square s		150.00	6600.00
brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day	1 440.00	\$0.00	000.00
(1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC 9.32 work each Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			
9.32 work Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm Carriage of timber LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar 9999 Sundiag 8 servers st.			
Priming coat 3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm 2204 Carriage of timber cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			
3.81.1 Rate as per Item Number 13.81.1 of SH: Finishing sqm 2204 Carriage of timber cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day	55.00	24.87	1368.11
2204 Carriage of timber cum LABOUR: For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day			
LABOUR: For planning and fixing O111 Carpenter 1 st class day O114 Beldar day	10.00	39.32	393.15 A
For planning and fixing 0111 Carpenter 1 st class day 0114 Beldar day	0.44	187.35	82.43
0111 Carpenter 1 st class day 0114 Beldar day			525
0114 Beldar day			
QQQQ Sundring & assessment	2.15	413.00	887.95
QQQQ Sundring 8 assessed	1.62	306.00	495.72
L.3.	53.82	2.12	114.10
TOTAL			44745.47
Add Water Charges @ 1% except on A i.e on			
(44745.47 - 1761.26=)			429.84
PX \ 2 B1 - 0 1	2		Edition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount
140	TOTAL				45175.31 (X
	Add GST 12% on "X" except "A"(multiplying factor				6099.67
	0.1405)				
	Total				51274.98 (\
	Add CPOH @ 15% except on A i.e on				
	(51274.98 - 1761.26=)				7427.06
	Cost of 10 sqm				58702.04
	Cost of 1 sqm				5870.20
	labour cess @1%				58.70
	Rate including labour cess				5928.91
	4	Say Rs.	5928.90	per sqm	
	,				
9.34.2	25 mm thick				
	Details of cost for 10 sqm.				
	MATERIAL:				
	Teak wood 2nd class 10x0.025 = 0.25cum+				
	Add wastage @ 10% = 0.025 cum.				
	Total = 0.275 cum.				
	Say 275 cudm				
1190	Second class teak wood in planks	10 cudm	275.00	791.00	21752.50
1231	Extra for selected planks of second class teakwood	10 cudm	275.00	150.00	4125.00
2204	Carriage of timber	cum	0.275	187.35	51.52
	Second class teak wood plugs including cutting	ouin	0.210	107.00	01.02
	brick work and fixing in cement mortar 1:3				
	(1 cement: 3 fine sand)				
	Rate as per Item Number 9.32 of SH: Wood and PVC				
9.32	work	each	55.00	24.87	1368.11 A
	Priming coat				
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.32	393.15 A
	LABOUR:				
0111	Carpenter 1 st class	day	2.15	413.00	887.95
0114	Beldar	day	1.62	306.00	495.72
9999	Sundries & screws etc.	L.S.	53.82	2.12	114.10
	TOTAL				29188.05
	Add Water Charges @ 1% except on A i.e on				20700.00
	(29188.05 - 1761.26=)			ė.	274.27
	TOTAL				29462.32
	Add GST 12% on "X" except A(multiplying factor				3892.00
	0.1405)	r.			0002.00
	Total				33354.32 (Y
	Add CPOH @ 15% except on A i.e on '	•			
	(33354.32 - 1761.26=)				4738.96
	Cost of 10 sqm				38093.28
	Cost of 1 sqm				3809.33
	labour cess @1%				38.09
	Rate including labour cess				3847.42
		Say Rs.	3847.40	per sqm	3047.42
9.34.3	20 mm thick	•		r. oqiii	
	Details of cost for 10 sqm.				
	MATERIAL:				
	Teak wood (2nd class) $10x0.02m = 0.20$ cum				
יחופטם י	0 Y 1	. ^	a-	_ / A	
CD/SOR_	Teak wood (2nd class) 10x0.02m = 0.20 cum 11 th Edition_ 2022	BL	. Or-	V 1	t

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
1 6	Add wastage @ 10% = 0.02 cum.				
4400	Total = 0.22 cum. Say 220 cudm				
1190	Second class teak wood in planks	10 cudm	220.00	791.00	17402.00
1231	Extra for selected planks of second class teakwood	10 cudm	220.00	150.00	3300.00
2204	Carriage of timber	cum	0.22	187.35	41.22
	Second class teak wood plugs including cutting				
	brick work and fixing in cement mortar 1:3	i			
0.00	(1 cement: 3 fine sand)				
9.32	Rate as per Item Number 9.32 of SH: Wood and PVC work Priming coat	each	55.00	24.87	1368.11
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.32	393,15
	LABOUR:	,			
0111	Carpenter 1 st class	day	1.08	413.00	446.04
0112	Carpenter 2nd class	daý.	0.80	369.00	295.20
0114	Beldar	day	1.08	306.00	330.48
9999	Sundries & screws etc.	L.S.	53.82	2.12	114.10
	TOTAL			22	23690.30
	Add Water Charges @ 1% except on A i.e on	`,			20020.00
	(23690.2999557048 - 1761.26455570481=)	į			219.29
	TOTAL				23909.59
	Add GST 12% on "X" except A(multiplying factor 0.1405)	Į			3111.84
	Total				27021.43 (
	Add CPOH @ 15% except on A i.e on				
	(27021.43 - 1761.26=)				3789.02
	Cost of 10 sqm				30810.45
	Cost of 1 sqm				3081.05
	labour cess @1%				30.81
	Rate including labour cess				3111.86
9.34.4	12 mm thick	Say Rs.	3111.90	per sqm	
3.54.4					
	Details of cost for 10 sqm. Wood:				
	Second class teak wood 10x0.012 = 0.12 cum				
	Add wastage @ 10% = 0.012 cum			٠,	
1190	Total = 0.132 cum. Say 132 cudm			ج.	
1231	Second class teak wood in planks	10 cudm	132.00	791.00	10441.20
2204	Extra for selected planks of second class teakwood	10 cudm	132.00	150.00	1980.00
2204	Carriage of timber	cum	0.13	187.35	24.73
	Second class teak wood plugs including cutting	+			
	brick work and fixing in cement mortar 1:3				
0.22	(1 cement: 3 fine sand)				
9.32	Rate as per Item Number 9.32 of SH: Wood and				
	PVC work	each	55.00	24.87	1368.11 A
0444	LABOUR:				
0111	Carpenter 1 st class	day	1.08	413.00	446.04
0112	Carpenter 2nd class	day	0.80	369.00	295.20
	Beldar	day	1.08	306.00	330.48
	Priming coat				
	Data as a self-control to the self-control to		40.00		
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.32	393.15 A
13.81.1	Sundries & screws etc.	sqm _ L.S.	10.00 53.82	39.32 2.12	393.15 A 114.10

Code No	Description	Unit	Quantity	Rate ₹	Amount
	TOTAL	***************************************			15393.01
	Add Water Charges @ 1% except on Aile on				
	(15393.01 - 1761.26=)				136.32
	TOTAL				15529.33
	Add GST 12% on "X" except A(multiplying factor 0.1405)				1934.41
	Total				17463.74
	Add CPOH @ 15% except on Aile on				
	(17463.74 - 1761.26=)				2355.37
	Cost of 10 sqm				19819.12
	Cost of 1 sqm	4			1981.91
	labour cess @1%				19.82
	Rate including labour cess				2001.73
		Say Rs.	2001.70	per sqm	
	wood Pre-laminated one side decorative lamination and II, IS: 12823 marked, including priming coat on unexpose and screws etc. complete:				
9.35.1	12 mm thick				
	Details of cost for 10 sqm. MATERIAL:	1			
	Particle board (three layer medium density)	į			
	12mm thick = 10 sqm.+				
	Add wastage @ 10% = 1 sqm.				
	Total = 11 sqm				
7477	Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to				
0000	IS: 12823 (exterior grade) 12 mm thick	sqm	11.00	500.00	5500.00
9999	Carriage of particle board	L.S.	13.52	2.12	28.66
9999	Sundries & screws etc.	L.S.	26.91	2.12	57.05
2 04 4	Priming coat				
3.81.1	Rate as per Item Number 13.81.1 of SH: Finishing LABOUR:	sqm	10.00	39.32	393.15
0112	Carpenter 2nd class	day	1.28	369.00	472.32
0114	Beldar	day	1.43	306.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210.00
	TOTAL				8098.76
	Add Water Charges @ 1% except on A i.e on				
	(8098.7649780636 - 393.1533780636=)	•			77.06
	TOTAL				8175.82
	Add GST 12% on "X" Except "A"(multiplying factor 0.1405)				1093.46
	Total				9269.29
	Add CPOH @ 15% except on A i.e on (9269 2859081616 - 393.1533780636=)				1331.42
	Cost of 10 sqm				10600.71
					1060.07
	Cost of 1 sqm				
	labour cess @1%				10.60
	·	Say Rs.			10.60 1070.67

Code No	Description	Unit		Quantity	Rate ₹	Amount ₹
9.35.2	18 mm thick					
	Details of cost for 10 sqm.					
	MATERIAL:					
	Particle board (three layer medium density)					
	18 mm thick = 10 sqm.+					
	Add wastage @ 10% = 1 sqm.					
	Total = 11 sqm					
7478	Prelaminated particle board with one side		Ţ.			
	decorative and other side balancing lamination, flat					
	pressed 3 layer & graded (medium density) Grade					
	I, Type II conforming to IS: 12823 (exterior grade)		7			
	18 mm thick	sqm	,	11.00	560.00	6160.00
9999	Carriage of particle board	L.S.	ì	13.52	2.12	28.66
9999	Sundries & screws etc.	L.S.	i	26.91	2.12	57.05
	Priming coat					
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing LABOUR:	sqm		10.00	39.32	393.15 A
0112	Carpenter 2nd class	day		1.28	369.00	472.32
0114	Beldar	day	į	1.43	306.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	٠	55.00	22.00	1210.00
	TOTAL					8758.76
	Add Water Charges @ 1% except on Ai.e on		į			
	(8758.7649780636 - 393.1533780636=)					83.66
	TOTAL					8842.42
	Add GST 12% on "X"(multiplying factor 0.1405)					1187.12
	Total					10029.54 (Y
	Add CPOH @ 15% except on A i.e on		• •			
	(10029.5432081616 - 393.1533780636=)					1445.46
	Cost of 10 sqm					11475.00
	Cost of 1 sqm					1147.50
	labour cess @1%					11.48
	Rate including labour cess					1158.98
		Say F	₹s.	1159.00	per sqm	1100.00
9.35.3	25 mm thick					
	Details of cost for 10 sqm.					
	MATERIAL:				ė.	
	Particle board (three layer medium density)		•			
	25 mm thick = 10 sqm.+					
	Add wastage @ 10% = 1 sqm.					
	Total = 11 sqm					
7479	Prelaminated particle board with one side		*			
	decorative and other side balancing lamination, flat					
	pressed 3 layer & graded (medium density) Grade					
	I. Type II conforming to IS: 12823 (exterior grade)					
	25 mm thick	sqm		11.00	850.00	9350.00
9999	Carriage of particle board	L.S.		13.52	2,12	28.66
9999	Sundries & screws etc.	L.S.		26.91	2.12	57.05
	Priming coat					57.05
13.50.1	Rate as per Item Number 13.50.1 of SH: Finishing	sqm		10.00	39.32	393.15 A
	LABOUR:			. 0.00	33.32	595.15 A
0112	Carpenter 2nd class	day		1.28	369.00	472.32

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0114	Beldar	day	1.43	306.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210 00
	TOTAL				11948.76
	Add Water Charges @ 1% except on A i.e on				
	(11948.7649780636 - 393.1533780636=)				115 56
	TOTAL				12064.32
	Add GST 12% on "X"Except "A"(multiplying factor 0.1405)	į			1639.80
	Total				13704.12 (
	Add CPOH @ 15% except on A i.e on				
	(12064.3210940636 - 393.1533780636=)	4			1996.65
	Cost of 10 sqm	,{ -			15700.77
	Cost of 1 sqm	;			1570.08
	labour cess @1%	1.			15.70
	Rate including labour cess				1585.78
		Say Rs.	1585.80	per sqm	

9.36 Providing and fixing specified wood frame work consisting of battens 50x25 mm fixed with rawl plug and drilling necessary holes for rawl plug etc. including priming coat complete.

9.36.1	Kiln seasoned and chemically treated hollock wo	od ;			
	Details of cost for 5 no. battens of size	3			
	500cmx50mmx 25mm (31.25 cudm)				
	MATERIAL:				•
	Hollock wood -				
	5x5.00x0.50x0.025 = 0.03125 cum	**			
	Add wastage @ 5% = 0.00156 cum				
	Total = 0.03281 cum.				
	Say 33 cudm				
2505	Hollock wood in planks	10 cudm	33.00	402.00	1326.60
2204	Carriage of timber	cum	0.03	187.35	6.18
	LABOUR:				
0111	Carpenter 1 st class	day	1.00	413.00	413.00
0114	Beldar	day	0.25	306.00	76.50
9999	Sundries	L.S.	6.76	2.12	14.33
	Painting with ready mixed priming coat on ground	•		-	
	5x500x15 cm =3.75 sqm				
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	3.75	39.32	147.43 A
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210.00
9999	Labour for drilling holes steel tape sundries	L.S.	71.50	2.12	151.58
	TOTAL				3345.63
	Add Water Charges @ 1% except on A i.e on				
	(3345.62626677385 - 147.43251677385=)				31.98
	TOTAL				3377.61
	Add GST 12% on "X" except "A"(multiplying factor				453.84
	0.1405)				
	Total				3831.45 (Y)
	Add CPOH @ 15% except on A i.e on				
	(3831.4478883676 - 147.43251677385=)				552.60
	Cost of 0.03125 cum				4384 05
	Cost of 1 cum			<i>2</i>	140289.61
CD/SOR_1	11th Edition_2022	- Q, _	(B)	0/1	18

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	labour cess @1%		pr.		1402.9
	Rate including labour cess				141692.5
		Say Rs.	141692.50	per cum	
9.37	Providing and fixing plywood 4 mm thick, one side decora plain lining / cladding with necessary screws, including pr				
	prairining / clauding with necessary screws, including pr	iming coat	on unexpos	eu surrace v	VICII .
9.37.1	Descriptive veneer facings of appropriate				
3.37.1	Decorative veneer facings of approved manufactu	re			
	Details of cost for 10 sqm.			*	
	MATERIAL:		1		
	Teak ply wood = 10sqm. +		4		
	Add for wastage @ 20% = 2 sqm.		!		
	Total = 12 sqm		i,		
0759	Decorative plywood 4 mm	sqm	12.00	320.00	3840.00
9999	Carriage of ply wood	L.S.	5.46	2.12	11.58
	Second class teak wood plugs including				
	cutting brick work and fixing in cement mortar 1:3		1		
	(1 cement: 3 fine sand)				
9.32	Rate as per Item Number 9.32 of SH: Wood and PVC work		22.00	2.7	v/II
9.32		each	55.00	24.87	1368.11
0111	LABOUR:		!		
	Carpenter 1 st class	day	3.80	413.00	1569.40
0114	Beldar	day	4.60	306.00	1407.60
0130	Mistry	day	0.60	306.00	183.60
9999	20mm nails without head for fixing ply	L.S.	53.82	2.12	114.10
	Painting with ready mixed priming coat				
3.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.32	393.1
	TOTAL				8887.54
	Add Water Charges @ 1% except on A i.e on				
	(8887.53815570481 - 1761.26455570481=)				71.26
	TOTAL				8958.80
	Add GST 12% on "X" except "A"(multiplying factor				1011.25
	0.1405)				
	Total				9970.05
	Add CPOH @ 15% except on A i.e on				e
	(9970.05474691281 - 1761.26455570481=)		•		1079.63
	Cost of 10 sqm				11049.69
	Cost of 1 sqm		•		1104.97
	labour cess @1%				11.05
	Rate including labour cess		•		1116.02
0.00		Say Rs.	1116.00	per sqm	
9.38	Providing and fixing 4 mm thick coir veneer board, ISI mail screws, priming coat on unexposed surface etc., complete	rked IS : 148 :.	842, plain lir	ing with ne	cessary
	Details of cost for 10 sqm.				
	MATERIAL:				
	Coir veneered board 4mm thick = 10sqm.+				
	Add for wastage @ 20% = 2 sqm.				
	Total = 12 sgm				
7552	Coir veneered board 4 mm thick	A 44-	40.00	000.00	0.00
9999	Carriage of coir veneered board	sqm	12.00	260.00	3120.00
) Y	A COLL TOTAL DOUBLE	L.S.	5.46	2.12	11.58
/ _ ~	453 Q/	Λ	62-		Edition_202

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Second class teak wood plugs including cutting			1,	
	brick work and fixing in cement mortar 1:3				
	(1 cement: 3 fine sand)				
9.32	Rate as per Item Number 9.32 of SH: Wood and PVC work		55.00	24.97	1368.11
3.32	LABOUR:	each	55.00	24.87	1300.11
0111	Carpenter 1 st class	dans	2.00	442.00	1560.40
0114	Beldar	day	3.80	413.00 306.00	1569.40 1407.60
0130	Mistry	day	4.60		183.60
9999	20mm nails without head for fixing ply	day L.S.	0.60 53.82	306.00 2.12	114.10
	Priming coatPainting with ready mixed priming coat	L.3.	33.62	2.12	114.10
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.32	393.15
	TOTAL	Sqiii /	10.00	39.32	8167.54
	Add Water Charges @ 1% except on A i.e on	!			8107.54
	(8167.53815570481 - 1761.26455570481=)				64,06
	TOTAL				8231.60
	Add GST 12% on "X" except "A"(multiplying factor				948.29
	0.1405)				340.23
	Total	1			9179.89 (
	Add CPOH @ 15% except on A i.e on				
	(8231.60089170481 - 1761.26455570481=)				1112.79
	Cost of 10 sqm	į			10292.68
	Cost of 1 sqm				1029.27
	labour cess @1%				10.29
	Rate including labour cess	Say Rs.	1039.60	per sqm	1039.56
9.39		•		•	
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface comple	e decorative (medium de including dr	and other s	side balancin	g ::12823
9.39 9.39.1	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complete 18 mm thick	e decorative (medium de including dr	and other s	side balancin	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface completed mm thick Details of cost for skirting 200mm wide and	e decorative (medium de including dr	and other s	side balancin	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface completed mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm	e decorative (medium de including dr	and other s	side balancin	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface completed mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL:	e decorative (medium de including dr	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface completed mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board	e decorative (medium de including dr	and other s	side balancin	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+	e decorative (medium de including dr	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface completed mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board	e decorative (medium de including dr	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
9.39.1	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% = 0.6sqm. Total = 6.6 sqm	e decorative (medium de including dr	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% = 0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to	e decorative (medium de including dr	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
9.39.1 7478	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% =0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick	e decorative (medium de including dr ete :	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823 or rawl
9.39.1 7478 9999	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% =0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board	e decorative (medium de including dr ete :	and other s	side balancin e I, Type II, IS sary holes fo	g ::12823
9.39.1 7478 9999 7048	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% =0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos)	e decorative (medium de including dr ete : sqm L.S. each	and other s nsity) Grade illing neces	side balancin e I, Type II, IS sary holes fo	g 5:12823 or rawl 3696.00
9.39.1 7478 9999	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% =0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos) Labour for drilling holes	e decorative (medium de including dr ete : sqm L.S.	and other s nsity) Grade illing neces 6.60 8.11	side balancin e I, Type II, IS sary holes fo	g 5:12823 or rawl 3696.00 17.19
9.39.1 7478 9999 7048 9999	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% = 0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos) Labour for drilling holes LABOUR:	e decorative (medium de including dr ete : sqm L.S. each	and other s nsity) Grade illing neces 6.60 8.11 102.00	560.00 2.12 22.00	8 5:12823 or rawl 3696.00 17.19 2244.00
9.39.1 7478 9999 7048 9999 0112	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% = 0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos) Labour for drilling holes LABOUR: Carpenter 2nd class	e decorative (medium de including dr ete : sqm L.S. each	and other s nsity) Grade illing neces 6.60 8.11 102.00	560.00 2.12 22.00	8 5:12823 or rawl 3696.00 17.19 2244.00
9.39.1 7478 9999 7048 9999 0112 0114	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% =0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos) Labour for drilling holes LABOUR: Carpenter 2nd class Beldar	e decorative (medium de including dr ete : sqm L.S. each L.S.	6.60 8.11 102.00 130.00	560.00 2.12 22.00 2.12	3696.00 17.19 2244.00 275.60
9.39.1 7478 9999 7048 9999 0112	Providing and fixing skirting with Pre-laminated (one side lamination) flat pressed 3 layer or graded particle board marked, with necessary fixing arrangements and screws, plugs etc. and priming coat on unexposed surface complet 18 mm thick Details of cost for skirting 200mm wide and 30m long Area = 0.2x30= 6 sqm MATERIAL: Teak shade prelaminated Particle board (three layer medium density) = 6.0 sqm.+ Add wastage @ 10% = 0.6sqm. Total = 6.6 sqm Prelaminated particle board with one side decorative and other side balancing lamination, flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to IS: 12823 (exterior grade) 18 mm thick Carriage of particle board Rawl plug 50 mm (designation 10 nos) Labour for drilling holes LABOUR: Carpenter 2nd class	e decorative (medium de including dr ete : sqm L.S. each L.S.	6.60 8.11 102.00 130.00	560.00 2.12 22.00 2.12 369.00	3696.00 17.19 2244.00 275.60

Code No	Description	Unit	Quantity	Rate ₹	Amount
13.81.1	Rate as per Item Number 13.81.1 of SH. Finishing	sqm	6.00	39.32	235.89
	TOTAL				7130 07
	Add Water Charges @ 1% except on Ai.e on				
	(7130.07362683816 - 235.89202683816=)				68.94
	TOTAL				7199.02
	Add GST 12% on "X" except "A"(multiplying factor				978.32
	0.1405)				0.77.00 /
	Total Add CPOH @ 15% except on A i.e on				8177.33 (
	(7199.01544283816 - 235.89202683816=)				4404.00
					1191.22
	Cost of 6 sqm				9368.55
	Cost of 1 sqm labour cess @1%				1561.43
	Rate including labour cess		i		15.61
	nate metaling labour cess	Say Rs.	1577.00		1577.04
		oay ivs.	1377.00	per sqm	
9.39.2	25 mm thick				
	Details of cost for skirting 200mm wide and		1		
	30m long Area = 0.2x30= 6 sqm MATERIAL:		!		
	Teak shade pre-laminated Particle board (three layer medium density) = 6.0 sqm.+		•		
	Add wastage @ 10% =0.6sqm.		į		
	Total = 6.6 sqm				
7479	Prelaminated particle board with one side decorative and other side balancing lamination,flat pressed 3 layer & graded (medium density) Grade I, Type II conforming to				
	IS: 12823 (exterior grade) 25 mm thick		0.00		
9999	Carriage of particle board	sqm	6.60	850.00	5610.00
7048	Rawl plug 50 mm (designation 10 nos)	L.S.	8.11	2.12	17.19
9999	Labour for drilling holes	each L.S.	102.00	22.00	2244.00
	LABOUR:	L.S.	130.00	2.12	275.60
	For dressing and fixing particle board to skirting				
0112	Carpenter 2nd class	day	0.77	369.00	204.12
0114	Beldar	day	0.86	306.00	284.13
9999	Sundries (Screws, sand paper)	L.S.	53.82	2.12	263.16
	Painting with ready mixed priming coat at back	L.O.	33.02	2.12	114.10
3.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	6.00	39.32	235.89 A
	TOTAL	Sqiii	0.00	33.32	9044.07
	Add Water Charges @ 1% except on A i.e on		•		3044.07
	(9044.07362683816 - 235.89202683816=)				88.08
	TOTAL		•		9132.16
	Add GST 12% on "X" except "A"(multiplying factor				1267.04
	0.1405) Total				10000 10 01
	Total				10399.19 (Y
	Add CPOH @ 15% except on A i.e on				
	(9132.15544283816 - 235.89202683816=)				1524.50
	Cost of 6 sqm				11923.69
	Cost of 1 sqm				1987.28
	labour cess @1%				19.87
	Rate including labour cess				2007.15
		Say Rs.	2007.20	per sqm	

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.40	Providing and fixing wooden moulded beading to door and window frames with iron screws, plugs and priming coat on unexposed surface				
	etc. complete:				
9.40.1	2nd class teak wood				
9.40.1.1	OUNTE IIIII		i		
	Details of cost for beading for a window of				
	size 140 x 110cm i.e. 500cm long (5 metre) MATERIAL:				
	Teak wood IInd class in planks		,		
	500x5x1.2cm = 0.003cum+		,		
	Add for wastage @ 10% = 0.0003 cum.				
	Total = 0.0033 cum. Say 3.3 cudm		•		
1190	Second class teak wood in planks	10 cudm	3.30	791.00	261.03
2204	Carriage of timber	cum	0.0033	187.35	0.62
0637	Bright finished or black enameled mild steel				
	screws 40 mm	100 Nos	36.00	60.00	21.60
	Painting with priming coat				
	Area = 500(5+1.2+1.2) =				
13.81.1	0.37 sqm		ì		
13.01.1	Rate as per Item Number 13.81.1 of SH: Finishing LABOUR:	sqm	0.37	39.32	14.55
0444	For plaining, fixing and making design				
0111	Carpenter 1 st class	day	0.53	413.00	218.89
	TOTAL				516.68
	Add Water Charges @ 1% except on A i.e on (516.684929988353 - 14.5466749883532=)				5.02
	TOTAL				521.71
	Add GST 12% on "X" except "A"(multiplying factor 0.1405) Total				71.26
	Add CPOH @ 15% except on A i.e on				592.96 (
	(521.706312538353 - 14.5466749883532=)				
	Cost of 5 metre				86.76
	Cost of 1 metre			1 2	679.72
	labour cess @1%				135.94
	Rate including labour cess				1.36
	3 6555	Say Rs.	137.30	or make	137.30
.40.1.2	50 x 20 mm	ouy its.	157.50	er metre	
	Details of cost for beading for a window of	•			
	size 140 x 110cm i.e. 500cm long (5 metre)				
	MATERIAL:				
	Teak wood IInd class in planks				
į	500x5x 2.0cm=0.005cum				
-	Add for wastage @ 10% = 0.0005cum				
	Total=0.0055cum.				
5	Say 5.5 cudm				
	Second class teak wood in planks	10 cudm	5.50	701.00	407.07
	Carriage of timber	cum	0.0055	791.00	435.05
	Bright finished or black enameled mild steel	Julii	0.0000	187.35	1.03

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	screws 40 mm	100 Nos	36.00	60.00	21.60
	Painting with priming coat				
	Area = 500(5+2+2) = 0.45 sqm				
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing LABOUR:	sqm	0.45	39.32	17.69 A
	For planing, fixing and making design				
0111	Carpenter 1 st class	day	0.53	413.00	218.89
• • • • • • • • • • • • • • • • • • • •	TOTAL	uay	0.55	410.00	694.26
	Add Water Charges @ 1% except on A i.e on				
	(694.262327012862 - 17.691902012862=)				6.77
	TOTAL				701.03
	Add GST 12% on "X" except "A"(multiplying factor				96.01
	0.1405)				
	Total		<u> </u>		797.04 (Y
	Add CPOH @ 15% except on A i.e on				
	(701.028031262862 - 17.691902012862=)				116.90
	Cost of 5 metre				913.94
	Cost of 1 metre				182.79
	labour cess @1%		į		1.83
	Rate including labour cess		ĺ		184.62
		Say Rs.	184.60	per metre	
9.40.2	Kiln seasoned and chemically treated hollock wood		į		
9.40.2.1	50x12 mm				
	Details of cost for beading for a window of size				
	140x110cm i.e. 500cm long (5 metre)				
	MATERIAL:				
	Hollock wood 500x5x1.2cm = 0.003 cum+				
	Add for wastage @ 10% = 0.0003 cum.				
	Total = 0.0033 cum. Say 3.3 cudm				
2505	Hollock wood in planks	10 cudm	3.30	402.00	132.66
2204	Carriage of timber	cum	0.0033	187.35	
0637	Bright finished or black enameled mild steel screws	Cum	0.0055	107.33	0.62
0007	40 mm	100 Nos	36.00	60.00	24.60
	Painting with priming coat	100 1105	30.00	00.00	21.60
	Area = 500(5+1.2+1.2) = 0.37 sqm				-
13.50.1	Rate as per Item Number 13.50.1 of SH: Finishing	aam	0.27	20.22	44.55.4
13.30.1	LABOUR:	sqm	0.37	39.32	14.55 A
	For planing, fixing and making design		-		
0111	Carpenter 1 st class	da	0.53	442.00	040.00
0111		day	0.53,	413.00	218.89
	TOTAL				388.31
	Add Water Charges @ 1% except on A i.e on				
	(388.314929988353 - 14.5466749883532=)				3.74
	TOTAL				392.05
	Add GST 12% on "X" except "A"(multiplying factor 0.1405) Total				53.04
	Add CPOH @ 15% except on A i.e on				445.09 (
	(392.052612538353 - 14.5466749883532=)				64.58
	Cost of 5 metre				509.67
_ ~	Cost of 1 metre				101.93
	2 Q. Q. 157 Q	/ A	-		

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	labour cess @1%		F	1	1.02
	Rate including labour cess				102.95
		Say Rs.	103.00	per metre	
9 40 2 2	50x20 mm				
J.40.2.2					
	Details of cost for beading for a window of size				
	140 x 110cm i.e. 500cm long (5 metre) MATERIAL:		•		
	Hollock wood 500x5x200cm = 0.005 cum+				
	Add for wastage @ 10% = 0.0005 cum.		4		
2505	Total = 0.0055 cum. Say 5.5 cudm	40 - 1	1 50	100.00	004.40
2204	Hollock wood in planks	10 cudm	5.50	402.00	221.10
0637	Carriage of timber	cum	0.0055	187.35	1.03
0037	Bright finished or black enameled mild steel				
	screws 40 mm	100 Nos	36.00	60.00	21.60
	Painting with priming coat				
12 50 1	Area = 500(5+2+2) = 0.45 sqm				
13.50.1	Rate as per Item Number 13.50.1 of SH: Finishing LABOUR:	sqm	0.45	39.32	17.69
	For planing, fixing and making design		•		
0111	Carpenter 1 st class	day	i ^{0.53}	413.00	218.89
	TOTAL		!		480.31
	Add Water Charges @ 1% except on A i.e on				
	(480.312327012862 - 17.691902012862=)				4.63
	TOTAL				484.94
	Add GST 12% on "X" except "A"(multiplying factor 0.1405)				65.65
	Total				550.59 (
	Add CPOH @ 15% except on A i.e on				
	(484.938531262862 - 17.691902012862=)				79.93
	Cost of 5 metre				630.52
	Cost of 1 metre				126.10
	labour cess @1%				1.26
	Rate including labour cess				127.37
		Say Rs.	127.40	per metre	7.
0.44	B 18				*-
9.41	Providing and fixing plain jafari of 35x10 mm				
	laths placed 35 mm apart (frames to be paid				
	separately),including fixing 50x12 mm beading		•		
	complete with :				
0.44.4	Constitution to the last				
9.41.1	Second class teak wood				
	Details of cost for a jaffri 200x110cm = 2.2sqm				
	MATERIAL:				
	Teakwood IInd class Jaffri				
	210x120x1.0cm = 0.025cum +				
	Beading 660x5x1.2cm = 0.004cum				
	Total = 0.029 cum+				
	Add wastage @ 10% = 0.003 cum				
	Total = 0.032 cum. Say 32 cudm				
1190	Second class teak wood in planks	10 cudm	32.00	791.00	2531.20
	A 1				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
2204	Carnage of timber LABOUR:	cum	0.0320	187.35	6.00
0111	Carpenter 1 st class		0.75	412.00	309.75
0112	Carpenter 2nd class	day	0.75	413.00	369.00
0114	Beldar	day	1.00	369.00	153.00
0130	Mistry	day	0.50	306.00	
9999	Sundries	day	0.10	306.00	30.60
		L.S.	33.80	2.12	71.66
	TOTAL				3471.20
	Add Water Charges @ 1%				34.71
	TOTAL				3505.91 (X
	Add GST 12% on "X" except (multiplying factor 0.1405)		!		492.58
	Total		Ç.		3998.49 (Y
	Add CPOH @ 15%				599.77
	Cost of 2.2 sqm				4598.27
	Cost of 1 sqm				2090.12
	labour cess @1%				20.90
	Rate including labour cess				2111.02
	conforming to IS: 303 BWR grade, nickel plated M.S. pipe nickel plated brackets, including fixing with 25x3 mm M.S wood cleats of size 100 mm x 40 mm x 40 mm on both in	. flat 10 cm	long fixed to	pelmet wit	h hollock
	etc. all complete.				
	Data de la companya d				
	Details of cost for a pelmet 2m long.				
	MATERIAL:				
	MATERIAL: (i) 18mm thick particle board (medium density exterior				
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm +				
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm				
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm +				
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm				
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm +				
7 055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm				
055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm.				
055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board	sqm	0.32	430.00	137,66
'055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to	sqm	0.32	430.00	
055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to IS: 3087 - 18 mm thick	sqm	0.32	430.00	
7055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to IS: 3087 - 18 mm thick 6mm thick commercial ply wood Top-1x1.7x0.15=0.255sqm+	sqm	0.32	430.00	
055	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to IS: 3087 - 18 mm thick 6mm thick commercial ply wood	sqm	0.32	430.00	
	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% = 0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to IS: 3087 - 18 mm thick 6mm thick commercial ply wood Top-1x1.7x0.15=0.255sqm+ Add wastage @ 5% = 0.013 sqm.= 0.268 sqm. Say 0.27 sqm	sqm	0.32	430.00	
'055 412	MATERIAL: (i) 18mm thick particle board (medium density exterior grade)Front-1x1.7x0.15=0.255sqm + Sides-2x0. 15x0.15= 0.045sqm Total = 0.300sqm + Add wastage @ 5% =0.015sqm Total = 0.315sqm. Say 0.32 sqm. Flat pressed 3 layer and graded particle board (medium density) Grade 1 conforming to IS: 3087 - 18 mm thick 6mm thick commercial ply wood Top-1x1.7x0.15=0.255sqm+ Add wastage @ 5% = 0.013 sqm.= 0.268 sqm.	sqm	0.32	430.00 306.00	

1.65

2.00

0.52

8.06

0.32

2.00

0.18

0.18

metre

each

L.S.

L.S.

10 cudm

each

day

72.00

7.00

2.12

2.12

402.00

22.00

369.00

306.00

118.80

14.00

1.10

17.09

12.86

44.00

66.42

55.08

7034

7035

9999

9999

2505

7048

0112

0114

Nickel plated M.S. pipe 20 mm dia

Rawl plug 50 mm (designation 10 nos)

Carriage of material

Carpenter 2nd class

LABOUR:

Beldar

Hollock wood in planks

Nickel plated M.S. Brackets for curtain rod 20 mm

M.S. flat 25 x 3 mm and 10cm long over brackets

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0130	Mistry	day	0.11	306.00	33.66
9999	Sundries	L.S.	2.73	2.12	5.79
	TOTAL				589.02
	Add Water Charges @ 1%				5.89
	TOTAL				594.91
	Add GST 12% on "X" except (multiplying factor 0.1405)				83.59
	Total				678.50
	Add CPOH @ 15%				101.77
	Cost of 2 metre				780.27
	Cost of 1 metre				390.14
	labour cess @1%				3.90
	Rate including labour cess		i		394.04
9.43	Providing and fixing 18 mm thick, 150 mm wide pelmet	Say Rs.	394.00	per metre	
	including top cover of 6 mm coir veneer board, nickle pla rod with nickel plated brackets, including fixing with 25x hollock wood cleats of size 100 mm x 40 mm x 40 mm or mm long etc. all complete	3 mm M.S. F	lat 10 cm loi	ng fixed to p	elmet with
	Data Control				
	Details of cost for a pelmet 2m long. MATERIAL:		i		
			1		
	(i) 18mm thick Coir veneered board Front-1 x 1.7x 0.15=0.255sqm +				
	Sides-2x0.15x0.15= 0.045sqm				
	Total = 0.300sqm +				
	Add wastage @5% = 0.015sqm				
	Total = 0.315sqm. Say 0.32 sqm				
7556	Coir veneered board 18 mm thick	sqm	0.32	930.00	297.60
	6mm thick commercial ply wood	94111	0.02	300.00	237.00
	Top-1x1.7x0.15=0.255sqm+				
	Add wastage @ 5% = 0.013 sqm				
	Total = 0.268 sqm.				
	Say 0.27 sqm				
7553	Coir veneered board 6 mm thick	sqm	0.27	350.00	94.50
7034	Nickel plated M.S. pipe 20 mm dia	metre	1.65	72.00	118.80
7035	Nickel plated M.S. Brackets for curtain rod 20 mm	each	2.00	7.00	14.00
9999	Carriage of material	L.S.	0.52	2.12	1.10
9999	M.S. flat 25 x 3 mm and 10cm long over brackets	L.S.	8.06	2.12	17.09
2505	Hollock wood in planks	10 cudm	0.32	402.00	12.86
7048	Rawl plug 50 mm (designation 10 nos) LABOUR:	each	2.00	22.00	44.00
0112	Carpenter 2nd class	day	0.18	369.00	66.42
0114	Beldar	day	0.18	306.00	55.08
0130	Mistry	day	0.11	306.00	33.66
9999	Sundries	L.S.	2.73	2.12	5.79
	TOTAL				760.90
	Add Water Charges @ 1%				7.61
	TOTAL				768.51
					768.51 107.98 876.49

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add CPOH @ 15%				131.47
	Cost of 2 metre				1007.96
	Cost of 1 metre				503.98
	labour cess @1%				5.04
	Rate including labour cess				509.02
	A. 1	Say Rs.	509.00	per metre	
9.44	Extra for using veneered particle board conforming to IS: 150 mm wide.	3097 Grade	I, in item o	f pelmet 18	mm thick
9.44.1	Non decorative veneer on both sides				
	Details of cost for a pelmet 2m long.				
	MATERIAL:			į.	
	(i) 18mm thick particle board (medium			į	
	density exterior grade)			•	
	Front-lx1.7x0,15= 0.255sqm.+				
	Sides-2x0.15x0.15 = 0.045sqm.				
	Total = 0.300sqm.+				
	Add wastage @5% =0.015sqm.				
	Total = 0.315sqm. Say 0.32 sqm			į	
	10tal - 0.0103qm. 0ay 0.02 sqm			•	
0347	Extra for veneered particle board with Commercial veneering on both sides	oam	0.22	155.00	49.60
	TOTAL	sqm	0.32	155.00	49.60
	Add Water Charges @ 1%				0.50
	Add Water Charges @ 1% TOTAL				50.10
	Add GST 12% on "X" (multiplying factor 0.1405)				7.04
	Total				57.13
	Add CPOH @ 15% Cost of 2 metre				8,57
					65.70
	Cost of 1 metre				32.85
	labour cess @1%				0.33
	Rate including labour cess	Say Rs.	33.20	per metre	33.18
.44.2	Particle board with decorative veneering on	ouy no.	00.20	per metre	
	both sides				
	Details of cost for a pelmet 2m long.				
	MATERIAL:				
	(i) 18mm thick particle board (medium density				
	exterior grade)			•	
	Front-lxl.7x0.15= 0.255sqm.+				
	Sides-2x0.15x0.15 = 0.045sqm.			•	
	Total = 0.300sqm.+				
	Add wastage @5% = 0.015sqm.				
	Total = 0 315sqm. Say 0.32 sqm				
0348	Extra for veneered particle board with Teak				
	veneering both sides	sqm	0.32	500.00	160.00
	TOTAL	1			160.00
	Add Water Charges @ 1%				1.60
	TOTAL				161.60 (
	Add GST 12% on "X" (multiplying factor 0.1405)				22.70
	Total				184.30 (

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add CPOH @ 15%				27.65
	Cost of 2 metre				211.95
	Cost of 1 metre				105.98
	labour cess @1%				1.06
	Rate including labour cess				107.04
		Say Rs.	107.00	per metre	
9.45	Providing and fixing teak wood lipping of size 25x3 mm in pelmet.				
	Details of cost for 10 metre. MATERIAL:				
7049	Teak wood lipping of size 25x3 mm in pelmets LABOUR:	metre	10.00	12.00	120.00
0112	Carpenter 2nd class	day	0.25	369.00	92.25
0114	Beldar	day	0.25	306.00	76.50
	TOTAL	,	0.20	000.00	288.75
	Add Water Charges @ 1%				2.89
	TOTAL				291.64
	Add GST 12% on "X" (multiplying factor 0.1405)		٠.		40.98
	Total		į		332.61
	Add CPOH @ 15%				49.89
	Cost of 10 metre				382.50
	Cost of 1 metre		į		38.25
					0.38
	labour cess @1%				
	labour cess @1% Rate including labour cess				
9.46	Rate including labour cess Providing and fixing curtain rods of 1.25 mm thick chrom	Say Rs. nium plated b ooden plugs.	38.60 orass plate, etc., where	per metre with two chr	38.63
	Rate including labour cess Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete:	ium plated l	orass plate,	with two chr	38.63
9.46 9.46.1	Rate including labour cess Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia	ium plated l	orass plate,	with two chr	38.63
	Rate including labour cess Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long.	ium plated l	orass plate,	with two chr	38.63
	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL:	ium plated l	orass plate,	with two chr	38.63
	Rate including labour cess Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long.	nium plated I	orass plate, etc., where	with two chr	38.63 omium y
9.46.1	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick	nium plated l poden plugs, metre	prass plate, etc., where 2.00	with two chrever necessar	38.63 omium y 370.00
9.46.1 0590	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm	nium plated I	etc., where 2.00 2.00	with two chrever necessar 185.00 8.00	38.63 omium y 370.00 16.00
9.46.1 0590 7023	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and we complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage	nium plated l poden plugs, metre each	2.00 2.00 4.03	with two chrever necessar 185.00 8.00 2.12	38.63 omium y 370.00 16.00 8.54
9.46.1 0590 7023 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and we complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand)	metre each L.S.	etc., where 2.00 2.00	with two chrever necessar 185.00 8.00	38.63 omium y 370.00 16.00
9.46.1 0590 7023 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and we complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in	metre each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3. \$ 1
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and we complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.Pbrass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC	metre each L.S. L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour	metre each L.S. L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and we complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour Sundries	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31 456.70
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour Sundries TOTAL Add Water Charges @ 1% except on A i.e on (456.695097368771 - 49.7494973687713=)	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31 456.70 4.07
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour Sundries TOTAL Add Water Charges @ 1% except on A i.e on (456.695097368771 - 49.7494973687713=) TOTAL Add GST 12% on "X" except "A"(multiplying factor 0.1405)	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31 456.70
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour Sundries TOTAL Add Water Charges @ 1% except on A i.e on (456.695097368771 - 49.7494973687713=) TOTAL Add GST 12% on "X" except "A" (multiplying factor 0.1405) Total Add CPOH @ 15% except on A i.e on	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31 456.70 4.07
9.46.1 0590 7023 9999 9999	Providing and fixing curtain rods of 1.25 mm thick chrom plated brass brackets fixed with C.P. brass screws and wo complete: 12 mm dia Details of cost for 2m long. MATERIAL: Chromium plated Brass curtain rod 12 mm dia 1.25mm thick Chromium plated brackets (curtain rods) C.P.brass screws Carriage Wooden plugs including cutting brick work and fixing in cement mortar 1:3 (1 cement: 3 fine sand) Rate as per Item Number 9.32 of SH: Wood and PVC work Labour Sundries TOTAL Add Water Charges @ 1% except on A i.e on (456.695097368771 - 49.7494973687713=) TOTAL Add GST 12% on "X" except "A" (multiplying factor 0.1405) Total	metre each L.S. each L.S.	2.00 2.00 4.03 1.56	185.00 8.00 2.12 2.12	38.63 omium y 370.00 16.00 8.54 3.51 49.75 5.79 3.31 456.70 4.07 460.76 57.75

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Cost of 1 metre			1.0	294.41
	labour cess @1%				2.94
	Rate including labour cess				297.36
		Say Rs.	297.40	per metre	
.46.2	20 mm dia				
	Details of cost for 2m long.				
	MATERIAL:				
	Chromium plated Brass curtain rod 20 mm dia 1,25mm				
0591	thick	metre	2.00	260.00	520.00
7023	Chromium plated brackets (curtain rods)	each	2.00	8,00	16.00
9999	C.P.brass screws	L.S.	4.03	2.12	8.54
9999	Carriage	L.S.	1.56	2.12	3.31
	Wooden plugs including cutting brick work and fixing in	2.0.	1.00	1	
	cement mortar 1:3 (1 cement: 3 fine sand)				
	Rate as per Item Number 9.32 of SH: Wood and PVC				
9.32	work	each	2.00	24.87	49.75 A
999	Labour	L.S.	2.73	2.12	5.79
999	Sundries	L.S.	1.56	2.12	3.31
	TOTAL				606.70
	Add Water Charges @ 1% except on A i.e on				
	(606.695097368771 - 49.7494973687713)=			ì	5.57
	TOTAL			:	612.26
	Add GST 12% on "X" except "A"(multiplying factor				79.03
	0.1405) Total				691.30 (
	Add CPOH @ 15% except on A i.e on				031.30 (
	(691.297918736771 - 49.7494973687713)=				96.23
	Cost of 2 metre				787.53
	Cost of 2 metre				393.77
	labour cess @1%				3.94
	Rate including labour cess				397.70
	reace morading labour dess	Say Rs.	397.70	per metre	337.70
46.3	25 mm dia	ouy its.	001.10	per mene	
70.5	Details of cost for 2m long.				
	MATERIAL:				
	Chromium plated Brass curtain rod 25 mm dia 1.25mm				
592	thick	metre	2.00	340.00	680.00
023	Chromium plated brackets (curtain rods)	each	2.00	8.00	16.00
999	C.P. brass screws	L.S.	4.03	2.12	8.54
999	Carriage	L.S.	1.56	2.12	3.31
	Wooden plugs including cutting brick work and fixing in				
	cement mortar 1:3 (1 cement: 3 fine sand)				
	Rate as per Item Number 9.32 of SH: Wood and PVC				
.32	work	each	2.00	24.87	49.75 A
999	Labour	L.S.	2.73	2.12	5.79
999	Sundries	L.S.	1.56	2.12	3.31
	TOTAL				766.70
	Add Water Charges @ 1% except on Aile on				
	(766.695097368771 - 49.7494973687713)=				7.17
	TOTAL				773.86
	Add GST 12% on "X" except "A"(multiplying factor				101.74
	0.1405)		_		
PX	L & B 463 9	1	BCI	D/SOR_11 th E	Edition_20

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total			- 1 n - 1	875.60
	Add CPOH @ 15% except on A i.e on				
	(875 602718736771 - 49,7494973687713)=				123.88
	Cost of 2 metre				999.48
	Cost of 1 metre				499.74
	labour cess @1%				5,00
	Rate including labour cess				504.74
9.47	Descriding and fining winded wheat \$4.5 mine contain and	Say Rs.	504.70	per metre	
3.41	Providing and fixing nickel plated M.S. pipe curtain rods v	with nickei t	piateo brack	ets:	
9.47.1	20 mm dia (heavy type)				
	Details of cost for 2m long.				
	MATERIAL:			;	
7034	Nickel plated M.S. pipe 20 mm dia	metre	2.00	72.00	144.00
7035	Nickel plated M.S. Brackets for curtain rod 20 mm	each	2.00	7.00	14.00
9999	Screws	L.S.	4.03	2.12	8.54
9999	Carriage	L.S.	1.56	2.12	3.31
7048	Rawl plug 50 mm (designation 10 nos)	each	2.00	22.00	44.00
9999	Rawl plug 50 mm (designation 10 no.)	L.S.	5.20	2.12	11.02
9999	Sundries	L.S.	1.56	2.12	3.31
	TOTAL				228.18
	Add Water Charges @ 1%			į	2.28
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				230.46
					32.38
	Total				262.84 (
	Add CPOH @ 15%				39.43
	Cost of 2 metre				302.27
	Cost of 1 metre labour cess @1%				151.14
	Rate including labour cess				1.51
	riate moduling labour 6033	Say Rs.	152.60	per metre	152.65
9.47.2	25 mm dia (heavy type)	ouy no.	102.00	permene	
	Details of cost for 2m long.				
	MATERIAL:				
7033	Nickel plated M.S. pipe 25 mm dia	metre	2.00	76.00	152.00
7036	Nickel plated M.S - Brackets for curtain rod 25 mm	each	2.00	8.00	
9999	Screws	L.S.	4.03	2.12	16.00
9999	Carriage	L.S.	1.56	2.12	8.54 3.31
7048	Rawl plug 50 mm (designation 10 nos)	each	2.00	22.00	44.00
9999	Labour including fixing rawl plug	L.S.	5.20	2.12	
9999	Sundries	L.S.	1.56	. 2.12	11.02
	TOTAL	2.0.	1.50	. 2.12	3.31
	Add Water Charges @ 1%				238.18
	TOTAL				2.38
	Add GST 12% on "X" (multiplying factor 0.1405)				240.56 33.80
	Total				274.36
	Add CPOH @ 15%				
	Cost of 2 metre				41.15
	Cost of 1 metre				315.52
	labour cess @1%				157.76
	Rate including labour cess				1.58
		Say Rs.	159.30	per metre	159.34
		~uv [\3.	100.00	Mai IIIAILA	

Code No	Description	Unit	Quantity	Rate	Amount ₹
9.48	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete.				
9.48.1	Fixed to steel windows by welding				
	Details of cost for a grill 90x120cm = 1.08sqm. MATERIAL:				
	M.S. bar 16mm diameter- 11x86cm = 9.46m.				
	@ 1.58kg/ m= 14.95kg+				
	Add wastage @ 10% = 1.50kg.			!	
	Total = 16.45kg. Say 0.165 quintal				
1003	Mild steel round bar above 12 mm dia	quintal	0.165	E950.00	966.90
	M.S. flat 25x3.15mm	quintal	0.165	5860.00	900.50
	2x120cm = 2.40m+2x90cm= 1.80m +				
	IxI20cm= 1,20m+				
	2x15cm = 0.30m				
	Total =5.70m			1	
	5.70m @ 0.63kg/m = 3.59kg				
	Add wastage @ 10% = 0.36kg.				
	Total = 3.95kg. Say 4 kg. or 0.04 quintal			i	
1008	Flats up to 10 mm in thickness	quintal	0.04	-	042.40
2205	Carriage of steel	quintal	0.04	4850.00	213.40
	0.165 + 0.04 = 0.205 q = 0.0205 t Say 0.02 tonne	tonne	0.02	145.72	2.91
9999	Sundries	L.S.	25.01	2 42	57.05
9999	Welding charges	L.S.	26.91	2.12	57.05
5555	Priming coat:Area=1x0.9x1.2x1=1.08 sqm	L.S.	19.76	2.12	41.89
13.81.3	Rate as per Item Number 13.81.3 of SH: Finishing		4.00	24.00	07.05
13.01.3	LABOUR:	sqm	1.08	34.30	37.05 A
0102	Blacksmith 1 st class	44	0.00	440.00	055.40
0114	Beldar	day	0.86	413.00	355.18
0114		day	1.10	306.00	336.60
	TOTAL				2010.98
	Add Water Charges @ 1% except on A i.e on				40.74
	(2010.98 - 37.05)=				19.74
	TOTAL Add GST 12% on "X" except "A"(multiplying factor				2030.72
	0.1405)				280.11
	Total				2310.83 (
	Add CPOH @ 15% except on A i.e on				20.0.00 (
	(2030.72 - 37.05)=			•	341.07
	Cost of 18.54 kg				2651.90
	Cost of 18.54 kg				
	labour cess @1%				143.04
	Rate including labour cess				1.43
	hate including labour cess	Say Rs.	144.50	per Kg	144.47
9.48.2	Fixed to openings/ wooden frames with rawl	Jay NS.	144.50	her IVG	
.70.2	plugs screws etc				
	hinda aciema eir				

Details of cost for a grill 90x120cm = 1.08sqm. MATERIAL:
M.S. bar 16mm dia. 11x86cm = 9.46m.

RI 465 9 A 3 MATERIAL:

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	@ 1.58kg/m = 14.95kg+				
	Add wastage @ 10% = 1.50kg.				
	Total = 16.45kg. Say 0.165quintal				
1003	Mild steel round bar above 12 mm dia	quintal	0.165	5860.00	966.90
	M.S. bar M.S. flat 25x3.15mm				
	2x120cm = 2.40m+				
	2x90cm = 1.80m+			:	
	1x120cm= 1.20m+				
	2x15cm=0.30m				
	Total=5.70m				
	5.70m @ 0.63kg/m = 3.59kg+				
	Add wastage @ 10% = 0.36kg.				
	Total = 3.95kg. Say 4 kg. or 0.04 quintal			;	
1008	Flats up to 10 mm in thickness	quintal	0.04	4850.00	213.40
2205	Carriage of steel	tonne	0.02	145.72	2.91
	0.165 + 0.04 = 0.205 q = 0.0205 t Say 0.02 tonne				
9999	Sundries	L.S.	26.91	2.12	57.05
9999	Welding charges	L.S.	19.76	2.12	41.89
	Priming coat:Area=1x0.9x1.2x1=1.08 sqm			.!	
13.81.3	Rate as per Item Number 13.81.3 of SH: Finishing LABOUR:	sqm	1.08	34.30	37.05 A
0102	Blacksmith 1 st class	day	0.86	413.00	355.18
0114	Beldar	day	1.10	306.00	336.60
7048	Rawl plug 50 mm (designation 10 nos)	each	8.00	22.00	176.00
9999	Fixing of rawl plugs	L.S.	26.00	2.12	55.12
	TOTAL				2242.10
	Add Water Charges @ 1% except on A i.e on			•,	
	(2242.10006507646 - 37.0452650764572)=				22.05
	TOTAL				2264.15 (
	Add GST 12% on "X" except "A"(multiplying factor 0.1405)				312.91
	Total				2577.06 (
	Add CPOH @ 15% except on A i.e on				
	(2264.15061307646 - 37.0452650764572)=				381.00
	Cost of 18.54 kg				2958.06
	Cost of 1 kg				159.55
	labour cess @1%			•	1.60
	Rate including labour cess				161.15
0.40	0	Say Rs		per Kg	
9.49	Providing and fixing expanded metal 20x60 mm strands etc. including 62 x19 mm beading of II nd class teak woo all complete.	3.25 mm w d and prim	ride and 1.6 n ling coat with	nm thick for approved s	windows teel primer
	Details of cost for a window of size 140x				
	110cm=1.54sqm.				
	MATERIAL:				
	Expended metal				
	-20x60mm mesh 3.2mm wide= 1.4x1.1 m				
	= 1.54sqm.+				
	Add wastage @ 10% = 0.15sqm. Total =1.69 sqm				
	10131 = 1 64 6000				
1015	Mild steel expanded metal 20x60 mm strands				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Carriage	L.S.	1.82	2.12	3.86
	Priming coat				
	Area=1.40x1.10x1.00=1.54sqm				
13.81.3	Rate as per Item Number 13 81.3 of SH: Finishing	sqm	1.54	34.30	52.82
	Second class teak wood beading				
	5mx62mmx19mm = 0.0059cum.+				
	Add wastage @ 10% = 0.00059cum.				
	Total= 0,00649cum.				
	Say 6 cudm				
1190	Second class teak wood in planks	10 cudm	6.00	791.00	474.60
2204	Carriage of timber	cum	0.006	187.35	, 1.12
	LABOUR:				
0112	Carpenter 2nd class	day	0.33	369.00	121.77
0114	Beldar	day	0.25	306.00	76.50
9999	Sundries	L.S.	26.91	2.12	57.05
	TOTAL				1260.93
	Add Water Charges @ 1% except on A i.e on				
	(1260.93 - 52.82)=				12.08
	TOTAL				1273.01
	Add GST 12% on "X" except "A"(multiplying factor 0.1405)				171.44
	Total				1444.44 (
	Add CPOH @ 15% except on A i.e on				1777.77
	(1273.01 - 52.82)=				208.74
	Cost of 1.54 sqm				1653.18
	Cost of 1 sqm				1073.50
	labour cess @1%				10.73
	Rate including labour cess				1084,23
		Say Rs.	1084.23	per sqm	
		Ouy its.	1001.20		
9.50	Providing and fixing hard drawn steel wire fabric 75x25 r	-		•	5 Kg per
9.50	sqm to window frames etc. including 62x19 mm beading	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete.	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm.	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL:	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+	nm mesh of	weight not le	ss than 7.7	
9.50	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm.	nm mesh of	weight not le	ss than 7.7	
	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat . 726.70
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	. 726.70
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat . 726.70
	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum.	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat . 726.70
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum.	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat . 726.70
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	ing coat
1021	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm Priming coat	mm mesh of of second c	weight not le lass teak woo	ess than 7.7 od and prim	. 726.70
1021 9999	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm Priming coat Area=1.40x1.10x1.00=1.54sqm	sqm L.S.	weight not le lass teak woo 1.69 1.82	430.00 2.12	726.70 3.86
1021 9999 3.81.3	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm Priming coat Area=1.40x1.10x1.00=1.54sqm Rate as per Item Number 13 81.3 of SH: Finishing	sqm L.S.	weight not le lass teak woo 1.69 1.82	430.00 2.12	. 726.70 , 3.86
1021 9999 3.81.3 1190	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm Priming coat Area=1.40x1.10x1.00=1.54sqm Rate as per Item Number 13 81.3 of SH: Finishing Second class teak wood in planks	sqm L.S.	1.69 1.82	430.00 2.12 34.30 791.00	726.70 3.86 52.82 A 474.60
1021 9999 3.81.3	sqm to window frames etc. including 62x19 mm beading with approved steel primer all complete. Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL: Hard drawn steel wire fabric -20x60mm mesh 3.2mm wide = 1.4x1.1m= 1.54sqm.+ Add wastage @ 10% = 0.15sqm. Total = 1.69 sqm Hard drawn steel wire fabric Carriage of wire fabric Second class teak wood beading 5mx62mmx19mm =0.00059cum.+ Add wastage @ 10% = 0.00059cum. Total = 0.000649cum. Say 6 cudm Priming coat Area=1.40x1.10x1.00=1.54sqm Rate as per Item Number 13 81.3 of SH: Finishing	sqm L.S.	1.69 1.82	430.00 2.12 34.30 791.00 187.35	. 726.70 , 3.86

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	LABOUR:			-	
0112	Carpenter 2nd class	day	0.33	369.00	121.77
0114	Beldar	day	0.25	306.00	76.50
9999	Sundries	L.S.	19.76	2.12	41.89
	TOTAL				1499.27
	Add Water Charges @ 1% except on A i.e on				
	(1499.27 - 52.82)=				14.46
	TOTAL				1513.73
	Add GST 12% on "X" except "A"(multiplying factor				205.26
	0.1405)				
	Total			3	1718.99 (Y)
	Add CPOH @ 15% except on A i.e on				
	(1513.73 - 52.82)=				249.92
	Cost of 1.54 sqm				1968.91
	Cost of 1 sqm				1278.52
	labour cess @1%				12.79
	Rate including labour cess				1291.30
		Say Rs.	1291.30	per sqm	
9.51	Providing and fixing fly proof galvanized M.S. wire gauge	to window	s and clerest	ory window	s using wire
	gauge with average width of aperture 1.4 mm in both di				
					•
9.51.1	With 2nd class teak wood beading 62X19 mm			ì	
	Details of cost for a window of size				
	140x110cm=1.54sqm.				
	MATERIAL:				
	Wire gauge -20x60mm mesh 3.2mm wide =				
	1.4x1.1 m = 1.54sqm.+			*	
	Add wastage @ 10% = 0.15sqm.				
	Total = 1.69 sgm				
7029	Galvanised wire mesh of average width of aperture				
	1.4 mm and nominal dia of wire 0.63 mm		4.00	050.00	
9999	Carriage of wire fabric	sqm	1.69	250.00	422.50
	Second class teak wood beading	L.S.	1.82	2.12	3.86
	5mx62mmx19mm= 0.0059cum.+				
	Add wastage @ 10% = 0.00059cum.				
	Total = 0.00649cum.				
	Say 6 cudm			*	
1190		40		701.00	474.60
1190 2204	Second class teak wood in planks	10 cudm	6.00	791.00	
1190 2204	Second class teak wood in planks Carriage of timber	10 cudm cum	6.00 0.006	187.35	1.12
2204	Second class teak wood in planks Carriage of timber LABOUR:	cum	0.006		
2204 0112	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class	cum	0.006		
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar	cum day day	0.006 0.33 0.25	187.35	1.12
2204 0112	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries	cum	0.006	187.35 369.00	1.12
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50 41.89 1142.24
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1%	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50 41.89 1142.24 11.42
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1%	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50 41.89 1142.24 11.42 1153.67
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1%	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50 41.89 1142.24 11.42 1153.67 162.09
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0 1405) Total	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1,12 121.77 76.50 41.89 1142.24 11.42 1153.67 162.09 1315.76 (Y)
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0 1405) Total Add CPOH @ 15%	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1,12 121.77 76.50 41.89 1142.24 11.42 1153.67 162.09 1315.76 (Y)
2204 0112 0114	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0 1405) Total Add CPOH @ 15% Cost of 1.54 sqm	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1.12 121.77 76.50 41.89 1142.24 11.42 1153.67 162.09 1315.76 (Y) 197.36 1513.12
2204 0112 0114 9999	Second class teak wood in planks Carriage of timber LABOUR: Carpenter 2nd class Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0 1405) Total Add CPOH @ 15%	cum day day	0.006 0.33 0.25	187.35 369.00 306.00	1,12 121.77 76.50 41.89 1142.24 11.42 1153.67 162.09 1315.76 (Y)

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	labour cess @1%				9.83
	Rate including labour cess				992.37
		Say Rs.	992.40	per sqm	
9.51.2	With 12 mm mild steel U beading				
	Details of cost for a window of size				
	140x110cm = 1.54sqm				
	MATERIAL:				
	Wire gauge -20x60mm mesh 3.2mm wide =				
	1.4x1.1m = 1.54sqm.+				
	Add wastage @ 10% = 0.15sqm.				
7029	Total = 1.69 sqm				i,
7029	Galvanised wire mesh of average width of aperture				
9999	1.4 mm and nominal dia of wire 0.63 mm	sqm	1.69	250.00	422.50
7349	Carriage of wire fabric	L.S.	1.82	2.12	3.86
1343	12 mm M.S. 'U' beading LABOUR:	metre	5.00	14.00	70.00
0112	Carpenter 2nd class				
0114	Beldar	day	0.33	369.00	121.77
9999	Sundries	day	0.25	306.00	76.50
5555		L.S.	19.76	2.12	41.89
	TOTAL				736.52
	Add Water Charges @ 1%				7.37
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				743.88
	Total				104.52
	Add CPOH @ 15%				848.40 (
	9				127.26
	Cost of 1.54 sqm				975.66
	Cost of 1 sqm labour cess @1%				633.55
	Rate including labour cess				6.34
	reace morading labour cess	Say Rs.	639.90	DOT COM	639.88
9.52	Deduct for fixing 75x25 mm hard drawn steel	ody its.	033.30	per sqm	
	wire fabric of weight not less than 7.75 kg per				
	sqm in panelled and glazed door and window				
	shutter instead of glass sheet 4 mm thick.				
	Details of cost for 1 sqm.				*
	MATERIAL:				
	Difference in cost of				
1021	Hard drawn steel wire fabric	sqm	1.00	430.00	430.00
2406	Float glass sheet of nominal thickness 4 mm (weight not				•
	less than 10 kg/sqm)	sqm	-1.00	309.00	-309.00
	TOTAL				121.00
	Add Water Charges @ 1%				1.21
	TOTAL				122.21
	Add GST 12% on "X" (multiplying factor 0.1405)				17.17
	Total				139.38
	Add CPOH @ 15%				20.91
	Cost of 1 sqm				160.29
	labour cess @1%				1.60
	Rate including labour cess				161.89
		Say Rs.	161.90	per sqm	

No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.53	Providing 40x5 mm flat iron hold fast 40 cm long includ	ng fixing to f	rame with	10 mm diame	ter
	bolts, nuts and wooden plugs and embeddings in cemer	_			
	cement : 3 coarse sand : 6 graded stone aggregate 20 m				•
	and a series of the series and a series and		,		
	Details of cost for 1 hold fast				
	MATERIAL:				
	M.S.flat 40x5mm 40cm long @ 1.68 kg/m =				
	0.672 kg = 0.0067 qunital			•	
1008	Flats up to 10 mm in thickness	quintal	0.01	4850.00	32.50
9999	Carriage of steel	L.S.	1.82	2.12	3.86
	Cement concrete 1:3:6 30x10x15cm = 0.0045cum.+				
	Add wastage @ 10% = 0.00045cum.				
	Total = 0.00495cum.				
	Say 0.005cum			1	
4.2.5	Rate as per Item Number 4.2.5 of SH: Concrete work	cum	0.01	4564.20	22.82
9999	Bolts and nuts	L.S.	5.46	2.12	11.58
	LABOUR:				
0103	Blacksmith 2nd class	day	0.03	369.00	11.07
0123	Mason (brick layer) 1 st class	day	0.03	413.00	12.39
0114	Beldar	day	0.03	306.00	9.18
	TOTAL				103.39
	Add Water Charges @ 1% except on A i.e on			į	
	(103.39 - 22.82)=				0.81
	TOTAL				104.20
	Add GST 12% on "X" except "A"(multiplying factor				11.43
	0.1405)				
	Total				115.63
	Add CPOH @ 15% except on A i.e on				
	(104.2 - 22.82)=				13.92
	Cost of each				129.55
	labour cess @1%				1.30
	Rate including labour cess				130.84
		Say Rs.	130.80	Each	
9.54	Providing beams including hoisting, fixing in position ar	d applying w	ood preser	vative for the	unexposed
	surfaces, etc. complete with:				
9.54.1	Sal wood				
9.54.1	Sal wood Details of cost for a beam 450x30x15cm =				
9.54.1					
9.54.1	Details of cost for a beam 450x30x15cm =				
9.54.1	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm				
9.54.1	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL:			•	
9.54.1	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm.				
	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+	10 cudm	207.10		42400.00
1199	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm	10 cudm	207.10	600.00	12426.00
1199	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber	10 cudm cum	207.10 0.207	600.00	
1199 2204	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber Priming coat (wood preservative)	cum	0.207	187.35	38.78
1199 2204	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber Priming coat (wood preservative) Rate as per Item Number 13.88.1 of SH: Finishing				38.78
1199 2204 3.88.1	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber Priming coat (wood preservative) Rate as per Item Number 13.88.1 of SH: Finishing LABOUR:	cum	0.207 0.54	187.35 34.10	38.78 18.41
1199 2204 3.88.1 0112	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber Priming coat (wood preservative) Rate as per Item Number 13.88.1 of SH: Finishing LABOUR: Carpenter 2nd class	cum sqm day	0.207 0.54 0.70	187.35 34.10 369.00	38.78 18.41 258.30
9.54.1 1199 2204 3.88.1 0112 0114 0100	Details of cost for a beam 450x30x15cm = 0.203cum. or 203cudm MATERIAL: Sal wood = 203 cudm.+ Add wastage @ 2% = 4.06cudm. Total = 207.06cudm. Say 207.1 cudm Sal wood in scantling Carriage of timber Priming coat (wood preservative) Rate as per Item Number 13.88.1 of SH: Finishing LABOUR:	cum	0.207 0.54	187.35 34.10	38.78

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Sundries	L.S.	26.91	2.12	57.05
	TOTAL				13469.74
	Add Water Charges @ 1% except on A i.e on				
	(13469.74465 - 18,414)=				134.51
	TOTAL				13604.26
	Add GST 12% on "X" except "A"(multiplying factor				1908.81
	0.1405)				15510.07
	Total				15513.07
	Add CPOH @ 15% except on A i.e on				600100
	(13604.2579565 - 18.414)=				2324.20
	Cost of 0.203 cum Cost of 1 cum				17837.27
	labour cess @1%				87868.31
	Rate including labour cess				878.68 88746.99
	Trace moraling labour cess	Say Rs.	88747.00	201 21122	00/40.99
9.54	Providing beams including hoisting, fixing in	Jay Ns.	00747.00	per cum	
0.0,	position and applying wood preservative for the				
	unexposed surfaces, etc. complete with:				1
	,				'
					,
.54.2	Hollock wood				i
	Details of cost for a beam 450x30x15cm =				:
	0.203cum. or 203cudm				
	MATERIAL:				
	Hollock wood = 203 cudm.+				
	Add wastage @ 2% = 4.06cudm.				
	Total = 207.06cudm. Say 207.1 cudm				
2466	Hollock wood in scantling	10 cudm	207.10	357.00	7393.47
2204	Carriage of timber	cum	0.207	187.35	38.78
	Priming coat (wood preservative)				
3.88.1	Rate as per Item Number 13.88.1 of SH: Finishing LABOUR:	sqm	0.54	34.10	18.41
0112	Carpenter 2nd class	day	0.70	369.00	258.30
0114	Beldar	day	1.45	306.00	443.70
0100	Bandhani	day	0.70	325.00	227.50
9999	Sundries	L.S.	26.91	2.12	57.05
	TOTAL				8437.21
	Add Water Charges @ 1% except on A i.e on				•
	(8437.21465 - 18.414)=				84.19
	TOTAL				8521.40
	Add GST 12% on "X" except "A"(multiplying factor 0.1405)				1194.67
	Total				9716.07 (
	Add CPOH @ 15% except on A i.e on				
	(8521 4026565 - 18.414)=				1454.65
	Cost of 0.203 cum				11170.72
	Cost of 1 cum				55028.18
	labour cess @1%				550.28
	Rate including labour cess				55578.47
		Say Rs.	55578.50	per cum	

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.55	Providing and fixing ISI marked M.S. pressed	The Control of the Co		e-brooking consideration	Analysis and American Contractions as a con-
	butt hinges bright finished with necessary				
	screws etc. complete:				
9.55,1	12596693 42				
3.33,1	125x65x2.12 mm				
	Details of cost for ten hinges. MATERIAL:				
0594	Bright finished or black enameled mild steel				
	butt hinges 125x65x2 12 mm	10 Nos	10.00	135.00	135.00
0635	Bright finished or black enameled mild steel screws	, , , , ,	10.00	100.00	100,00
	50 mm	100 Nos	80.00	75.00	, 60.00
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				i
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				279.99
	Add Water Charges @ 1%				2.80
	TOTAL Add GST 12% on "Y" (multiplying feeter 0.1405)				282.79
	Add GST 12% on "X" (multiplying factor 0.1405) Total				39.73
	Add CPOH @ 15%				322.52 (Y)
	Cost of 10 nos				48.38
	Cost of each				370.90 37.09
	labour cess @1%				0.37
	Rate including labour cess				37.46
		Say Rs.	37.50	Each	07,40
9.55.2	100x58x1.90 mm				
	Details of cost for ten hinges.				
0505	MATERIAL:				
0595	Bright finished or black enameled mild steel				
0637	butt hinges 100x58x1.90 mm Bright finished or black enameled mild steel	10 Nos	10.00	80.00	80.00
0037	screws 40 mm	100 N	00.00		
9999	Carriage of material	100 Nos L.S.	80.00	60.00	48.00
	LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.14	369.00	54.00
0114	Beldar	day	0.09	306.00	51.66
	TOTAL	,	0.00	300.00	27.54 212.99
	Add Water Charges @ 1%				2.13
	TOTAL				, 215.12
	Add GST 12% on "X" (multiplying factor 0.1405)				30.22
	Total				245.34 (Y
	Add CPOH @ 15%				36.80
	Cost of 10 nos				282.14
	Cost of each				28.21
	labour cess @1% Rate including labour cess				0.28
	react metading labour cess	Cau Da	00.50		28.50
9.55.3	75x47x1.70 mm	Say Rs.	28.50	Each	
	Details of cost for ten hinges.				
	MATERIAL:				
BCD/SOR	0 4 1	Λ	(Bre-	0/1	
the state of the Late of the	11th Edition_2022 472 472	11	0.	C)/	1

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0596	Bright finished or black enameled mild steel butt				
	hinges 75x47x1.70 mm	10 Nos	10.00	56.00	56.00
0638	Bright finished or black enameled mild steel				
	screws 30 mm	100 Nos	60.00	45.00	27.00
9999	Carriage of material	L.S.	1.82	2.12	3.86
	LABOUR:				
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				166.06
	Add Water Charges @ 1%				1.66
	TOTAL				167.7,2
	Add GST 12% on "X" (multiplying factor 0.1405)				23.56
	Total				191.28
	Add CPOH @ 15%				28.69
	Cost of 10 nos				219.98
	Cost of each				22.00
	labour cess @1%				0.22
	Rate including labour cess				22.22
		Say Rs.	22.20	Each	
9.55.4	50x37x1.50 mm				
	Details of cost for ten hinges.				,
	MATERIAL:				į
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	10.00	49.00	49.00
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	40.00	35.00	14.00
9999	Carriage of material	L.S.	0.91	2.12	1.93
	LABOUR:				
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL				94.45
	Add Water Charges @ 1%				0.94
	TOTAL				95.39
	Add GST 12% on "X" (multiplying factor 0.1405)				13.40
	Total				108.80
	Add CPOH @ 15%				16.32
	Cost of 10 nos				125,12
	Cost of each				12.51
	labour cess @1%				0.13
	Rate including labour cess				12.64
		Say Rs.	12,60	Each	
9.56	Providing and fixing ISI marked, IS: 1341, M.S.				•
	heavy weight butt hinges with necessary				
	screws etc. complete :				
	·				
56.1	125x90x4.00 mm				
	Details of cost for ten hinges.				
	MATERIAL:				
3222	M.S. heavy weight butt hinges 125x90x4.0 mm IS:				
	1341 marked.	10 Nos	10.00	230,00	230.00
635	Bright finished or black enameled mild steel	10 1103	10.00	200,00	200.00
	screws 50 mm	100 Nos	80.00	75.00	60.00
		100 1108	00.00	10.00	00.00

Code No	Description	Unit	Quantity	Rate	Amount ₹
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				374.99
	Add Water Charges @ 1%				3.75
	TOTAL				378.74
	Add GST 12% on "X" (multiplying factor 0.1405)				53.21
	Total				431.95
	Add CPOH @ 15%				64.79
	Cost of 10 nos				496.74
	Cost of each				49.67
	labour cess @1%				0.50
	Rate including labour cess	Sau Bo	50.20	Cash	50.17
9.56	Providing and fixing ISI marked, IS: 1341, M.S.	Say Rs.	50.20	Each	
0.00	heavy weight butt hinges with necessary				
	screws etc.complete :				1
9.56.2	100x75x3.50 mm				
	Details of cost for ten hinges.				
	MATERIAL:				į
8223	M.S. heavy weight butt hinges 100x75x3.5 mm IS:				•
	1341 marked	10 Nos	10.00	180.00	100.00
0637	Bright finished or black enameled mild steel screws	10 1105	10.00	100.00	180.00
	40 mm	100 Nos	80.00	60.00	48.00
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:		20	, _	3.73
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL	-			312.99
	Add Water Charges @ 1%				3.13
	TOTAL				316.12
	Add GST 12% on "X" (multiplying factor 0.1405)				44.41
	Total				360.53
	Add CPOH @ 15%				54.08
	Cost of 10 nos				414.61
	Cost of each				41.46
	labour cess @1%				0.41
	Rate including labour cess				41.88
		Say Rs.	41.90	Each	•
.56.3	75x60x3.10 mm				
	Details of cost for ten hinges.				
	MATERIAL:				
3224	M.S. heavy weight butt hinges 75x60x3.1 mm IS:				
	1341 marked	10 Nos	10.00	110.00	110.00
638	Bright finished or black enameled mild steel screws				
,	30 mm	100 Nos	60.00	45.00	27.00
9999	Carriage of material	L.S.	1.82	2.12	3.86
	LABOUR:				
1112	Carpenter 2nd class	day	0.14	369.00	51.66
	11th Edition_2022 P X \ 474 \	BL	Or-	2/1	_

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				220.06
	Add Water Charges @ 1%				2.20
	TOTAL				222.26
	Add GST 12% on "X" (multiplying factor 0.1405)				31.23
	Total				253.49
	Add CPOH @ 15%				38.02
	Cost of 10 nos				291.51
	Cost of each				29.15
	labour cess @1%				0.29
	Rate including labour cess				29.44
		Say Rs.	29.40	Each	
.56.4	50x40x2.50 mm				
	Details of cost for ten hinges.				
	MATERIAL:				
8225	M.S. heavy weight butt hinges 50x40x2.5 mm IS;				
	1341 marked	10 Nos	10.00	90.00	90.00
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	40.00	35.00	14.00
9999	Carriage of material	L.S.	0.91	2.12	1.93
	LABOUR:				
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL	,			135.45
	Add Water Charges @ 1%				1.35
	TOTAL				136.80
	Add GST 12% on "X" (multiplying factor 0.1405)				19.22
	Total				156.02
	Add CPOH @ 15%				23.40
	Cost of 10 nos				179.43
	Cost of each				17.94
	labour cess @1%				0.18
	Rate including labour cess				18.12
		Say Rs.	18.10	Each	
9.57	Providing and fixing ISI marked oxidised M.S.				
,	pressed butt hinges with necessary screws etc.				
	complete.				
57.1	125x65x2.12 mm				
37.1	Details of cost for 10 nos.				
	MATERIAL:				
642		10 Nos	10.00	125.00	125.00
682	Oxidised mild steel butt hinges 125x65x2.12 mm	10 Nos	80.00	76.00	60.80
1999	Oxidised mild steel screws 50 mm Carriage of material	L.S.	3.64	2.12	7.72
999	LABOUR:	L.S.	3.04	2.12	1.12
112	Carpenter 2nd class	day	0.14	369.00	51.66
114	Beldar	day	0.09	306.00	27.54
	TOTAL				272.72
	Add Water Charges @ 1%				2.73
	TOTAL				275.44
	Add GST 12% on "X" (multiplying factor 0.1405)				38.70
	Total				314.14
					47.12

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Cost of 10 nos			PC =	361.27
	Cost of each				36.13
	labour cess @1%				0.36
	Rate including labour cess				36.49
		Say Rs.	36.50	Each	
9.57.2	100x58x1.90 mm				į
	Details of cost for 10 nos. MATERIAL:				
0643	Oxidised mild steel butt hinges 100x58x1.90 mm	10 Nos	10.00	90.00	90.00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:	2.07	2.70	2.72	0.70
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL	auy	0.00	300.00	224.59
	, Add Water Charges @ 1%				2.25
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				226,83 31.87
	Total				258.70
	Add CPOH @ 15%				
	Cost of 10 nos				38.81 297.51
	Cost of each				
	labour cess @1%				29.75
	Rate including labour cess				0.30
	reace metading labour cess	Sou Do	20.00	F	30.05
9.57.3	75x47x1.70 mm	Say Rs.	30.00	Each	
	Details of cost for 10 nos.				
	MATERIAL:				
0644	Oxidised mild steel butt hinges 75x47x1.70 mm	10 Nos	40.00	05.00	
0684	Oxidised mild steel screws 30 mm	100 Nos	10.00	65.00	65.00
9999	Carriage of material		60.00	49.00	29.40
0000	LABOUR:	L.S.	1.82	2.12	3.86
0112	Carpenter 2nd class	day	0.14	369.00	51,66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				177.46
	Add Water Charges @ 1%				1.77
	TOTAL				179.23
	Add GST 12% on "X" (multiplying factor 0.1405)				25.18
	Total				
	Add CPOH @ 15%				204,42
	Cost of 10 nos				30.66
	Cost of each				235.08
	labour cess @1%				23.51
	Rate including labour cess				0.24
	riate including labour cess	Cau Da	22.70		23.74
9.57.4	50x37x1.50 mm	Say Rs.	23.70	Each	
5.37,4					
	Details of cost for 10 nos. MATERIAL:				
	Ovidised mild steel but binger FO. 27.4 FO	10 11	10.00	EE 00	55.00
0645	Oxidised mild steel butt hinges 50x37x1.50 mm	10 Nos	10.00	55.00	55 00
0645 0686	Oxidised mild steel screws 20 mm	10 Nos	40.00	32.Q0	55 00 12.80

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Carriage of material	L.S.	0.91	2.12	1.93
	LABOUR:				
0112	Carpenter 2nd class	day	80.0	369.00	29.52
	TOTAL				99.25
	Add Water Charges @ 1%				0.99
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				100.24
					14.08
	Total Add СРОН @ 15%				114.33 17.15
	Cost of 10 nos				131.47
	Cost of each				13.15
	labour cess @1%				0.13
	Rate including labour cess				13.28
		Say Rs.	13.30	Each	10.20
9.58	Providing and fixing ISI marked oxidised M.S.	•			
	pressed Parliamentary hinges with necessary screws etc. complete:				
9.58.1	150x125x27x2.80 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0646	Oxidised mild steel parliamentary hinges				
	150x125x27x2.8 mm	10 Nos	10.00	335.00	335.00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.14	306.00	42.84
	TOTAL				484.89
	Add Water Charges @ 1%				4.85
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				489.74
	Total				68.81
	Add CPOH @ 15%				558.54 (
	Cost of 10 nos				83.78
	Cost of each				642.33
	labour cess @1%				64.23 0.64
	Rate including labour cess				64.87
	•	Say Rs.	64.90	Each	10.70
.58.2	125x125x27x2.80 mm				
	Details of cost for 10 nos. MATERIAL:				
0647	Oxidised mild steel parliamentary hinges				
	125x125x27x2.8 mm	10 Nos	10.00	300.00	300 00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60
999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				0.10
1112	Carpenter 2nd class	day	0.14	369.00	51.66
114	Beldar	day	0.14	306.00	42.84
	TOTAL				449.89
	Add Water Charges @ 1%				4.50

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL		1, 1, 9	1 1 21 15 17	454.39
	Add GST 12% on "X" (multiplying factor 0.1405)				63.84
	Total				518.23
	Add CPOH @ 15%				77.73
	Cost of 10 nos				595.96
	Cost of each				59.60
	labour cess @1%				0.60
	Rate including labour cess				60.19
		Say Rs.	60.20	Each	
9.58.3	100x125x27x2.80 mm				
	Details of cost for 10 nos.				
	MATERIAL:				į.
0648	Oxidised mild steel parliamentary hinges				;
	100x125x27x2.8 mm	10 Nos	10.00	235.00	235.00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.14	306.00	42.84
	TOTAL				384.89
	Add Water Charges @ 1%				3.85
	TOTAL				388.74
	Add GST 12% on "X" (multiplying factor 0.1405)				54.62
	Total				443.35
	Add CPOH @ 15%				66.50
	Cost of 10 nos				509.86
	Cost of each				50.99
	labour cess @1%				0.51
	Rate including labour cess				51.50
		Say Rs.	51.50	Each	01.00
9.58.4	75x100x20x2.24 mm				
	Details of cost for 10 nos. MATERIAL:				
0649					
0045	Oxidised mild steel parliamentary hinges				
0684	75x100x20x2.24 mm	10 Nos	10.00	200.00	200.00
9999	Oxidised mild steel screws 30 mm	100 Nos	60.00	49.00	29.40
3333	Carriage of material LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class				
0114	Beldar	day	0.14	369.00	51.66
0114		day	0.14	306.00	42.84
	TOTAL				329.69
	Add Water Charges @ 1%				3.30
	TOTAL				332.98
	Add GST 12% on "X" (multiplying factor 0.1405)				46.78
	Total				379.77
	Add CPOH @ 15%				56.97
	Cost of 10 nos				436.73
	Cost of each				43.67
	labour cess @1%				0.44
	Rate including labour cess				44.11
		Say Rs.	44.10	Each	, .
		ouj its.	74.10	Lacii	

Code No	Description	Unit	Quantity	Rate	Amount
9.59	Providing and fixing ISI marked oxidised M.S. single acting spring hinges with necessary screws etc.complete:				
9.59.1	150 mm				
	Details of cost for 10 nos. MATERIAL:				
0650	Oxidised mild steel single acting spring hinges 150 mm	each	10.00	140.00	1400.00
0682	Oxidised mild steel screws 50 mm	100 Nos	80.00	76.00	60.80
9999	Carriage of material LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.40	369.00	147.60
0114	Beldar	day	0.20	306.00	61.20
	TOTAL				1675.39
	Add Water Charges @ 1%				16.75
	TOTAL				1692.14
	Add GST 12% on "X" (multiplying factor 0.1405)				237.75
	Total				1929.89 (
	Add CPOH @ 15%				289.48
	Cost of 10 nos				2219.37
	Cost of each				221.94
	labour cess @1%				2.22
	Rate including labour cess				224.16
		Say Rs.	224.20	Each	
9.59.2	125 mm Details of cost for 10 nos. MATERIAL:				
0651	Oxidised mild steel single acting spring hinges				
	125 mm	each	10.00	120.00	1200.00
0682	Oxidised mild steel screws 50 mm	100 Nos	10.00 80.00	120.00	1200.00
9999	Carriage of material	L.S.	2.73	76.00 2.12	60.80
	LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.40	369.00	147.00
0114	Beldar	day	0.40	306.00	147.60
	TOTAL	day	0.20	300.00	61.20
	Add Water Charges @ 1%				1475.39
	TOTAL				14.75
	Add GST 12% on "X" (multiplying factor 0.1405)				1490.14 209.36
	Total				
	Add CPOH @ 15%				1699.51 (Y
	Cost of 10 nos				254.93
	Cost of 10 hos				1954.43
	labour cess @1%				195.44
	Rate including labour cess				1.95
	Nate including labour cess	Say Do	107.40	Engh	197.40
.59.3	100 mm	Say Rs.	197.40	Each	
.50.0	Details of cost for 10 nos.				
	MATERIAL:				
0652	Oxidised mild steel single acting spring hinges				
ca.	100 mm	each	10.00	100.00	1000.00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.40	369.00	147.60
0114	Beldar	day	0.20	306.00	61.20
	TOTAL	,			1264.19
	Add Water Charges @ 1%				12.64
	TOTAL				1276.83
	Add GST 12% on "X" (multiplying factor 0.1405)				179.39
	Total				1456.22
	Add CPOH @ 15%				218.43
	Cost of 10 nos				1674.66
	Cost of each				167.47
	labour cess @1%				1.67
	Rate including labour cess				169.14
		Say Rs.	169.10	Each	
9.60	Providing and fixing oxidised M.S. double				
	acting spring hinges with necessary screws				
	etc. complete.				
9.60.1	150 mm				
	Details of cost for 10 nos.				
0653	MATERIAL:				
0055	Oxidised mild steel double acting spring hinges 150 mm		40.00	400.00	
0682	Oxidised mild steel screws 50 mm	each	10.00	160.00	1600.00
9999	Carriage of material	100 Nos L.S.	80.00	76.00	60.80
3333	LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	61.20
	TOTAL	uuy	0.20	300.00	1875.39
	Add Water Charges @ 1%				18.75
	TOTAL				1894.14
	Add GST 12% on "X" (multiplying factor 0.1405)				266.13
	Total				2160.27
	Add CPOH @ 15%				324.04
	Cost of 10 nos				2484.31
	Cost of each				248.43
	labour cess @1%				2.48
	Rate including labour cess				250.92
		Say Rs.	250.90	Each	
.60.2	125 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0654	Oxidised mild steel double acting spring hinges				
	125 mm	each	10.00	140.00	1400.00
0682	Oxidised mild steel screws 50 mm	100 Nos	80.00	76.00	60.80
9999	Carriage of material	LS.	2.73	2.12	5.79
	LABOUR:				
1112	Carpenter 2nd class	day	0.40	369.00	147.60
1114	Beldar	day	0.20	306.00	61.20
	TOTAL				1675.39
	Add Water Charges @ 1%				16.75

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL				1692.14
	Add GST 12% on "X" (multiplying factor 0.1405)				237.75
	Total				1929.89 (
	Add CPOH @ 15%				289.48
	Cost of 10 nos				2219.37
	Cost of each				221.94
	labour cess @1%				2.22
	Rate including labour cess				224.16
9.60.3	100 mm	Say Rs.	224.20	Each	
	Details of cost for 10 nos.				
	MATERIAL:				
0655	Oxidised mild steel double acting spring hinges				
	100 mm	each	10.00	120.00	1200.00
0683	Oxidised mild steel screws 40 mm	100 Nos	80.00	62.00	49.60
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:	2.0.	2.70	2.12	5.75
0112	Carpenter 2nd class	day	0.40	369.00	147.60
0114	Beldar	day	0.20	306.00	61.20
	TOTAL		0.20	000.00	1464.19
	Add Water Charges @ 1%				14.64
	TOTAL				1478.83
	Add GST 12% on "X" (multiplying factor 0.1405)				207.78
	Total				1686.61 (
	Add CPOH @ 15%				252.99
	Cost of 10 nos				1939.60
	Cost of each				193.96
	labour cess @1%				1.94
	Rate including labour cess				195.90
		Say Rs.	195.90	Each	
9.61	Providing M.S. Piano hinges ISI marked IS:				
0.0.	3818 finished with nickel plating and fixing with				
	necessary screws etc., complete.				
	induction of the city complete.				
.61.1	Overall width 35 mm				
	Details of cost for 1 metre				
	MATERIAL:				
656	Nickel plated MS piano hinges 1mm thick 35mm wide				
	35 mm (Over all width)	metre	1.00	40.00	40.00
686	Oxidised mild steel screws 20 mm	100 Nos	30.00	32.00	9.60
999	Carriage of material	L.S.	1.82	2.12	3.86
	LABOUR:	2.0.	1.02	4.12	3.00
112	Carpenter 2nd class	day	0.14	369.00	51.66
114	Beldar	day	0.09	306.00	
	TOTAL	чиу	0.03	555.00	27.54
	Add Water Charges @ 1%				132.66
	TOTAL				1.33
	Add GST 12% on "X" (multiplying factor 0.1405)				133.98 18.82
	Total				
	iotal				152.81 (
	Add CPOH @ 15%				22.92

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Cost of 1 metre				175.73
	labour cess @1%				1.76
	Rate including labour cess				177.49
		Say Rs.	177.50	Per metre	
9.61.2	Overall width 50 mm				
	Details of cost for 1 metre MATERIAL:				
7485	Oxidised M. S. hinges finished with nickel plating				
	50 mm (Over all width)	metre	1.00	40.00	40.00
0686	Oxidised mild steel screws 20 mm	100 Nos	30.00	32.00	9.60
9999	Carriage of material	L.S.	1.82	2.12	3.86
	LABOUR:	2.0,	1.02	2.12	3.00
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL		0.00	000.00	132.66
	Add Water Charges @ 1%				1.33
	TOTAL				133.98
	Add GST 12% on "X" (multiplying factor 0.1405)				18.82
	Total				152.81 (
	Add CPOH @ 15%				22.92
	Cost of 1 metre				175.73
	labour cess @1%				1.76
	Rate including labour cess				177.49
		Say Rs.	177.50	Per metre	
9.61.3	Overall width 65 mm				
0.01.0	Details of cost for 1 metre				
	MATERIAL:				
7486	Oxidised M. S. hinges finished with nickel plating				
. ,	65 mm (Over all width)	metre	1.00	52.00	50.00
0686	Oxidised mild steel screws 20 mm	100 Nos		52.00	52.00
9999	Carriage of material	L.S.	30.00 1.82	32.00	9.60
	LABOUR:	L.S.	1.02	2.12	3.86
0112	Carpenter 2nd class	day	0.14	200.00	54.00
0114	Beldar	day	0.14	369.00	51.66
	TOTAL	day	0.09	306.00	27.54
	Add Water Charges @ 1%				144.66
	TOTAL				1.45
	Add GST 12% on "X" (multiplying factor 0.1405)				146.10
	Total				20.53
	Add CPOH @ 15%				166.63 (
	Cost of 1 metre				24,99
	labour cess @1%				191.63
	Rate including labour cess				1.92
	morading laboul cess	Say Rs.	193.50	Per metre	193.54
9.62	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc.			Cimene	
	complete:				
	300x16 mm				
9.62.1					

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Details of cost for 10 nos.				
	MATERIAL:				
0660	Oxidised mild steel sliding door bolt 300x16 mm	each	10.00	90.00	900.00
7040	Oxidised mild steel screws 35 mm	100 Nos	120.00	48.00	57.60
0641	Bright finished or black enameled mild steel bolts and				
	nuts 50x6 mm	each	40.00	5.00	200.0
9999	Carriage of materials & sundries LABOUR:	L.S.	6.37	2.12	13.5
0112	Carpenter 2nd class	day	0.25	369.00	92.2
	TOTAL				1263.3
	Add Water Charges @ 1%				12.63
	TOTAL				1275.99
	Add GST 12% on "X" (multiplying factor 0.1405)				179.28
	Total				1455.26
	Add CPOH @ 15%				218.29
	Cost of 10 nos				1673.55
	Cost of each				167.36
	labour cess @1%				1.67
	Rate including labour cess				169.03
		Say Rs.	169.00	Each	
9.62	Providing and fixing ISI marked oxidised M.S.				
	sliding door bolts with nuts and screws etc.				
	complete :				
.62.2	250x16 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0661	Oxidised mild steel sliding door bolt 250x16 mm	each	10.00	80.00	800.00
7040	Oxidised mild steel screws 35 mm	100 Nos	100.00	48.00	48.00
641	Bright finished or black enameled mild steel bolts and				
	nuts 50x6 mm	each	40.00	5.00	200.00
999	Carriage of materials & sundries	L.S.	6.37	2.12	13.50
	LABOUR:				
112	Carpenter 2nd class	day	0.25	369.00	92.25
	TOTAL				1153.75
	Add Water Charges @ 1%				11.54
	TOTAL				1165.29
	Add GST 12% on "X" (multiplying factor 0.1405)				163.72
	Total				1329.02
	Add CPOH @ 15%				199.35
	Cost of 10 nos				1528.37
	Cost of each				152.84
	labour cess @1%				1.53
	Rate including labour cess				154.37
		Say Rs.	154.40	Each	
.63	Providing and fixing ISI marked oxidised M.S.				

9.63 Providing and fixing ISI marked oxidised M.S tower bolt black finish, (Barrel type) with necessary screws etc. complete:

9.63.1 250x10 mm

Details of cost for 10 nos.

https://civil.amitkumarsachin.com

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:				
0664	Oxidised mild steel tower bolt (barrel type)				
	250x10 mm	each	10.00	43.00	430.00
0684	Oxidised mild steel screws 30 mm	100 Nos	100.00	49.00	49.00
9999	Carriage of material	L.S.	3.64	2.12	7.72
	LABOUR:				
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				523.62
	Add Water Charges @ 1%				5.24
	TOTAL				528.85
	Add GST 12% on "X" (multiplying factor 0.1405)				74.30
	Total				603.16 (
	Add CPOH @ 15%				90.47
	Cost of 10 nos				693.63
	Cost of each				69.36
	labour cess @1%				0.69
	Rate including labour cess				70.06
		Say Rs.	70.10	Each	
9.63.2	200x10 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0665	Oxidised mild steel tower bolt (barrel type)				
21272	200x10 mm	each	10.00	34.00	340.00
0684	Oxidised mild steel screws 30 mm	100 Nos	80.00	49.00	39.20
9999	Carriage of material	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				421.89
	Add Water Charges @ 1%				4.22
	TOTAL				426.11
	Add GST 12% on "X" (multiplying factor 0.1405)				59.87
	Total				485.97 (
	Add CPOH @ 15%				72.90
	Cost of 10 nos				558.87
	Cost of each				55.89
	labour cess @1%				0.56
	Rate including labour cess	-			56.45
9.63.3	150x10 mm	Say Rs.	56.40	Each	
9.03.3					
	Details of cost for 10 nos.				
0666	MATERIAL:				
0666	Oxidised mild steel tower bolt (barrel type) 150x10 mm				
0004		each	10.00	29.00	290.00
0684	Oxidised mild steel screws 30 mm	100 Nos	60.00	49.00	29.40
9999	Carriage of material LABOUR:	L.S.	2.73	2.12	5.79
0112					
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				362.09
	Add Water Charges @ 1%				3.62
	TOTAL				365.71
	Add GST 12% on "X" (multiplying factor 0.1405)		_		51.38
	11th Edition_2022 484 2	BI	(1)	~ / A	- 3

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total				417.09
	Add CPOH @ 15%				62.56
	Cost of 10 nos				479.65
	Cost of each				47.97
	labour cess @1%				0.48
	Rate Including labour cess				48.45
		Say Rs.	48.40	Each	
9.63.4	100x10 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0667	Oxidised mild steel tower bolt (barrel type)				
	100x10 mm	each	10.00	20.00	200.00
0684	Oxidised mild steel screws 30 mm	100 Nos	60.00	49.00	29.40
9999	Carriage of material LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL	1			264.71
	Add Water Charges @ 1%				2.65
	TOTAL				267.35
	Add GST 12% on "X" (multiplying factor 0.1405)				37.56
	Total				304.92 (
	Add CPOH @ 15%				45.74
	Cost of 10 nos				350.66
	Cost of each				
	labour cess @1%				35.07
	Rate including labour cess				0.35
	this metallig labour 0033	Say Rs.	35.40	Each	35.42
	Description of the second of t				
9.64	Providing and fixing ISI marked 85x42mm oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete.				
9.64	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos.				
9. 64 2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL:				
	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of				
	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and	aach	10.00	62.00	000.00
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete	each IS	10.00	62.00 2.12	620.00
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and	each L.S.	10.00 6.37	62.00 2.12	620.00 13.50
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries	L.S.	6.37	2.12	13.50
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR:				13.50 92.25
999	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class	L.S.	6.37	2.12	13.50 92.25 725.75
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1%	L.S.	6.37	2.12	13.50 92.25 725.75 7.26
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL	L.S.	6.37	2.12	13.50 92.25 725.75 7.26 733.01
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	L.S.	6.37	2.12	13.50 92.25 725.75 7.26 733.01 102.99
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	L.S.	6.37	2.12	13.50 92.25 725.75 7.26 733.01 102.99 836.00 (
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15%	L.S.	6.37	2.12	13.50 92.25 725.75 7.26 733.01 102.99 836.00 (*) 125.40
2449	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos	L.S.	6.37	2.12	92.25 725.75 7.26 733.01 102.99 836.00 (**) 125.40 961.40
2449 9999	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each	L.S.	6.37	2.12	92.25 725.75 7.26 733.01 102.99 836.00 (**) 125.40 961.40 96.14
	oxidised M.S. pull bolt lock conforming to IS: 7534 with necessary screws bolts, nut and washers etc. complete. Details of cost for 10 nos. MATERIAL: Oxidised mild steel pull bolt lock (locking bolt) of size 85 mm x 42 mm with screws, bolts, nuts and washers complete Carriage of material & sundries LABOUR: Carpenter 2nd class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos	L.S.	6.37	2.12	92.25 725.75 7.26 733.01 102.99 836.00 (**) 125.40 961.40

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.65	Providing and fixing ISI marked oxidised MS				
	door latches conforming to IS: 5930 with				
	screws etc.complete.				
9.65.1	300x20x6 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0662	Oxidised mild steel door latch 300x20x6 mm	each	10.00	49.00	490.00
0685	Oxidised mild steel screws 25 mm	100 Nos	90.00	36.00	32.40
9999	Carriage of materials	L.S.	3.64	2.12	7.72
	LABOUR:	2.0.	0.04	2.12	1.12
0112	Carpenter 2nd class	day	0.12	369.00	44.00
	TOTAL	uay	0.12	369.00	44.28
	Add Water Charges @ 1%				574.40
	TOTAL				5.74 580.14
	Add GST 12% on "X" (multiplying factor 0.1405)				81.51
	Total				661.65 (
	Add CPOH @ 15%				99.25
	Cost of 10 nos				760.90
	Cost of each				76.09
	labour cess @1%				0.76
	Rate including labour cess				76.85
		Say Rs.	76.90	Each	10.03
9.65.2	250x20x6 mm	•			
	Details of cost for 10 nos.				
	MATERIAL:				
0663	Oxidised mild steel door latch 250x20x6 mm	each	10.00	39.00	390.00
0685	Oxidised mild steel screws 25 mm	100 Nos	90.00	36.00	32.40
9999	Carriage of materials LABOUR:	L.S.	3.64	2.12	7.72
0112	Carpenter 2nd class	day	0.10	200.00	
	TOTAL	uay	0.12	369.00	44.28
	Add Water Charges @ 1%				474.40
	TOTAL				4.74
	Add GST 12% on "X" (multiplying factor 0.1405)				479.14
	Total				67.32
	Add CPOH @ 15%				546.46 ()
	Cost of 10 nos				81.97 628.43
	Cost of each				62.84
	labour cess @1%				02.64
	Rate including labour cess				63.47
		Say Rs.	63.50	Each	03.47
9.66	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete:				
0.664	405				
9.66.1	125 mm				
	Details of cost for 10 nos.				
0000	MATERIAL:				
0668	Oxidised mild steel handles 125 mm	each	10.00	20.00	200.00
0685	Oxidised mild steel screws 25 mm	100 Nos	40.00	36.00	14.40
9999	Carriage of materials	L.S.	2.73	2.12	5.79
0440	LABOUR:				00
0112	Carpenter 2nd class	day	0.06	369.00	22.14
	TOTAL				242.33
	Add Water Charges @ 1%				2.42
	TOTAL				244.75
D/SOR_	11 th Edition_2022 486 486	0.	am	0/1	
	1 400	140	(1)	IN/ /	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add GST 12% on "X" (multiplying factor 0.1405)				34.39
	Total				279.14
	Add CPOH @ 15%				41.87
	Cost of 10 nos				321.01
	Cost of each				32.10
	labour cess @1%				0.32
	Rate including labour cess				32.42
		Say Rs.	32.40	Each	
9.66.2	100 mm				
	Details of cost for 10 nos. MATERIAL:				
0669	Oxidised mild steel handles 100 mm	each	10.00	15.00	150.00
0685	Oxidised mild steel screws 25 mm	100 Nos	40.00	36.00	14.40
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:	2.0.	1.02	_,	
0112	Carpenter 2nd class	day	0.06	369.00	22.14
	TOTAL	uay	0.00	309.00	190.40
	Add Water Charges @ 1%				1.90
	TOTAL				192.30
	Add GST 12% on "X" (multiplying factor 0.1405)				
	Total				27.02
	Add CPOH @ 15%				219.32 (
					32.90
1	Cost of 10 nos Cost of each				252.22
					25.22
	labour cess @1%				0.25
	Rate including labour cess	Cau Da	25.50	F	25.47
		Say Rs.	25.50	Each	
.66.3	75 mm				
	Details of cost for 10 nos. MATERIAL:				
0670	Oxidised mild steel handles 75 mm	each	10.00	12.00	420.00
0685	Oxidised mild steel screws 25 mm	100 Nos		12.00	120.00
9999	Carriage of materials		40.00	36.00	14.40
5555		L.S.	1.82	2.12	3.86
0110	LABOUR:				
0112	Carpenter 2nd class	day	0.06	369.00	22.14
	TOTAL				160.40
	Add Water Charges @ 1%				1.60
	TOTAL				162.00
	Add GST 12% on "X" (multiplying factor 0.1405)				22.76
	Total				184.76 (
	Add CPOH @ 15%				27.71
	Cost of 10 nos				212.48
	Cost of each				21.25
	labour cess @1%				0.21
	Rate including labour cess				21.46
		Say Rs.	21.50	Each	
9.67	Providing and fixing oxidised M.S. hasp and				
	staple (safety type) conforming to IS: 363 with				
	necessary screws etc. complete:			4	
.67.1	150 mm				
.07.1					
	Details of cost for 10 nos.				
	MATERIAL:				
1070	Oxidised mild steel hasps and staples (safety type)				
679		10 No.	10.00	128.00	128.00
	150 mm	10 Nos	10.00	120.00	120.00
)679)685	150 mm Oxidised mild steel screws 25 mm	10 Nos	80.00	36.00	28.80

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	LABOUR:			†	
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL				190.18
	Add Water Charges @ 1%				1,90 192.08
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				26.99
	Total				219.07 (`
	Add CPOH @ 15%				32.86
	Cost of 10 nos				251.93
	Cost of each				25.19
	labour cess @1%				0.25
	Rate including labour cess				25.44
9.67.2	115 mm	Say Rs.	25.40	Each	
3.07.2	Details of cost for 10 nos.				
	MATERIAL:				
0680	Oxidised mild steel hasps and staples (safety type)				
	115 mm	10 Nos	10.00	108.00	108.00
0685	Oxidised mild steel screws 25 mm	100 Nos	70.00	36.00	25.20
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:				
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL				166.58
	Add Water Charges @ 1%				1.67
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				168.24
	Total				23.64
	Add CPOH @ 15%				191.88 (` 28.78
	Cost of 10 nos				220.66
	Cost of each				22.07
	labour cess @1%				0.22
	Rate including labour cess				22.29
		Say Rs.	22.30	Each	
9.67.3	90 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0681	Oxidised mild steel hasps and staples (safety type)				
	90 mm	10 Nos	10.00	79.00	79.00
0685	Oxidised mild steel screws 25 mm	100 Nos	70.00	36.00	25.20
9999	Carriage of materials	L.S.	1.82	2.12	3.86
0440	LABOUR:				
0112	Carpenter 2nd class	day	80.0	369.00	29.52
	TOTAL Add Water Charges @ 1%				137.58
	TOTAL				1.38
	Add GST 12% on "X" (multiplying factor 0.1405)				138.95
	Total				19.52
	Add CPOH @ 15%				158.48 (` 23.77
	Cost of 10 nos				182.25
	Cost of each				18.22
	labour cess @1%				0.18
	Rate including labour cess				18.41
		Say Rs.	18.40	Each	
9.68	Providing and fixing oxidised M.S. casement stays (straight peg type) with necessary screws etc.complete.	1.			
	11th Edition_2022 \$\frac{1}{2} \times \times \tag{488}	^	a	9/1	
	110 HOURON 2022 W	RI	160	~ / A	7

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.68.1	300 mm weighing not less than 200 gms	Sagarinia de la Carte de Carte		-	, to 1
	Details of cost for 10 nos				
	MATERIAL:				
7063	Oxidised M.S.casement stay (straight peg type)				
	300 mm not less than 0.33 kg	each	10.00	35.00	350.00
0684	Oxidised mild steel screws 30 mm	100 Nos	40.00	49.00	19.60
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				408.43
	Add Water Charges @ 1%				4.08
	TOTAL				412.51
	Add GST 12% on "X" (multiplying factor 0.1405)				57.96
	Total				470.47
	Add CPOH @ 15%				70.57
	Cost of 10 nos				541.04
	Cost of each				54.10
	labour cess @1%				0.54
	Rate Including labour cess				54.65
		Say Rs.	54.60	Each	
9.68.2	250 mm weighing not less than 150 gms				
,	Details of cost for 10 nos.				
	MATERIAL:				
7064	Oxidised M.S.casement stay (straight peg type)				
	250 mm not less than 0.28 kg	each	10.00	30.00	300.00
0685	Oxidised mild steel screws 25 mm	100 Nos	40.00	36.00	14.40
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				353.23
	Add Water Charges @ 1%				3.53
	TOTAL				356.76
	Add GST 12% on "X" (multiplying factor 0.1405)				50.12
	Total				406.89
	Add CPOH @ 15%				61.03
	Cost of 10 nos				467.92
	Cost of each				46.79
	labour cess @1%				0.47
	Rate including labour cess				47.26
		Say Rs.	47.30	Each	
.68.3	200 mm weighing not less than 120 gms				
	Details of cost for 10 nos. MATERIAL:				
065	Oxidised M.S. casement stay (straight peg type)				
	200 mm not less than 0.24 kg	each	10.00	25.00	250.00
0685	Oxidised mild steel screws 25 mm	100 Nos	40.00	36.00	14.40
999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
1112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL				303.23
	Add Water Charges @ 1%				3.03
	TOTAL				306.26
	Add GST 12% on "X" (multiplying factor 0.1405)				43.03
	Total				349.29 (
	Add CPOH @ 15%				52.39
	Cost of 10 nos				401.68
	LUST OF THE HOS				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Cost of each labour cess @1%			11 2	40.17 0.40
	Rate including labour cess	Say Rs.	40.60	Each	40.57
9.69	Providing and fixing oxidised M.S. Safety chain with necessary fixtures for doors, (weighting not less than 450 gms).				
	Details of cost for 10 nos. MATERIAL:				
7184	Oxidised M.S. safety chain (weighing not less than 450 gms) for door	each	10.00	57.00	570.00
0685 9999	Oxidised mild steel screws 25 mm Carriage of materials LABOUR:	100 Nos L.S.	60.00 0.91	36.00 2.12	21.60 1.93
0112	Carpenter 2nd class	day	0.10	369.00	36.90 630.43
	Add Water Charges @ 1% TOTAL				6.30 636. 73
1	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15%				89.46 726.19 (Y) 108.93
	Cost of 10 nos Cost of each labour cess @1%				835.12 83.51 0.84
	Rate including labour cess	Say Rs.	84.30	Each	84.35
9.70	Providing and fixing IS: 12817 marked stainless steel butt hinges with stainless steel screws etc.complete:				
9.70.1	125x64x1.90 mm Details of cost for 10 nos. MATERIAL:				
8215 8210	Stainless steel butt hinges 125x64x1.9 mm IS :12817 marked Stainless steel screws 50 mm	10 Nos 100 Nos	10.00 80.00	310.00 300.00	310.00 240.00
9999	Carriage of materials LABOUR:	L.S.	2.73	2.12	5.79
0112 0114	Carpenter 2nd class Beldar TOTAL	day day	0.14 0.09	369.00 306.00	51.66 27.54
	Add Water Charges @ 1% TOTAL				634.99 6.35 641.34
	Add GST 12% on "X" (multiplying factor 0.1405) Total				90.11 731.45 (Y)
2.0	Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess				109.72 841.16 84.12 0.84
		Say Rs.	85.00	Each	84.96
9.70.2	100X58X1.90 mm Details of cost for 10 nos. MATERIAL:				_ 0
BCD/SOR_	11 th Edition_2022	B	(Br.	9/ A	18

Code No	Description	n	Unit	Quantity	Rate ₹	Amount ₹
8216	Stainless steel butt hinges 100x58	x1.9 mm IS:				
	12817 marked	7. 110 tillit 10.	10 Nos	10.00	280.00	280.00
8211	Stainless steel screws 40 mm				250.00	200.00
9999			100 Nos	80.00		5.79
3339	Carriage of materials LABOUR:		L.S.	2.73	2.12	5.19
0112	Carpenter 2nd class		day	0.14	369.00	51.66
0114	Beldar		day	0.09	306.00	27.54
		TOTAL				564.99
	Add	Water Charges @ 1%				5.65
		TOTAL				570.64
	Add GST 12% on "X" (mu					80.17
	1.00 001 1270 011 77 (1110	Total				650.81
		Add CPOH @ 15%				97.62
		Cost of 10 nos				748.43
		Cost of each				74.84
		labour cess @1%				0.75
	Rate in	cluding labour cess				75.59
			Say Rs.	75.60	Each	
70.3	75x47x1.80 mm					
	Details of cost for 10 nos. MATERIAL:					
8217	Stainless steel butt hinges 75x47x	1.8 mm (S ·				
!	12817 marked		10 Nos	40.00	400.00	400.00
8212	Stainless steel screws 30 mm			10.00	180.00	180.00
9999			100 Nos	60.00	230.00	138.00
9999	Carriage of materials		L.S.	1.82	2.12	3.86
0440	LABOUR:			•		
0112	Carpenter 2nd class		day	0.14	369.00	51.66
0114	Beldar		day 🕺	0.09	306.00	27.54
		TOTAL				401.06
	Add	Water Charges @ 1%				4.01
		TOTAL				405.07
	Add GST 12% on "X" (mu	Iltiplying factor 0.1405)				56.91
		Total				461.98 (
		Add CPOH @ 15%				69.30
		Cost of 10 nos				531.28
		Cost of each				
		labour cess @1%				53.13
	Pata inc					0.53
	Nate inc	cluding labour cess			_	53.66
.70.4	E0x27x4 E0		Say Rs.	53.70	Each	
7.70.4	50x37x1.50 mm					
	Details of cost for 10 nos.					
	MATERIAL:					
8218	Stainless steel butt hinges 50x37x	1.5 mm IS :				
	12817 marked		10 Nos	10.00	150.00	150.00
8214	Stainless steel screws 20 mm		100 Nos	40.00	150.00	
9999	Carriage of materials		L.S.	0.91		60.00
	LABOUR:		2.0.	0.31	2.12	1.93
	Carpenter 2nd class		100			
0112	Carpenter 21td class	7074	day	0.08	369.00	29.52
		TOTAL				241.45
	Add	Water Charges @ 1%				2.41
	X XX = ==	TOTAL				243.86
	Add GST 12% on "X" (mu	Iltiplying factor 0.1405)				34.26
		Total				278.13 (
		Add CPOH @ 15%				41.72
-		Cost of 10 nos				
		Cost of each				319.85
		labour cess @1%				31.98
						0.32
	Date inc	luding labour coco				
	Rate inc	luding labour cess	Say Rs.	32.30	Each	32.30

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.71	Providing and fixing IS : 12817 marked				
	stainless steel butt hinges (heavy weight) with				
	stainless steel screws etc. complete:				
9.71.1	125x64x2.50 mm				
3.7 1.1					
	Details of cost for 10 nos. MATERIAL:				
8219	Stainless steel butt hinges (heavy weight) 125x64 x				
OLIO	2.5 mm IS : 12817 marked	10 Nos	10.00	375.00	375.00
8210	Stainless steel screws 50 mm	100 Nos	80.00	300.00	240.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				699.99
	Add Water Charges @ 1%				7.00
	TOTAL				706.99
	Add GST 12% on "X" (multiplying factor 0.1405)				99.33
	Total				806.32 120.95
	Add CPOH @ 15%				927.27
	Cost of 10 nos				927.27
	Cost of each				0.93
;	labour cess @1%				93.65
	Rate including labour cess	Say Rs.	93.70	Each	30.00
74.2	100x60x2.50 mm	Say Its.	33.10	Lacii	
9.71.2	Details of cost for 10 nos.				
	MATERIAL:				
8220	Stainless steel butt hinges (heavyweight) 100x60 x				
0220	2.5 mm IS: 12817 marked	10 Nos	10.00	275.00	275.00
8211	Stainless steel screws 40 mm	100 Nos	80.00	250.00	200.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
5555	LABOUR:	2.0.	2		
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.09	306.00	27.54
•	TOTAL	,			559.99
	Add Water Charges @ 1%				5.60
	TOTAL				565.59
	Add GST 12% on "X" (multiplying factor 0.1405)				79.47
	· Total				645.05
	. Add CPOH @ 15%				96.76
	Cost of 10 nos				741.81
	Cost of each				74.18
	labour cess @1%				0.74
	Rate including labour cess				74.92
		Say Rs.	74.90	Each	, ,,,,,,
.71.3	75x50x2.50 mm	,			
	Details of cost for 10 nos.				
	MATERIAL:				
3221	Stainless steel butt hinges (heavy weight) 75x50 x				
	2.5 mm IS : 12817 marked	10 Nos	10.00	230.00	230.00
3212	Stainless steel screws 30 mm	100 Nos	60.00	230.00	138.00
999	Carriage of materials	L.S.	1.82	2.12	3.86
-	LABOUR:				5.00
112	Carpenter 2nd class	day	0.14	369.00	E4.00
114	Beldar	day	0.09	306.00	51.66 27.54
	TOTAL	44,	0.00	555.00	27.54 451.06
	Add Water Charges @ 1%				451.06
					4.01
	1th Edition_2022 492 492	^	1200	~ / A	1

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				455.57 64.01
	Total				519.58 (`
	Add CPOH @ 15%				77.94
	Cost of 10 nos				597.51 59.75
	Cost of each labour cess @1%				0.60
	Rate including labour cess				60.35
		Say Rs.	60.30	Each	
9.72	Providing and fixing bright finished brass butt hinges with necessary screws etc. complete:				
9.72.1	125x85x5.5 mm (heavy type) Details of cost for 10 nos.				
0382	MATERIAL: Brass butt hinges (heavy type):125x85x5.5 mm(0.70 kg)	40.11			
0449	Brass screws 50 mm	10 Nos 100 Nos	10.00 100.00	1309.00	1309.00
9999	Carriage of materials	L.S.	3.64	220.00 2.12	220.00 7.72
	LABOUR:	2.0.	0.04	2.12	1.12
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.10	306.00	30.60
	TOTAL Add Water Charges @ 1%				1625.14
	TOTAL				16.25
	Add GST 12% on "X" (multiplying factor 0.1405)				1641.39 230.62
	Total				1872.00 (Y
	Add CPOH @ 15%				280.80
	Cost of 10 nos Cost of each				2152.80
	labour cess @1%				215.28
	Rate including labour cess				2.15 217.43
		Say Rs.	217.40	Each	
9.72.2	125x70x4 mm (ordinary type)				
	Details of cost for 10 nos. MATERIAL:				
0378	Brass butt hinges (light/ordinary type) : 125x70x4 mm	10 Nos	10.00	775.00	775.00
0449 9999	Brass screws 50 mm Carriage of materials	100 Nos	100.00	220.00	220.00
0000	LABOUR:	L.S.	3.64	2.12	7.72
0111	Carpenter 1 st class	dov	0.44	440.00	
0114	Beldar	day day	0.14 0.10	413.00 306.00	57.82
	TOTAL		0.10	300.00	30.60 1091.14
	Add Water Charges @ 1%				10.91
	TOTAL				1102.05
	Add GST 12% on "X" (multiplying factor 0.1405)				154.84
	Total Add CPOH @ 15%				1256.89 (\
	Cost of 10 nos				188.53
	Cost of each				1445.42
	labour cess @1%				144.54 1.45
	Rate including labour cess				145.99
9.72.3	100x85x5.5 mm (heavy type)	Say Rs.	146.00	Each	
	Details of cost for 10 nos.		•		
	MATERIAL:				
0383	Brass butt hinges (heavy type):100x85x				
	5.5 mm(0.56 kg)	10 N	40.00		
	3.5 mm(0.56 kg)	10 Nos	10.00	997.00	997.00

No	Description	Unit	Quantity	Rate ₹	Amount ₹
0.150	Brass screws 40 mm	100 Nos	80.00	170.00	136.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.83
0114	Beldar	day	0.10	306.00	30.60
	TOTAL	aciy	0.10		1227.2
	Add Water Charges @ 1%				12.2
	TOTAL				1239.48
	Add GST 12% on "X" (multiplying factor 0.1405)				174.1
	Total				1413.63
	Add CPOH @ 15%				212.04
	Cost of 10 nos				1625.67
	Cost of each				162.57
	labour cess @1%				1.63
	Rate including labour cess				164.19
		Say Rs.	164.20	Each	
9.72.4	100x70x4 mm (ordinary type)				
	Details of cost for 10 nos.				
0379	MATERIAL:	10 N	10.00	605.00	005.00
0450	Brass butt hinges (light/ordinary type): 100x70x4 mm	10 Nos 100 Nos	10.00	625.00	625.00
9999!	Brass screws 40 mm Carriage of materials	L.S.	80.00	170.00	136.00
3333	-	L.S.	2.73	2.12	5.79
0111	LABOUR:	2	0.44	440.00	0
0111 0114	Carpenter 1 st class Beldar	day	0.14	413.00	57.82
0114	TOTAL	day	0.10	306.00	30.60
	Add Water Charges @ 1%				855.2°
	TOTAL				8.55 863.76
	Add GST 12% on "X" (multiplying factor 0.1405)				121.36
	Total				985.12
	Add CPOH @ 15%				147.77
	Cost of 10 nos				1132.89
	Cost of each				113.29
	labour cess @1%				1.13
	Rate including labour cess				114.42
	-	Say Rs.	114.40	Each	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
9.72.5	75x65x4 mm (heavy type)				
9.72.5	Details of cost for 10 nos.				
	Details of cost for 10 nos. MATERIAL:	10 Nos	10.00	838 00	920.04
9. 72.5 0384 0451	Details of cost for 10 nos.	10 Nos 100 Nos	10.00 60.00	838.00 140.00	
0384	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm	100 Nos	60.00	140.00	84.00
0384 0451	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type):75x65x4.0 mm(0.20 kg)				84.00
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR:	100 Nos L.S.	60.00 2.73	140.00 2.12	84.00 5.79
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type):75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	838.00 84.00 5.79 57.83
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class	100 Nos L.S.	60.00 2.73	140.00 2.12	84.00 5.79 57.83 30.60
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.83 30.60 1016.2
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.83 30.60 1016.2 10.10
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1%	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.83 30.60 1016.2 10.10 1026.3
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.80 30.60 1016.2 10.10 1026.3 144.2
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.83 30.60 1016.2 10.10 1026.3 144.20 1170.5
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.76 57.8 30.6 1016.2 10.1 1026.3 144.2 1170.5 175.5
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	57.8 30.6 1016.2 10.1 1026.3 144.2 1170.5 175.5
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1%	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.75 57.8: 30.6: 1016.2 10.1: 1026.3 144.2: 1170.5: 175.5: 1346.1: 134.6:
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each	100 Nos L.S. day	60,00 2.73 0.14	140.00 2.12 413.00	84.00 5.79 57.83
0384 0451 9999	Details of cost for 10 nos. MATERIAL: Brass butt hinges (heavy type) :75x65x4.0 mm(0.20 kg) Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class Beldar TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1%	100 Nos L.S. day	60.00 2.73 0.14 0.10	140.00 2.12 413.00	84.00 5.79 57.8: 30.60 1016.2 10.10 1026.3 144.20 1170.55 175.59 1346.10 134.60

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.72.6	75x40x2.5 mm (ordinary type)	51	44 20		
	Details of cost for 10 nos. MATERIAL:				
0380	Brass butt hinges (light/ordinary type): 75x40x2.5 mm	10 Nos	10.00	380.00	380.00
0451	Brass screws 30 mm	100 Nos	60.00	140.00	84.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.10	306.00	30.60
	TOTAL				558.21
	Add Water Charges @ 1%				5.58
	TOTAL				563.79
	Add GST 12% on "X" (multiplying factor 0.1405)				79.21
	Total				643.00
	Add CPOH @ 15%				96.45 739.45
	Cost of 10 nos Cost of each				739.45
	labour cess @1%				0.74
	Rate including labour cess				74.68
	reace including labour cess	Say Rs.	74.70	Each	74.00
.72.7	50x40x2.5 mm (ordinary type)	ouj no.	. 4 6	Lucii	
	Details of cost for 10 nos.				
	MATERIAL:				
0381	Brass butt hinges (light/ordinary type):				
	50x40x2.5 mm	10 Nos	10.00	155.00	155.00
0453	Brass screws 20 mm	100 Nos	40.00	95.00	38.00
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.08	413.00	33.04
	TOTAL				229.90
	Add Water Charges @ 1%				2.30
	TOTAL				232.20
	Add GST 12% on "X" (multiplying factor 0.1405)				32.62
	Total				264.82
	Add CPOH @ 15%				39.72
	Cost of 10 nos				304.54
	Cost of each				30.45
	labour cess @1%				0.30
	Rate including labour cess	0	00.00		30.76
		Say Rs.	30.80	Each	
9.73	Providing and fixing bright finished brass				
3.75	parliamentary hinges with necessary screws				
70.4	etc. complete:				
.73.1	150x125x27x5 mm				
	Details of cost for 10 nos.				
0005	MATERIAL:	40.11			
0385	Brass parliamentary hinges 150x125x27x5 mm	10 Nos	10.00	2610.00	2610.00
0450	Brass screws 40 mm	100 Nos	80.00	170.00	136.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
0444	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.14	306.00	42.84
	- TOTAL Add Water Charges @ 1%				2852.45
	Add Water Charges @ 1% TOTAL				28.52
	Add GST 12% on "X" (multiplying factor 0.1405)				2880.97
	Total				404.78
	iolai	355			3285.75

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add CPOH @ 15% on "Y"	10.00			492.86
	Cost of 10 nos				3778.61
	Cost of each				377.86
	labour cess @1%				3.78
	Rate including labour cess				381.64
		Say Rs.	381.60	Each	
9.73.2	125x125x27x5 mm				
	Details of cost for 10 nos. MATERIAL:				
0386	Brass parliamentary hinges 125x125x27x5 mm	10 Nos	10.00	2300.00	2300.00
0450	Brass screws 40 mm	100 Nos	80.00	170.00	136.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.14	306.00	42.84
	TOTAL				2542.45
	Add Water Charges @ 1%				25.42
	TOTAL				2567.87 (
	Add GST 12% on "X" (multiplying factor 0.1405)				360.79
	Total				2928.66 (
	Add CPOH @ 15% on "Y"				439.30
	Cost of 10 nos				3367.96
	Cost of each				336.80
	labour cess @1%				3.37
	Rate including labour cess	rijon i da k			340.16
		Say Rs.	340.20	Each	
9.73.3	100x125x27x5 mm Details of cost for 10 nos. MATERIAL:				
0387	Brass parliamentary hinges 100x125x27x5 mm	10 Nos	10.00	2090.00	2090.00
0450	Brass screws 40 mm	100 Nos	80.00	170.00	136.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				0.10
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.14	306.00	42.84
	TOTAL	44,		000.00	2332.45
	Add Water Charges @ 1%				23.32
	TOTAL				2355.77 (
	Add GST 12% on "X" (multiplying factor 0.1405)				330.99
	Total				2686.76 (
	Add CPOH @ 15% on "Y"				403.01
	Cost of 10 nos				3089.77
	Cost of each				308.98
	labour cess @1%				3.09
	Rate including labour cess				312.07
		Say Rs.	312.10	Each	0.2.0.
9.73.4	75x100x20x3.2 mm Details of cost for 10 nos. MATERIAL:				
0388	Brass parliamentary hinges 75x100x20x3.2 mm	10 Nos	10.00	1870.00	1870.00
0451	Brass screws 30 mm	100 Nos	60.00	140.00	84.00
0451	Carriage of materials	L.S.	2.73	2.12	
9999				4.14	5.79
	LABOUR:				
9999		day	0.14	412.00	
9999	Carpenter 1 st class	day	0.14	413.00	57.82
9999 0111 0114		day day	0.14 0.14	413.00 306.00	57.82 42.84

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL	:			2060.45
	Add Water Charges @ 1%				20.60
	TOTAL				2081.05
	Add GST 12% on "X" (multiplying factor 0.1405)				292.39
	Total				2373.44 356.02
	Add CPOH @ 15% on "Y"				2729.46
	Cost of 10 nos				272.95
	Cost of each				2.73
	labour cess @1% Rate including labour cess				275.68
	Rate including labour cess	Say Rs.	275.70	Each	270.00
9.74	Providing and fixing bright finished brass tower	Say Ks.	275.70	Lacii	
	bolts (barrel type) with necessary screws etc.				
	complete:		salah di		
9.74.1	250x10 mm				
	Details of cost for 10 nos.				
0.400	MATERIAL:				
0400	Brass tower bolt (barrel type) 250x10 mm	each	10.00	257.00	2570.00
0451	Brass screws 30 mm	100 Nos	100.00	140.00	140.00
9999	Carriage of materials	L.S.	4.55	2.12	9.65
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL				2760.95
	Add Water Charges @ 1%				27.61
	TOTAL				2788.56
	Add GST 12% on "X" (multiplying factor 0.1405)				391.79
	Total				3180.35
	Add CPOH @ 15% on "Y"				477.05
	Cost of 10 nos Cost of each				3657.40
	labour cess @1%				365.74
	Rate including labour cess				3.66 369.40
-,-		Say Rs.	369.40	Each	309.40
3.74.2	200x10 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0401	Brass tower bolt (barrel type) 200x10 mm	each	10.00	205.00	2050.00
0451	Brass screws 30 mm	100 Nos	80.00	140.00	112.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				0.10
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL			. 10.00	2209.09
	Add Water Charges @ 1%				22.09
	TOTAL				2231.18
	Add GST 12% on "X" (multiplying factor 0.1405)				313.48
	Total				2544.66
	Add CPOH @ 15% on "Y"				381.70
	Cost of 10 nos				2926.36
	Cost of each				292.64
	labour cess @1%				2.93
	Rate including labour cess				295.56
		Say Rs.	295.60	Each	
74.3	150x10 mm				
	Details of cost for 10 nos.				
	MATERIAL;				
			10.00	454.00	
402	Brass tower bolt (barrel type) 150x10 mm	each	10.00	154.00	1540 00
402 451	Brass tower bolt (barrel type) 150x10 mm Brass screws 30 mm	each 100 Nos	80.00	154.00 140.00	1540.00 112.00

Code No	Description	Unit	Quantity	Rate ₹	Amount
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL	40)			1699.09
	Add Water Charges @ 1%				16.99
	TOTAL				1716.08
	Add GST 12% on "X" (multiplying factor 0.1405)				241.11
	Total				1957.19
	Add CPOH @ 15% on "Y"				293.58
	Cost of 10 nos				2250.77
	Cost of each				225.08
	labour cess @1%				2.25
	Rate including labour cess				227.33
	그렇게 되었다. 그 사람들은 사람들은 사람들은 사람들은 사람들은 사람들이 되었다. 그 사람들은 사람들은 사람들은 사람들은 사람들은 사람들은 사람들은 사람들이 되었다.	Say Rs.	227.30	Each	
9.74.4	100x10 mm				
	Details of cost for 10 nos.				
0403	MATERIAL:	aaab	10.00	103.00	1030.00
0403	Brass tower bolt (barrel type) 100x10 mm Brass screws 30 mm	each 100 Nos	10.00 60.00	140.00	84.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
5555	LABOUR:	L.O.	2.75	2.12	0.70
0111	Carpenter 1 st class	day	0.10	413.00	41.30
0111	TOTAL	day	0.10	413.00	1161.09
	Add Water Charges @ 1%				11.61
	TOTAL				1172.70
	Add GST 12% on "X" (multiplying factor 0.1405)				164.76
	Total				1337.46
	Add CPOH @ 15% on "Y"				200.62
	Cost of 10 nos				1538.08
	Cost of each				153.81
	labour cess @1%				1.54
	Rate including labour cess				155.35
9.75	Draviding and fiving bright finished bases days	Say Rs.	155.30	Each	
9.13	Providing and fixing bright finished brass door latch with necessary screws etc. complete:				
9.75.1	300x16x5 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0411	Brass door latch 300x16x5 mm (0.380 kg)	each	10.00	185.00	1850.00
0452	Brass screws 25 mm	100 Nos	90.00	100.00	90.00
9999	Carriage of materials	L.S.	3.64	2.12	7.72
0111	LABOUR:				
	Carpenter 1 st class	day	0.12	413.00	49.56
	TOTAL				1997.28
	Add Water Charges @ 1%				19.97
	TOTAL				2017.25
	Add GST 12% on "X" (multiplying factor 0.1405)				283.42
	Total Add CPOH @ 15% on "Y"				2300.67
	Cost of 10 nos				345.10
	Cost of 10 hos				2645.77
	labour cess @1%				264.58
	Rate including labour cess				2.65
	morading labour cess	Say Rs.	267.20	Each	267.22
.75.2	250x16x5 mm	ouy its.	201.20	Lacii	
., 3.2	Details of cost for 10 nos. MATERIAL:				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0412	Brass door latch 250x16x5 mm (0.350 kg)	each	10.00	175.00	1750.00
0452	Brass screws 25 mm	100 Nos	90.00	100.00	90.00
9999	Carriage of materials	L.S.	3.64	2.12	7.72
	LABOUR:	L.J.	0.04		
0111			0.40	112.00	49.56
0111	Carpenter 1 st class	day	0.12	413.00	1897.28
	TOTAL				
	Add Water Charges @ 1%				18.97
	TOTAL				1916.25
	Add GST 12% on "X" (multiplying factor 0.1405)				269.23
	Total				2185.48
	Add CPOH @ 15% on "Y"				327.82
	Cost of 10 nos				2513.31
	Cost of each				251.33
	labour cess @1%				2.51
	Rate including labour cess				253.84
		Say Rs.	253.80	Each	
9.76	Providing and fixing bright finished brass 100				
	mm mortice latch and lock with 6 levers and a				
	pair of lever handles of approved quality with				
	necessary screws etc. complete.				
	Details of cost for 1 no.				
	MATERIAL;				
0413					
0413	Brass mortice latch and lock 100x65 mm with				
	6 levers and a pair of brass lever handles	each	1.00	400.00	400.00
	LABOUR:				
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries (screws, carriage etc.)	L.S.	3.64	2.12	7.72
	TOTAL		2.0		477.93
	Add Water Charges @ 1%				4.78
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				482.71
	Total				67.82
	Add CPOH @ 15% on "Y"				550.53
					82.58
	Cost of each				633.11
	labour cess @1%				6.33
	Rate including labour cess				639.44
		Say Rs.	639.40	Each	
9.77	Providing and fixing bright finished brass 100				
	mm mortice latch with one dead bolt and a pair				
	of lever handles of approved quality with				
	necessary screws etc. complete				
	Details of cost for 1 no.				
	MATERIAL:				
0414	Brass mortice latch 100x65mm with a pair of brass	acab	1.00		
	lever handles	each	1.00	310.00	310.00
	LABOUR:				
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries (screws, carriage etc.)	L.Ś.	3.64	2.12	
	TOTAL			4.14	7.72
	Add Water Charges @ 1%				387.93
	TOTAL				3.88
					391,81
	Add GST 12% on "Y" / multiplying factor 0 1405)				
	Add GST 12% on "X" (multiplying factor 0.1405)				- 55.05
	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"				- 55.05 446.85

No	Description	Unit	Quantity	Rate ₹	Amount ₹
. **	Cost of each			 	513.88
	labour cess @1%				5.14
	Rate including labour cess				519.02
	Nate mording labour cess	Say Rs.	519.00	Each	
9.78	Providing and fixing bright finished brass night	Say Ks.	313.00	Lacii	
	latch of approved quality including necessary				
	screws etc. complete.				
	Details of cost for 1 no.				
	MATERIAL:				
0438	Brass night latch	each	1.00	610.00	610.00
	LABOUR:	odon	7.00	010.00	0.10.00
0111	Carpenter 1 st class	W	0.47	440.00	70.04
9999		day	0.17	413.00	70.21
0000	Sundries (screws, carriage etc.)	L.S.	3.64	2.12	7.72
	TOTAL				687.93
	Add Water Charges @ 1%				6.88
	TOTAL				694.81 (
	Add GST 12% on "X" (multiplying factor 0.1405)				97.62
	Total		100 CH 100 CH 100		792.43 (
	Add CPOH @ 15% on "Y"				118.86
	Cost of each				911.29
	labour cess @1%				9.11
	Rate including labour cess				920.40
		Say Rs.	920.40	Each	
9.79	Providing and fixing special quality bright				
	finished brass cupboard or ward robe locks				
	with four levers of approved quality including				
	necessary screws etc. complete.				
9.79.1	40 mm				
	Details of cost for 1 no.				
	MATERIAL:				
2451	Brass cupboard lock 6 levers of approved quality,				
	40 mm size	each	1.00	57.00	F7.00
	LABOUR:	Cucii	1.00	57.00	57.00
0111	Carpenter 1 st class				
9999	Sundries & screws	day	0.17	413.00	70.21
3333		L.S.	3.64	2.12	7.72
	TOTAL				134.93
	Add Water Charges @ 1%				1.35
	TOTAL				136.28 ()
	Add GST 12% on "X" (multiplying factor 0.1405)				19.15
	Total				155.42 (
					23.31
	Add CPOH @ 15% on "Y"				
	Cost of each				178.74
	Cost of each labour cess @1%				178.74 1.79
	Cost of each	Say Re	180.50		178.74
9.79.2	Cost of each labour cess @1% Rate including labour cess	Say Rs.	180.50	Each	178.74 1.79
9.79.2	Cost of each labour cess @1% Rate including labour cess	Say Rs.	180.50	Each	178.74 1.79
9.79.2	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no.	Say Rs.	180.50	Each	178.74 1.79
	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL:	Say Rs.	180.50	Each	178.74 1.79
9. 79.2 2452	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality,	Say Rs.	180,50	Each	178.74 1.79
	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality, 50 mm size	Say Rs.	180.50		178.74 1.79 180.52
	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality,			Each 88.00	178.74 1.79
	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality, 50 mm size	each	1.00	88.00	178.74 1.79 180.52 88.00
2452 0111	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality, 50 mm size LABOUR:	each day	1.00 0.17	88.00 413.00	178.74 1.79 180.52 88.00 70.21
2452	Cost of each labour cess @1% Rate including labour cess 50 mm Details of cost for 1 no. MATERIAL: Brass cupboard lock 6 levers of approved quality, 50 mm size LABOUR: Carpenter 1 st class Sundries & screws	each	1.00	88.00	178.74 1.79 180.52 88.00 70.21 7.72
2452 0111	Cost of each labour cess @1% Rate including labour cess	each day	1.00 0.17	88.00 413.00	178.74 1.79 180.52 88.00 70.21
2452 0111 9999	Cost of each labour cess @1% Rate including labour cess	each day	1.00 0.17	88.00 413.00	178.74 1.79 180.52 88.00 70.21 7.72
2452 0111 9999	Cost of each labour cess @1% Rate including labour cess	each day	1.00 0.17	88.00 413.00	178.74 1.79 180.52 88.00 70.21 7.72 165.93

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
= 1124	TOTAL	74 17 (8)	1 20 1 1/2		167.59
	Add GST 12% on "X" (multiplying factor 0.1405)				23.55
	Total				191.13
	Add CPOH @ 15% on "Y"				28.67
	Cost of each				219.80
	labour cess @1%				2.20
	Rate including labour cess				222.00
	rate meaning labour 5000	Say Rs.	222.00	Each	
9.79.3	65 mm	cuj			
, 0.0	Details of cost for 1 no.				
0.450	MATERIAL:				
2453	Brass cupboard lock 6 levers of approved quality,				
	65 mm size	each	1.00	93.00	93.00
	LABOUR:		3. 3. 3. 3. 3. 5.		
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries & screws	L.S.	3.64	2.12	7.72
	TOTAL				170.93
	Add Water Charges @ 1%				1.71
	TOTAL				172.64
	Add GST 12% on "X" (multiplying factor 0.1405)				24.26
	Total				196.89
	Add CPOH @ 15% on "Y"				29.53
	Cost of each				226.43
	labour cess @1%				2.26
	Rate including labour cess				228.69
	Nate including labour cess	Cay Da	220.70		220.09
.79.4	75 mm	Say Rs.	228.70	Each	
.13.4					
	Details of cost for 1 no.				
0454	MATERIAL:				
2454	Brass cupboard lock 6 levers of approved quality,				
	75 mm size	each	1.00	108.00	108.00
	LABOUR:				
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries & screws	L.S.	3.64	2.12	7.72
	TOTAL				185.93
	Add Water Charges @ 1%				1.86
	TOTAL				187.79
	Add GST 12% on "X" (multiplying factor 0.1405)				26.38
	Total				214.17
	Add CPOH @ 15% on "Y"				32.13
	Cost of each				
	labour cess @1%				246.30
	Rate including labour cess				2.46
	rate molating labeti cess	Say Rs.	248.80	TL	248.76
9.80	Providing and fixing 50 mm bright finished	Say Ns.	240.00	Each	
3.00					
	brass cup board or wardrobe knob of approved				
	quality with necessary screws.				
	Details of cost for 10 nos				
	MATERIAL:				
0447	Brass cupboard knob or wardrobe knob 50 mm	each	10.00	36.00	200.00
9999	Carriage of materials	L.S.	2.73		360.00
	LABOUR:		2.10	2.12	5.79
0111	Carpenter 1 st-class	da	0.4.		
	Carpenter 1 Strates	day	0.14	413.00	57.82
	TOTAL				423,61
	Add Water Charges @ 1%				4.24
					4.24 427.84

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total	and the		23,071	487.96
	Add CPOH @ 15% on "Y"				73.19
	Cost of 10 nos				561.15
	Cost of each				56.11
	labour cess @1%				0.56
	Rate including labour cess				56.68
		Say Rs.	56.70	Each	
9.81	Providing and fixing bright finished brass				
	handles with screws etc. complete:				
9.81.1	125 mm				
0.01.1	Details of cost for 10 nos.				
	MATERIAL:				
0408	Brass handles 125 mm with plate 175x32 mm	each	10.00	144.00	1440.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
0000	LABOUR:	, L.O.	2.70	2.72	00
0111	그 그 사람들은 아이들은 아이들 때문에 가장 보다 되었다. 그는 사람들은 사람들은 사람들이 되었다면 하다 되었다. 그렇게 되었다.		0.06	413.00	24.78
0111	Carpenter 1 st class	day	0.06	413.00	1510.57
	TOTAL Add Water Charges @ 1%				15.11
	TOTAL				1525.67 (
					214.36
	Add GST 12% on "X" (multiplying factor 0.1405) Total				1740.03 (
	Add CPOH @ 15% on "Y"				261.00
	Cost of 10 nos				2001.03
	Cost of fortion				2001.03
	labour cess @1%				2.00
	Rate including labour cess				202.10
	Nate including labour cess	Say Rs.	202.10	Each	202.10
9.81.2	100 mm	ouy its.	202.10	Lacii	
0.01.2	Details of cost for 10 nos.				
	MATERIAL:				
0409	Brass handles 100 mm with plate 150x32 mm	each	10.00	133.00	1330.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:	Tarada Ladi	0.01	2.12	1.55
0111	Carpenter 1 st class	day	0.06	413.00	04.70
0111	TOTAL	uay	0.00	413.00	24.78 1396.71
	Add Water Charges @ 1%				13.97
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)	1 12 1 2			1410.68 (
	Total				198.20
	Add CPOH @ 15% on "Y"				1608.88 (241.33
	Cost of 10 nos				1850.21
	Cost of each				185.02
	labour cess @1%				1.85
	Rate including labour cess				186.87
	•	Say Rs.	186.90	Each	100.07
9.81.3	75 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0410	Brass handles 75 mm with plate 125x32 mm	each	10.00	103.00	1000.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	1030.00
	Carriage of materials	L.S.	0.91	2.12	40.00
		2.5.	0.01	2.12	1.93
9999	LABOUR:				
9999	LABOUR:	dou	0.00	440 00	
	Carpenter 1 st class	day	0.06	413.00	24.78
9999	Carpenter 1 st class	day	0.06	413.00	1096,71
9999	Carpenter 1 st class TOTAL Add Water Charges @ 1%	day	0.06	413.00	1096.71 10.97
9999	Carpenter 1 st class	day	0.06	413.00	1096.71
9999 0111	Carpenter 1 st class TOTAL Add Water Charges @ 1%	day O.	0.06	413.00 \(\int \)	1096.71 10.97

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
. 1	Add GST 12% on "X" (multiplying factor 0.1405)	4 5 6 44	Tigria Ti		155.63
	Total				1263.30
	Add CPOH @ 15% on "Y"				189.50
	Cost of 10 nos				1452.80
	Cost of each				145.28
	labour cess @1%				1.45
	Rate including labour cess				146.73
		Say Rs.	146.70	Each	
9.82	Providing and fixing bright finished brass				
	hanging type floor door stopper with necessary				
	screws, etc.				
	complete.				
	Details of cost for 10 hanging floor door stoppers.				
	MATERIAL:				
2455	Brass hanging type door stopper 150 mm	each	10.00	77.00	770.00
0452	Brass screws 25 mm	100 Nos	20.00	100.00	20.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
111	Carpenter 1 st class	day	0.03	413.00	12.39
	TOTAL				808.18
	Add Water Charges @ 1%				8.08
	TOTAL				816.26
	Add GST 12% on "X" (multiplying factor 0.1405)				114.68
	Total				930.94
	Add CPOH @ 15% on "Y"				139.64
	Cost of 10 nos				1070.59
	Cost of each				107.06
	labour cess @1%				1.07
	Rate including labour cess				108.13
	선생님 이 기가를 가게 먹는데 되는데 되었다.	Say Rs.	108.10	Each	
9.83	Providing and fixing aluminium die cast body				
	tubular type universal hydraulic door closer		/-		
	(having brand logo with ISI, IS : 3564,				
	embossed on the body, door weight upto 35 kg				
	and door width upto 700 mm), with necessary				
	accessories and screws etc. complete.				
	Details of cost for 10 nos.				
	MATERIAL:				
456	Hydraulic door closer bottle type M.S. body with				
	necessary accessories and screws complete	each	10.00	686.00	0000.00
451	Brass screws 30 mm	100 Nos	-60.00		6860.00
999	Carriage of materials	L.S.	3.64	140.00	84.00
	LABOUR:	L.O.	5.04	2.12	7.72
112	Carpenter 2nd class	dou	4.00		
112	TOTAL	day	1.00	369.00	369.00
	Add Water Charges @ 1%				7320.72
	TOTAL				73.21
	Add GST 12% on "X" (multiplying factor 0.1405)				7393.92 (
	Total				1038.85
	Add CPOH @ 15% on "Y"				8432.77 (
	Cost of 10 nos				1264.92
	Cost of 10 flos				9697.69
	labour cess @1%				969.77
	Rate including labour cess				9.70
	Nate including labout cess				979.47
		Say Rs.	979.50	Each	

	Description	Unit	Quantity	Rate ₹	Amount ₹
9.84	Providing and fixing aluminium extruded section body tubular type universal hydraulic door closer (having brand logo with ISI, IS:				
	3564, embossed on the body, door weight upto 36 kg to 80 kg and door width from 701 mm to				
	1000 mm), with double speed adjustment with necessary accessories and screws etc.				
	Complete. Details of cost for 10 nos.				
7060	MATERIAL: Hydraulic door closer tubular type Aluminium section				
	body	each	10.00	560.00	5600.00
0451	Brass screws 30 mm	100 Nos	60.00	140.00	84.00
9999	Carriage of materials LABOUR:	L.S.	1.00	2.12	2.12
0112	Carpenter 2nd class	day	1.00	369.00	369.00
	TOTAL	Lay	1.00	000.00	6055.12
	Add Water Charges @ 1%				60.55
	TOTAL				6115.67 (>
	Add GST 12% on "X" (multiplying factor 0.1405)	and a har			859.25
	Total				6974.92 (Y
	' Add CPOH @ 15% on "Y"		14.12		1046.24
	Cost of 10 nos				8021.16
	Cost of each				802.12
	labour cess @1%			Je privospija	8.02
	Rate including labour cess	Say Rs.	810.10	Each	810.14
9.85	Providing and fixing bright finished brass- casement window fastener with necessary screws etc.complete.				
	Details of cost for 10 nos. MATERIAL:				
0423	Brass casement window fastener	each	10.00	45.00	450.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
0000	Carriage of materials	L.S.	0.91	2.12	1.93
9999	LABOUR:				
9999					
	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL	day	0.10	413.00	41.30 533.23
		day	0.10	413.00	533.23
	TOTAL Add Water Charges @ 1% TOTAL	day	0.10	413.00	533.23 5.33
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	day	0.10	413.00	533.23 5.33
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	day	0.10	413.00	533.23 5.33 538.56 (> 75.67
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"	day	0.10	413.00	533.23 5.33 538.56 (X 75.67 614.23 (Y 92.13
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos	day	0.10	413.00	533.23 5.33 538.56 (> 75.67 614.23 (Y 92.13 706.36
9999	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each	day	0.10	413.00	533.23 5.33 538.56 (X 75.67 614.23 (Y 92.13 706.36 70.64
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos				533.23 5.33 538.56 (X 75.67 614.23 (Y 92.13 706.36
	TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1%	day Say Rs.	71.30	413.00 Each	533.23 5.33 538.56 (> 75.67 614.23 (Y 92.13 706.36 70.64 0.71

Code No	Description	Unit	Quantity	Rate	Amount
0424	Brass casement stays (straight peg type) 300 mm	1 4 . 1 4.50.			
	weighing not less than 0.33 kg	each	10.00	126.00	1260.00
0451	Brass screws 30 mm	100 Nos	40.00	140.00	56.00
9999	Carriage of materials	L.S.	0.91	2.12	
	LABOUR:	L.S.	0.91	2.12	1.93
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL	day	0.10	413.00	1359.23
	Add Water Charges @ 1%				
	TOTAL				13.59
	Add GST 12% on "X" (multiplying factor 0.1405)				1372.82
	Total				192.88
	Add CPOH @ 15% on "Y"				1565.70
	Cost of 10 nos				234.86
	Cost of feach				1800.56
	labour cess @1%				180.06
	Rate including labour cess				1.80
	Nate including labour cess		404.00		181.86
9.86.2	250 mm weighing not less than 280 gms	Say Rs.	181.90	Each	
	Details of cost for 10 nos.				
	MATERIAL:				
0425	그는 그				
0.20	Brass casement stays (straight peg type) 250 mm				
0450	weighing not less than 0.28 kg	each	10.00	100.00	1000.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL			-110.00	1083.23
	Add Water Charges @ 1%				10.83
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				1094.06
	Total				153.72
	Add CPOH @ 15% on "Y"				1247.78
	Cost of 10 nos				187.17
	Cost of each				1434.94
	labour cess @1%				143.49
	Rate including labour cess				1.43
	The moral design	Say Rs.	144.00		144.93
3.86.3	200 mm weighing not less than 240 gms	Jay Ks.	144.90	Each	
	Details of cost for 10 nos.				
	MATERIAL:				
0426	Brass casement stays (straight peg type) 200 mm				
5.	weighing not less than 0.24 kg				
0452		each	10.00	95.00	950.00
	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				- 1. S
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL				1033.23
	Add Water Charges @ 1%				10.33
	TOTAL				1043.56
	Add GST 12% on "X" (multiplying factor 0.1405)				
	Total				146.62
	Add CPOH @ 15% on "Y"				1190.18
	Cost of 10 nos				178.53
	Cost of each				1368.71
	labour cess @1%				136.87
	Rate including labour cess				1.37
	Nate including labour cess				138.24
		Carr D -			
, ,		Say Rs.	138.20	Each	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.87	Providing and fixing bright finished brass hasp		1 12		
	and staple (safety type) with necessary screws				
	etc.complete:				
9.87.1	150 mm				
	Details of cost for 10 nos.				
0431	MATERIAL:	10 Nos	10.00	740.00	740.00
0451	Brass hasps and staples (safety type) 150 mm Brass screws 25 mm	10 Nos 100 Nos	10.00 80.00	100.00	80.00
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:	2.0.			
0111	Carpenter 1 st class	day	0.08	413.00	33.04
	TOTAL				856.90
	Add Water Charges @ 1%				8.57
	TOTAL				865.47 (2
	Add GST 12% on "X" (multiplying factor 0.1405)				121.60
	Total Add CPOH @ 15% on "Y"				987.07 (° 148.06
	Cost of 10 nos				1135.13
	Cost of each				113.51
	labour cess @1%				1.14
	Rate including labour cess				114.65
		Say Rs.	114.60	Each	
9.87.2	115 mm				
	Details of cost for 10 nos. MATERIAL:				
0432	Brass hasps and staples (safety type) 115 mm	10 Nos	10.00	670.00	670.00
0453	Brass screws 20 mm	100 Nos	70.00	95.00	66.50
9999	Carriage of materials	L.S.	1.82	2.12	3.86
0111	LABOUR:	With the con-	0.00	440.00	20.04
UIII	Carpenter 1 st class TOTAL	day	0.08	413.00	33.04 773.40
	Add Water Charges @ 1%				7.73
	TOTAL	F 12 1 1 1 1 1			781.13 ()
	Add GST 12% on "X" (multiplying factor 0.1405)				109.75
	Total				890.88 (
	Add CPOH @ 15% on "Y"				133.63
	Cost of 10 nos Cost of each				1024.51
	labour cess @1%				102.45
	Rate including labour cess				1.02 103.48
		Say Rs.	103.50	Each	100.40
9.87.3	90 mm	A Etwa			
	Details of cost for 10 nos.				
	MATERIAL:	2 1 5 6 6			
0433	Brass hasps and staples (safety type) 90 mm	10 Nos	10.00	575.00	575.00
0453 9999	Brass screws 20 mm Carriage of materials	100 Nos L.S <i>.</i>	70.00	95.00	66.50
9999	LABOUR:	L.S.	1.82	2.12	3.86
0111	Carpenter 1 st class	day	0.08	413.00	20.04
0111	TOTAL	day	0.00	415.00	33.04 678.40
	Add Water Charges @ 1%				6.78
	TOTAL				685.18 (>
	Add GST 12% on "X" (multiplying factor 0.1405)				96.27
	Total				781.45 (
	Add CPOH @ 15% on "Y" Cost of 10 nos				117.22
	Cost of 10 nos Cost of each				898.67
	Cost of each	54.	A	/ ^	89.87
·	11th Edition_2022 506 506		1/4/11/	\sim / $^{\wedge}$	

No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.88	labour cess @1% Rate including labour cess Providing and fixing chromium plated brass 100 mm mortice latch and lock with 6 levers and a pair of lever handles of approved quality with necessary screws etc. complete.	Say Rs.	90.80	Each	0.90 90.77
0558	Details of cost for 1 no. MATERIAL: Chromium plated Brass mortice latch and lock 100x65 mm with 6 levers and a pair of brass lever handles				
	LABOUR:	each	1.00	470.00	470.00
0111 9999	Carpenter 1 st class Sundries (screws, carriage etc.) TOTAL Add Water Charges @ 1% TOTAL	day L.S.	0.17 3.64	413.00 2.12	70.21 7.72 547.93 5.48
	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess				553.41 (<i>x</i> 77.75 631.16 (<i>x</i> 94.67 725.83 7.26 733.09
9.89	Providing and fixing chromium plated brass night latch of approved quality including necessary screws etc. complete.	Say Rs.	733.10	Each	
	Details of cost for 1 no.				
0583	MATERIAL: Chromium plated Brass Night latch LABOUR:	each	1.00	500.00	500.00
0111 9999	Carpenter 1 st class Sundries (screws, carriage etc.)	day	0.17	413.00	70.21
į.	TOTAL Add Water Charges @ 1% TOTAL	L.S.	3.64	2.12	7.72 577.93 5.78
	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"				583.71 () 82.01 665.72 () 99.86
	Cost of each labour cess @1%				765.57
	Rate including labour cess	Say Rs.	773.20		7.66 773.23
9.90	Providing and fixing special quality chromium plated brass cupboard locks with six levers of approved quality including necessary screws etc. complete.	ody Ks.	173.20	Each	
9.90.1	Size 40 mm Details of cost for 1 no. MATERIAL:				
	Nickled Chromium Brass cupboard lock 40 mm size		1.00		

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries & screws	L.S.	3.64	2.12	7.72
	TOTAL				140.93
	Add Water Charges @ 1%				1.41
	TOTAL				142.34 (>
	Add GST 12% on "X" (multiplying factor 0.1405)				20.00
	Total				162.33 ()
	Add CPOH @ 15% on "Y"				24.35
	Cost of each				186.68
	labour cess @1%				1.87 188.55
	Rate including labour cess		400.00		100.00
0.00.0		Say Rs.	188.60	Each	
9.90.2	Size 50 mm				
	Details of cost for 1 No.				
0.400	MATERIAL:		4.00	72.00	73.00
2469	Nickled Chromium Brass cupboard lock 50 mm size	each	1.00	73.00	73.00
0444	LABOUR:		100 A	440.00	70.04
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries & screws	L.S.	3.64	2.12	7.72
	TOTAL				150.93
	Add Water Charges @ 1%				1.51
	TOTAL				152.44 (X 21.42
	Add GST 12% on "X" (multiplying factor 0.1405) Total				173.85 (Y
	Add CPOH @ 15% on "Y"				26.08
	Cost of each				199.93
	labour cess @1%				2.00
	Rate including labour cess				201.93
		Say Rs.	201.90	Each	
9.90.3	Size 65 mm				
	Details of cost for 1 No.				
	MATERIAL:				
2470	Nickled Chromium Brass cupboard lock 65 mm size	each	1.00	99.00	99.00
	LABOUR:				
0111	Carpenter 1 st class	day	0.17	413.00	70.21
9999	Sundries & screws	L.S.	3.64	2.12	7.72
	TOTAL				176.93
	Add Water Charges @ 1%				1.77
	TOTAL				178.70 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				25.11
	Total				203.80 (Y
	Add CPOH @ 15% on "Y"				30.57
	Cost of each labour cess @1%				234.37
	Rate including labour cess				2.34
	reate including labour cess	Say Rs.	236.70	Enab	236.72
9.90.4	Size 75 mm	Say Ns.	230.70	Each	
9.30.4	Details of cost for 1 No.				
	MATERIAL:				
2471	Nickled Chromium Brass cupboard lock 75 mm size	each	1.00	125.00	105.00
2471	LABOUR:	Cacii	1.00	125.00	125.00
0111	Carpenter 1 st class	day	0.17	413.00	70.21
	Sundries & screws	L.S.	3.64	2.12	70.21
9999	TOTAL	- A		12	202.93
9999					2,03
9999	Add Water Charges @ 1%				
9999	TOTAL				204 96 (X)
9999					
9999	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				28.80
9999	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				28.80
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	0	Com-	O / A	233.75 (Y)

Code No	Description	Unit	Quantity	Rate ₹	Amount
	Cost of each	5881 H 2		Market State	268.82 2.69
	labour cess @1%				271.50
	Rate including labour cess				2/1.50
		Say Rs.	271.50	Each	
9.91	Providing and fixing chromium plated brass 50				
	mm cupboard or wardrobe knobs with nuts				
	complete.				
	Details of cost for 10 nos.				
	MATERIAL:				
0584	Chromium plated Brass Wardrobe Knob 50 mm	each	10.00	80.00	800.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
	TOTAL				863.61
	Add Water Charges @ 1%				8.64
	TOTAL				872.24
	Add GST 12% on "X" (multiplying factor 0.1405)				122.55
	Total				994.79
	Add CPOH @ 15% on "Y"				149.22
	Cost of 10 nos				1144.01
	Cost of each				114.40
	labour cess @1%				1.14
	Rate including labour cess				115.55
		Say Rs.	115.50	Each	
9.92	Providing and fixing chromium plated brass handles with necessary screws etc. complete:				
.92.1	125 mm				
	Details of cost for 10 nos.				
0555	MATERIAL:				
0555	Chromium plated Brass handles 125 mm with plate		10.00		
0.450	175 x32 mm	each	10.00	160.00	1600.00
0452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.06	413.00	24.78
	TOTAL				1670.57
	Add Water Charges @ 1%		· Min Tee		16.71
-	TOTAL				1687.27
	Add GST 12% on "X" (multiplying factor 0.1405) Total				237.06
	Add CPOH @ 15% on "Y"				1924.34
	Cost of 10 nos				288.65
	Cost of each				2212.99
	labour cess @1%				221.30
	Rate including labour cess				2.21
	Rate including labour cess	Say Rs.	223.50	Each	223.51
92.2	100 mm	ouy its.	220.00	Lacii	
72.2	Details of cost for 10 nos.				
VEEC.	MATERIAL: Chromium ploted Bress handles 100 mm with plate				
556	Chromium plated Brass handles 100 mm with plate	ooch	10.00	140.00	4400.00
450	150 x 32 mm	each	10.00	140.00	1400,00
452	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:			440.00	24.70
111	Corporter 1 et class	dav			
111	Carpenter 1 st class TOTAL	day	0.06	413.00	24.78 1466.71

No	Description	Unit	Quantity	` Rate	Amount ₹
	Add Water Charges @ 1%	= _8 / 1			14.67
	TOTAL				1481.38
	Add GST 12% on "X" (multiplying factor 0.1405)				208.13
	Total				1689.51
	Add CPOH @ 15% on "Y"				253.43
	Cost of 10 nos				1942.94
	Cost of each				194.29
	labour cess @1%				1.94 196.24
	Rate including labour cess	ć D-	400.00	F	196.24
9.92.3	75 mm	Say Rs.	196.20	Each	
. 4.3	Details of cost for 10 nos.				
0557	MATERIAL:				
0337	Chromium plated Brass handles 75mm with plate				
0452	125x32 mm	each	10.00	125.00	1250.00
9999	Brass screws 25 mm	100 Nos	40.00	100.00	40.00
3333	Carriage of materials	L.S.	0.91	2.12	1.93
0111	LABOUR:				
0111	Carpenter 1 st class	day	0.06	413.00	24.78
	TOTAL				1316.71
	Add Water Charges @ 1%				13.17
	Add CST 129/ on "V" (multiplying fortage 2 4405)				1329.88
	Add GST 12% on "X" (multiplying factor 0.1405)				186.85
	Total Add CPOH @ 15% on "Y"				1516.72
	Cost of 10 nos				227.51
	Cost of each	a de la companya de l			1744.23
	labour cess @1%				174.42
	Rate including labour cess				1.74
	3,000	Say Rs.	176.20	Each	176.17
9.93	Providing and fixing chromium plated brass casement window fastener with necessary screws etc.complete.		170.20	Lacii	
	Details of cost for 10 nos. MATERIAL:				
0568	Chromium plated brass casement window fastener	each	10.00	90.00	222.22
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	900.00
9999	Carriage of materials	L.S.	0.91	2.12	72.00
	LABOUR:		0.01	2.12	1.93
-0 111	Carpenter 1 st class	day	0.10	412.00	
0111	TOTAL	,	0.10	413.00	41.30
0111	IOIAL				1015.23
0111	Add Water Charges @ 1%				
	Add Water Charges @ 1% TOTAI				
	Add Water Charges @ 1%				1025.38
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				1025.38 144.07
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"				1025.38 144.07 1169.45
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos				1025.38 144.07 1169.45 175.42
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each				1025.38 144.07 1169.45 175.42 1344.86
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1%				1025.38 144.07 1169.45 175.42 1344.86 134.49
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each				1025.38 144.07 1169.45 175.42 1344.86 134.49
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess	Say Rs.	135.80	Each	1169.45 175.42 1344.86 134.49
9.94	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass casement stays (straight peg type) with	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
9.94	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass casement stays (straight peg type) with necessary screws etc. complete:	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
9.94	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass casement stays (straight peg type) with necessary screws etc. complete: 300 mm weighing not less than 330 gms	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
9.94	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass casement stays (straight peg type) with necessary screws etc. complete:	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49
9.94 9.94.1	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each labour cess @1% Rate including labour cess Providing and fixing chromium plated brass casement stays (straight peg type) with necessary screws etc. complete: 300 mm weighing not less than 330 gms	Say Rs.	135.80	Each	1025.38 144.07 1169.45 175.42 1344.86 134.49

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
97 a. 3	MATERIAL:	Ly L Adj. 195	ros de la		
0569	Chromium plated Brass casement stays (straight peg				4400.00
	type) 300 mm weighing not less than 0.33 kg	each	10.00	140.00	1400.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL	auy			1515.23
	Add Water Charges @ 1%				15.15
	TOTAL				1530.38
	Add GST 12% on "X" (multiplying factor 0.1405)				215.02
	Total				1745.40
	Add CPOH @ 15% on "Y"				261.81
	Cost of 10 nos				2007.21
	Cost of each				200.72
	labour cess @1%				2.01
	Rate including labour cess				202.73
	Nate including labour cess	Say Rs.	202.70	Each	202.10
9.94.2	250 mm weighing not less than 280 gms	Say RS.	202.70	Lacii	
7.94.2	그는 그들은 이번 점점 그는 그는 그 바람들이 아프트 전에 들어 가는 그를 보고 있다면 하는 것이 되었다. 그는 이번 부모를 가장하는 것이다.				
	Details of cost for 10 nos.				
0.550	MATERIAL:				
0570	Chromium plated Brass casement stays (straight peg				
	type) 250 mm weighing not less than 0.28 kg	each	10.00	120.00	1200.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL				1315.23
	Add Water Charges @ 1%				13.15
	TOTAL				1328.38
	Add GST 12% on "X" (multiplying factor 0.1405)				186.64
	Total				1515.02
	Add CPOH @ 15% on "Y"				227.25
	Cost of 10 nos				1742,27
	Cost of each				174.23
	labour cess @1%				1.74
	Rate including labour cess				175.97
		Say Rs.	176.00	Each	170.01
9.94.3	200 mm weighing not less than 240 gms				
	Details of cost for 10 nos.		- F. F.		
•	MATERIAL:				
0571	Chromium plated Brass casement stays (straight peg				
	type) 200 mm weighing not less than 0.24 kg	each	10.00	100.00	
0588		d no w	10.00	100.00	1000.00
	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
0444	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL				1115.23
	Add Water Charges @ 1%				11.15
	TOTAL				1126.38
	Add GST 12% on "X" (multiplying factor 0.1405)				158.26
	Total				1284.64
	Add CPOH @ 15% on "Y"				192.70
	Cost of 10 nos				1477.33
	Cost of each				147.73
	labour cess @1%				1.48
	Rate including labour cess				149.21
		Say Rs.	149.20	Each	

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
9.95	Providing and fixing ISI marked aluminium butt hinges anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete:				
9.95.1	125x75x4 mm Details of cost for 10 nos. MATERIAL:				
0687	Anodised Aluminium butt hinges 125x75x4 mm	10 Nos	10.00	560.00	560.00
0585	Chromium plated Brass screws 50 mm	100 Nos	100.00	300.00	300.00
9999	Carriage of materials LABOUR:	L.S.	3.64	2.12	7.72
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				953.08
	Add Water Charges @ 1%				9.53
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				962.61 (135.25
	Total "Add CPOH @ 15% on "Y"				1097.85 (164.68
	Cost of 10 nos				1262.53
	Cost of each				126.25
	labour cess @1%				1.26
	Rate including labour cess				127.52
		Say Rs.	127.50	Each	
9.95.2	125x63x4 mm Details of cost for 10 nos. MATERIAL:				
0688	Anodised Aluminium butt hinges 125x63x4 mm	10 Nos	10.00	393.00	393.00
0585	Chromium plated Brass screws 50 mm	100 Nos	100.00	300.00	300.00
9999	Carriage of materials	L.S.	3.64	2.12	7.72
0444	LABOUR:				
0111 0114	Carpenter 1 st class Beldar	day	0.14	413.00	57.82
0114	TOTAL	day	0.09	306.00	27.54
	Add Water Charges @ 1%				786.08 7.86
	TOTAL				793.94 (
	Add GST 12% on "X" (multiplying factor 0.1405)		+ 1		111.55
-	Total				905.49 (
	Add CPOH @ 15% on "Y"				135.82
	Cost of 10 nos				1041.31
	Cost of each labour cess @1%				104.13
	Rate including labour cess				1.04
	rate moraling labour cess	Say Rs.	105.20	Each	105.17
9.95.3	100x75x4 mm	Ouy its.	100.20	Lacii	
	Details of cost for 10 nos. MATERIAL:				
0689	Anodised Aluminium butt hinges 100x75x4 mm	10 Nos	10.00	393.00	393.00
0586	Chromium plated Brass screws 40 mm	100 Nos	80.00	290.00	232.00
9999	Carriage of materials LABOUR:	L.S.	2.73	2.12	5.79
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				716.15
	Add Water Charges @ 1%				7.16
D/SOR_	11th Edition_2022 1 512	Q.	(B)m	0/1	- 3
) JIZ V	171		CP/ /1	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL	energy with	4 1, 1 a	17 TH 85 TH	723.31 (
	Add GST 12% on "X" (multiplying factor 0.1405)				101.62
	Total				824.93 (
	Add CPOH @ 15% on "Y"				123.74
	Cost of 10 nos				948.67
	Cost of each				94.87
	labour cess @1%				0.95
	Rate including labour cess				95.82
		Say Rs.	95.80	Each	
9.95.4	100x63x4 mm				
	Details of cost for 10 nos.				
. 15	MATERIAL:				
0691	Anodised Aluminium butt hinges 100x63x4 mm	10 Nos	10.00	324.00	324.00
0586	Chromium plated Brass screws 40 mm	100 Nos	80.00	290.00	232.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				647.15
	Add Water Charges @ 1%				6.47
	TOTAL				653.62 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				91.83
	I Total				745.45 (Y
	Add CPOH @ 15% on "Y"				111.82
	Cost of 10 nos				857.27
	Cost of each				85.73
	labour cess @1%				0.86
	Rate including labour cess				86.58
	보고 있는 사람들은 아이들의 사람들은 사람들이 되었다.	Say Rs.	86.60	Each	
9.95.5	100x63x3.2 mm				
	Details of cost for 10 nos.				
0000	MATERIAL:				
0690	Anodised Aluminium butt hinges 100x63x3.2 mm	10 Nos	10.00	270.00	270.00
0586	Chromium plated Brass screws 40 mm	100 Nos	80.00	290.00	232.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				593.15
	Add Water Charges @ 1%				5.93
	IOIAL				599.08 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				84.17
	Total				683.25 (Y
	Add CPOH @ 15% on "Y"				102.49
					785.74
	Cost of 10 nos				
	Cost of 10 nos Cost of each				78.57
	Cost of each labour cess @1%				78.57 0.79
	Cost of each				0.79
	Cost of each labour cess @1% Rate including labour cess	Say Rs.	79.40	Each	
9.95.6	Cost of each labour cess @1% Rate including labour cess	Say Rs.	79.40	Each	0.79
9.95.6	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos.	Say Rs.	79.40	Each	0.79
	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL:	Say Rs.		Each	0.79
0692	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm	10 Nos	79.40	Each 275.00	0.79 79.36
0692 0587	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm Chromium plated Brass screws 30 mm				0.79 79.36 275.00
0692	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm	10 Nos	10.00	275.00 240.00	0.79 79.36 275.00 144.00
0692 0587	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm Chromium plated Brass screws 30 mm	10 Nos 100 Nos	10.00 60.00	275.00	0.79 79.36 275.00
0692 0587	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm Chromium plated Brass screws 30 mm Carriage of materials	10 Nos 100 Nos L.S.	10.00 60.00 1.82	275.00 240.00 2.12	0.79 79.36 275.00 144.00 3.86
0692 0587 9999	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR:	10 Nos 100 Nos L.S.	10.00 60.00 1.82	275.00 240.00 2.12 413.00	0.79 79.36 275.00 144.00 3.86
0692 0587 9999	Cost of each labour cess @1% Rate including labour cess 75x63x4 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium butt hinges 75x63x4 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class	10 Nos 100 Nos L.S.	10.00 60.00 1.82	275.00 240.00 2.12	0.79 79.36 275.00 144.00 3.86

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
5 y - y -	TOTAL	18,7 %			508.22
	Add Water Charges @ 1%				5.08
	TOTAL				513.30
	Add GST 12% on "X" (multiplying factor 0.1405)				72.12
	Total				585.42 87.81
	Add CPOH @ 15% on "Y"				673.23
	Cost of 10 nos				67.32
	Cost of each				0.67
	labour cess @1%				68.00
	Rate including labour cess	Say Rs.	68.00	Each	00.00
9.95.7	75x63x3.2 mm				
	Details of cost for 10 nos. MATERIAL:				
0693	Anodised Aluminium butt hinges 75x63x3.2 mm	10 Nos	10.00	226.00	226.00
0587	Chromium plated Brass screws 30 mm	100 Nos	60.00	240.00	144.00
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09	306.00	27.54
	TOTAL				459.22
	Add Water Charges @ 1%				4.59
) TOTAL				463.81 (
	Add GST 12% on "X" (multiplying factor 0.1405)				65.17
	Total				528.98 (
	Add CPOH @ 15% on "Y"				79.35
	Cost of 10 nos				608.32
	Cost of each				60.83
	labour cess @1% Rate including labour cess				0.61
	reate including labour cess	Say Rs.	61.40	Each	61.44
9.95.8	75x45x3.2 mm			Lucii	
	Details of cost for 10 nos. MATERIAL:	. E. Yugaku			
0694	Anodised Aluminium butt hinges 75x45x3.2 mm	10 Nos	10.00	196.00	196.00
0587	Chromium plated Brass screws 30 mm	100 Nos	60.00	240.00	144,00
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:				
0111	Carpenter 1 st class	day	0.14	413.00	57.82
0114	Beldar	day	0.09 ·	306.00	27.54
*	TOTAL				429.22
	Add Water Charges @ 1%				4.29
	TOTAL				433.51 (
	Add GST 12% on "X" (multiplying factor 0.1405)				60.91
	Total				494.42 (
	Add CPOH @ 15% on "Y"				74.16
	Cost of 10 nos				568.58
	Cost of each				56.86
	labour cess @1%				0.57
	Rate including labour cess	Cau Da	57.40		57.43
9.96	Providing and fixing aluminium sliding door	Say Rs.	57.40	Each	
5.50	bolts, ISI marked, anodised (anodic coating not				
	less than grade AC 40 as man 10 thank				
	less than grade AC 10 as per IS : 1868),				
	transparent or dyed to required colour or				
31.54.5	shade, with nuts and screws etc. complete:	7.			
	300x16 mm				
9.96.1					
9,96.1	Details of cost for 10 nos.				
9.96.1	Details of cost for 10 nos. 1 th Edition_2022	0	(B)my	0/1	A -

No	Description	Unit	Quantity	Rate ₹	Amount ₹
egron, 10	MATERIAL:	5. Jan. 24. 10. 30.		Telephone in	
0696	Anodised Aluminium sliding door bolt 300x16 mm	each	10.00	147.00	1470.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	5.46	2.12	11.58
	LABOUR:				
0111	Carpenter 1 st class	day	0.50	413.00	206.50
	TOTAL				1760.08
	Add Water Charges @ 1%				17.60
	TOTAL				1777.68
	Add GST 12% on "X" (multiplying factor 0.1405)				249.76
	Total				2027.44
	Add CPOH @ 15% on "Y"				304.12
	Cost of 10 nos				2331.56
	Cost of each				233.16
	labour cess @1%				2.33
	Rate including labour cess				235.49
9.96.2	250x16 mm	Say Rs.	235.50	Each	2000
3.50.2	Details of cost for 10 nos.	Jay Ks.	200.00	Lacii	
	MATERIAL:				
0697	그는 그들은 살이 없어 없다면 하지만 하게 되었다. 그는 그는 그는 그는 그는 그를 하는데 하는데 되었다면 하는데 되었다면 하는데 되었다면 하는데		40.00	400.00	4000 00
	Anodised Aluminium sliding door bolt 250x16 mm	each	10.00	128.00	1280.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	5.46	2.12	11.58
252	LABOUR:				
0111	Carpenter 1 st class	day	0.50	413.00	206.50
	TOTAL				1570.08
	Add Water Charges @ 1%				15.70
	TOTAL				1585.78
	Add GST 12% on "X" (multiplying factor 0.1405)				222.80
	Total				1808.58
	Add CPOH @ 15% on "Y"				271.29
	Cost of 10 nos				2079.86
	Cost of each				207.99
	labour cess @1%		THE NUMBER OF		2.08
	Rate including labour cess			字"水"。"哦,让我们	210.07
		Say Rs.	210.10	Each	
9.97	Providing and fixing aluminium tower bolts, ISI				
	marked, anodised (anodic coating not less than				
	·				
	grade AC 10 as per IS: 1868), transparent or				
	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with				
	grade AC 10 as per IS: 1868), transparent or				
	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with		15500		
9.97.1	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with		1000	\$1,000	
9.97.1	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete:		7		
9.97.1	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm				
	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL:	10 Nos	10.00	580.00	590.00
0698	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm	10 Nos	10.00	580.00	580.00
0698 0587	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm	100 Nos	80.00	240.00	192.00
0698	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials				
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR:	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class	100 Nos	80.00	240.00	192.00 9.37 51.63
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1%	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33
0698 0587	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21 959.53
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21 959.53 143.93
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21 959.53 143.93 1103.46
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos Cost of each	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21 959.53 143.93 1103.46 110.35
0698 0587 9999	grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with necessary screws etc. complete: 300x10 mm Details of cost for 10 nos. MATERIAL: Anodised Aluminium tower bolt (barrel type) 300x10 mm Chromium plated Brass screws 30 mm Carriage of materials LABOUR: Carpenter 1 st class TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos	100 Nos L.S.	80.00 4.42	240.00 2.12	192.00 9.37 51.63 833.00 8.33 841.33 118.21 959.53 143.93 1103.46

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
4-4,	Rate including labour cess		* * - 44 10 mg * 1		111.45
9.97.2	250x10 mm	Say Rs.	111.40	Each	
	Details of cost for 10 nos.				90
	MATERIAL:				
0699	Anodised Aluminium tower bolt (barrel type) 250x10 mm	10 Nos	10.00	481.00	481.00
0587	Chromium plated Brass screws 30 mm	100 Nos	80.00	240.00	192.00
9999	Carriage of materials	L.S.	4.42	2.12	9.37
	LABOUR:				
0111	Carpenter 1 st class	day	0.13	413.00	51.63
	TOTAL				734.00
	Add Water Charges @ 1%				7.34 741.34
	TOTAL				104.16
	Add GST 12% on "X" (multiplying factor 0.1405)				845.49 (
	Total				126.82
	Add CPOH @ 15% on "Y"				972.32
	Cost of 10 nos Cost of each				97.23
	labour cess @1%				0.97
	Rate including labour cess				98.20
9.97.3	200x10 mm	Say Rs.	98.20	Each	
3.31.3	Details of cost for 10 nos.				
	MATERIAL:				
0700	Anodised Aluminium tower bolt (barrel type) 200x10 mm	10 Nos	10.00	383.00	383.00
0587	Chromium plated Brass screws 30 mm	100 Nos	80.00	240.00	192.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
5555	LABOUR:				
0111	Carpenter 1 st class	day	0.13	413.00	51.63
0111	TOTAL				632.41
	Add Water Charges @ 1%				6.32
	TOTAL				638.74 (
	Add GST 12% on "X" (multiplying factor 0.1405)				89.74
	Total				728.48 (
	Add CPOH @ 15% on "Y"				109.27
	Cost of 10 nos				837.75
	Cost of each				83.78
	labour cess @1%				0.84
	Rate including labour cess		04.00		84.61
		Say Rs.	84.60	Each	
9.97.4	.150x10 mm				
	Details of cost for 10 nos.				
	MATERIAL:	10 Nos	10.00	304.00	304.00
0701	Anodised Aluminium tower bolt (barrel type) 150x10 mm	100 Nos	80.00	240.00	192.00
0587	Chromium plated Brass screws 30 mm	L.S.	2.73	2.12	5.79
9999	Carriage of materials	2.0.			
	LABOUR:	day	0.08	413.00	33.04
0111	Carpenter 1 st class	day	0.00	410.00	534.83
	Add Water Charges @ 1%				5.35
	TOTAL				540.18 (
	Add GST 12% on "X" (multiplying factor 0.1405)				75.89
	Total				616.07 (
	Add CPOH @ 15% on "Y"				92.41
	Cost of 10 nos				708.48
	Cost of each				70.85
	labour cess @1%				0.71
					71.56
	Rate including labour cess				
	Rate including labour cess	Say Rs.	71.60	Each	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.97.5	100x10 mm		5 4 1		
	Details of cost for 10 nos. MATERIAL:				
0702	Anodised Aluminium tower bolt (barrel type) 100x10 mm	10 Nos	10.00	226.00	226.00
0587	Chromium plated Brass screws 30 mm	100 Nos	60.00	240.00	144.0
9999	Carriage of materials LABOUR:	L.S.	2.73	2.12	5.7
0111	Carpenter 1 st class	day	0.08	413.00	33.0
	TOTAL				408.8
	Add Water Charges @ 1%				4.0
	TOTAL				412.9
	Add GST 12% on "X" (multiplying factor 0.1405) Total				58.0 470.9
	Add CPOH @ 15% on "Y"				70.6
	Cost of 10 nos				541.5
	Cost of each				54.10
	labour cess @1%				0.5
	Rate including labour cess				54.70
0.00		Say Rs.	54.70	Each	
9.98	Providing and fixing aluminium pull bolt lock,				
	ISI marked, anodised (anodic coating not less				
	than grade AC 10 as per IS: 1868), transparent				
	or dyed to required colour and shade, with				
	necessary screws bolts, nut and washers etc. complete.				
	Details of cost for 10 pull bolt lock MATERIAL:				
2464	Anodised Aluminium pull bolt lock (locking bolt) of size				
	85 mm x 42 mm with screws, bolts, nuts and washers				
0000	complete	each	10.00	48.00	480.00
9999	Carriage of materials LABOUR:	L.S.	6.37	2.12	13.50
0112	Carpenter 2nd class	day	0.25	369.00	92.25
	TOTAL				585.75
	Add Water Charges @ 1%				5.86
	TOTAL				591.61
	Add GST 12% on "X" (multiplying factor 0.1405)				83.12
	Total Add CPOH @ 15% on "Y"				674.73
	Cost of 10 nos				101.2
	Cost of each				775.94
	labour cess @1%				77.59 0.78
	Rate including labour cess		, Toy I Miles		78.37
		Say Rs.	78.40	Each	, 0.07
9.99	Providing and fixing 50 cm long aluminium				
	kicking plate of size 100x3.15 mm, anodised				
	(anodic coating not less than grade AC 10 as	· · · ·			
	per IS :1868), transparent or dyed to required colour or shade, with necessary screws etc.				
	the contract of the contract o				
	complete. Details of cost for 10 nos.				
070-	MATERIAL:				
0706	Anodised Aluminium kicking plate 50 cm long 100x3.15 mn		10.00	142.00	1420.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	5.46	2.12	11.58
	LABOUR;				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0111	Carpenter 1 st class	day	0.07	413.00	28.91
0114	Beldar	day	0.05	306.00	15.30
	TOTAL	day			1547.79
	Add Water Charges @ 1%				15.48
	Add Water Charges @ 1% TOTAL				1563.26
					219.64
	Add GST 12% on "X" (multiplying factor 0.1405)				1782.90
	Total				267.44
	Add CPOH @ 15% on "Y"				2050.34
	Cost of 10 nos				205.03
	Cost of each				
	labour cess @1%				2.05
	Rate including labour cess				207.08
		Say Rs.	207.10	Each	
9.100	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete:				
.100.1	125 mm				
	Details of cost for 10 nos. MATERIAL:				
0703	Anodised Aluminium handles 125 mm with plate				
	175 x 32 mm	10 Nos	10.00	324.00	324.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials LABOUR:	L.S.	2.73	2.12	5.79
0111	Carpenter 1 st class	dov	0.06	413.00	24.70
	TOTAL	day	0.00	413.00	24.78
					426.57
	Add Water Charges @ 1%				4.27
	TOTAL				430.83
	Add GST 12% on "X" (multiplying factor 0.1405)				60.53
	Total				491.37
	Add CPOH @ 15% on "Y"				73.70
	Cost of 10 nos				565.07
	Cost of each				56.51
	labour cess @1%				0.57
	Rate including labour cess				57.07
		Say Rs.	57.10	Each	
3.100.2	100 mm				
	Details of cost for 10 nos.				
	MATERIAL:				
0704	Anodised Aluminium handles 100 mm with plate				
	150 x 32 mm	10 Nos	10.00	275.00	275.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	1.82	2.12	
	LABOUR:	2.0.	1.02	2.12	3.86
0111	Carpenter 1 st class	day	0.06	413.00	04.70
	TOTAL	auj	0.00	413.00	24.78
	Add Water Charges @ 1%				375.64
	TOTAL				3.76
	Add GST 12% on "X" (multiplying factor 0.1405)				379.39
	Total				53.30
	Add CPOH @ 15% on "Y"				432.70
					64.90
	Cost of 10 nos				497.60
	Cost of each				49.76
	labour cess @1%				0.50
	Rate including labour cess	91.77			50.26
		Say Rs.	50.30	Each	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.100.3	75 mm	1 4		garante district s	
	Details of cost for 10 nos.				
	MATERIAL:				
0705	Anodised Aluminium handles 75mm with plate				
	125 x 32 mm	10 Nos	10.00	231.00	231.00
0589	Chromium plated Brass screws 20 mm	100 nos	40.00	160.00	64.00
9999	Carriage of materials	L.S.	1.82	2.12	3.86
	LABOUR:	L.O.	1.02		
0111	Carpenter 1 st class	day	0.06	413.00	24.78
0111	TOTAL	day	0.00	413.00	323.64
	Add Water Charges @ 1%				3.24
	TOTAL				326.87
	Add GST 12% on "X" (multiplying factor 0.1405)				45.93
	Total				372.80
	Add CPOH @ 15% on "Y"				55.92
	Cost of 10 nos				428.72
	Cost of To hos				420.72
	labour cess @1%				0.43
	Rate including labour cess				43.30
	rate including labour cess	Say Do	42.20	Took	43.30
9.101	Providing and fixing aluminium hanging floor	Say Rs.	43.30	Each	
0.101					
	door stopper, ISI marked, anodised (anodic				
	coating not less than grade AC 10 as per IS:				
	1868) transparent or dyed to required colour				
	and shade, with necessary screws etc.				
	complete.				
.101.1	Single rubber stopper				
	Details of cost for 10 nos.				
	MATERIAL:				
2459			100 ATT 120 CT 1 ATT 1		
0588	Anodised Aluminium hanging type door stopper Chromium plated Brass screws 25 mm	each	10.00	20.00	200.00
9999	Carriage of materials	100 Nos	20.00	180.00	36.00
3333	LABOUR:	L.S.	2.73	2.12	5.79
0111					
UIII	Carpenter 1 st class	day	0.03	413.00	12.39
	TOTAL				254.18
	Add Water Charges @ 1%				2.54
	TOTAL				256.72
	Add GST 12% on "X" (multiplying factor 0.1405)				36.07
	Total				292.79
	Add CPOH @ 15% on "Y"				43.92
	Cost of 10 nos				336.71
	Cost of each				33.67
	labour cess @1%				0.34
	Rate including labour cess				34.01
		Say Rs.	34.00	Each	
101.2	Twin rubber stopper				
	Details of cost for 10 nos.				
	MATERIAL:				
7059	Aluminium hanging floor door stopper with twin rubber &				
	stopper	each	10.00	40.00	400.00
0588	Chromium plated Brass screws 25 mm	100 Nos	20.00	180.00	36.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				5.79
0111	Carpenter 1 st class	day	0.03	413,00	12.20
	TOTAL	,	0.00	410,00	12.39
	Add Water Charges @ 1%				454.18
					4.54
	TOTAL				458.72

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
NO	Add GST 12% on "X" (multiplying factor 0.1405)	v. g#===#	77		64.45
	Total				523.17
	Add CPOH @ 15% on "Y"				78.48
	Cost of 10 nos				601.64
	Cost of each				60.16
	labour cess @1%				0.60
	Rate including labour cess				60.77
		Say Rs.	60.80	Each	
9.102	Providing and fixing aluminium casement stays, ISI marked, anodised (anodic coating not				
	less than grade AC 10 as per IS : 1868)				
	transparent or dyed to required colour and				
	shade, with necessary screws etc. complete.				
	Details of cost for 10 nos.				
	MATERIAL:				222.22
2465	Anodised Aluminium Casement stay 250 mm	each	10.00	33.00	330.00
0588	Chromium plated Brass screws 25 mm	100 Nos	40.00	180.00	72.00
9999	Carriage of materials	L.S.	0.91	2.12	1.93
	LABOUR:				
0111	Carpenter 1 st class	day	0.10	413.00	41.30
	TOTAL				445.23
	Add Water Charges @ 1%	A Marian		THE HOUSE	4.45
	TOTAL				449.68
	Add GST 12% on "X" (multiplying factor 0.1405) Total				63.18 512.86
	Add CPOH @ 15% on "Y"				76.93
	Cost of 10 nos				589.79
	Cost of each				58.98
	labour cess @1%				0.59
	Rate including labour cess	Spare Contraction			59.57
		Say Rs.	59.60	Each	
9.103	Providing and fixing bright finished brass 100				
	mm mortice latch and lock, ISI marked, with six				
	levers and a pair of anodised (anodic coating				
	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868)			and and parent Solven many si Maria	
	levers and a pair of anodised (anodic coating				
	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868)				
	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock				
	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Details*ef cost for 1 lock MATERIAL:				
7001	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers				
7001	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles	each	1.00	195.00	195.00
	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock	each each	1.00 1.00	195.00 215.00	195.00 215.00
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR:	each	1.00	215.00	215.00
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class	each day	1.00 0.17	215.00 413.00	215.00 70.21
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials	each	1.00	215.00	215.00 70.21 9.65
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Details*ef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1%	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Details*ef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1%	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailseef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51 564.27
7001 7003	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailseef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51 564.27 84.64
7001 7003 0111	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailse cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1%	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51 564.27 84.64 648.91
7001 7003 0111	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailse cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1%	each day	1.00 0.17	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51 564.27 84.64 648.91 6.49
7001 7003 0111	levers and a pair of anodised (anodic coating not less than grade AC 10 as per IS: 1868) aluminium lever handles of approved quality with necessary screws etc. complete. Detailsef cost for 1 lock MATERIAL: Brass 100mm mortice latch and lock with 6 levers without pair of handles Pair of Anodised Aluminium lever handles for 100 mm mortice latch and lock LABOUR: Carpenter 1 st class Sundries including carriage of materials TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each	each day	1.00 0.17 4.55	215.00 413.00	215.00 70.21 9.65 489.86 4.90 494.75 69.51 564.27 84.64 648.91

		Unit	Quantity	Rate ₹	₹
	Providing and fixing aluminium tee channels		1 1 1 1 1 1		
	(heavy duty) with rollers & stop end in pelmets				
	as curtain rod.				
	Details of cost for 2m long				
7056	MATERIAL:				
	Aluminium tee channel (heavy duty) with rollers and				
	stop end	metre	2.00	100.00	200.00
9999	Labour	L.S.	2.73	2.12	5.79
9999	Sundries	L.S.	1.43	2.12	3.03
	TOTAL				208.82
	Add Water Charges @ 1%				2.09
	TOTAL				210.91
	Add GST 12% on "X" (multiplying factor 0.1405)				29.63
	Total				240.54
	Add CPOH @ 15% on "Y"				36.08
	Cost of 2 metre Cost of 1 metre				276.62 138.31
	labour cess @1%				1.38
	Rate including labour cess				139.69
	trate including labour cess	Say Rs.	139.70	Per metre	100.00
9.105	Providing and fixing partition upto ceiling height consist				1 . 1 . 1.
	spacing of 450 mm centre to centre, and fixing of boards wall screws on studs, floor and ceiling channels at the space to be fixed to the frame work with joints staggered 99 mm width (0.9 mm thick having two flanges of 9.5 mm.)	pacing of 30	00 mm cent	re to centre.	
	of two boards, fixed to the studs using metal to metal flato a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of prispecification and direction of engineer in charge all comp	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all composition of the composition of the composition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compositions are directions are directions are directions are directions. The direction of the study of	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
.105.1	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL:	at head scre jointing tap imer suitab lete.	be provided ws, includi e, angle bed le for boar	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints nd finishing rs (25 mm x anufacture's
. 105.1 - - 7366	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick	at head scre jointing tap imer suitab	be provided ws, includi e, angle be	d at the horizing a jointing a	channel of contal joints and finishing rs (25 mm x
. 105.1 - - 7366	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compositions. The composition is specification and direction of engineer in charge all compositions. The composition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick 50mm floor and ceiling channel 2x6.00 = 12m	at head scre jointing tap imer suitab lete.	be provided ws, includi e, angle bed le for boar	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints nd finishing rs (25 mm x anufacture's
.105.1 - 7366 7367	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compound. The moverall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick 50mm floor and ceiling channel 2x6.00 = 12m Galvanised M.S. sheet 0.5 mm thick pressed channel	at head scre jointing tap imer suitab lete.	be provided ws, including e, angle bear le for boar 43.80	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints and finishing rs (25 mm x anufacture's
. 105.1 - 7366 7367	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compounds of the compound of th	at head scre jointing tap imer suitab lete.	be provided ws, includi e, angle bed le for boar	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints nd finishing rs (25 mm x anufacture's
. 105.1 - 7366 7367	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compound. The moverall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick 50mm floor and ceiling channel 2x6.00 = 12m Galvanised M.S. sheet 0.5 mm thick pressed channel section of size 50x32 mm 48mm stud-72x34x36x0.5mm	at head scre jointing tap imer suitab lete.	be provided ws, including e, angle bear le for boar 43.80	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints and finishing rs (25 mm x anufacture's
. 105.1 7366 7367	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all comp 75 mm overall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick 50mm floor and ceiling channel 2x6.00 = 12m Galvanised M.S. sheet 0.5 mm thick pressed channel section of size 50x32 mm 48mm stud-72x34x36x0.5mm (6.00/0.61)+1 = 11x3.65 = 40.15m	at head scre jointing tap imer suitab lete.	be provided ws, including e, angle bear le for boar 43.80	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints and finishing rs (25 mm x anufacture's
. 105.1 7366 7367	of two boards, fixed to the studs using metal to metal flat to a flush finish with recommended jointing compound, j 25 mm x 0.5 mm), joint finisher and two coats of pri specification and direction of engineer in charge all compound. The moverall thickness partition with 12.5 mm thick double skin fire rated board conforming to IS:2095: part I Details of cost for 6.00x3.65 = 21.9 sqm (Partition Panel) MATERIAL: Glass reinforced Gypsum (GRG) board 12.5 mm thick 50mm floor and ceiling channel 2x6.00 = 12m Galvanised M.S. sheet 0.5 mm thick pressed channel section of size 50x32 mm 48mm stud-72x34x36x0.5mm	at head scre jointing tap imer suitab lete.	be provided ws, including e, angle bear le for boar 43.80	d at the horizing jointing a ads at corner d as per ma	g channel of contal joints and finishing rs (25 mm x anufacture's

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
7020	All drive screws (for gypsum board)	100 Nos	392.00	58.00	227.36
	[(3.65/0.30)+1]x11x2 = 308				
	[(6.00/0.30)+1]x2x2=84				
	Total = 392				
7388	Dash hold fastener 12.5 mm dia, 50 mm long with				
	6 mm dia bolt	each	22.00	10.00	220.00
		eacii	22.00	70.00	
7048	[(6.00/0.61)+1]x2=22	anah .	18.00	22.00	396.00
1040	Rawl plug 50 mm (designation 10 nos)	each	16.00	22.00	390.00
0869	[(3.65/0.45)+1]x2= 18 Plaster of Paris	kilo avono	19.27	5.00	96.35
0000		kilogram	19.21	3.00	30.33
0763	88/100)x21.9 = 19.27 Glue	kiloarom	4.82	75.00	361.50
0703		kilogram	4.02	75.00	301.50
7018	22/100)x21.90=4.82		0.50	00.00	(50.50
1010	Joint tape roll (120m roll)	roll	0.58	90.00	52.56
7004	300/100)x21.90/120 = 0.584 Nos		7.00	70.00	554.00
7021	Primer (for gypsum board)	litre	7.88	70.00	551.60
1000	36/100)21.90 = 7.88 litre				
1022	Galvanised steel bolts & nuts 6 mm dia and 25 mm				
1011	long round head with slots 11x2x2=44	10 Nos	44.00	38.00	167.20
1211 9999	G.I. plain washer for seam bolts Sundries and carriage	100 Nos	32.00 52.00	32.00	10.24
9999	Sundries and carriage Sundries scaffolding	L.S. L.S.		2.12	110.24
3333	그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그	L.S.	130.00	2.12	275.60
0111	Labour for 21.90 sqm. Carpenter 1 st class	day	6.57	442.00	0740 44
0111	@ 0.3x21.90	day	6.57	413.00	2713.41
0112	Carpenter 2nd class	dou	0.05	200.00	4050.54
0112	@ 0.13x21.90	day	2.85	369.00	1050.54
0131	Painter	dov	1.10	204.00	100.15
0131	@0.05x21.90	day	1.10	391.00	428.15
0114	Beldar	dov	7.67	200.00	004540
0114	@0.35x21.90	day	7.67	306.00	2345.49
	TOTAL				23048,74
	Add Water Charges @ 1%				230.49
	TOTAL				23279.23 (
	Add GST 12% on "X" (multiplying factor 0.1405)				3270.73
	Total				26549.96 (
	Add CPOH @ 15% on "Y"				3982.49
	Cost of 21.9 sqm				30532.45
	Cost of 1 sqm				1394.18
	labour cess @1% Rate including labour cess				13.94
	Nate including labour cess	Say Bo	1400 40		1408.12
9.105.2	75 mm overall thickness partition with 12.5 mm thick do	Say Rs.	1408.10	Per sqm	-
3	conforming to IS: 2095; part I	dbie skill ta	pereu eugea	piain Gypsu	im board
	The second of th				
	Details of cost for 6.00x3,65 = 21.9 sqm				
	(Partition Panel)				
	MATERIAL:				
8717	12.5 mm thick Glass fibre reinforced Gypsum board	sqm	43.80	181.49	7949.26
	Gypsum board -2x6.00x3.65=43.80sqm				
7367	Galvanised M.S. sheet 0.5 mm thick pressed channel	metre	12.00	60.00	720.00
	section of size 50x32 mm 2x6.00 = 12m				
7260	Galvanised M.S. sheet 0.50 mm thick pressed stud:				
7369	48x34x36 mm	F 4 1 1. 6		7-1 x	
		metre	40.15	70.00	2810.50
	72x34x36x0.5mm				
	(6.00/0.61)+1 = 11x3.65 = 40.15m				
D/SOR	11th Edition_2022	0.	(a)	2/1	- A-
	1 322	17(0	T/ /\	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
7020	All drive screws (for gypsum board)	100 Nos	392.00	58.00	227.36
	[(3.65/0.30)+1]x11x2 = 308				
	[(6.00/0.30)+1]x2x2=84				
	Total = 392				
7388	Dash hold fastener 12.5 mm dia, 50 mm long with				
7500	6 mm dia bolt	each	22.00	10.00	220.00
		eacii	22.00	10.00	
7048	[(6.00/0.61)+1]x2=22		18.00	22.00	396.00
7048	Rawl plug 50 mm (designation 10 nos)	each	10.00	22.00	050.00
0000	[(3.65/0.45)+ 1]x2= 18 Plaster of Paris		10.07	5.00	96.35
0869		kilogram	19.27	5.00	30.33
0700	(88/100)x21.9 = 19.27			75.00	361.50
0763	Glue	kilogram	4.82	75.00	301.50
	(22/100)x21.90=4.82				50.50
7018	Joint tape roll	roll	0.58	90.00	52.56
•	$(120 \text{m roll}) (300/100) \times 21.90/120 = 0.584 \text{ Nos.}$				
7021	Primer (for gypsum board)	litre	7.88	70.00	551.60
	(36/100)21.90 = 7.88 litre				
1022	Galvanised steel bolts & nuts 6 mm dia and 25 mm				
1	long round head with slots 11x2x2=44	10 Nos	44.00	38.00	167.20
1211	G.I. plain washer for seam bolts	100 Nos	44.00	32.00	14.08
9999	Sundries carriage	L.S.	52.00	2.12	110.24
9999	Sundries scaffolding	L.S.	130.00	2.12	275.60
į	Labour for 21.90 sqm.				
0111	Carpenter 1 st class	day	6.57	413.00	2713.41
	0.3x21.90				
0112	Carpenter 2nd class	day	2.85	369.00	1050.54
	0.13x21.90				
0131	Painter	day	1.10	391.00	428.15
	0.05x21.90				120.10
0114	Beldar	day	7.67	306.00	2345.49
	0.35x21.90			500.00	2040.49
	TOTAL				20489.84
	Add Water Charges @ 1%				204.90
	TOTAL				20694.74 (
	Add GST 12% on "X" (multiplying factor 0.1405)				2907.61
	Total				23602.35
	Add CPOH @ 15% on "Y"				3540.35
	Cost of 21.9 sqm				27142.70
	Cost of 1 sqm				1239.39
	labour cess @1%				12.39
	Rate including labour cess				1251.79
		Say Rs		Per sqm	
.105.3	66 mm overall thickness Partition with 8 mm thick doub	le skin Calc	ium Silicate B	oard made	with
+	Calcareous & Siliceous materials reinforced with cellulos	e fiber mar	nufactured th	rough autor	laving
	process with Compressive Strength 225 kg/sq cm, Bendi	ng Strength	100 kg/ sq.c	m	laving
	process room compressive or ongan also ng/sq only benda	ing strengti	1 100 kg/ sq c	II .	
	Details of cost for 6,00x3.65 = 21.9 sqm.				
	(Partition Panel)				
	MATERIAL:				
0600					
8699 7367	8 mm thick tapered edge calcium silicate board	sqm	43.80	270.00	11826.00
1301	Galvanised M.S. sheet 0.5 mm thick pressed channel				
	section of size 50x32 mm	metre	12.00	60.00	720.00
	2x6.00 = 12m				
7369	Galvanised M.S. sheet 0.50 mm thick pressed stud:				
, 000					
, 000	48x34x36 mm	metre	40.15	70.00	2810.50

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
1.0	72x34x36x0.5mm	the section of the			
	(6.00/0.61)+1 = 11x3.65= 40.15m				
7020	All drive screws (for gypsum board)	100 Nos	392.00	58.00	227.36
3.5	[(3.65/0.30)+1]x11x2 = 308				
	[(6.00/0.30)+1]x2x2=84				
	Total = 392				
7388	Dash hold fastener 12.5 mm dia, 50 mm long with				
7300	6 mm dia bolt	each	22.00	10.00	220.00
		333			
7040	[(6.00/0.61)+1]x2=22	each	18.00	22.00	396.00
7048	Rawl plug 50 mm (designation 10 nos)	each	10.00		
0000	[(3.65/0.45)+1]x2= 18	kilogram	19.27	5.00	96.35
0869	Plaster of Paris	Kilogram	13.21	0.00	
0700	(88/100)x21.9 = 19.27	kilogram	4.82	75.00	361.50
0763	Glue	Kilogram	4.02	10.00	007.00
70.10	(22/100)x21.90=4.82	roll	0.58	90.00	52.56
7018	Joint tape roll	TOIL	0.56	90.00	52.00
	(120m roll)(300/100)x21.90/120 = 0.584 Nos		7.88	70.00	551.60
7021	Primer (for gypsum board)	litre	7.00	70.00	331.00
	(36/100)21.90 = 7.88 litre				
1022	Galvanised steel bolts & nuts 6 mm dia and 25 mm	40.11	44.00	20.00	167.00
	long round head with slots 11x2x2=44	10 Nos	44.00	38.00	167.20
1211	G.I. plain washer for seam bolts	100 Nos	44.00	32.00 2.12	14.08 110.24
9999	Sundries carriage	L.S. L.S.	52.00 130.00	2.12	275.60
9999	Sundries scaffolding	L.3.	130.00	2.12	273.00
0444	Labour for 21.90 sqm.	day	6.57	413.00	2713.41
0111	Carpenter 1 st class	uay	6.57	413.00	27 13.41
0440	0.3x21.90	4	2.05	369.00	1050.54
0112	Carpenter 2nd class	day	2.85	369.00	1050.54
0.404	0.13x21.90		4.40	204.00	100.45
0131	Painter	day	1.10	391.00	428.15
0444	0.05x21.90		7.07	202.00	00.45.40
0114	Beldar 0.35x21.90	day	7.67	306.00	2345.49
	0.35X21.90 TOTAL				24366.58
	Add Water Charges @ 1%				24366.56
	TOTAL				24610.24 (>
	Add GST 12% on "X" (multiplying factor 0.1405)				3457.74
	Total				28067.98 (Y
	Add CPOH @ 15% on "Y"				4210.20
	Cost of 21.9 sqm				32278.18
	Cost of 1 sqm				1473.89
	labour cess @1%				14.74
	Rate including labour cess				1488.63
	66 mm overall thickness partition using 8 mm thick doub	Say Rs.	1488.60		

9.105.4 66 mm overall thickness partition using 8 mm thick double skin multipurpose cement board reinforced with cellulose fibre manufactured through autoclaving process (High pressure steam cured) as per IS:

14862 with suitable fibre cement screws

	Details of cost for MATERIAL:				
0237	Multi purpose fibre (high impact poly propelene-				
	reinforced) cement board 8 mm thick	sqm	43.80	220.00	9636.00
7367	Galvanised M.S. sheet 0.5 mm thick pressed				. 0000.00
	channel section of size 50x32 mm	metre	12.00	60.00	720.00
	2x6.00 =12m				
BCD/SOR_		2 B	(Blue-	9/1	- 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
7369	Galvanised M.S. sheet 0.50 mm thick pressed stud:	fage of design	180 A 91 P	water that	
	48x34x36 mm	metre	40.15	70.00	2810.50
	72x34x36x0.5mm				
	(6.00/0.61)+1 = 11x3.65 = 40.15m				
7020	All drive screws (for gypsum board)	100 Nos	392.00	58.00	227.36
	[(3.65/0.30)+1]x11x2 = 308	100 1103	002.00		
	[(6.00/0.30)+1]x2x2=84				
i	Total = 392				
7388					
1300	Dash hold fastener 12.5 mm dia, 50 mm long with		20.00	40.00	220.00
	6 mm dia bolt	each	22.00	10.00	220.00
70.40	[(6.00/0.61)+1]x2=22				
7048	Rawl plug 50 mm (designation 10 nos)	each	18.00	22.00	396.00
	[(3.65/0.45)+1]x2=18				
0869	Plaster of Paris	kilogram	19.27	5.00	96.35
	(88/100)x21.9 = 19.27				
0763	Glue	kilogram	4.82	75.00	361.50
	(22/100)x21.90=4.82				
7018	Joint tape roll	roll	0.58	90.00	52.56
1	(120m roll) (300/100)x21.90/120 = 0.584 No		area e		
7021	Primer (for gypsum board)	litre	7.88	70.00	551.60
	(36/100)21.90 = 7.88 litre				
1022	Galvanised steel bolts & nuts 6 mm dia and 25 mm				
!	long round head with slots 11x2x2=44	10 Nos	44.00	38.00	167.20
1211	G.I. plain washer for seam bolts	100 Nos	44.00	32.00	14.08
9999	Sundries carriage	L.S.	52.00	2.12	110.24
9999	Sundries scaffolding	L.S.	130.00	2.12	275.60
	Labour for 21.90 sqm.				
0111 -	Carpenter 1 st class	day	6.57	413.00	2713.41
	0.3x21.90				
0112	Carpenter 2nd class	day	2.85	369.00	1050.54
	0.13x21.90				
0131	Painter	day	1.10	391.00	428.15
	0.05x21.90				The product of the
0114	Beldar	day	7.67	306.00	2345.49
	0.35x21.90				
	TOTAL				22176.58
	Add Water Charges @ 1%				221.77
	TOTAL				22398.34 (>
	Add GST 12% on "X" (multiplying factor 0.1405)				3146.97
	Total "Add CPOH @ 15% on "Y"				25545.31 (Y
	Cost of 21.9 sqm				3831.80
	Cost of 21.9 sqin				29377.11
	labour cess @1%				1341.42
	Rate including labour cess				13.41
		Say Rs.	1354.80	Per sqm	1354.83
.105.5	66 mm overall thickness partition using 8 mm thick do particle board manufactured as per IS: 14276 with suit:	uble skin m	ultinurnose	comont han	ided wood
	Details of cost for 21.90 sqm				
0243	MATERIAL: Multipurpose cement bonded wood particle board 8 mm				
	thick	sqm	43.80	215.00	9417.00
7367	Galvanised M.S. sheet 0.5 mm thick pressed			2,0.00	00,7170
	channel section of size 50x32 mm 2x6.00 =12m	metre	12.00	60.00	720.00

Code No	Description	Unit	Quantity	, Rate ₹	Amount ₹
7369	Galvanised M.S. sheet 0.50 mm thick pressed stud :	very and an	Lag 16	par (4)	2010 50
	48x34x36 mm	metre	40.15	70.00	2810.50
	72x34x36x0.5mm				
	$(6.00/0.61)+1 = 11\times3.65 = 40.15m$				
7020	All drive screws (for gypsum board)	100 Nos	392.00	58.00	227.36
	[(3.65/0.30)+1]x11x2 = 308				
	[(6.00/0.30)+1]x2x2=84				
•	Total = 392				
7388	Dash hold fastener 12.5 mm dia, 50 mm long with				
	6 mm dia bolt	each	22.00	10.00	220.00
	[(6.00/0.61)+1]x2=22		22.00		
7048		each	18.00	22.00	396.00
/ µ40 ^-	Rawl plug 50 mm (designation 10 nos)	eacm	10.00	22.00	
). 0000	[(3.65/0.45)+1]x2= 18		10.27	5.00	96.35
0 <u>8</u> 69	Plaster of Paris	kilogram	19.27	5.00	90.55
	(88/100)×21.9 = 19.27	1.91	4.00	75.00	361.50
0763	Glue	kilogram	4.82	75.00	301.30
70.40	(22/100)x21.90=4.82		0.50	00.00	50.50
7018	Joint tape roll	roll	0.58	90.00	52.56
7021	(120m roll) (300/100)x21.90/120 = 0.584 No			70.00	554.00
7021	Primer (for gypsum board)	litre	7.88	70.00	551.60
	(36/100)21.90 = 7.88 litre				
1022	Galvanised steel bolts & nuts 6 mm dia and 25 mm				
1	long round head with slots 11x2x2=44	10 Nos	44.00	38.00	167.20
1211	G.I. plain washer for seam bolts	100 Nos	44.00	32.00	14.08
9999	Sundries carriage	L.S.	52.00	2.12	110.24
9999	Sundries scaffolding	L.S.	130.00	2.12	275.60
	Labour for 21.90 sqm.				
2,111	Carpenter 1 st class	day	6.57	413.00	2713.41
	0.3x21.90				
0112	Carpenter 2nd class	day	2.85	369.00	1050.54
	0.13x21.90				
0131	Painter	day	1.10	391.00	428.15
	0.05x21.90		ALC: THE WORLD		
0114	Beldar	day	7.67	306.00	2345.49
	0.35x21.90				
	TOTAL				21957.58
	Add Water Charges @ 1% TOTAL				219.58
	Add GS 12% on "X" (multiplying factor 0.1405)				22177.15
	Total				3115.89
· .	Add CPOH @ 15% on "Y"				25293.04 3793.96
	Cost of 21.9 sqm				29087.00
-	Cost of 1 sqm				1328.17
	labour cess @1%				13.28
•	Rate including labour cess				1341.46
		Say Rs.	1341.50	Per sqm	
.106	Providing and fixing PTMT handles with				
	necessary screws etc. complete.				
106 1	125x34x24 mm weighing not less than 23 gms				
106.1	_				
	Details of cost for ten nos.				
540	MATERIAL:			9 18	
512	PTMT handle 125x34x24 mm	each	10.00	20.00	200.00
639	Bright finished or black enameled mild steel screws				
000	25 mm	100 Nos	40.00	40.00	16.00
999	Carriage of materials	L.S.	2.73	2.12	5.79
			Came		- 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	LABOUR:		1219 1/3		
0112	Carpenter 2nd class	day	0.06	369.00	22.14
	TOTAL				243.93
	Add Water Charges @ 1%				2.44
	TOTAL		-		246.37
	Add GST 12% on "X" (multiplying factor 0.1405)				34.61
	Total				280.98
	: Add CPOH @ 15% on "Y"				42.15
	Cost of 10 nos.				323.13
	Cost of each				32.31
	labour cess @1%				0.32
	Rate including labour cess				32.64
.106.2	JEOV24v24 mm weighing not loca than 26 ame	Say Rs.	32.60	Each	
7.106.2	150x34x24 mm weighing not less than 26 gms				
	Oetails of cost for ten nos. MATERIAL:				
7513 0639	PTMT handle 150x34x24 mm Bright finished or black enameled mild steel screws	each	10.00	20.00	200.00
	25 mm	100 Nos	40.00	40.00	16.00
9999	Carriage of materials LABOUR:	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.06	369.00	22.14
	TOTAL				243.93
	Add Water Charges @ 1%				2.44
	TOTAL				246.37
	Add GST 12% on "X" (multiplying factor 0.1405)				34.61
	Total				280.98
	Add CPOH @ 15% on "Y"				42.15
	Cost of 10 nos.				323.13
	Cost of each				32.31
	labour cess @1%				0.32
	Rate including labour cess				32.64
		Say Rs.	32.60	Each	
9.107	Providing and fixing PTMT Butt hinges with				
	necessary screws etc. complete.				
	75x60x10 mm fitted with 5.5 mm dia M.S. Bright				
.107.1	Bar Rod weighing not less than 34 gms				
	Details of cost for ten nos.				
	MATERIAL				
7514	PTMT butt hinges 75x60x10 mm	each	10.00	29.00	200.00
0638	Bright finished or black enameled mild steel screws	Cuon	10.00	29.00	290.00
	30 mm	100 Nos	60.00	45.00	27.00
9999	Carriage of materials	L.S.	1.82	2.12	
	LABOUR:		1.02	2.12	3.86
0112	Çarpenter 2nd class	da	0.44	000.00	
0112		day	0.14	369.00	51.66
0111	Beldar	day	0.09	306.00	27.54
0114	TOTAL				400.06
0114	TOTAL				
0114	Add Water Charges @ 1%				4.00
0114	Add Water Charges @ 1% TOTAL				404.06
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				404.06 56.77
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				404.06 56.77 460.83
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"				404.06 56.77 460.83 69.12
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos.				404.06 56.77 460.83 69.12 529.95
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos. Cost of each	•			404.06 56.77 460.83 69.12 529.95 53.00
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos. Cost of each labour cess @1%				404.06 56.77 460.83 69.12 529.95 53.00 0.53
0114	Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 nos. Cost of each	Say Rs.	53.50	Each	404.06 56.77 460.83 69.12 529.95 53.00

No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.107.2	100x75x10 mm fitted with 5.5 mm dia MS Bright				
	Bar Rod weighing not less than 53 gms				
	Details of cost for ten nos. MATERIAL:				
7515	PTMT butt hinges 100x75x10 mm	each	10.00	36.00	360.00
0637	Bright finished or black enameled mild steel screws	04011			
	40 mm	100 Nos	80.00	60.00	48.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:				
0112 0114	Carpenter 2nd class	day	0.14	369.00 306.00	51.66 27.54
0114	Beldar	day	0.09	306,00	492.99
	Add Water Charges @ 1%				4.93
(TOTAL				497.92 (
	Add GST 12% on "X" (multiplying factor 0.1405)				69.96
	Total				567.87 (
	Add CPOH @ 15% on "Y" Cost of 10 nos				85.18 653.06
	Cost of each				65.31
1	labour cess @1%		1		0.65
•	Rate including labour cess				65.96
100 1	Descriding and fining DTMT Towns Date with 40	Say Rs.	66.00	Each	
.108	Providing and fixing PTMT Tower Bolts with 12				
	mm one piece rod inside and necessary screws etc.,complete.				
	etc.,complete.				
9.108.1	152x42x18 mm weighing not less than 60 gms				
0.100.1	Details of cost for ten nos				
	MATERIAL:				
7516	PTMT Tower bolt 152x42x18 mm	each	10.00	35.00	350.00
0638	Bright finished or black enameled mild steel screws	400 11			
9999	30 mm Carriage of materials	100 Nos L.S.	60.00 2.73	45.00	27.00
3333	LABOUR:	L.S.	2.13	2.12	5.79
0112	Carpenter 2nd class	day	0.08	369.00	29.52
	TOTAL			# ar	412.31
	Add Water Charges @ 1%				4.12
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)		to application		416.43 ()
	Total				58.51
	Add CPOH @ 15% on "Y"				474.94 (\) 71.24
	Cost of 10 nos				546.18
	Cost of each				54.62
•	labour cess @1% Rate including labour cess				0.55
	Nate including labour cess	Say Rs.	55.20	Each	55.16
9.108.2	202x42x18 mm weighing not less than 78 gms	ouy no.	00.20	Lacii	
	Details of cost for ten nos				
-547	MATERIAL : PTMT Tower bolt 202x42x18 mm				
7517 0638	Bright finished or black enameled mild steel screws	each	10.00	58.00	580.00
0000	30 mm	100 Nos	80.00	45.00	60.00
9999	Carriage of materials	L.S.	2.73	45.00 2.12	36.00
10	LABOUR:	5.7	2,70	4.14	5.79
0112	Carpenter 2nd class	day	0.10	369.00	36.90
	TOTAL			7. A. A.	658.69

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add Water Charges @ 1%	7			6.59
	TOTAL				665.27
	Add GST 12% on "X" (multiplying factor 0.1405)				93.47 758.75
	Total "Add CPOH @ 15% on "Y"				113.81
	Cost of 10 nos				872.56
	Cost of each				87.26
	labour cess @1%				0.87
	Rate including labour cess				88.13
		Say Rs.	88.10	Each	
9.109	Providing and fixing PTMT door catcher of				
	length 72 mm and dia. of 42 mm with suitable				
	washers weighing not less than 33 gms.				
	등 없는 열 이번 등 기업 등 다른 이 그리고 생각하는데 살아 없다.				
	Details of cost for ten nos MATERIAL:				
7518	PTMT door catcher 72x42 mm	each	10.00	22.00	220.00
0639	Bright finished or black enameled mild steel screws	each	10.00	22.00	220.00
* .	25 mm	100 Nos	20.00	40.00	8.00
9999	Carriage of materials	L.S.	2.73	2.12	5.79
	LABOUR:	1			
0111	Carpenter 1 st class	day	0.03	413.00	12.39
	! TOTAL				246.18
	Add Water Charges @ 1%				2.46
	TOTAL				248.64
	Add GST 12% on "X" (multiplying factor 0.1405) Total				34.93 283.57
	Add CPOH @ 15% on "Y"				42.54
	Cost of 10 nos				326.11
	Cost of each				32.61
	labour cess @1%				0.33
	Rate including labour cess	Cau Da	22.00	Fact	32.94
9.110	Providing and fixing Bamboo jaffery/ fencing	Say Rs.	32.90	Each	
3.110	consisting of superior quality 25 mm dia				
	(Average) half cut bamboo placed vertically and				
	fixed together with three numbers horizontal				
	running members of hallock wood in scantling				
	of section 50X25 mm, fixed with nails and G.I				
	wire on existing support, complete as per				
	direction of Engineer-in-Charge.				
	Details of cost for a bamboo jaffery of size 1.00mx2.10m				
	= 2.10sqm				
	MATERIAL:				
	Bamboo 25mm of 100/ 2.50 = 40 NosHalf cut off = 40/2				
	=20 Nos. x 2.10 = 42.00mAdd wastage @ 15% = 6.30m				
	Total = 48.30m Rate of Bamboo 25 mm dia 2.5 metre long for one score				
	i.e. 20nos is Rs. 192for 48.30m qty 48.30 /(2.5*20) =0.966				
0305	Bamboo 25 mm dia 2,5 metre long	score	0.97	400.00	386,40
9999	Carriage of bamboo	L.S.	4.83	2.12	10.24
2466	Hollock wood in scantling	10 cudm	3.94	357.00	140.66
	3 Nos. $(1.00 \times 0.05 \times 0.025) = 0.00375$ cum Add waslage				
4	The first of the f	1 .	_		

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	@ 5% = 0.00019 cum Total = 0.00394 cum or 3.94 cudm	i si iye di			
2204	Carriage of limber	cum	0.004	187.35	0.74
9999	Nails and wire	L.S.	20.25	2.12	42.93
	LABOUR:				
0112	Carpenter 2nd class	day	0.25	369.00	92.25
0114	Beldar	day	0.25	306.00	76.50
9999	Sundries	L.S.	10.05	2.12	21.31
	TOTAL				771.02
	Add Water Charges @ 1%				7.71 778.73 (X
	TOTAL				109.41
	Add GST 12% on "X" (multiplying factor 0.1405) Total				888.14 (Y)
	Add CPOH @ 15% on "Y"				133.22
	Cost of 2.1 sqm				1021.37
	Cost of 1 sqm				486.36
	labour cess @1%				4.86
	Rate including labour cess				491.23
	[19] - 남이 아이스 아이스 하는 사람이 없다.	Say Rs.	491.20	per sqm	
9.111	Providing and fixing wooden moulded corner				
	beading of triangular shape to the junction of				
	panelling etc. with iron screws, plugs and				
	priming coat on unexposed surface etc. complete 2nd class teak wood.				
9.111.1	50x50 mm (base and height)				
	Details of cost for beading = 5.00 m				
	· MATERIAL:			1	
	Teak wood 2nd class in plan ks 5.00x.05x.05/2 =				
	0.00625 cumAdd wastage @10% = 0.00063Total =				
	0.00688 cum say 6.88 cudm				
1190	Second class teak wood in planks	10 cudm	6.88	791.00	544.21
2204	Carriage of timber	cum	0.01	187.35	1.29
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	6.00	60.00	3.60
	Priming coatArea 5.0 x (.05 +.05) = 0.50 sqm				
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	0.50	39.70	19.85 A
	LABOUR:				
	For plaining, fixing & making design				
0111	Carpenter 1 st class	day	0.75	413.00	309.75
	TOTAL.				878.70
	Add Water Charges @ 1% except on Ai.e on.				
	(878.696968 - 19.85)=				8.59
	TOTAL Add GST 12% on "X" except on A(multiplying factor				887.29 (X)
	0.1405)				404.4=
	Total				121.87
	Add CPOH @ 15% on "Y"except on Ai.e on				1009.16 (Y)
	(1009.16011667404 - 19.85)=				1/10/10
	Cost of 5 metre				148.40 1157.56
	Cost of 1 metre				231.51
	labour cess @1%				2.32
	Rate including labour cess				233.83
		Say Rs.	233.80	per metre	
BCD/SOR_	11th Edition_2022 \$\frac{1}{2} \frac{1}{2} \frac{1} \frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{1}{2} \f	Q,	(Born	0/1	- 3
	4 300 F	1		V W	

Code	Description	Unit	Quantity	Rate ₹	Amount
9.112	Providing and fixing 2nd class teak wood lipping / moulded beading or taj beading of size 18X5 mm fixed with wooden adhesive of				
	approved quality and screws / nails on the edges of the Pre-laminated particle board as per direction of Engineer-in-Charge.				
	Details of cost for 10, 00 m				
8719	2nd class teak wood lipping / moulded beading or Taj beading of size 18X5 mm	metre	10.00	30.00	300.00
0112	LABOUR: Carpenter 2nd class	day	0.25	369.00	92.25
0114	Beldar TOTAL Add Water Charges @ 1%	day	0.25	306.00	76.50 468.75 4.69
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				473.44 (X 66.52 539.96 (Y
	! Add CPOH @ 15% on "Y" Cost of 10 metre Cost of 1 metre				80.99 620.95
	labour cess @1% Rate including labour cess				62.09 0.62 62.72
9.113	Providing and fixing bright finished 100 mm	Say Rs.	62.70	per metre	
	mortice lock with 6 levers without pair of handles of approved quality for aluminium door, with necessary screws etc complete as per direction of Engineerin- charge.				
8716	Details of cost for 1 No. 100 mm mortice lock with 6 levers for aluminium door LABOUR:	each	1.00	432.00	432.00
0111 9999	Carpenter 1 st class Sundries (screws, carriage etc.)	day L.S.	0.13 2.60	369.00 2.12	47.97 5.51
	TOTAL Add Water Charges @ 1% TOTAL				485.48 4.85
	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y"				490.34 (X) 68.89 559.23 (Y)
	Cost of each labour cess @1%				83.88 643.11 6.43
	Rate including labour cess	Say Rs.	649.50	Each	649.54
9.114	Providing and fixing magnetic catcher of approved quality in cupboard / ward robe shutters, including fixing with necessary screws etc. complete.				
9.114.1	Triple strip vertical type Details of cost for 1 No.	•			
8714 9999	MATERIAL: Magnetic catcher triple strip vertical type Sundries including screws and fixing charges.	each L.S.	1.00 2.60	28.00 2.12	28.00 5.51
PX	2 Br 531 Q/	1 - "	1	0/SOR_11th Ed	

9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing L.S. 19.50 2.12 L.S. 100.10 2.12 26 27 28 29 20 20 20 21 20 20 21 21 20 21 21	Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each Iabour cess @ 11% Rate including labour cess @ 11% Rate including screws and fixing charges.				1		33.5
Add GST 12% on "X" (multiplying factor 0.1405)						0.3
Add CPOH@ 15% on "\" Cost of each labour cess @1% Rate including shour cess @1% Rate including screws and fixing charges. 20.114.2 Double strip (horizontal type)						33.8
Add CPOH@ 15% on "Y" Cost of each labour cess @ 1% Rate including labour cess Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Rate including sharpes. Details of cost for 10 sets MATERIAL: TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Rate including labour cess Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: TOTAL Add Water Charges @ 1% Add CPOH@ 15% on "Y" Cost of 10 sets @ 1% Add Water Charges @ 1% Cost of 10 sets @ 1% Add CPOH@ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess @ 1% Rate including labour cess @ 1% Rate including labour cess @ 1% Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 355.00 Each set 10.00 240.00 22.12 2.12 2.12 2.12 2.12 2.12 2.12						4.7
Cost of each labour cess @1% Rate including labour cess @1% Partial Cost for one no. MATERIAL: 8715 Magnetic catcher double strip horizontal type Stundries including screws and fixing charges. 9999 Stundries including screws and fixing charges. Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8704 Add GST 12% on "X" (multiplying factor 0.1405) Total Add Water Charges @1% Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess water of the cost of the co						38.6
Rate including labour cess @1% Rate including labour cess 3.114.2 Double strip (horizontal type) Details of cost for one no. MATERIAL: Magnetic catcher double strip horizontal type Syndries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "X" Cost of each labour cess @1% Rate including labour cess Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Say Rs. 44.80 Each 1.00 20.00 L.S. 2.60 2.12 Say Rs. 34.10 Each Say Rs. 34.10 Each TOTAL Add CPOH @ 15% on "Y" Cost of each labour cess @1% Add CPOH @ 15% on "Y" Cost of each L.S. 10.01 2.12 2. L.S. 100.10 2.12 2. L.S. 100.10 2.12 2. Say Rs. 355.00 Each set Add CPOH @ 15% on "Y" Cost of one set labour cess @1% Rate including labour cess Pyll6 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel roller to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter Providing and fixing sliding arrangement in racks/ Stainless steel roller for sliding arrangement in racks/ Cupboards/cabinets shutter Say Rs. 355.00 Each set L.S. 10.01 11.00 L.S. 1.04 2.12						5.7
Rate including labour cess 9.114.2 Double strip (horizontal type) Details of cost for one no. MATERIAL: 8715 Magnetic catcher double strip horizontal type 9999 Sundries including screws and fixing charges. 1						44.3
Double strip (horizontal type) Details of cost for one no. MATERIAL: Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each Engineer-in-charge. Details of cost for 10 sets MATERIAL: Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each Engineer-in-charge. Details of cost for 10 sets MATERIAL: Add GST 12% on "X" (multiplying factor 0.1405) Total Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless siteel roller for sliding arrangement in racks/ cupboards/cabinets shutter Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter LS. 1.00 11.00 LS. 2.12						0.4 44.8
Details of cost for ne no. MATERIAL: Magnetic catcher double strip horizontal type Sundries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "V" Cost of each Iabour cess @ 1% Rate including labour cess Say Rs. 34.10 Each Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Telescopic drawer channels 300 mm long Sundries including screws and fixing charges. LS. 100.10 2.12 Add Water Charges @ 1% TOTAL Add Water Charges @		Rate including labour cess	Carr Da	44.00		44.0
Details of cost for one no. MATERIAL: 8715 Magnetic catcher double strip horizontal type Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Rate including labour cess Broviding and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long Carriage Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges & 1000 240.00 L.S. 100.10 240.00 2.6 Say Rs. 34.10 Each 2.7 2.8 2.8 2.8 2.9 2.8 2.8 2.9 2.9	114.2	Double strip (horizontal tuna)	Say Rs.	44.80	Еасп	
MATERIAL: Magnetic catcher double strip horizontal type Sundries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Rate including labour cess Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Total Add GST 12% on "X" (multiplying factor 0.1405) Cost of each labour cess Broviding and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Total Add Water Charges @ 1% TOTAL Add Water Charges & 100.00 Add CPOH @ 15% on "" Cast of 10						
Magnetic catcher double strip horizontal type Sundries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of each labour cess @ 1% Rate including labour cess Personal of Engineer-in-charge. Personal of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Add GST 12% on "X" (multiplying factor 0.1405) Total Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess labour cess @ 1% Rate including labour cess Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Back Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess Say Rs. Say Rs. 355.00 Each set 1.00 2.12 2.12 2.25 2.26 2.31 2.40 2.41 2.41 2.41 2.41 2.41 2.42 2.42 2.42 2.43 2.43 2.44 2.45 2.45 2.45 2.45 2.40 2.40 2.41 2.45 2.45 2.45 2.45 2.40 2.40 2.41 2.4						
Sundries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Rate including labour cess 9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 L.S. 2.60 2.12 Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 355.00 Each set 10.00 240.00 240.00 260 L.S. 10.00 240.00 260 L.S. 34.10 Each Say Rs. 355.00 Each set Say Rs. 355.0	8715		oooh	1.00	20.00	20.00
TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @ 1% Rate including labour cess @ 1% Rate including labour cess @ 1% Rate including labour cess g 1% Rate including screws of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long Carriage Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess @ 10.00.10.2.12 Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 35.		Sundries including scrows and fiving charges				20.00 5.5
Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess Rate including labour cess @1% Say Rs. 34.10			L.S.	2.60	2.12	25.5°
TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess 9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long Garriage Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter \$20 \$20 \$21 \$22 \$25 \$26 \$32 \$33 \$34.10 Each \$34.10 \$24.000 \$24.0.						0.26
Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long 9999 Sundries including screws and fixing charges. LS. 19.50 2.12 LS. 100.10 2.12 2 TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 LS. 1.04 2.12			1 医抗病			25.77
Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess 9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long Satification of Engineer-in-charges Say Rs. 34.10 Each Say Rs.			11			3.62
Add CPOH @ 15% on "Y" Cost of each labour cess 201% Rate including labour cess 9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: Telescopic drawer channels 300 mm long set 10.00 240.00 2carriage 9999 Sundries including screws and fixing charges. Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9,116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 L.S. 1.04 2.12				de juri y 14		29.39
Rate including labour cess @ 1% Rate including labour cess @ 1% Rate including labour cess @ 1% Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long set 10.00 240.00 2.5 19.50 2.12 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 L.S. 1.04 2.12						4.41
Rate including labour cess 9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 18703 Telescopic drawer channels 300 mm long Carriage 9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add CPOH @ 15% on """ Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stailess steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 280 Say Rs. 34.10 Each 10.00 240.0						33.80
Rate including labour cess 9.115 Broviding and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long 9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Rate including labour cess Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 34.10 Each Say Rs. 34.10 Each Each 1.00. 240.00						0.34
9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long 9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 2804 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 2805 Each 1.00 11.00 11.00 11.00 11.00 1.5. 1.04 2.12						34.13
9.115 Providing and fixing powder coated telescopic drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long set 10.00 240.00 240.00 29999 Carriage L.S. 19.50 2.12 LS. 19.50 2.12 LS. 100.10 2.12 260 LS. 100.10 2.12		()	Sav Rs.	34.10	Fach	04.10
drawer channels 300 mm long with necessary screws etc. complete as per directions of Engineer-in-charge. Details of cost for 10 sets MATERIAL: 8703 Telescopic drawer channels 300 mm long 9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 L.S. 1.04 2.12	9.115	Providing and fixing powder coated telescopic	,		Luon	
Telescopic drawer channels 300 mm long 9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Set 10.00 240.00 2		Details of cost for 10 sets				
9999 Carriage 9999 Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing L.S. 19.50 2.12 L.S. 100.10 2.12 26 Say Rs. 355.00 Each set 130 Say Rs. 355.00 Each set 140 Say Rs. 355.00 Each set 150 Say Rs. 355.00 Each set	9702				Safet at the	
Sundries including screws and fixing charges. TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing L.S. 100.10 2.12 2 26 L.S. 100.10 2.12 2 26 Say Rs. 355.00 Each set						2400.00
Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing TOTAL 26 TOTAL 27 TOTAL 26 TOTAL 27 TOTAL 26 TOTAL 27 TOTAL 26 TOTAL 27 TOTAL 26 TOTAL 27 TO						41.34
Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @ 1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Add Water Charges @ 1% Total 30 32 33 35 35 35 35 30 Each set 9116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter			L.O.	100.10	2.12	212.21
TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Say Rs. 355.00 Each set						2653.55
Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Add CPOH @ 15% on "Y" Add						26.54 2680.09
Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing TOTAL 30 30 40 41 42 42 43 44 45 45 46 47 47 48 48 48 49 40 40 41 41 41 41 41 42 43 44 45 46 46 47 47 48 48 48 48 48 48 48 48						376.55
Add CPOH @ 15% on "Y" Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Add CPOH @ 15% on "Y" Cost of 10 sets Say Rs. 355.00 Each set Say Rs. 355.00 Each set 10 or E channel shall be made separately) Leach 1.00 11.00 L.S. 1.04 2.12						3056.64
Cost of 10 sets Cost of one set labour cess @1% Rate including labour cess Say Rs. 355.00 Each set 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Cost of 10 sets Cost of no set labour cess Say Rs. 355.00 Each set Say Rs. 355.00 Each set 10 or E channel set labour for Each set Say Rs. 355.00 Each set Say Rs. 355.00 Each set Labour for Each set Say Rs. 355.00 Each set Say Rs. 355.00 Each set Labour for Each set Say Rs. 355.00 Each set Say Rs. 355.00 Each set Say Rs. 355.00 Each set Labour for Each set Say Rs. 355.00 Each set						458.50
Cost of one set labour cess @1% Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Cost of one set labour cess @1% Say Rs. 355.00 Each set Say Rs. 355.00 Each set 100 Eac						3515.14
Rate including labour cess 9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Say Rs. 355.00 Each set Say Rs. 355.00 Each set 1.00 Each set 1.00 II.00 L.S. 1.04 2.12		Cost of one set				351.51
9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Say Rs. 355.00 Each set 1.00 Each set						3.52
9.116 Providing and fixing sliding arrangement in racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter 9999 Labour for fixing Say Rs. 355.00 Each set Each set 1.00 Each set 1.00 II.00 L.S. 1.04 2.12		Rate including labour cess				355.03
racks/ cupboards/cabinets shutter by with stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 11.00 12.12			Say Rs.	355.00	Each set	7.5
stainless steel rollers to run inside C or E aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12	9.116	Providing and fixing sliding arrangement in				
aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 11.00 12.12		racks/ cupboards/cabinets shutter by with				
aluminium channel section (The payment of C or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12		stainless steel rollers to run inside C or E				
or E channel shall be made separately) Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12		aluminium channel section (The payment of C				
Details of cost for 1 No. MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12						
MATERIAL: 8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12						
8704 Stainless steel roller for sliding arrangement in racks/ cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12						
cupboards/cabinets shutter each 1.00 11.00 9999 Labour for fixing L.S. 1.04 2.12	8704					
9999 Labour for fixing L.S. 1.04 2.12	51 O F		oach	1.00	44.00	
7071	9999					11.00
	,,,,,,		L.J.	1.04	2.12	2.20
D/SOR_11th Edition_2022 & S S32 & Gr - @ A	1 = 1 ,	0 4 1	^	Am -	· / A	13,20

Description	Unit	Quantity	Rate ₹	Amount ₹
Add Water Charges @ 1%			Marin High	0.13
TOTAL				13.34
				1.87
				15.21 2.28
				17.49
				0.17
				17.67
i i i i i i i i i i i i i i i i i i i	Sav Rs	17.70	Each	
Providing and fixing factory made uPVC door	ouy nor			
	,			
i i i i i i i i i i i i i i i i i i i				
Extruded section profile size 48x40 mm				
그런 하는 사람들은 사람들이 가는 모든 모든 사람들이 되었다. 그는 사람들이 가는 사람들이 모든 사람들이 모든 그런 바람들이	metre	5.00	130.00	650.00
	dou	0.15	200.00	55.05
	The same of the sa			55.35 45.90
Sundries	The second secon			9.92
TOTAL			of the Tyles	761.17
Add Water Charges @ 1%				7.61
TOTAL				768.78 (
				108.01
				876.80 (
				131.52
				1008.32 201.66
				2.02
_				203.68
	Say Rs.	203.70	Per metre	200.00
Extruded section profile size 42x50 mm	17.00			
Details of cost for 5 metre				
MATERIAL:				
50 mmX42 mmX2 mm thick Factory made door frame				
of PVC extruded sections in white, grey or wooden finish	metre	5.00	166.00	830.00
LABOUR:				230.00
Carpenter (average)	day -	0.15	369.00	55.35
Beldar	day .	0.15	306.00	45.90
Sundries	L.Ś.	4.68	2.12	9.92
TOTAL				941.17
Add Water Charges @ 1%				9.41
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1mm), with wall thickness 2.0 mm (± 0.2 mm), corners of the door frame to be Jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 X 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless; steel hinges fixed to the frame complete as per manufacturer's specification and direction of Engineer-in-charge Extruded section profile size 48x40 mm Details of cost for 5 metre MATERIAL: 48mmX40mmX1.5mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add Water Charges @ 1% TOTAL Add &POH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Extruded section profile size 42x50 mm Details of cost for 5 metre MATERIAL: 50 mmX42 mmX2 mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Sundries TOTAL	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1mm), with wall thickness 2.0 mm (± 0.2 mm), corners of the door frame to be Jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 X 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless! steel hinges fixed to the frame complete as per manufacturer's specification and direction of Engineer-in-charge Extruded section profile size 48x40 mm Details of cost for 5 metre MATERIAL: 48mmX40mmX1.5mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add ©POH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess @1% Rate including labour cess Say Rs. Extruded section profile size 42x50 mm Details of cost for 5 metre MATERIAL: 50 mmX42 mmX2 mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Sundries TOTAL	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess Say Rs. 17.70 Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1mm), with wall thickness 2.0 mm (± 0.2 mm), corners of the door frame to be Jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 X 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer's specification and direction of Engineer-in-charge i Extruded section profile size 48x40 mm Details of cost for 5 metre MATERIAL: 48mmX40mmX1.5mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Add Water Charges @ 1% TOTAL Add SPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Say Rs. 203.70 Extruded section profile size 42x50 mm Details of cost for 5 metre MATERIAL: 50 mmX42 mmX2 mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Capenter (average) Beldar Government of the frame complete in the metre of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar COST (10 multiplying factor 0.1405) Total Add POH (10 multiplying factor 0.1405) Tot	Add Water Charges @ 1% TOTAL TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of each labour cess @1% Rate including labour cess @1% Details of cost for 5 metre MATERIAL: ### Extruded section profile size 48x40 mm Details of cost for 5 metre MATERIAL: ### Add Water Charges @ 1% TOTAL Add ST 12% on "X" (multiplying factor 0.1405) Total Add ### Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Extruded section profile size 42x50 mm Details of cost for 5 metre MATERIAL: 50 mmX42 mmX2 mm thick Factory made door frame of PVC extruded sections in white, grey or wooden finish LABOUR: Carpenter (average) Beldar Sundries TOTAL

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL	1 347 2 45	A HERE		950.58 (>
	Add GST 12% on "X" (multiplying factor 0.1405)				133.56
	Total				1084.14 (Y
	Add CPOH @ 15% on "Y"				162.62
	Cost of 5 metre				1246.76
	Cost of 1 metre				249.35
	labour cess @1%				2.49
	Rate including labour cess				251.85
		Cay Do	251.90	Por motro	

9.118 Providing and fixing to existing door frames.

9.118.1 24 mm thick factory made PVC door shutters made of styles and rails of a uPVC hollow section of size 59x24 mm and wall thickness 2 mm (± 0.2 mm) with inbuilt edging on both sides. The styles and rails mitred and joint at the corners by means of M.S. galvanised/plastic brackets of size 75x220 mm having wall thickness 1.0 mm and stainless steel screws. The styles of the shutter reinforced by inserting galvanised M.S. tube of size 20x20 mm and 1 mm (± 0.1 mm) wall thickness. The lock rail made up of 'H' section, a uPVC hollow section of size 100x24 mm and 2 mm (± 0.2 mm) wall thickness, fixed to the shutter styles by means of plastic/galvanised M.S. 'U' cleats. The shutter frame filled with a uPVC multichambered single panel of size not less than 620 mm, having over all thickness of 20 mm and 1 mm (± 0.1 mm) wall thickness. The panels filled vertically and tie bar at two places by inserting horizontally 6 mm galvanised M.S. rod and fastened with nuts and washers, complete as per manufacturer's specification and direction of Engineer-in-charge. (For W.C. and bathroom door shutter).

Details of cost for one door shutter 2.20x1.08m = 2.38 sqm

	MATERIAL:				
8001	24 mm thick Factory made shutters with style, rails and				
	panels of PVC extruded sections in white, grey or				
	wooden finish including carriage	sqm	2.38	1085.93	2584.51
	LABOUR:				
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
	TOTAL				2897.68
	Add Water Charges @ 1%				28.98
	TOTAL				2926.65 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				411.19
	Total				3337.85 (Y)
	Add CPOH @ 15% on "Y"	1904			500.68
	Cost of 2.38 sqm				3838.53
	Cost of 1 sqm				1612.83
	labour cess @1%				16.13
	- Rate including labour cess				1628.95

Say Rs. 1629.00 Per sqm

30 mm thick factory made Polyvinyl Chloride (PVC) door shutter made of styles and rails of a uPVC 9.118.2 hollow section of size 60x30 mm and wall thickness 2 mm (\pm 0.2 mm), with inbuilt decorative moulding edging on one side. The styles and rails mitred and joint at the corners by means of M.S. galvanised/plastic brackets of size 75x220 mm having wall thickness 1.0 mm and stainless steel screws. The styles of the shutter reinforced by inserting galvanised M.S. tube of size 25x20 mm and 1 mm (\pm 0.1 mm) wall thickness. The lock rail made up of 'H' section, a uPVC hollow section of size 100x30 mm and 2 mm (± 0.2 mm) wall thickness fixed to the shutter styles by means of plastic/ galvanised M.S. 'U' cleats. The shutter frame filled with a uPVC multi-chambered single panel of size not less than 620 mm, having over all thickness of 20 mm and 1 mm (\pm 0.1 mm) wall thickness . The panels filled vertically and tie bar at two places by inserting horizontally 6 mm galvanised M.S. rod and fastened with nuts and washers, complete as per manufacturer's specification and direction of Engineer-incharge.

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
1 2 4 -	Details of cost for one door shutter 2.20x1.08m =				
	2.38 sqm				
	MATERIAL:				
8002	30 mm thick Factory made shutters with style, rails and				
	panels of PVC extruded sections in white, grey or				
	wooden finish	sqm	2.38	1248.82	2972.19
	LABOUR:				
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
	TOTAL				3285.35
	Add Water Charges @ 1%				32.85
	TOTAL				3318.21 (
	Add GST 12% on "X" (multiplying factor 0.1405)				466.21
	Total				3784.42 (
	Add CPOH @ 15% on "Y"				567.66
	Cost of 2.38 sqm				4352.08
	Cost of 1 sqm				1828.60
	labour cess @1%				18.29
	Rate including labour cess				1846.89
		Say Rs	. 1846.90	Per sqm	

9.118.3 25 mm thick PVC flush door shutters made out of a one piece Multi chamber extruded PVC section of the size of 762mm X 25 mm or less as per requirement with an average wall thickness of 1 mm (± 0.3 mm). PVC foam end cap of size 23x10 mm are provided on both vertical edges to ensure the overall thickness of 25 mm. An M.S. tube having dimensions 19 mm x 19 mm and 1.0 mm (± 0.1 mm) is inserted along the hinge side of the door. Core of the door shutter should be filled with High Density Polyurethane foam. The Top & Bottom edges of the shutter are covered with an end-cap of the size 25mm X 11 mm. Door shutter shall be reinforced with special polymeric reinforcements as per manufacturer's specification and direction of Engineer-in-charge to take up necessary hardware and fixtures. Stickers indicating the locations of hardware will be pasted at appropriate places.

	Details of cost for or	ne door shutter 2.20x1.08m				
	= 2.38 sqm					
	MATERIAL:					
8706	25 mm thick factory n	nade PVC flesh door shutter				
	i/c carriage		sqm	2.38	1700.00	4046.00
	LABOUR:					1010.00
0156	Carpenter (average)		day	0.40	369.00	147.60
0114	Beldar		day	0.40	306.00	122.40
9999	Sundries *		L.S.	20.36	2.12	43.16
		TOTAL				4359.16
		Add Water Charges @ 1%				43.59
	e a war	TOTAL				4402.75
	Add GST 12% o	n "X" (multiplying factor 0.1405)				618.59
		Total				5021.34 (Y)
		Add CPOH @ 15% on "Y"				753.20
		Cost of 2.38 sqm		•		5774.54
		Cost of 1 sqm				2426.28
		labour cess @1%				24.26
		Rate including labour cess				2450.54
_			Say Rs.	2450.50	Per sqm	
ا _ل	C \ 2 a	_ (G)m 535 (D/	/ / _	BC BC	D/SOR_11th Ed	dition 2022
4	\"		LV		-,,-	11011_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.119	Providing and fiving factory made PVC door frame of	size 50v/17 m	m with a wall	thickness	of 5

Providing and fixing factory made P.V.C. door frame of size 50x47 mm with a wall thickness of 5 mm,made out of extruded 5 mm rigid PVC foam sheet, mitred at corners and joined with 2 Nos. of 150 mm long brackets of 15x15 mm M.S. square tube, the vertical door frame profiles to be reinforced with 19x19 mm M.S. square tube of 19 gauge, EPDM rubber gasket weather seal to be provided through out the frame. The door frame to be fixed to the wall using M.S. screws of 65/100 mm size, complete as per manufacturer's specification and direction of Engineer-in-Charge.

	Details of cost for one door frame of 5 metre MATERIAL:				
8011	Factory made door frame PVC extruded sheet i/c				
	carriage . LABOUR:	metre	5.00	260.00	1300.00
0156	Carpenter (average)	day	0.15	369.00	55.35
0114	Beldar	day	0.15	306.00	45.90
9999	Sundries	L.S.	7.80	2.12	16.54
	TOTAL		AGE S		1417.79
	Add Water Charges @ 1%				14.18
	TOTAL				1431.96 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				201.19
	Total				1633.15 (Y)
	Add CPOH @ 15% on "Y"				244.97
	Cost of 5 metre				1878.13
	Cost of 1 metre				375.63
	labour cess @1%				3.76
	Rate including labour cess				379.38
		Say Rs.	379.40	Per metre	0.0.00

9.120 Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and size of 19 mm x 19 mm for styles and 15x15 mm for top & bottom rails. M.S. frame shall have a coat of steel primers of approved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC 'C' channel of size 30 mm thickness, 70 mm width out of which 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm thick,95 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered in 45 degree on the inner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mm x 2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded/sealed to the styles & rails with 7 mm (5 mm+2 mm) thick x 15 mm wide PVC sheet beading on inner side, and joined together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer-in-charge, manufacturer's specification & drawing.

30 mm thick plain PVC door shutters 9.120.1 Details of cost for one door shutter 2.20x1.08m = 2.38 sqm MATERIAL: Factory made PVC rigid foam panelled shutter i/c 8003 carriage sqm : 2.38 Powder coated M.S. butt hinges 100 mm X 58 mm X 1.9 1547.45 8100 3682.93 10 Nos 4.00 130,00 Bright finished or black enameled mild steel screws 40 0637 52.00 100 Nos 48.00 P X L 536 2 28.80 BCD/SOR_11th Edition_2022

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
No 9.118	Providing and fixing to existing door frames.				2.00
9.110	Bright finished or black enameled mild steel screws 20				
0640	mm	100 Nos	8.00	35.00	2.80
0040	LABOUR:	100 1100			
0450		dov	0.40	369.00	147.60
0156	Carpenter (average)	day day	0.40	306.00	122,40
0114 9999	Beldar	L.S.	20.36	2.12	43.16
9999	Sundries TOTAL	L.S.	20.50	2.72	4079.69
					40.80
	Add Water Charges @ 1% TOTAL				4120.49 (
	Add GST 12% on "X" (multiplying factor 0.1405)				578.93
	Add GS1 12% off X (Multiplying factor 0.1403)				4699.42 (
	Add CPOH @ 15% on "Y"				704.91
	Cost of 2.38 sqm				5404.33
	Cost of 2.30 sqm				2270.73
	labour cess @1%				22.71
	Rate including labour cess				2293.44
	Kate including labour cess	Say Rs.	2293.40	Per sqm	
0.400.0	20 man think was law in stad DVC door shuttors	Ouy its.	2200.70		
9.120.2	30 mm thick pre laminated PVC door shutters				
	Details of cost for one door shutter				
	2.20x1.08m = 2.38 sqm				
	MATERIAL:				
	Factor, made DVC rigid from conclled shutter as per IS				
0004	Factory made PVC rigid foam panelled shutter as per IS : 4020 i/c carriage	cam	2.38	1547.45	3682.93
8004	Powder coated M.S. butt hinges 100 mm X58 mmX1.9	sqm	2.30	1347.43	3002.33
8100	mm	10 Nos	4.00	130.00	52.00
0100	Bright finished or black enameled mild steel screws 40	10 1103	4.00	100.00	02.00
0637	mm	100 Nos	48.00	60.00	28.80
0007	Bright finished or black enameled mild steel screws 20	100 1103	10.00	00.00	20.00
0640	mm	100 Nos	8.00	35,00	2.80
0040	LABOUR:	100 1100	3.00	00.00	2.00
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
9999	TOTAL	L.O.	20.00	2.12	4079.69
	Add Water Charges @ 1%				40.80
	TOTAL				4120.49 (
	and the state of t				578.93
	Add GST 12% on "X" (multiplying factor 0 1405)				510.55
	Add GST 12% on "X" (multiplying factor 0.1405)				4699 42 /
	Total				
	Total Add CPOH e @ 15% on "Y"				704.91
	Total Add CPOHe@ 15% on "Y" Cost of 2.38 sqm				704.91 5404.33
	Total Add CPOHe@ 15% on "Y" Cost of 2.38 sqm Cost of 1 sqm				704.91 5404.33 2270.73
	Total Add CPOHe@ 15% on "Y" Cost of 2.38 sqm				5404.33

9.121 Providing and fixing Fiber Glass Reinforced plastic (FRP) Door Frames of cross-section 90 mm x 45 mm having single rebate of 32 mm x 15 mm to receive shutter of 30 mm thickness. The laminate shall be moulded with fire resistant grade unsaturated polyester resin and chopped mat. Door frame laminate shall be 2 mm thick and shall be filled with suitable wooden block in all the three legs. The frame shall be covered with fiber glass from all sides. M.S. stay shall be provided at the bottom to steady the frame.

Details of cost for one door frame of 5 metre MATERIAL:

Factory made glass reinforced plastic door frame 90x45

8707 mm i/c carriage metre 5.00 480.00 2400.0

LABOUR: 537 9/A = BCD/SOR_11th Edition_202

Code	Description	Unit	Quantity	Rate . ₹	Amount ₹
0156	Carpenter (average)	day	0.15	369.00	55.35
0114	Beldar	day	0.15	306.00	45.90
9999	Sundries	L.S.	7.80	2.12	16.54
3300	TOTAL	2.01			2517.79
	Add Water Charges @ 1%				25.18
	Add Water Charges @ 170 TOTAL				2542.96 (X)
					357.29
	Add GST 12% on "X" (multiplying factor 0.1405)				2900.25 (Y)
	Total				435.04
	Add CPOH @ 15% on "Y"				3335.29
	Cost of 5 metre				667.06
	Cost of 1 metre				6.67
	labour cess @1%				673.73
	Rate including labour cess			현황 보기사	0/3./3
		Say Rs.	673.70	Per metre	

9.122 Providing and fixing to existing door frames.

9.122.2

9.122.1 30 mm thick Glass Fibre Reinforced Plastic (FRP) panelled door shutter of required colour and approved brand and manufacture, made with fire - retardant grade unsaturated polyester resin, moulded to 3 mm thick FRP laminate for forming hollow rails and styles, with wooden frame and suitable blocks of seasoned wood inside at required places for fixing of fittings, cast monolithically with 5 mm thick FRP laminate for panels conforming to IS: 14856, including fixing to frames.

Details of cost for one door shutter 2.20x1.08m = 2.38 sqm MATERIAL: 8708 30 mm thick factory made glass fiber reinforced 2.38 5535.88 plastic panel door shutter i/c carriage sqm 2326.00 8100 Powder coated M.S. butt hinges 100 mm X 58 mm X 10 Nos 4.00 130.00 52.00 Bright finished or black enameled mild steel screws 0637 100 Nos 60.00 28.80 40 mm 48.00 0640 Bright finished or black enameled mild steel screws 20 mm 100 Nos 8.00 35.00 2.80 LABOUR: 0156 Carpenter (average) 0.40 369.00 147.60 day Beldar 0.40 306.00 0114 day 122.40 Sundries L.S. 20.36 9999 2.12 43.16 5932.64 Add Water Charges @ 1% 59.33 5991.97 (X) Add GST 12% on "X" (multiplying factor 0.1405) 841.87 6833.84 (Y) Add CPOH @ 15% on "Y" 1025.08 Cost of 2.38 sqm 7858 92 Cost of 1 sqm 3302.07 labour cess @1% 33.02 Rate including labour cess 3335.09 Say Rs. 3335.10 Per sqm

30 mm thick Fiber glass Reinforced Plastic (F.R.P.) flush door shutter in different plain and wood finish made with fire retardant grade unsaturated polyester resin, moulded to 3 mm thick FRP laminate all around, with suitable wooden blocks inside at required places for fixing of fittings and polyurethane foam (PUF) / Polystyrene foam to be used as filler

material throughout the hollow panel, casted monolithically with testing parameters of F.R.P. laminate conforming to table - 3 of IS: 14856, complete as per direction of Engineer-in-charge.

BCD/SOR_11th Edition_2022 of X \ 538 \ B B B B B

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
-	Details of cost for one door shutter 2.20x1.08m = 2.38 sqm)		2 11 -	
	MATERIAL:				
8730	30 mm thick factory made glass fiber reinforced plastic				
	flush door shutter i/c carriage	sqm	2.38	2675.00	6366.50
8100	Powder coated M.S. butt hinges 100 mm X58 mm X				
	1.9 mm	10 Nos	4.00	130.00	52.00
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	"Lagraga"			
	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:	1001100	0.00		
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
	TOTAL				6763.26
ត្ត ស្រាក្ស ក្រសួក	Add Water Charges @ 1%				67.63
	TOTAL				6830.90 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				959.74
	Total				7790.64 (Y)
	Add CPOH @ 15% on "Y"				1168.60
	Cost of 2.38 sqm				8959.23
	Cost of 1 sqm				3764.38
	labour cess @1%				37.64
	Rate including labour cess				3802.03
	- 1 - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Say Rs.	3802.00	Per sqm	

9.123 Providing and fixing factory made door frame (single rebate) made out of single piece extruded solid PVC foam profile with homogenous fine cellular structure having smooth outer integral skin having 62 mm width & 32 mm thickness, frame will be mitred & Jointed with self driven self tapping screws of size 38 mm x 4 mm & PVC solvent cement, including fixing the frame to wall with suitable dia & length

		Details of cost	for one door	frame of 5 metre				
		MATERIAL:						
	8710	Factory made	solid PVC do	or frame 60 x 30 mm i/c				
		carriage			metre	5.00	315.00	1575.00
		LABOUR:						
	0156	Carpenter (ave	erage)		day	0.15	369.00	55.35
	0114	Beldar			day	0.15	306.00	45.90
	9999	Sundries	+		L.S.	7.80	2.12	16.54
				TOTAL				1692.79
				Add Water Charges @ 1%				16,93
				TOTAL				1709.71 (X)
		Add G	ST 12% on "	X" (multiplying factor 0.1405)				240.21
				Total				1949.93 (Y)
				Add CPOH @ 15% on "Y"				292.49
				Cost of 5 metre				2242.42
-				Cost of 1 metre		1.		448.48
				labour cess @1%				4.48
			F	tate including labour cess				452.97
					Say Rs.	453.00	Per metre	

539 9 A BCD/SOR_11th Edition_2022

Code No	Description	Unit	Quantity		Amount
9.124	Providing and fixing factory made 30 mm thick door sh	utter made	of solid PVO	foam profil	e. The styles
	2 with about the state of many 20 mm baying Wall thick	kness 5 mm	. The styles,	, top & botto	ill rane enem
	have one side well thickness of 15 mm integrally extru	ided on the	ninge side	Of the brown	
	scrow holding namer. The ctyles and rails shall be reinf	orced with	MI.2. tubes	01 2176 22 111	11 / 27
	1mm painted with primer all four corners of reinforcen	nent to be v	velaea or se	aleu. Jona i	C CALL GALL
	hidding (nuch fit type) will be set inside the styles and	the rails w	ith a cavity	, to receive	Jill Bic bicco
	extruded 5 mm PVC sheet as panel. The styles and rails	will be mitre	ed cut and j	oint with the	help of PVC
	solvent cement & self driven self tapping screws. Singl	e piece extr	ruded solid	PVC lock rail	of size 100
	mm x 30 mm with wall thickness 5 mm & 15 mm inte	grally extru	ded in the I	middle of the	e lock rail &
	fixed with styles with the help of PVC solvent cement &	self driven	self tapping	screws of siz	e 100 mm x
	Owner and the line of the stores's specifications and	direction of	Engineer-ir	-charge.	
	8mm complete as per manufacturer's specifications and	direction of	Liigineer-ii	r-cilaige.	
9.124.1	Non decorative finish				
	Details of cost for one door shutter 2.20x1.08m = 2.38				
	sqm				
	MATERIAL:				
8712	30 mm thick factory made solid PVC profile panelled				
	door single piece extruded profile non decorative finish		0.00	2000.00	4760.00
	7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	sqm	2.38	2000.00	4760.00
8100	Powder coated M.S. butt hinges 100 mm X 58 mm X	10 Nes	4.00	120.00	52.00
0007	1.9 mm i	10 Nos	4.00	130.00	52.00
0637	Bright finished or black enameled mild steel screws	100 Nos	48.00	60.00	28.80
0640	40 mm	100 1105	40.00	00.00	20.00
0640	Bright finished or black enameled mild steel screws 20 mm	100 Nos	8.00	35.00	2.80
		100 1105	0.00	33.00	2.00
0156	LABOUR: Carpenter (average)	day	0.40	369.00	147.60
0156 0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
	TOTAL				5156.76
	Add Water Charges @ 1%				51.57
	TOTAL				5208.33 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				731.77
	Total				5940.10 (Y
	Add CPOH @ 15% on "Y" Cost of 2.38 sgm				891.02
	Cost of 1 sqm				6831.12
	labour cess @1%				2870.22 28.70
	Rate including labour cess				2898.92
		Say Rs.	2898.90	Per sqm	2000.02
9.124.2	Decorative finish (both side wood grained finish)				
	Details of cost for one shutter 2.20x1.08m=2.38 sqm MATERIAL:				
8709	30 mm thick factory made solid PVC profile panelled				
	door single piece extruded profile decorative finish				
	(wood grain printed on both side)	sqm	2.38	2100.00	4000.00
8100	Powder coated M.S. butt hinges 100 mm X 58 mm X	94111	2.00	2100.00	4998.00
	1.9 mm	10 Nos	4.00	130.00	E2 00
0637	Bright finished or black enameled mild steel screws			130.00	52.00
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	Talk factor of the	13.30	50.00	20.00

100 Nos

8.00

Bright finished or black enameled mild steel screws

0640

20 mm

LABOUR:

Code No	Description	Unit	Quantity	Rate ₹	Amount
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.S.	20.36	2.12	43.16
	TOTAL	2.0.	40.7		5394.76
	Add Water Charges @ 1%				53.95
	TOTAL				5448.71 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				765.54
	Total				6214.25 (Y)
	Add CPOH @ 15% on "Y"				932.14
	Cost of 2.38 sqm				7146.39
	Cost of 1 sqm				3002.69
	labour cess @1%				30.03
	Rate including labour cess				3032.71
		Say Rs.	3032.70	Per sqm	
9.125	Providing and fixing PVC rigid foam sheet 1				
	mm thick on existing door shutters (bathroom				
	and W.C.doors) using synthetic rubber based				
	adhesive.				
	Details of cost for 1.0x0;3m = 0.3 sqm MATERIAL;				
8006	Factory made PVC rigid foam sheet 1 mm thick	sqm	0.33	155.80	51.41
	PVC rigid foam sheet 1mm thick = 0.30 sgm	oqiii	0.00	100.00	01.41
	Add wastage @ 10% = 0.03 sgmTotal = 0.33 sgm				
9999	Rubber adhesive	L.S.	21.04	0.40	40.20
5555	LABOUR:	L.S.	21.84	2.12	46.30
0111	Carpenter 1 st class		0.44	440.00	45.40
0114	Beldar	day	0.11	413.00	45.43
0130	Mistry	day day	0.14	306.00 306.00	42.84
. 0.00	TOTAL	uay	0.02	306.00	6.12
	Add Water Charges @ 1%				192.10 1.92
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				194.03 (X) 27.26
	Total				27.26 221.29 (Y)
	Add CPOH @ 15% on "Y"				33.19
	Cost of 0.3 sqm				254.48
	Cost of 1 sqm				848.26
	labour cess @1%				8.48
	Rate including labour cess				856.75
		Say Rs.	856.70	Per sqm	230.70

9.126 Providing and fixing 12 mm thick panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled, and glazed shutters 25 mm to 40 mm thick.

9.126.1 Marine plywood conformingto IS: 710

8724

9999

Details of cost for shutters of a door with 2/3rd panelling 200x108cm=2.16sqm. Panel area = 4x45.1x36.55cm = 0.67sqm
MATERIAL:
Plywood 4x47.2x38.65cm = 0.73sqm+

Add for wastage @ 10% = 0.07sqm. Total = 0.80 sqm

12 mm thick marine plywood conforming to IS: 710 sqm

Carriage of plywood L.S.

2 X LABOUR: 541 Q/

1 3

0.80

1.82

BCD/SOR_11th Edition_ 2022

576.00

3.86

720.00

2.12

Code No	Description	Unit	Quantity	Rate ₹	Amount €
0111	Carpenter 1 st class	day	0.57	413.00	235.41
9999	Sundries	L.Ś.	4.42	2.12	9.37
	TOTAL				824.64
	Add Water Charges @ 1%				8.25
	TOTAL				832.89
	Add GST 12% on "X" (multiplying factor 0.1405)				117.02
	Total				949.91
	Add CPOH @ 15% on "Y"				142.49
	Cost of 0.67 sqm				1092.39
	Cost of 1 sqm				1630.43
	labour cess @1%				16.30
	Rate including labour cess				1646.74
	Nate moraling labour 5555	Say Rs.	1646.70	Per sqm	
9.126.2	Fire retardant plywood conforming to IS: 5509			1. 2. 26.	
	Details of cost for shutters of a door with 2/3rd paneling				
	200x 108cm = 2.16sqm. Panel area = 4x45.1x36.55cm = 0.67sqm				
	MATERIAL:				
	Plywood 4x47.2x38.65cm = 0.73sgm+				
	Add for wastage @ 10% = 0.07sqm. Total = 0.80 sqm				
8725	12 mm thick fire retardant plywood conforming to IS:				
0,20	. 5509	sgm	0.80	867.00	693.60
9999	Carriage of plywood	L.S.	1.82	2.12	3.86
3333	LABOUR:	<u> </u>	1.02	2.12	0.00
0111	그 그리다 그 그리다 하다 하는 그리는 그리는 그 사는 그 눈았다면 하고 하는 것이 없는데 그리는 것이다.	day	0.57	413.00	235.41
9999	Carpenter 1 st class Sundries	day L.S.	0.57 4.42	2.12	9.37
9999	TOTAL	L.S.	4.42	2.12	942.24
	Add Water Charges @ 1%				942.24
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)		T 2 1 1		951.66 (133.71
	Total				
	Add CPOH @ 15% on "Y"				1085.37 162.81
	Cost of 0.67 sgm				1248.18
	Cost of 0.07 sqm				1862.95
	labour cess @1%				18.63
	Rate including labour cess				1881.58
	Trate morading labour tess	Say Rs.	1881.60	Per sqm	86,1001
		and a first state			

9.127 Providing & Fixing decorative high pressure laminated sheet of plain / wood grain in gloss / matt / suede finish with high density protective surface layer and reverse side of adhesive bonding quality conforming to IS: 2046 Type S, including cost of adhesive of approved quality.

9.127.1	1.5 mm thick					
	Details of cost for 5.00 sqm					
	MATERIAL:			10 Th 40		
	Decorative laminate = 5.00 sqm					
	Add wastage @ 10% = 0.50 sqm	Total = 5.50 sgm				
8726	1.5 mm thick decorative laminated	d sheet	sqm	5.50	380.00	2090.00
9999	Adhesive		L.S.	195.00	2.12	413.40
	LABOUR:					4 (3.40
0111	Carpenter 1 st class		day	0.50	413.00	206.50
0114	Beldar		day	0.50	306.00	
9999	Sundries i/c nails etc.		L.S.	52.00	2.12	153.00
		TOTAL	L	32.00	2.12	110.24
	hA	d Water Charges @ 1%				2973.14
						29.73
	Add GST 120/ on "V"	TOTAL				3002.87 (X)
	Add GST 12% on "X" (m	fultiplying factor 0.1405)				421.90
	.11th Edition_2022		^	(Barry	~ / A	4

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Total	B 4 7 -	4	49.7	3424.77
	Add CPOH @ 15% on "Y"				513.72
	Cost of 5 sqm				3938.49
	Cost of 1 sqm				787.70
	labour cess @1%				7.88
	Rate including labour cess				795.58
		Say Rs.	795.60	Per sqm	
9.127.2	1.0 mm thick				
	Details of cost for 5.00 sqm				
	MATERIAL:				
	Decorative laminate = 5.00 sgm				
	Add wastage @ 10% = 0.50 sqm Total = 5.50 sqm				
8727	1.0 mm thick decorative laminated sheet	sqm	5.50	294.00	1617.00
9999	Adhesive	L.S.	195.00	2.12	413.40
	LABOUR:				
0111	Carpenter 1 st class	- day	0.50	413.00	206.50
0114	Beldar	day	0.50	306.00	153.00
9999	Sundries i/c nails etc.	L.S.	52.00	2.12	110.24
	TOTAL	2.0.	02.00		2500.14
	Add Water Charges @ 1%				25.00
	TOTAL				2525.14 (2
	Add GST 12% on "X" (multiplying factor 0.1405)				354.78
	Total				2879.92 (
	, Add CPOH @ 15% on "Y"				431.99
	Cost of 5 sgm				3311.91
	Cost of 1 sqm				662.38
	labour cess @1%				6.62
	Rate including labour cess				669.01
		Say Rs.	669.00	Per sqm	

Providing and fixing factory made Fiber glass Reinforced plastics (F.R.P.) chajja 4 mm thick of required colour, size and design made by Resin Transfer Moulding (RTM) Machine Technology, resulting in void free compact laminate in single piece, having smooth gradual slope curvature for easy drainage of water and duly reinforced by 2 nos vertically and 1nos horizontally 50x2 mm thick M.S. flat with 12 mm in built hole for grouting on the existing wall along with the 50 mm flanges duly inserted and sealed in the wall complete in one single piece casted monolithically, including all necessary fittings. The FRP Chajja should be manufactured using unsaturated Polyester resin as per IS: 6746, duly reinforced with fibre glass chopped strand mat (CSM) as per IS: 11551 complete with protective Gel coat U/V coating on Top for complete resistance from the extreme of temperature, weather & sunlight.

Details of cost for a chajja 0.90 x 0.60 = 0.54 sqm

MAT	אוי	١.
1417	 	ь,

	<u></u>				
8713	Fiber glass reinforced plastic chajja including accessories	sqm	0.54	3000.00	1620.00
9999 9999	Carriage fixing charges including sundries. TOTAL Add Water Charges @ 1% TOTAL	L.S. L.S.	26.00 143.00	2.12 2.12	55.12 303.16 1978.28 19.78 1998.06 (X)
	Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 0.54 sqm Cost of 1 sqm labour cess @1% Rate including labour cess				280.73 2278.79 (Y) 341.82 2620.61 4852.98 48.53 4901.51

Say Rs. 4901.50 Per sqm

Say Rs. 4901.50 Per sqm

BCD/SOR_11th Edition_202;

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
.129	Providing and fixing cup board shutters 25 mm t	hick, with	Pre-lamina	ted flat pre	essed three
	layer particle board or graded wood particle	board IS	12823 ma	arked, exte	erior grade
	(Grade I Type II), having one side decorative	e laminat	ion and o	other side	balancing
	lamination, including IInd class teak wood lip	ning of 2	5 mm wide	v12 mm	thick with
	necessary and the finished staints	ping of Za	ione bina	ss somnl	ote as ner
	necessary screws and bright finished stainle	ss steel p	nano ning	es, compi	ete as per
	direction of the Engineer-in-Charge.				
	Details of cost for one shutter 2.20x1.00m = 2.20sqm.				
7070	MATERIAL:				
7272	25 mm thick melamine faced prelaminated three			000.00	1000.00
9999	layer particle board	sqm	2.20	900.00	1980.00
	Carriage	L.S.	29.64	2.12	62.84
8678	1 mm thick 35 mm wide bright finished stainless				
	steel piano hinges	metre	4.40	47.04	206.98
0685	Oxidised mild steel screws 25 mm	100 Nos	125.00	36.00	45.00
	LABOUR:				
0111	Carpenter 1 st class	day '	0.50	413.00	206.50
0114	Beldar	day	0.50	306.00	153.00
0130	Mistry	day	0.07	306.00	21.42
7271	IInd class teak wood lipping 25 mm wide x 12 mm thick	metre	7.00	28.00	196.00
	TOTAL		1.00	20.00	2871.73
	Add Water Charges @ 1%				28.72
	TOTAL				2900.45
	Add GST 12% on "X" (multiplying factor 0.1405)				407.51
	Total				
	Add CPOH @ 15% on "Y"				3307.96
	Cost of 2.2 sqm				496.19 3804.16
	COSCOLZZ SOIII				3804.10
	Cost of 1 sqm				1729.16
	Cost of 1 sqm labour cess @1%				1729.16 17.29
	Cost of 1 sqm	Sou Bo	4740 50		1729.16
130	Cost of 1 sqm labour cess @1% Rate including labour cess	Say Rs.	1746.50	Per sqm	1729.16 17.29 1746.45
.130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r	nm thick v	eneered pa	rticle boar	1729.16 17.29 1746.45 d IS: 3097
.130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked,exterior grade (Grade I), of approved ma	nm thick v	eneered pa	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
.130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
.130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked,exterior grade (Grade I), of approved ma	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
.130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm.	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
130.1	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side	mm thick v ike includi crews and eer-in-Cha	eneered pa ng IInd clas bright fin rge.	article boar ss teak wo ished stair	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel
130.1 7269	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board	nm thick v ke includi crews and	eneered pa ng lind clas bright fin	rticle boar ss teak wo	1729.16 17.29 1746.45 d IS: 3097
130.1	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on	mm thick valke includit crews and eer-in-Char sqm	eneered pa ng lind clas bright fin rge.	article boar ss teak wo ished stair 435.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel
130.1 7269 0346	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side	mm thick v ike includi crews and eer-in-Char sqm	eneered pa ng lind clas bright fin rge. 2.20 2.20	article boar article boar ass teak wo ished stair 435.00 230.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00
7269 0346 9999	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage	mm thick valke includit crews and eer-in-Char sqm	eneered pa ng lind clas bright fin rge.	article boar ss teak wo ished stair 435.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel
130.1 7269 0346	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel	mm thick valke includit crews and eer-in-Char sqm sqm L.S.	eneered pang lind classification bright fininge. 2.20 2.20 29.64	article boar ass teak wo ished stair 435.00 230.00 2.12	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84
7269 0346 9999 8678	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges	mm thick valke includity crews and eer-in-Character sqm sqm L.S.	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40	article boar ss teak wo ished stair 435.00 230.00 2.12 47.04	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98
7269 0346 9999	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm	mm thick valke includit crews and eer-in-Char sqm sqm L.S.	eneered pang lind classification bright fininge. 2.20 2.20 29.64	article boar ass teak wo ished stair 435.00 230.00 2.12	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84
7269 0346 9999 8678 0685	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR:	mm thick valke includity crews and eer-in-Character sqm sqm L.S.	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40 125.00	article boar ss teak wo ished stair 435.00 230.00 2.12 47.04	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98
7269 0346 9999 8678 0685	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class	sqm sqm L.S. metre 100 Nos	2.20 2.20 2.20 29.64 4.40 125.00	article boar ss teak wo ished stair 435.00 230.00 2.12 47.04	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98
7269 0346 9999 8678 0685 0111 0114	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar	sqm sqm L.S. metre 100 Nos day day	2.20 2.20 2.20 29.64 4.40 125.00 0.50 0.50	435.00 230.00 2.12 47.04 36.00 413.00 306.00	1729.16 17.29 1746.45 Id IS: 3097 rod lipping nless steel 957.00 506.00 62.84 206.98 45.00
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry	sqm sqm L.S. metre 100 Nos	2.20 2.20 2.20 29.64 4.40 125.00	435.00 230.00 2.12 47.04 36.00 413.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00
7269 0346 9999 8678 0685 0111 0114	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar	sqm sqm L.S. metre 100 Nos day day	2.20 2.20 2.20 29.64 4.40 125.00 0.50 0.50	435.00 230.00 2.12 47.04 36.00 413.00 306.00	1729.16 17.29 1746.45 Id IS: 3097 rod lipping nless steel 957.00 506.00 62.84 206.98 45.00
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry	sqm sqm L.S. metre 100 Nos day day	2.20 2.20 2.20 29.64 4.40 125.00 0.50 0.50	435.00 230.00 2.12 47.04 36.00 413.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary s piano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry IInd class teak wood lipping 25 mm wide x 12 mm thick	sqm sqm L.S. metre 100 Nos day day	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40 125.00 0.50 0.50 0.07	435.00 230.00 2.12 47.04 36.00 413.00 306.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry Ilnd class teak wood lipping 25 mm wide x 12 mm thick	sqm sqm L.S. metre 100 Nos day day	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40 125.00 0.50 0.50 0.07	435.00 230.00 2.12 47.04 36.00 413.00 306.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry IInd class teak wood lipping 25 mm wide x 12 mm thick TOTAL Add Water Charges @ 1%	sqm sqm L.S. metre 100 Nos day day	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40 125.00 0.50 0.50 0.07	435.00 230.00 2.12 47.04 36.00 413.00 306.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42 196.00 2354.73 23.55
7269 0346 9999 8678 0685 0111 0114 0130	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 marked, exterior grade (Grade I), of approved may of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry IInd class teak wood lipping 25 mm wide x 12 mm thick TOTAL Add Water Charges @ 1% TOTAL	sqm sqm L.S. metre 100 Nos day day	eneered pang lind class bright fininge. 2.20 2.20 29.64 4.40 125.00 0.50 0.50 0.07	435.00 230.00 2.12 47.04 36.00 413.00 306.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42 196.00 2354.73 23.55 2378.28
7269 0346 9999 8678 0685 0111 0114 0130 7271	Cost of 1 sqm labour cess @1% Rate including labour cess Providing and fixing cup board shutters with 25 r marked, exterior grade (Grade I), of approved ma of 25 mm wide x 12mm thick with necessary spiano hinges, complete as per direction of Engine With decorative veneering on one side and commercial veneering on other side Details of cost for one shutter 2.20x1.00m = 2.20sqm. MATERIAL: 25 mm thick particle board Extra for veneered particle board with Teak veneering on one side and commercial veneering on other side Carriage 1 mm thick 35 mm wide bright finished stainless steel piano hinges Oxidised mild steel screws 25 mm LABOUR: Carpenter 1 st class Beldar Mistry Ilnd class teak wood lipping 25 mm wide x 12 mm thick TOTAL Add Water Charges @ 1%	sqm sqm L.S. metre 100 Nos day day	2.20 2.20 2.20 29.64 4.40 125.00 0.50 0.50 0.07	435.00 230.00 2.12 47.04 36.00 413.00 306.00 306.00	1729.16 17.29 1746.45 d IS: 3097 od lipping nless steel 957.00 506.00 62.84 206.98 45.00 206.50 153.00 21.42 196.00 2354.73

Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Details of Carriage 16868 Details	Description	Unit	Quantity	Rate ₹	Amount ₹
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Details of Carriage 16868 Details	Total		-		2712.43
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Details of Carriage 16868 Details	Add CPOH @ 15% on "Y"				406.86
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Details of Carriage 16868 Details	Cost of 2.2 sqm				3119.29
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 168	Cost of 1 sqm				1417.86
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 168	labour cess @1%				14.18
Details of MATERIA 7269 25 mm the Extra for veneering 1999 Carriage 1 mm thice 16868 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 1685 Oxidised in LABOUR: 168678 Diano hing 168	Rate including labour cess				1432,04
MATERIA 7269 25 mm th Extra for v 9999 Carriage 1 mm thic 8678 piano hing 0685 Oxidised of LABOUR: 0111 Carpenter 0114 Beldar 0130 Mistry 7271 Ilind class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2: 25 mm thic decorative Aluminium 834 Synthetic e chocolate s	on decorative veneering on both sides	Say Rs.	1432.00	Per sqm	
Extra for veneering 1999 Carriage 1 mm thice	of cost for one shutter 2.20x1.00m = 2.20sqm.				
9999 Carriage 1 mm thic 8678 piano hing 0685 Oxidised i LABOUR: 0111 Carpenter 0114 Beldar 0130 Mistry 7271 Ilind class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2: 25 mm thic decorative Aluminium Aluminium Synthetic e chocolate s	hick particle board vencered particle board with Commercial	sqm	2.20	435.00	957.00
1 mm thice 8678 piano hing 0685 Oxidised is LABOUR: 0111 Carpenter 0114 Beldar 0130 Mistry 7271 Ilind class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm the Details of complete hinges will 144 Aluminium 1544 Aluminium 1544 Aluminium 1544 Aluminium 1544 Aluminium 1544 Synthetic e chocolate services	g on both sides	sgm	2.20	155.00	341.00
8678 piano hing 0685 Oxidised i LABOUR: 0111 Carpenter 0114 Beldar 0130 Mistry 7271 IInd class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2: 445 25 mm thic decorative 443 Aluminium 444 Aluminium 444 Aluminium 4534 Synthetic e chocolate s		L.S.	29,64	2.12	62.84
0685 Oxidised in LABOUR: 0111 Carpenter 0114 Beldar 0130 Mistry 7271 Ilind class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm the Details of or MATERIAL Prelaminat Add for wa Total = 2.2: 445 25 mm thick decorative 443 Aluminium 444 Aluminium 444 Aluminium 4534 Synthetic e chocolate s	ick 35 mm wide bright finished stainless steel nges	metre	4.40	47.04	206.98
ABOUR: Carpenter Carpenter Carpenter Beldar Mistry Taria Ilind class A Providing graded w conformin paint and cleat, grip complete hinges will Taria I 25 mm the Details of c MATERIAL Prelaminat Add for wa Total = 2.2: Total = 2.2: Total = 2.2: Total = 2.3: Total = 2.4: Aluminium	mild steel screws 25 mm	100 Nos	125.00	36.00	45.00
0114 Beldar 0130 Mistry 7271 IInd class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm the Details of complete hinges will 131.1 25 mm the Details of complete hinges will 131.1 25 mm the Add for wa Total = 2.2: 445 25 mm thick decorative 443 Aluminium 444 Aluminium 444 Aluminium 4534 Synthetic e chocolate s	₹:				
7271 Ilind class A Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm the Details of complete hinges will 131.1 25 mm the Details of complete hinges will 131.1 25 mm the Details of complete hinges will Add for wa Total = 2.2: 445 25 mm thice decorative 443 Aluminium 444 Aluminium 444 Aluminium 444 Aluminium 459 Synthetic e chocolate s	i i si ciass	day	0.50	413.00	206.50
7271 Ilind class A 31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of complete Add for wa Total = 2.2: 445 25 mm thic decorative Add Maminium Add Muminium Aluminium Synthetic e chocolate s	į.	day	0.50	306.00	153.00
31 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 434 Synthetic e chocolate s	- 	day	0.07	306.00	21.42
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of o MATERIAL Prelaminat Add for wa Total = 2.2: 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	s teak wood lipping 25 mm wide x 12 mm thick	metre	7.00	28.00	196.00
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of o MATERIAL Prelaminat Add for wa Total = 2.2: 445 25 mm thic decorative 443 Aluminium 444 Aluminium 444 Synthetic e chocolate s	Add Water Charges @ 1%				2189.73
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2: 445 25 mm thic decorative 443 Aluminium 444 Aluminium 444 Synthetic e chocolate s	TOTAL				21.90
91 Providing graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm the Details of complete Add for wa Total = 2.2 25 mm thic decorative 443 Aluminium 444 Aluminium 444 Aluminium 444 Synthetic e chocolate s	Add GST 12% on "X" (multiplying factor 0.1405)				2211.63 (
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 459 Synthetic e chocolate s	Total				310.73
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 434 Synthetic e chocolate s	Add CPOH @ 15% on "Y"				2522.36 (
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	Cost of 2.2 sgm				378.35
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	Cost of 1 sqm				2900.72
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	labour cess @1%				1318.51
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	Rate including labour cess				13.19
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	rease morading labour cess	Say Rs.	1331.70	D	1331.69
graded w conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	g and fixing factory made shutters of pre-lami		a hoard flat	rei sqin	1
conformin paint and cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 4834 Synthetic e chocolate s	wood particle hoard with one side deservi	nateu partici	e board nat	bressea tu	ree layer or
paint and cleat, grip complete hinges will 131.1 25 mm th Details of a MATERIAL Prelaminat Add for wa Total = 2.2 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	wood particle board with one side decorative	ve finish and	d other side	e balancing	lamination
cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 4834 Synthetic e chocolate s	ng to IS: 12823 Grade I Type II, of approved	design, and	edges seale	ed with wat	er resistant
cleat, grip complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 4834 Synthetic e chocolate s	l lipped with aluminium 'U' type edge beading	all-round the	shutter, inc	luding fixing	with angle
complete hinges will 131.1 25 mm th Details of c MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	p strip, cadmium plated steel screws, includin	g fixing of a	luminium hi	nges 100x63	3x4mm etc
131.1 25 mm th Details of of MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	as per architectural drawing and direction	of Engineer-	in-Charge (C	ost of 'll'h	eading and
131.1 25 mm th Details of of MATERIAL Prelaminat Add for wa Total = 2.2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 4834 Synthetic e chocolate s	ill be paid for separately).		arrange (e		caung and
Details of c MATERIAL Prelaminat Add for wa Total = 2.2 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	<u>- 1</u> 0				
MATERIAL Prelaminat Add for wa Total = 2.2 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s					
Prelaminat Add for wa Total = 2.2 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s	cost for 2.10 sqm (Door size 2.1 x 1.00m)				
Add for wa Total = 2,2' 445 25 mm thic decorative 443 Aluminium 444 Aluminium 834 Synthetic e chocolate s					
Total = 2.2' 25 mm thic decorative Aluminium Aluminium Synthetic e chocolate s	ated particle board = 2.10sqm.+				
25 mm thic decorative Aluminium Aluminium Synthetic e chocolate s	astage @ 5% = 0.11 sqm.				
decorative Aluminium Aluminium Synthetic e chocolate s					
444 Aluminium 834 Synthetic e chocolate s		sqm	2.21	800.00	1768.00
834 Synthetic e chocolate s	n single cleat of size 30x32x3 mm	each	4.00	14.00	56.00
chocolate s	grip strip of size 50x12x2 mm	each	8.00	11.00	88.00
OUD Continue of		litre	0.15	165.00	24.75
	of materials including loading and unloading	L.S.	19.50	2.12	41.34
	and screw etc.	L.S.	39.00	2.12	82.68
LABOUR:					02.00
X \	1 . 0	/ /	4		
~ \ _	By 545 Q	1// "	BCD	SOR 11h F	dition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0112	Carpenter 2nd class	day	0.27	369.00	99.63
0114	Beldar	day	0.30	306.00	91.80
	TOTAL				2252.20
	Add Waler Charges @ 1%				22.52
	TOTAL.				2274.72 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				319.60
	Total				2594.32 (Y
	Add CPOH @ 15% on "Y"				389.15
	Cost of 2.1 sqm				2983.47
	Cost of 1 sqm				1420.70
	labour cess @1%				14.21
	Rate including labour cess				1434.91
0.400	1	Say Rs.	1434.90	Per sqm	
9.132	Providing and fixing aluminum U beading of required size to Pre laminated / flush door				
	shutter, including fixing etc. complete as per				
	direction of Engineer-in-Charge.				
	Details of cost for 1 kg MATERIAL:				
	Aluminum U beading = 1.00kg +				
	Add 10% wastage = 0.10 !				
7440	Total = 1.10kg				
7449	Aluminium U beading	kilogram	1.10	210.00	231.00
9999	Anodized 15 micron	L.S.	65.00	2.12	137.80
9999	Sundries including screws, fixing, carriage etc.	L.S.	13.00	2.12	27.56
	TOTAL				396.36
	Add Water Charges @ 1%				3.96
	TOTAL				400.32 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				56.25
	Total				456.57 (Y)
	Add CPOH @ 15% on "Y"				68.49
	Cost of 1 kg				525.05
	labour cess @1% Rate including labour cess				5.25
	rate including labour cess	Say Rs.			530.30

9.133 Providing and fixing, in position concealed G.I. section for wall paneling using board of required thickness fixed on the 'W' profile (0.55 mm thick) having a knurled web of 51.55 mm and two flanges of 26 mm each with lips of 10.55 mm, placed @ 610 mm C/C in perimeter channel having one flange of 20 mm and another flange of 30 mm with thickness of 0.55 mm and web of length 27 mm.Perimeter channel is fixed on the floor and the ceiling with the nylon sleeves @ 610 mm C/C with fully threaded self-tapping dry wall screws. Board is fixed to the 'W' profile with 25 mm countersunk ribbed head screws @ 200 mm C/C., all complete as per the drawing & directions of engineer-incharge, the joints of the boards are finished with specially formulated jointing compound and 48 mm wide jointing tape to provide seamless finish.

9.133.1 Tapered edge calcium silicate board made with calcareous & siliceous materials reinforced with cellulose fiber manufactured through autoclaving process to give stable crystalline structure with compressive strength 225 kg/sqcm, Bending strength 100 kg/sqcm.

9.133.1.1 10 mm thick

Details of cost for 3.66 mx 3.05 m =11.16 sqm MATERIAL:

BCD/SOR_11th Edition_2022 PX L 546 L BL @ 9/ A 3

Code	Description	Unit	Quantity	Rate ₹	Amount
No	Calcium silicate board 10mm thick.= 11.16 sqm				
	Add wastage @ 10% = 1.12 sqm.				
	Total = 12.28 sqm				5457.00
8700	10 mm thick calcium silicate board	sqm	12.28	420.00	5157.60
8720	Ceiling sections 0.55 mm thick having a knurled web				
	of 51.55 mm and two flanges of 26 mm each with lips				747.00
	of 10.55 mm	metre	19.66	38.00	747.08
8721	Perimeter channel having one flange of 20 mm and			,	
	another flange of 30 mm with thickness of 0.55 mm				222.22
	and web of length 27 mm	metre	9.60	23.00	220.80
8722	Nylon sleeves & wooden screws (40 mm)	each	42.00	2.60	109.20
8723	Counter sunk ribbed head screw 25 mm	100 Nos	176.00	76.00	133.76 44.10
9999	Jointing compound	L.S.	20.80	2.12	17.10
7018	Joint tape roll	roll L.S.	0.19 52.00	90.00 2.12	110.24
9999 9999	Sundries i/c rawl plug. Scaffolding etc. Carriage of materials	L.S.	26.00	2.12	55.12
9999	LABOUR:	L.O.	20.00	2.,2	00.72
0111	Carpenter 1 st class	day	3.80	413.00	1569.40
0114	Beldar	day	4.60	306.00	1407.60
0114	TOTAL	44,	,,,,,		9572.00
	Add!Water Charges @ 1%				95.72
	. TOTAL				9667.72 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				1358.31
	‡ Total				11026.03 (Y)
	Add CPOH @ 15% on "Y"				1653.90
	Cost of 11.16 sqm				12679.93
	Cost of 1 sqm				1136.19
	labour cess @1% Rate including labour cess				11.36 1147.56
	Rate including labour cess	Say Rs.	1147.60	Per sam	1147.56
9.133.2	Non-asbestos multipurpose cement board	oay its.	1147.00	i ei sqiii	
0.700.2	reinforced with cellulose fibre manufactured				
	through autoclaving process (high pressure				
	steam cured) as per IS :14862 with suitable				
	fibre cement screw				
9.133.2.1	8 mm thick				
	Details of cost for 3.66 m x 3.05 m = 11.16 sqm				
	MATERIAL:				
	Multipurpose non asbestos fibre cement board	-			
	8mm thick. = 11.16 sqm				
	Add wastage @ 10% =1.12 sqm.				
0237	Total = 12.28 sqm				
0237	Multi purpose fibre (high impact poly propelene reinforced) cement board 8 mm thick		40.00		
8720	Ceiling sections 0.55 mm thick having a knurled web	sqm	12.28	220.00	2701.60
0720	of 51.55 mm and two flanges of 26 mm each with				
	lips of 10.55 mm		40.00		
8721	Perimeter channel having one flange of 20 mm and	metre	19.66	38.00	747.08
0/21	another flange of 30 mm with thickness of 0.55 mm				
0700	and web of length 27 mm	metre	9.60	23.00	220.80
8722 8723	Nylon sleeves & wooden screws (40 mm) Counter sunk ribbed head screw 25 mm	each	42.00	2.60	109.20
8723 9999	Jointing compound	100 Nos	176.00	76.00-	133.76
7018	Joint tape roll	L.S. roll	20.80	2.12	44.10
9999	Sundries i/c rawl plug. Scaffolding etc.	L.S.	0.19 52.00	90.00	17.10
9999	Carriage of materials	L.S.	26.00	2.12 2.12	110.24
O Y	1 1 0 Qui-	/ Ñ	<i>a</i>		55.12
- The	547		BCI	D/SOR_11th E	Edition_2022
		\sim			

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0444	LABOUR:				
0111	Carpenter 1 st class	day	3.80	413.00	1569.4
0114	Beldar	day	4.60	306.00	1407.6
	TOTAL	1000			7116.0
	Add Water Charges @ 1%				71.1
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				7187.1
					1009.8
	، Total "Add CPOH @ 15% on "Y"				8196.9
					1229.5
	Cost of 11.16 sqm				9426.4
	Cost of 1 sqm				844.6
	labour cess @1%				8.4
	Rate including labour cess				853.1
	i e e e e e e e e e e e e e e e e e e e	Say Rs.	853.10	Per sqm	
9.133.3	Gypsum board conforming to IS: 2095 Part - I				
.133.3.1	12.5 mm thick				
	Details of cost for 3.66 m x 3.66 m - 11.16 sqm				
	MATERIAL:				
	Glass fibre reinforced gypsum board 12.5 mm thick. = 11.16 sqm				
	Add wastage @ 10% = 1.12 sqm			1	
	Total = 12.28 sqm			'	
8717	12.5 mm thick Glass fibre reinforced Gypsum board	sqm	12.28	181.49	2228.70
8720	Ceiling sections 0.55 mm thick having a knurled web				
	of 51.55 mm and two flanges of 26 mm each with lips				
	of 10.55 mm	metre	19.66	20.00	7.5
8721	Perimeter channel having one flange of 20 mm and	inche	19.00	38.00	747.0
	another flange of 30 mm with thickness of 0.55 mm				
	and web of length 27 mm				
8722	Nylon player & weeder are a 440	metre	9.60	23.00	220.8
8723	Nylon sleeves & wooden screws (40 mm)	each	42.00	2.60	109.2
9999	Counter sunk ribbed head screw 25 mm	100 Nos	176.00	76.00	133.7
7018	Jointing compound	L.S.	20.80	2.12	44.10
	Joint tape roll	roll	0.19	90.00	17.1
9999	Sundries i/c rawl plug, scaffolding etc.	L.S.	52.00	2.12	110.24
9999	Carriage of materials	L.S.	26.00	2.12	55.1:
	LABOUR:				33.1.
0111	Carpenter 1 st class	day	3.80	413.00	1560 4
0114	Beldar	day	4.60	306.00	1569.4
	TOTAL	,		500.00	1407.6
	Add Water Charges @ 1%				6643.09
	TOTAL				66.43
	Add GST 12% on "X" (multiplying factor 0.1405)				6709.5
	Total				942.69
	Add CPOH @ 15% on "Y"				7652.2
	Cost of 11.16 sqm				1147.83
	Cost of 1 sqm				8800.0
	labour cess @1%				788.53
	Rate including labour cess				7.89
		Say Rs.	796.40	Per sqm	796.42
9.134	Providing and fixing wire gauge shutters using			5. 5qm	
	stainless steel grade 304 wire gauge with wire				
	of dia 0.5 mm and average width of aperture 1.4				
	mm in both directions for doors, windows and				
	clerestory windows with necessary screws:				
	0 4 1	•			
	11th Edition_2022	(f)	(B)	α / Λ	

Code No	Description	Unit	Quantity	Rate ₹	Amount
9.134.1	35 mm thick shutters				
	with ISI marked M.S. pressed butt hinges bright				
0.404.4	finished of required size				
9.134.1.	Second class teak wood				
1.1	Details of cost for door shutters 2.00x1.08m = 2.16sqm				
	Details of cost for door structers 2.00x1.0011 - 2.165q111				
	MATERIAL:				
	Second Class Teak wood				
	Styles 4x200x9.5 x3.5cm = 0.0266cum+				
	Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum+				
	Lock and bottom rail				
	2x110.5xl9.7x3.5cm=0.0152 cum.+				
	Beadings (
	$(2\times312+2\times150)$ x (1.2) x (1.2) cm = 0.001 cum.				
	Total = 0.0464 cum.+				
	Add for wastage@ 10% = 0.005 cum.				
	Total = 0.0514 cum. Say 51.4 cudm				
1190	Second class teak wood in planks	10 cudm	51.40	791.00	4065.74
8737	Stainless steel wire guage (Grade-304) aperture	10 Caaiii	31.40	791.00	4003.74
0.07	1.4 mm and 0.50 mm dia wire		4.44	440.00	500.00
0595		sqm	1.41	413.00	582.33
0393	Bright finished or black enameled mild steel butt	913 723			
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				20,00
	20 mm	100 Nos	8.00	35.00	2.80
2204	Carriage of timber	cum	0.05	0.00	0.00
	LABOUR:	cum	0.05	0.00	0.00
0111	Carpenter 1 st class	-l	4.00	440.00	
0112	Carpenter 2nd class	day	1.30	413.00	536.90
0114	Beldar	day	0.90	369.00	332.10
0130	Mistry	day	1.05	306.00	321.30
9999	Sundries	day L.S.	0.11	306.00	32.13
0000	TOTAL	L.S.	33.80	2.12	71.66
	Add Water Charges @ 1%				6031.56
	TOTAL				60.32
	Add GST 12% on "X" (multiplying factor 0.1405)				6091.87 (X)
		-			855.91
	Total				6947.78 (Y)
	Add CPOH @ 15% on "Y" Cost of 2.16 sqm				1042.17
	<u>-</u>				7989.95
	- Cost of 1 sqm labour cess @1%				3699.05
	9				36.99
	Rate including labour cess			_	3736.04
0 12/1	Kilm account and about the first training	Say Rs.	3736.00	Per sqm	
	Kiln seasoned and chemically treated hollock woo	od			
1.2					
	Details of cost for door shutters 2.00x1.08m =				
	2.16sqm				
	MATERIAL:				
	Hollock wood.				
	Styles 4x200x9.5x3.5cm =0.0266cum+				
	Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum+			•	
	Lock and bottom rail				
	2x110.5xl9.7x3.5cm =				
(0.0152 cum.+	v			
DIL) & Br - 6 549 0/	Λ.	2		
1	549 9/	1	BCE)/SOR_11 th E	dition_2022
		<i>IY</i> \			

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Beadings				
	$(2\times312+2\times150)$ x(1.2)x(1.2)cm = 0.001 cum.				
	Total = 0.0464 cum.+				
	Add for wastage @ 10% = 0.005 cum.				
2505	Grand Total = 0.0514 cum. Say 51.4 cudm	10 cudm	51.40	402.00	2066.28
2204	Hollock wood in planks Carriage of timber	cum	0.05	187.35	9.55
2504	Kiln seasoning of timber	cum	0.05	772.00	39.37
9999	Chemical Treatment Wire gauge				
	2x160x40cm = 1.28 sqm.+				
	Add wastage @ 10% = 0.13 sqm.				
	Total= 1.41 sqm	L.S.	8.97	2.12	19.02
8737	Stainless steel wire guage (Gradb-304) aperture				
	1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
0595	Bright finished or black enameled mild steel butt				
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				
	20 mm	100 Nos	8.00	35.Q0	2.80
0111	Carpenter 1 st class	day	1.30	413.00	536.90
0112	Carpenter 2nd class	day	0.90	369.00	332.10
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32.13
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				4100.04
	Add Water Charges @ 1% TOTAL				41.00 4141.04 ()
	Add GST 12% on "X" (multiplying factor 0.1405)				581.82
	Total				4722.86 (
	Add CPOH @ 15% on "Y"				708.43
	Cost of 2.16 sqm				5431.28
	Cost of 1 sqm				2514.48
	labour cess @1%				25.14
	Rate including labour cess				2539.63
	· ·	Say Rs.	2539.60	Per sqm	
.134.1.	Kiln seasoned selected class of sheesham wood	F_			
1.3	,				
	Details of cost for door shutters				
	2.00 x 1.08 m = 2.16 sqm				
	MATERIAL:				
	Sheesham Wood				
	Styles 4 x 200 x 9.5 x 3.5 cm= 0.0266 cum+				
	Top Rail-1x110.5x9.5x3.5cm=0.0036cum+				
	Styles 4x200x9.5x3.5cm = 0.0266cum+				
	Top Rail - 1 x110.5x9.5x3.5cm = 0.0036cum+				

Lock and bottom rail 2 x110.5x19.7x3.5 cm = 0.0152 cum. + Beadings -(2x312+2x150) x(1.2)x(1.2) cm = 0.001 cumTotal = 0.0464 cum.+ add for wastage @ 10% = 0.005 cum.=0.0514 cum. say 51.4 cudm Kiln seasoned selected sheesham wood planks 10 cudm 51.40 650.00 3341.00 Carriage of timber 0.05 187.35 9.63 BCD/SOR_11th Edition_ 2022

1200

2204

Code No	Description	Ünit	Quantity	Rate ₹	Amount ₹
2504	Kiln seasoning of timber	cum	0.05	772.00	39.68
	Wire guage 2x160x40cm=1.28 sqm.+				
	Add wastage @ 10 % = 0.13 sqm				
	Total = 1,41 sgm				
8737	Stainless steel wire guage (Grade-304)				
	aperture 1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
0595	Bright finished or black enameled mild steel butt	•			
	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt				
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws				
0444	20 mm	100 Nos	8.00	35.00	2.80
0111	Carpenter 1 st class	day	1.30	413.00	536.90
0112 0114	Carpenter 2nd class Beldar	day day	0.90 1.05	369.00	332.10 321.30
0130	Mistry	day	0.11	306.00 306.00	32.13
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL		,		5356.13
	Add Water Charges @ 1%				53.56
	TOTAL				, 5409.69 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				760.06
	i Total				6169.75 (Y)
	Add CPOH @ 15% on "Y" Cost of 2.16 sqm				925.46 7095.21
	Cost of 1 sqm				3284.82
	labour cess @1%				32.85
	Rate including labour cess				3317.67
		Say Rs.	3317.70	Per sqm	
9.134. 1.2	With ISI marked stainless steel butt hinges of required size				
9.134.	Second class teak wood				
1.2.1	Second class teak wood				
1.2.1	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sgm				
	MATERIAL:				
	Second class teak wood				
	Styles 4 x 200 x 9.5 x 3.5 cm = 0.0266 cum+				
	Top Rail - 1x110.5x9.5x3.5cm =0.0036cum+				
	Lock and bottom rail	<u>.</u>			
	2 x 110.5x19.7x3.5 cm = 0.0152 cum. + '				
	Beadings - (2):212+21:450 y/(1-2)y/(1-2)				
	(2x312+2x 150) x(1.2)x(1.2)cm =0.001 cum Total = 0.0464 cum. +				
	add for wastage @ 10% = 0.005 cum.				
	=0.0514 cum. say 51.4 cudm				
1190	Second class teak wood in planks	10 cudm	51.40	791.00	4065.74
	Wire guage 2x160x40cm=1.28 sqm.+				,,,,,
	Add wastage @ 10 % = 0.13 sqm				
	Total = 1.41 sqm				
8737	Stainless steel wire guage (Grade-304) aperture				
	1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
8220	Stainless steel butt hinges (heavyweight) 100x60			710.00	302.33
	x2.5mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm IS:	20 10 20 0 T T T		2.0.00	100.00
210 (1985)	12817 marked	10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
DX	- \ 2 Br - 351 P	// -	a -		
7	2 551 9	W	- BC	U/SOR_11™	Edition_2022
		771			

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
2204	Carriage of timber	cum	0.05	187.35	9.55
	LABOUR	ou	0.00		
0111		4	1.20	413.00	536.90
0112	Carpenter 1 st class	day	1.30		332.10
	Carpenter 2nd class	day	0.90	369.00	
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32.13
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				6278.7
	Add Water Charges @ 1%				62.79
	TOTAL				6341.50
	Add GST 12% on "X" (multiplying factor 0.1405)				890.98
	! Total				7232.48
	Add CPOH @ 15% on "Y"				1084.87
	Cost of 2.16 sgm				8317.35
	Cost of 1 sqm				3850.63
	labour cess @1%				38.51
	Rate including labour cess		0000 40	_	3889.13
2442	0163	Say Rs.	3889.10	Per sqm	
34.1.2	.2 Kiln seasoned and chemically treated hollock wo	od			
	Details of cost for door shutters 2.00 x 1.08 m = 2.16				
	sqm .				
	MATERIAL:			:	
	Hollock wood				
	Styles 4 x 200 x 9.5 x 3.5 cm = 0.0266 cum+				
	Top Rail - 1x110.5x9.5x3.5cm = 0.0036 cum+				
	Lock and bottom rail				
	2 x 110.5x19.7x3.5 cm = 0.0152 cum.+				
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum				
	Total = 0.0464 cum. +				
	add for wastage @ 10% = 0.005 cum.				
2505	=0.0514 cum. say 51.4 cudm				
2505	Hollock wood in planks	10 cudm	51.40	402.00	2066.28
2504	Kiln seasoning of timber	cum	0.05	772.00	39.68
9999	Chemical treatment				
	Wire guage 2x160x40cm=1.28 sqm.+				
	Add wastage @ 10 % = 0.13 sqm				
	Total = 1.41 sgm		0.07	0.40	
8737		L.S.	8.97	2.12	19.02
0/3/	Stainless steel wire guage (Grade-304) aperture				
	1.4 mm and 0.50 mm dia wire	*sqm	1.41	413.00	582.33
8220	Stainless steel butt hinges (heavyweight)				
	00x60x2.5 mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm IS:		0,00	275.00	103.00
	12817 marked	40 N	0.00	V	
0211	Stainless steel screws 40 mm	10 Nos	2.00	150.00	30.00
8211		100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
2204	Carriage of timber	cum	0.05	187.35	9.63
	LABOUR:				5.50
0111	Carpenter 1 st class	day	1.30	413.00	E20.00
0112	Carpenter 2nd class	day	0.90	369.00	536.90
	Beldar	day	1.05		332.10
0114	Mistry	day		306.00	321.30
	•	5 To -	0.11	306.00	32.13
0114 0130	Sunones	L.S.	33.80	2.12 -	71.66
	Sundries				
0130	TOTAL				4338.02
0130	TOTAL Add Water Charges @ 1%			·	4338.02 43.38
0130	TOTAL Add Water Charges @ 1% TOTAL				43.38
0130	TOTAL Add Water Charges @ 1%				43.38 4381.40
0130 9999	TOTAL Add Water Charges @ 1% TOTAL	ß	(3r-	· ·	43.38

Code No	Description	Unit	Quantity	Rate ₹	Amount
	Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm Cost of 1 sqm labour cess @1% Rate including labour cess	Say Rs.	2687.00	Per sqm	4996.99 (Y 749.55 5746.54 2660.43 26.60 2687.04
9.134.	Kiln seasoned selected class of sheesham				
1.2.3	wood Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 200 x 9.5 x 3.5 cm = 0.0266 cum+; Top Rail - 1x110.5x9.5x3.5cm = 0.0036cum+; Lock and bottom rail				
4200	2 x 110.5x19.7x3.5 cm =0.0152 cum. Beadings - (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.0464 cum. + add for wastage @ 10% = 0.005 cum. =0.0514 cum. say 51.4 cudm				
1200 2504	Kiln seasoned selected sheesham wood planks Kiln seasoning of timber Wire guage 2x160x40cm=1.28 sqm.+Add wastage @ 10 % = 0.13 sqmTotal = 1.41 sqm	10 cudm cum	51.40 0.05	650.00 772.00	3341.00 39.68
8737	Stainless steel wire guage (Grade-304) aperture				
8220	1.4 mm and 0.50 mm dia wire Stainless steel butt hinges (heavyweight)	sqm	1.41	413.00	582.33
8218	100x60x2.5 mm IS : 12817 marked Stainless steel butt hinges 50x37x1.5 mm IS :	10 Nos	6.00	275.00	165.00
8211	12817 marked	10 Nos	2.00	150.00	30.00
8214	Stainless steel screws 40 mm Stainless steel screws 20 mm	100 Nos	48.00	250.00	120.00
2204	Carriage of timber LABOUR:	100 Nos cum	8.00 0.05	150.00 187.35	12.00 9.63
0111	Carpenter 1 st class	day	1.30	413.00	536.90
0112	Carpenter 2nd class	day	0.90	369.00	332.10
0114	Beldar	day	1.05	306.00	321.30
0130	Mistry	day	0.11	306.00	32.13
9999	Sundries TOTAL Add Water Charges @ 1%	L.S. 🚣	33.80	2.12	71.66 5593.73 55.94
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				5649.66 (X) 793.78
	Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm Cost of 1 sqm				6443.44 (Y) 966.52 7409.96 3430.54
	labour cess @1% Rate including labour cess				34.31 3464.84
0.124.2	20 mm thick chuttara	Say Rs.	3464.80	Per sqm	
9.134.2	30 mm thick shutters				
9.134.	with ISI marked M.S. pressed butt hinges bright				
	finished of required size				•
9.134. 2.1.1	Second class teak wood				
g x	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm 553	1	BCI	D/SOR_11 th	Edition_2022

A

3

000000000000000000

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:				
	Teak wood (2nd class)				
	Styles $4 \times 209 \times 9.5 \times 3 \text{ cm} = 0.023 \text{ cum} +$				
	Top Rail - $1x110.5x95x3$ cm = 0.003 cum+				
	Lock and bottom rail				
	$2 \times 110.5 \times 19.7 \times 3 \text{ cm} = 0.013 \text{ cum.} +$				
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm = 0.001 cum				
	Total = 0.040 cum. +				
	Add for wastage @ 10% = 0.004cum.				
	=0.44 cum. say 44 cudm				
1190	Second class teak wood in planks	10 cudm	44.00	791.00	3480.40
2204	Carriage of timber	cum	0.04	187.35	8.24
	Wire guage 2x160x40cm=1.28 sqm.+ ,				
	Add wastage@ 10 % = 0.13 sgm				
	Total = 1.41 sqm				
8737	Stainless steel wire guage (Grade-304) aperture				
0/3/	1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
0595	Bright finished or black enameled mild steel butt	Sqiii	1.71	413.00	302.33
0333	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt	10 1105	0.00	00.00	40.00
0001	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws	10 1105	2.00	45.00	9.00
0007	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws	100 1105	40.00	00.00	20.00
0040	20 mm	100 Nos	8.00	35.00	2.80
	LABOUR:	100 1105	8.00	33.00	2.00
0111	Carpenter 1 st class	day	1.20	413.00	405.60
0112	Carpenter 2nd class	day	0.80	369.00	495.60 295.20
0114	Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.Ś.	33.80	2.12	71.66
	TOTAL				5359.43
	Add Water Charges @ 1%				53.59
	TOTAL				5413.02 (
	Add GST 12% on "X" (multiplying factor 0.1405)				760.53
	Total				6173.55 (
	Add CPOH @ 15% on "Y" Cost of 2.16 sqm	2.			926.03
	Cost of 1 sqm	*			7099.59
	labour cess @1%				3286.85 32.87
	Rate including labour cess				3319.71
	•	Say Rs.	3319.70	Per sam	0013.71
9.134.2. 1.2	Kiln seasoned and chemically treated hollock wo	ood			
	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm				
	MATERIAL.				
	Hollock wood				
	Styles 4 x 209 x 9.5 x 3 cm =0.023 cum+				
	Top Rail - 1x110.5x9.5x3 cm = 0.003cum +				
	Lock and bottom rail				
	2 x 110.5x19.7x3 cm = 0.013 cum.+				•
	Beadings - (2×212+2×150) ×(1 2)×(1 2) cm =0.001				
	(2x312+2x 150) x(1.2)x(1.2) cm =0.001cum				
	Total = 0.040 cum. + Add for wastage @ 10%=0.004cum.				
	0 Y \				
	11 th Edition_2022 554 2	^		/ 1	_

Section	Code	Description	Unit	Quantity	Rate	Amount
2505 Holleck word in planks 10 cudm 44 00 402 00 1768 80 2204 2200 2309 2204 2204 2204 2200 2309 2204 2200 2309 2204 2200 2309 2200 2309 2	No	·	Unit	Quantity	₹	₹
2204 Carriage of timber cum 0.04 187.35 8.24 2564 Kiln seasoning of timber cum 0.04 772.00 33.97 2599 2 Klob-Vicini 1.2% on "X" (multiplying factor 0.1405) 2504 Kiln seasoned selected class of sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.03 cum 120 x 10	2525					.=== ==
2504 Kin seasoned of timber Cum 0.04 772.00 33.97						
2009 Chemical treatmentWire guage 216 (00-40ma) 21 23 sqm Add wisshape (00-10) 25 sqm 25 sqm Add wisshape (00-10) 25 sqm 25 sqm Add wisshape (00-10) 25 sqm 2						
2x160x40cm=1.28 sqn, ** Add washage (i) 10 %= 0.13 sqn Total = 1.41 sqn Total = 1.41 sqn Total = 1.41 sqn Stand (3.50 mm dia wire) 1.4 mm and 0.50 mm dia wire 1.4 mm and 0.50 mm dia wire 1.5 mm dia 0.5 mm dia wire 1.4 mm dia 0.5 0 mm dia wire 1.5 mm dia 0.5 mm dia wire			cum	0.04	772.00	33.97
Add wastage @ 10 % = 0.13 sgm Total = 1.41 sgm I stamless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire 0595 Singht finished or black enameled mild steel but hinges 100x58x1.90 mm 1.41 Singht finished or black enameled mild steel but hinges 100x58x1.90 mm 1.41 Singht finished or black enameled mild steel but hinges 100x58x1.90 mm 1.48 Singht finished or black enameled mild steel screws 1.40 mm 1.40	2000	5 - 5				
Total = 1.41 sgm						
Stamless steel wire guage (Grade-304) aperture sqm 1.41 413 00 582.33			1.5	8 97	2 12	19.02
1.4 mm and 0.50 mm did wire 0595 Bright finshed or black enameled mild steel butt hinges 100x58x1.90 mm 0597 Bright finshed or black enameled mild steel butt hinges 50x37x1.50 mm 0597 Bright finshed or black enameled mild steel screws 40 mm 0640 Bright finshed or black enameled mild steel screws 20 mm 100 Nos	8737		2.01	0.01	22	,
0955 Bright finished or black enameled mild steel butt hinges 100x85xt, 30 mm			sqm	1.41	413.00	582.33
Descript finished or black enameled mild steel but hinges 50x37x1.50 mm 10 Nos 2.00 49.00 9.80 9.80 10 Nos 2.00 49.00 9.80 10 Nos 2.00 28.80 28.80 20 Nos	0595	Bright finished or black enameled mild steel butt				
hinges 50x37x1.50 mm		hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.003 cum+ took and bottom rail 2 x 110.5x19 x5.3 m = 0.013 cum. + Add or wastage @ 10% = 0.004 cum. + Add or wastage @ 10% = 0.004 cum. + Add or wastage @ 10% = 0.004 cum. + Add wastage@ 10% = 0.004 c	0597	Bright finished or black enameled mild steel butte				
40 mm		hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.003 cum+	0637	Bright finished or black enameled mild steel screws				
20 mm LABOUR: Carpenter 1 st class O1112 Carpenter 1 st class O112 Carpenter 2nd class O114 Beldar O130 Mistry O130 Mistry O130 Mistry O140 Add Water Charges @ 1% O17AL Add Water Charges @ 1% O17AL Add GST 12% on "X" (multiplying factor 0.1405) TOTAL Add GST 12% on "X" (multiplying factor 0.1405) TOTAL Add CPOH @ 15% on "Y" Cost of 2.16 sqm Cost of 1 sqm labour cess @ 1% Rate including labour cess O140 ASY Rate Cost of 2.6 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rai - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1201 Kiln seasoned selected sheesham wood planks Total = 0.44 cum say 44 cudm 1201 Kiln seasoned selected sheesham wood planks Total = 1.41 sqm Total = 1.41 s		40 mm	100 Nos	48.00	60.00	28.80
LABOUR: 0111	0640	Bright finished or black enameled mild steel screws				
0111 Carpenter 1 st class day		20 mm	100 Nos	8.00	35.00	2.80
0112 Carpenter 2nd class day 0.80 369.00 295.20 20114 Beldar day 1.00 366.00 366.00 366.00 306.00 305.00 305.00 305.00 306.0		LABOUR:				
0114 Beldar 0130 Mistry 9999 Sundries 1 TOTAL Add Water Charges @ 1% 1 TOTAL Add GST 12% on "X" (multiplying factor 0.1405) 1 Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm			day	1.20	413.00	495.60
0130 Mistry 9999 Sundries TOTAL Add Water Charges @ 1% Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm LS. 33.80 2.12 71.66 370.81 37.01 37.37.82 (X) 525.16 Add CPOH @ 15% on "Y" Cost of 2.16 sqm Lsbour cess @ 1% Cost of 1 sqm labour cess @ 1% Rate including labour cess 9.134.2. Kiln seasoned selected class of sheesham wood 1.3 Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+ Top Rail - 1x110.5x9 5x3 c m= 0.003 cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum.+ Add for wastage @ 10% = 0.004cum. =0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoned selected sheesham wood planks 2505 Kiln seasoned selected sheesham wood planks 2506 Kiln seasoned selected sheesham wood planks 2507 Kiln seasoned selected sheesham wood planks 2508 Kiln seasoned selected sheesham wood planks 2509 Kiln seasoned selected sheesham wood planks			day	0.80	369.00	295.20
9999 Sundries L.S. 33.80 2.12 71.66 370.81 37.01 3737.82 (X) TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm Locat of 1 sqm Labour cess @ 1% Rate including labour cess 9.134.2. Kiln seasoned selected class of sheesham wood 1.3 Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003 cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x.312-2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum. 40d for wastage @ 10% = 0.004cum. =0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoned selected sheesham wood planks 10 cudm 14.00 650 00 2860.00 2504 Kiln seasoned selected sheesham wood planks 10 cudm 0.04 772.00 33.97 2204 Carrage of timber Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm Total = 1.41 sqm Total = 1.41 sqm Stannless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33				1.00	306.00	306.00
TOTAL 370.81 370.81 370.81 370.81 370.81 370.81 370.82 X 525.16 4262.99 X						
Add Water Charges @ 1%	9999	1	L.S.	33.80	2.12	
TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 2.16 sqm Cost of 1 sqm labour cess @1% Rate including labour cess 9.134.2. Kiln seasoned selected class of sheesham wood 1.3 Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.40 cum. + Add for wastage @ 10% = 0.004cum. =0 44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoneng of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33						
Add GST 12% on "X" (multiplying factor 0.1405) Total						
Add CPOH @ 15% on "Y" 639.45 4902.43 2269.65 22.70 2292.34 2269.65 22.70 2292.34 2292.		<u> </u>				
Add CPOH @ 15% on "Y" Cost of 2.16 sqm						
Cost of 2.16 sqm						, ,
Cost of 1 sqm labour cess @1% Rate including labour cess @1% Say Rs. 2292.30 Per sqm						
Say Rs. 2292.30 Per sqm		Cost of 1 sqm				
9.134.2. Kiln seasoned selected class of sheesham wood 1.3 Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoned selected sheesham wood planks 10 cudm 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire Sqm 1.41 413.00 582.33						22.70
9.134.2. Kiln seasoned selected class of sheesham wood 1.3 Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0 44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33		Rate including labour cess				2292.34
Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum. + Add for wastage @ 10% = 0.004cum. = 0.44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 Xiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 Bright finished or black enameled mild steel butt	0 13/1 2	Kilp seasoned selected class of characters was all	Say Rs.	2292.30	Per sqm	
Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm = 0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0 44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 Bright finished or black enameled mild steel butt		Mili seasoned selected class of sheeshall wood				
MATERIAL: Sheesham wood Styles 4 x 209 x 9.5 x 3 cm = 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0 44 cum say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 Bright finished or black enameled mild steel butt	1.0	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sam				
Sheesham wood Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+ Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. = 0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoned selected sheesham wood planks 2504 Carriage of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire 8738 Stainless steel wire black enameled mild steel butt						
Top Rail - 1x110.5x9 5x3 cm = 0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire 0595 Bright finished or black enameled mild steel butt						
Lock and bottom rail 2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm = 0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. = 0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt		Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+		-		
2 x 110.5x19.7x3 cm = 0.013 cum.+ Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt		Top Rail - 1x110.5x9 5x3 cm = 0.003cum+				
Beadings (2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm						
(2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoning of timber 2204 Carriage of timber 2204 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire Sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt		•		•,		
Total = 0 040 cum. + Add for wastage @ 10% = 0.004cum, =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 10 cudm						
Add for wastage @ 10% = 0.004cum. =0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoning of timber 2204 Carriage of timber 2204 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire 989 Bright finished or black enameled mild steel butt						
=0.44 cum. say 44 cudm 1200 Kiln seasoned selected sheesham wood planks 2504 Kiln seasoning of timber 2204 Carriage of timber 2204 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire 989 Seight finished or black enameled mild steel butt						
1200 Kiln seasoned selected sheesham wood planks 10 cudm 44.00 650 00 2860.00 2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 O595 Bright finished or black enameled mild steel butt						
2504 Kiln seasoning of timber cum 0.04 772.00 33.97 2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt	1200		10 cudm	44.00	650.00	2000 00
2204 Carriage of timber cum 0.04 187.35 8.24 Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt						
Wire guage 2x160x40cm=1.28 sqm.+ Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt		9			-	
Add wastage@ 10 % = 0.13 sqm Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt				3.01	107.50	0.24
Total = 1.41 sqm 8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt						
8737 Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt						•
1.4 mm and 0.50 mm dia wire sqm 1.41 413.00 582.33 0595 Bright finished or black enameled mild steel butt	8727					,
0595 Bright finished or black enameled mild steel butt	0/5/		care	4 34	140.00	2.00
0×1	0505		sqm	1.41	413.00	582.33
BCD/SOR_11th Edition_ 2022	0090		/ A	<i>a</i>		
W Edition 2022	H_ 1	555 Q	/	BCI	D/SOR 11th F	Edition 2022
	4		M	- 4.	-10	2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
110	hinges 100x58x1.90 mm	10 Nos	6.00	80.00	48.00
0597	Bright finished or black enameled mild steel butt	10			
	hinges 50x37x1.50 mm	10 Nos	2.00	49.00	9.80
0637	Bright finished or black enameled mild steel screws				
	40 mm	100 Nos	48.00	60.00	28.80
0640	Bright finished or black enameled mild steel screws			25.00	2.80
	20 mm	100 Nos	8.00	35.00	2.00
	LABOUR:	da.	1.20	413.00	495.60
0111	Carpenter 1 st class	day day	1.20 0.80	369.00	295.20
0112 0114	Carpenter 2nd class Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
	TOTAL				4773.00 47.73
	Add Water Charges @ 1% TOTAL				47.73 4820.73 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				677.31
	Total				5498.04 (Y)
	Add CPOH @ 15% on "Y"				824.71
	Cost of 2.16 sqm				6322.75
	Cost of 1 sqm				2927.20 29.27
	labour cess @1% Rate including labour cess				2956.47
	Rate including labour cess	Say Rs.	2956.50	Per sqm	2000.17
9.134.2.2	With ISI marked stainless steel butt hinges of	,			
471411-1-	required size				
9.134.2.2. 1	Second class teak wood				
1190 2204	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm MATERIAL: Teak wood (2nd class) Styles 4 x 209 x 9.5 x3 cm = 0.023 cum+ Top Rail - 1x110.5x9.5x3cm =0.003cum+ Lock and bottom rail 2 x 110.5x19.7x3cm =0.0152 cum. + Beadings - (2x312+2x 150) x(1.2)x(1.2) cm=0.001 cum Total = 0.040 cum. + Add for wastage @ 10% = 0.004 cum. =0.044 cum. say 44 cudm Second class leak wood in planks Carriage of timber Wire guage 2x160x40cm=1.28 sqm.+ Add wastage @ 10 % = 0.13 sqm Total = 1.41 sqm	10 cudm cum	44.00 0.04	791.00 187.35	3480.40 8.24
8737	Stainless steel wire guage (Grade-304) aperture 1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
8220	Stainless steel butt hinges (heavyweight) 100x60x2.5 mm IS: 12817 marked	40 1/	0.00		
8218	Stainless steel butt hinges 50x37x1.5 mm IS:	10 Nos	6.00	275.00	165.00
	12817 marked	10 Nos	2.00	150.00	30.00
8211	Stainless steel screws 40 mm Stainless steel screws 20 mm	100 Nos	48.00	250.00	120.00
8214	LABOUR:	100 Nos	8.00	150.00	- 12.00
0414	Carpenter 1 st class	day	1.20	440.00	100 00
0111 0112	Carpenter 1 st class Carpenter 2nd class	day	0.80	413.00 369.00	495.60 295.20
0112	Beldar	day	1.00	306.00	295.20 306.00
	1th Edition_2022	0.	Came	0/1	- 3
BCD/SOR_1	1th Edition_2022 \$\frac{1}{2} \tag{556}	17	. 6	Y W	

Code No	Description	Unit	Quantity	Rate ₹	Amount
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
	TC	OTAL			5597.03
	Add Water Charges @	0 1%			55.97
	TC	TAL			5653.00 (2
	Add GST 12% on "X" (multiplying factor 0.1	1405)			794.25
		Total			6447.25 (`
	Add CPOH @ 15% o				967.09
	Cost of 2.16				7414.33
	Cost of 1	•			3432.56
	labour cess (•			34.33 3466.89
	Rate including labour ce		3466.90	Por cam	3400.09
9.134.2. 2.2	Kiln seasoned and chemically treated hollo	Say Rs. ck wood	3400.90	Persqm	
	Details of cost for door shutters 2.00 x 1.08 m = 2.16 MATERIAL:	sqm			
	Hollock woodStyles				
	$4 \times 209 \times 9.5 \times 3.5 \text{ cm} =$				
	0.023 cum+				
	Top Rail - 1x110.5x9.5x3 cm = 0.003cum+				
	Lock and bottom rail				
	2 x 110.5x19.7x3 cm = 0.013 cum.+				
	Beadings -				;
	(2x312+2x 150) x(1.2)x(1.2) cm =0.001 cum Total = 0.040 cum, +				
	Add for wastage @ 10% = 0.004 cum.				
2505	=0.044 cum.say 44 cudm Hollock wood in planks	10 000	44.00	400.00	4700.00
2504	Kiln seasoning of timber	10 cudm cum	44.00	402.00	1768.80
9999	Chemical treatment	L.S.	0.04 8.97	772.00 2.12	33.97
2204	Carriage of timber	cum	0.04	187.35	19.02 8.24
	Wire guage 2x160x40cm=1.28 sqm.+	Cum	0.04	107.33	0.24
	Add wastage @ 10 % = 0.13 sqm				
0707	Total = 1.41 sqm				
8737	Stainless steel wire guage (Grade-304) aperture				
	1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
8220	Stainless steel butt hinges (heavyweight)				
	100x60x2.5 mm IS: 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm IS:				
	12817 marked	10 Nos	2,00	150.00	30.00
8211	Stainless steel screws 40 mm	100 Nos	48.00	250.00	120.00
8214	Stainless steel screws 20 mm	100 Nos	8.00	150.00	12.00
	LABOUR;				
0111	Carpenter 1 st class	day	1.20	413.00	495.60
0112	Carpenter 2nd class	day	0.80	369.00	295.20
0114	Beldar	day	1.00	306.00	306.00
0130	Mistry	day	0.10	306.00	30.60
9999	Sundries	L.S.	33.80	2.12	71.66
		TAL			3938.41
	Add Water Charges @				39.38
		TAL			3977.80 (
	Add GST 12% on "X" (multiplying factor 0.1				558.88
		Total			4536.68 (
	Add CPOH @ 15% o				680.50
	Cost of 2.16	•			5217.18
	Cost of 1				2415.36
	labour cess (24.15
	Rate including labour ce				2439.51
		Say Rs.	2439,50	Per sqm	

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.134.2.	Kiln seasoned selected class of sheesham wood				
2.3	Tim seasoned selected class of shoosham wood				
	Details of cost for door shutters 2.00 x 1.08 m = 2.16 sqm				
	MATERIAL:				
	Sheesham wood				
	Styles 4 x 209 x 9.5 x 3 cm= 0.023 cum+				
	Top Rail - 1x110 5x9 5x3 cm = 0.003cum+ Lock and bottom rail				
	2 x 110.5x19.7x3 cm =0.013 cum.+				
	Beadings -				
	(2x312+2x 150) x(1.2)x(1.2) cm = 0.001 cum				
	Total = 0.040 cum.+				
	Add for wastage @ 10% = 0.004cum.				
1200	=0.044 cum. say 44 cudm Kiln seasoned selected sheesham wood planks	10 cudm	44.00	650.00	2860.00
2504	Kiln seasoning of timber	cum	0.04	772.00	33.97
2204	Carriage of timber	cum	0.04	187.35	8.24
	Wire guage 2x160x40cm=1.28 sqm.+				
	Add wastago @ 10 % = 0.13 sqm				
	Total = 1.41 sqm				
8737	Stainless steel wire guage (Grade-304) aperture				
	1.4 mm and 0.50 mm dia wire	sqm	1.41	413.00	582.33
8220	Stainless steel butt hinges (heavyweight)				'
0040	100x60x2.5 mm IS : 12817 marked	10 Nos	6.00	275.00	165.00
8218	Stainless steel butt hinges 50x37x1.5 mm IS:	40.11-	0.00	150.00	
8211	Stainless steel screws 40 mm	10 Nos 100 Nos	2.00	150.00	30.00
8214	Stainless steel screws 20 mm	100 Nos	48.00 8.00	250.00 150.00	120.00 12.00
	LABOUR:	100 1103	0.00	130.00	12.00
0111	Carpenter 1 st class	day	1.20	413.00	495.60
0112	Carpenter 2nd class	day	0.80	369.00	295.20
0114	Beldar	day	1.00	306.00	306.00
0130 9999	Mistry Sundries	day	0.10	306.00	30.60
3333	TOTAL	L.S.	33.80	2.12	71.66
	Add Water Charges @ 1%				5010.60 50.11
	TOTAL				5060.70 (
	Add GST 12% on "X" (multiplying factor 0.1405)				711.03
	Total				5771.73 (
	Add CPOH @ 15% on "Y" Cost of 2.16 sqm		ė-		865.76
	Cost of 1 sqm				6637.49
	labour cess @1%				3072.91 30.73
	Rate including labour cess				3103.64
9.135	Providing and fixing fly proof stainless at all	Say Rs.	3103.60	Per sqm	
5.155	Providing and fixing fly proof stainless steel	grade 304	wire gaug	ge, to wir	idows and
	clerestory windows using wire gauge with available directions with wire of dia 0.50 mm all complete.	erage wid	th of apert	ure 1.4 m	m in both
9.135.1	With 2nd class teak wood beading 62X19 mm Details of cost for a window of size 140x110cm=1.54sqm. MATERIAL:				
	Wire gauge - 20x60mm mesh 3.2mmwith = 1.4x1.1m = 1.54sqm.+ Add wastage @ 10% = 0.15sqm.				
8737	Total=1 69 sqm Stainless steel wire guage (Grade-304) aperture				
	1.4 mm and 0.50 mm dia wire	sqm	1.69	413.00	697.97
	_11th Edition_2022	_	(Born	1	- 41 147

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Carriage of wire gauge	L.S.	1.82	2.12	3.86
	Second class teak wood beading				
	5mx62mmx19mm=0.0059 cum+				
	Add wastage @ 10% = 0.00059 cudm.				
1100	Total=0.00649 cum. Say 6 cudm				
1190 2204	Second class teak wood in planks	10 cudm	6.00	791.00	474.60
2204	Carriage of timber LABOUR:	cum	0.01	187.35	1.12
0112	Carpenter 2nd class				
0112	Beldar	day	0.33	369.00	121.77
9999	Sundries	day L.S.	0.25 19.76	306.00	76.50
	TOTAL	L.S.	19.76	2.12	41.89 1417.71
	Add Water Charges @ 1%				14.18
	TOTAL				1431.89 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)				201.18
	Total				1633.07 (Y)
	Add CPOH @ 15% on "Y"				244.96
	Cost of 1.54 sqm				1878.03
	Cost of 1 sqm				1219.50
	labour cess @1%				12.20
	Rate including labour cess	C D-	4004.70	_	1231.70
9.135.2	With 12 mm mild steel U beading	Say Rs.	1231.70	Per sqm	
	Details of cost for a window of size				
	140x110cm = 1.54sqm.				
	MATERIAL:				
	Wire gauge - 20x60mm mesh 3.2mmwith =				
	1.4x1.1m = 1.54sqm.+				
	Add wastage @ 10% = 0.15sqm.				
0707	Total=1.69 sqm				
8737	Stainless steel wire guage (Grade-304)				
9999	aperture 1.4 mm and 0.50 mm dia wire	sqm	1.69	413.00	697.97
7349	Carriage of wire gauge 12 mm M.S. 'U' beading	L.S.	1.82	2.12	3.86
1043	LABOUR:	metre	5.00	14.00	70.00
0112	Carpenter 2nd class				
0114	Beldar	day	0.33	369.00	121.77
9999	Sundries	day	0.25	306.00	76.50
	TOTAL	L.S.	19.76	2.12	41.89
	Add Water Charges @ 1%		-		1011.99
	TOTAL				10.12
	Add GST 12% on "X" (multiplying factor 0.1405)				1022.11 (X)
	Total				143.61 1165.72 (Y)
	Add CPOH @ 15% on "Y"				174.86
	Cost of 1.54 sqm				1340.57
	Cost of 1 sqm				870.50
	labour cess @1%				8.71
	Rate including labour cess				879.21
0.426	Description and finite of the state of the s	Say Rs.	879.20	Per sqm	

9.136 Providing and fixing fire resistant door frame of section 143 x 57 mm having built in rebate made out of 16 SWG G.l.sheet (zinc coating not less than 120 gm/sqm) duly filled with vermuculite based concrete mix, suitable for mounting 60 minutes fire rated door shutters. The frame is fitted with intumuscent fire seal strip of size 10x4 mm (minimum) alround the frame and fixing with dash fastener of approved size and make, including applying a coat of approved brand fire resistant primer etc. complete as per direction of Engineer-incharge (Dash fastener to be paid for separately).

BCD/SOR_11th Edition_2022

charge (Dash fastener to be paid for separately).

https://civil.amitkumarsachin.com

	Description	Unit	Quantity	Rate ₹	Amount ₹
	Details of cost for 3300/2750mm Door (9.10 metre length)				
	MATERIAL:				
8738	Factory made door frame fire rated (60 minutes)				
	made with 16 SWG G.I. Sheet of section 143 mm				
	x 57 mm duly filled with vermuculite based				
	concrete mix	metre	9.10	1062.00	9664.20
202020	Labour	L.S.	130.00	2.12	275.60
9999	Sundries and carriage	L.S.	4.23	2.12	8.97 9948.77
	TOT, Add Water Charges @ 1				99.49
	Add Water Charges @ 1				10048.26 (
	Add GST 12% on "X" (multiplying factor 0.140				1411.78
		otal			11460.04 (
	Add CPOH @ 15% on				1719.01
	Cost of 9.1 me				13179.04
	Cost of 1 me				1448.25
	labour cess @				14.48 1462.73
	Rate including labour ces	s Sav R:	s. 1462.70	Per metre	1402.73
9.137	Providing and fixing 50 mm thick glazed fir				ninutes fire
	rating conforming to IS:3614 (Part-II), tested	and certifie	d as nor lak	oratory a	aproved by
	Engineer-in-charge, with suitable mounting	on door fra	u as per iai	nor of worth	ical styles
	lock rail, top rail 100 mm wide, bottom rail 2	011 10001 110	ne, consisti	ing of vert	icai styles,
	/-inc and increase the stop of	too mm wide	, made out	or 16 SWC	G.I. sneet
	(zinc coating not less than 120 gm/ m2) duly	y filled FR ir	isulation ma	terial and	fixing with
	necessary stainless steel ball bearing hinges	of approved	d make, incli	iding appl	ying a coat
	of approved fire resistant primer etc. all co	mniete as ne	er direction	of Engine	ar-incharge
		inpicte as pe	or an conon	o. Liigine	er-incharge
	(panneling to be paid for separately).	inpiete as pi	or uncotton	or Engine	er-incharge
	(panneling to be paid for separately).		or uncoulon	or Engine	er-incharge
	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL:			or Engine	er-menarge
8739	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm			or Engine	er-menarge
8739	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mr MATERIAL:	n)			
8739 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mr MATERIAL: Fire rated door shuttere made with 16 SWG		3.50	4702 00	16457.00
	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mr MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel	m) sqm		4702.00 2.12	16457.00 381.60
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage	n) sqm L.S. L.S.	3.50 180.00	4702 00	16457.00
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO- Add Water Charges @	n) sqm L.S. L.S. TAL 1%	3.50 180.00	4702.00 2.12	16457.00 381.60 21.20
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @	m) sqm L.S. L.S. TAL 1% TAL	3.50 180.00	4702.00 2.12	16457.00 381.60 21.20 16859.80
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TOO Add Water Charges @ TOO Add GST 12% on "X" (multiplying factor 0.14	sqm L.S. L.S. TAL 1% TAL 405)	3.50 180.00 10.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14	sqm L.S. L.S. TAL 1% TAL 405)	3.50 180.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14	sqm L.S. L.S. TAL 1% TAL 405) Total	3.50 180.00 10.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14 T Add CPOH @ 15% on Cost of 3.5	sqm L.S. L.S. TAL 1% TAL 405) otal o"Y"	3.50 180.00 10.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14 Add CPOH @ 15% on Cost of 3.5 Cost of 1:	sqm L.S. L.S. TAL 1% TAL 405) Total 1 "Y" sqm sqm	3.50 180.00 10.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14 T Add CPOH @ 15% on Cost of 3.5	sqm L.S. L.S. TAL 1% TAL 405) Total 0 "Y" sqm sqm	3.50 180.00 10.00	4702.00 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add GST 12% on "X" (multiplying factor 0.14 Add CPOH @ 15% on Cost of 3.5 cost of 1.5 labour cess @ Rate including labour cess	m) sqm L.S. L.S. TAL 1% TAL 405) Total 0 "Y" sqm sqm 01% ss	3.50 180.00 10.00	4702.00 2.12 2.12	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96
9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add GST 12% on "X" (multiplying factor 0.14 Add CPOH @ 15% on Cost of 3.5: Cost of 1: labour cess @ Rate including labour cess for the cost of 1.5	sqm L.S. L.S. TAL 1% TAL 405) Total 1"7" sqm sqm 21% ss Say F	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add GST 12% on "X" (multiplying factor 0.14 Add CPOH @ 15% on Cost of 3.5: Cost of 1: labour cess @ Rate including labour cess Providing and fixing glazing in fire resistar partitions etc., with G.I. beading of appropri	sqm L.S. L.S. TAL 1% TAL 405) Total 1"Y" sqm sqm 201% ss Say F nt door shutt	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add CPOH @ 15% on Cost of 3.5% Cost of 1.8 labour cess @ Rate including labour cest Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropricoating not less than 120 gm/m2), fire re	sqm L.S. L.S. TAL 1% TAL 405) Total 0 "Y" sqm sqm 201% ss Say F nt door shutt	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add CPOH @ 15% on Cost of 3.5 c Cost of 1: labour cess @ Rate including labour ce: Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropri coating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be	sqm L.S. L.S. TAL 1% TAL 405) Total 0 "Y" sqm sqm 201% ss Say F nt door shutt	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add GST 12% on "X" (multiplying factor 0.14 Add CPOH @ 15% on Cost of 3.5: Cost of 1: labour cess @ Rate including labour cess Providing and fixing glazing in fire resistar partitions etc., with G.I. beading of appropri	sqm L.S. L.S. TAL 1% TAL 405) Total 0 "Y" sqm sqm 201% ss Say F nt door shutt	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999 9.138	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add CPOH @ 15% on Cost of 3.5: Cost of 1: labour cess @ Rate including labour ces Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropricoating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge.	sqm L.S. L.S. TAL 1% TAL 405) Total 7"Y" sqm sqm 201% ss Say F nt door shutt iate size, ma sistant seala ading etc.,	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add CPOH @ 15% on Cost of 3.5% Cost of 1.8 labour cess @ Rate including labour cess @ Rate including labour cess @ Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropricoating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge.	sqm L.S. L.S. TAL 1% TAL 405) Total 7"Y" sqm sqm 201% ss Say F nt door shutt iate size, ma sistant seala ading etc.,	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999 9.138	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add CPOH @ 15% on Cost of 3.5 c Cost of 1: labour cess @ Rate including labour ces Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropri coating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge. With clear fire resistant glass panes 6 mm the of approved brand, having minimum 60 minutes.	sqm L.S. L.S. TAL 1% TAL 405) Total 7"Y" sqm sqm 201% ss Say F nt door shutt iate size, ma sistant seala ading etc.,	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999 9.138	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add CPOH @ 15% on Cost of 1: labour cess @ Rate including labour ce: Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropri coating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge. With clear fire resistant glass panes 6 mm the of approved brand, having minimum 60 minuting fire resistance	sqm L.S. L.S. TAL 1% TAL 405) Total 7"Y" sqm sqm 201% ss Say F nt door shutt iate size, ma sistant seala ading etc.,	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999 9.138	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO' Add Water Charges @ TO' Add CPOH @ 15% on Cost of 3.5 c Cost of 1: labour cess @ Rate including labour ce: Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropri coating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge. With clear fire resistant glass panes 6 mm the of approved brand, having minimum 60 minuting resistance Details of cost for 6.36 sqm (Door size)	sqm L.S. L.S. TAL 1% TAL 405) Total 7"Y" sqm sqm 201% ss Say F nt door shutt iate size, ma sistant seala ading etc.,	3.50 180.00 10.00	4702.00 2.12 2.12 Per sqm anels, ven	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc
9999 9999 9.138	(panneling to be paid for separately). Details of cost for 3.50 sqm (Door size-1710x2050 mm MATERIAL: Fire rated door shuttere made with 16 SWG G.I. sheet (60 minutes) without panel Labour Sundries and carriage TO Add Water Charges @ TO Add CPOH @ 15% on Cost of 1: labour cess @ Rate including labour ce: Providing and fixing glazing in fire resistar partitions etc.,with G.I. beading of appropri coating not less than 120 gm/m2), fire re approved fire resistant primer on G.I. be Engineer-in-charge. With clear fire resistant glass panes 6 mm the of approved brand, having minimum 60 minuting fire resistance	sqm L.S. L.S. TAL 1% TAL 405) Total 1"Y" sqm 21% ss Say Fort door shuttite size, maistant seala ading etc., whick	3.50 180.00 10.00 ers, fixed pade out of 20 ant, including	4702.00 2.12 2.12 Per sqm anels, ven SWG G.I. g applying as per o	16457.00 381.60 21.20 16859.80 168.60 17028.40 2392.49 19420.89 2913.13 22334.02 6381.15 63.81 6444.96 tilators and sheet (zinc

No	Description		Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:			J	· · · · · · · · · · · · · · · · · · ·	
	Glazing area-2x0.70x2.05=2.87 m2					
	1x1.70x0.60=1.02 m2					
	2x0.69x1.79=2.47 m2					
	Total =6 36 m2					
8741	Clear fire resistant glass panes 6mm thick					
	(60 minutes)		sqm	6.36	21500.00	136740.00
	G.I.'U' beading-2x2x0.70=2.80 m	٠				
	2x2x2.05=8.20 m					
	2x1x1.70=3.40 m					
	2x1x0.60=1.20 m					
	2x2x0.69 =2.76 m					
	2x2x1.79=7.16 m					
	Total=25.52 m	!				
8742	G.I. U beading of 16 SWG G.I. sheet					
	(zinc coating >120gm/m2) with ceramic tape of					
	suitable thickness and fire					
	resistant primer coating		metre	25.52	303.00	7720 50
8740	Fire seal Putty	ì	kg	3.00	303.00	7732.56
8743	Matrix Mineral Board		metre	76.56	70.00	912.00
	3x25.52m=76.56 meter		mene	70.50	70.00	5359.20
9999	Labour	1	1.0	100.00	2.42	224.00
9999	Sundries and carriage	į	L.S. L.S.	180.00 10.00	2.12 2.12	381.60
	-	OTAL	L.J.	10.00	2.12	21.20
	Add Water Charges	2 882 1-				151146.56 1511.47
		OTAL				152658.03 (
	Add GST 12% on "X" (multiplying factor 0					21448.45
	(Total				174106.48 (
	Add CPOH @ 15%	on "Y"				26115.97
	Cost of 6.3					200222.45
	Cost of	1				31481.52
	903101	ı sqm				
	labour cess	@1%				314.82
		@1%				
	labour cess Rate including labour o	@1% :ess		31796.30		314.82 31796.33
9.139	labour cess Rate including labour of Providing and fixing panic bar / latch (Dou	@1% ess ble poin	t) fitted	with a singl	e body, Tr	314.82 31796.33 im Latch &
9.139	labour cess Rate including labour of Providing and fixing panic bar / latch (Dou	@1% ess ble poin	t) fitted	with a singl	e body, Tr	314.82 31796.33 im Latch &
9.139	labour cess Rate including labour o	@1% ess ble poin	t) fitted	with a sing manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch &
9.139	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of rep	@1% ess ble poin	t) fitted	with a sing manufactu	e body, Tr	314.82 31796.33 im Latch &
9.139	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each	@1% ess ble poin	t) fitted	with a sing manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch &
	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL:	@1% ess ble poin	t) fitted	with a sing manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch &
9.139 8744	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point)	@1% ess ble poin	t) fitted	with a sing manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch &
	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing	@1% ess ble poin	nt) fitted rand and	with a singl manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch & oproved by
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class	@1% ess ble poin	nt) fitted rand and	with a singl manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch & oproved by
8744	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing	@1% ess ble poin	nt) fitted rand and	with a single manufactu	e body, Tr re to be ap	314.82 31796.33 im Latch & oproved by 5200.00 70.21
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage)	@1% cess ble poin outed bi	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage)	@1% cess ble poin outed bi	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage)	@1% cess ble poin buted bi OTAL @ 1% OTAL	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage)	@1% cess ble poin outed bi OTAL @ 1% OTAL 1405)	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (Add Water Charges (Add GST 12% on "X" (multiplying factor 0.5)	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (Add Water Charges (Add GST 12% on "X" (multiplying factor 0.0) Add CPOH @ 15% (Add CPOH @ 15%	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total on "Y"	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (748.96
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (Add Water Charges (Add GST 12% on "X" (multiplying factor 0.00) Add CPOH @ 15% (Cost of Cost o	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total on "Y" f each	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (748.96 6079.67 (
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (T Add GST 12% on "X" (multiplying factor 0.) Add CPOH @ 15% (Cost of labour cess)	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total on "Y" f each @1%	each	with a single manufactu 1.00 0.17	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (748.96 6079.67 (911.95
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (Add Water Charges (Add GST 12% on "X" (multiplying factor 0.00) Add CPOH @ 15% (Cost of Cost o	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total on "Y" f each @1%	each day L.S.	nanufactu 1.00 0.17 3.64	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (748.96 6079.67 (911.95 6991.62
8744 0111	Providing and fixing panic bar / latch (Dou Lock on backside of the Panic Latch of repthe Engineer- in- charge, all complete. Details of cost for each MATERIAL: Panic Bar / latch (Double point) Labour for fixing Carpenter 1 st class Sundries (screws and carriage) T Add Water Charges (T Add GST 12% on "X" (multiplying factor 0.) Add CPOH @ 15% (Cost of labour cess)	@1% cess ble poin buted bi OTAL @ 1% OTAL 1405) Total on "Y" f each @1%	each	nanufactu 1.00 0.17 3.64	e body, Tr re to be ap 5200.00 413.00	314.82 31796.33 im Latch & oproved by 5200.00 70.21 7.72 5277.93 52.78 5330.71 (748.96 6079.67 (911.95 6991.62 69.92

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
No				· ·	
9.140	Providing and fixing plain lining with necessary	screws/nu	ts & poits/i	ork comp	lete as per
	of approved primer on one face, and fixed on w	ooden /st	eer frame v	MA	icte do po.
	direction of Engineer-incharge (Frame work sha	i be paid t	or separate	ıy <i>).</i>	
	12 mm thick commercial ply conforming to IS:				
9.140.1	1328 BWR type				
	Details of cost for 10 sgm				
	MATERIAL:				
2413	12 mm commercial ply	sqm	11.00	510.00	5610.00
	Priming coat				
13.81.1	Rate as per Item Number 13.81.1 of SH: Finishing	sqm	10.00	39.70	397.00 A
9999	Sundries and screws etc.	L.S.	40.10	2.12	85.01
0450	LABOUR:	4 - 1	1.00	260.00	472.32
0156	Carpenter (average)	day	1.28 1.43	369.00 306.00	437.58
0114 9999	Beldar (Sundries and carriage	day L.S.	33.56	2.12	71.15
5555	TOTAL	L.S.	33.30	2.12	7073.06
	Add Water Charges @ 1% except on A i.e on				
	(7073.0592 - 397=)				66.76
	TOTAL				7139.82 (
	Add GST 12% on "X" except on A (multiplying factor				
	0.1405)				947.37
	Total				8087.19 (
	Add CPOH @ 15% on "Y" except on A i.e on				4450.50
	(8087.185972776 - 3\$7=)				1153.53
	Cost of 10 sqm Cost of 1 sqm				9240.71 924.07
					324.07
					9 24
	labour cess @1%				9.24 933.31
9.141		C profile,	vith a wall with mitre	d cut joints	933.31 of 5 mm (± s and joint
9.141	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the ve 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame	with a wall with mitre arms of cr r profiles to providing mm PVC to to be fixed	thickness of cut joints to section to be reinforced rubbins and to the w	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8
9.141	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the ve 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame	with a wall with mitre arms of cr r profiles to providing mm PVC to to be fixed	thickness of cut joints to section to be reinforced rubbins and to the w	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8
9.141	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the ve 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame	with a wall with mitre arms of cr r profiles to providing mm PVC to to be fixed	thickness of cut joints to section to be reinforced rubbins and to the w	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8
9.141	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture	thickness of cut joints coss sections to be reinfo EPDM rubb frame strip to to the w r's specific	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8
	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture	thickness of cut joints to section to be reinforced rubbins and to the w	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8
	Providing and fixing PVC Door Frame of size 50.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100.15 mm & self driven self taping screws, the vertical 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer-in-charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR:	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture	thickness of cut joints coss sections to be reinfo EPDM rubb frame strip to to the w r's specific	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and
8014 0156	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average)	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the wr's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and
8014 0156 0114	Providing and fixing PVC Door Frame of size 50.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100.15 mm & self driven self taping screws, the vertical 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and
8014 0156	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the very 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the wr's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the very 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619 65
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the very 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1%	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the very 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619 65 16.20 1635.84 (
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws,the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20 1635.84 (229.84
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20 1635.84 (229.84 1865.68 (
8014 0156 0114	Rate including labour cess Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20 1635.84 (229.84
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00 0.15 0.15	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20 1635.84 (229.84 1865.68 (279.85
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1%	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00 0.15 0.15	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619.65 16.20 1635.84 (229.84 1865.68 (279.85 2145.53
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre	metre day day L.S.	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00 0.15 0.15 11.65	thickness of cut joints oss sections be reinforced from strip of to the wr's specific 298.74 369.00 306.00 2.12	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 55.35 45.90 24.70 1619 65 16 20 1635.84 (229.84 1865.68 (279.85 2145.53 429.11
8014 0156 0114	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1%	0x47 mm v C profile, 0 mm long ertical doo including jointing 5 door frame as per m metre day day	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00 0.15 0.15 11.65	thickness of cut joints oss sections be reinforced from strip of to the war's specific 298.74	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 155.35 45.90 24.70 1619 65 16.20 1635.84 (229.84 1865.68 (279.85 2145.53 429.11 4 29
8014 0156 0114 9999	Providing and fixing PVC Door Frame of size 50 0.2 mm), made out of single piece extruded PV with 2 nos of PVC bracket of size 190 mm x 100 15 mm & self driven self taping screws, the version 40x20 mm M.S. rectangular tube of 0.8 mm, weather seal throughout the frame, including solvent cement on the back of the profile. The x100 mm long anchor fasteners complete, all direction of Engineer -in- charge. Details of cost for one door frame of 5 metre MATERIAL: Factory made door frame of size 50x47 mm with wall thickness 5 mm made of single piece extruded profile LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1%	metre day day L.S.	with a wall with mitre arms of cr r profiles to providing mm PVC to be fixed anufacture 5.00 0.15 0.15 11.65	thickness of cut joints oss sections be reinforced from strip of to the wr's specific 298.74 369.00 306.00 2.12	933.31 of 5 mm (± s and joint n size 35 x orced with ber gasket with PVC all using 8 cation and 1493.70 155.35 45.90 24.70 1619 65 16.20 1635.84 (229.84 1865.68 (279.85 2145.53 429.11 4 29

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.142	35 mm thick factory made Solid panel PVC Door shut	ter, made ou	it of single p	iece extrud	ed soild PVC

35 mm thick factory made Solid panel PVC Door shutter, made out of single piece extruded soild PVC profiles, 5 mm (± 0.2 mm) thick, having styles & rails (except lock rail) of size 95 mmx 35 mm x 5 mm,out of which 75 mm shall be flat and 20 mm shall be tapered (on both side), having one side thickness of 15 mm integrally extruded on the hinge side of the profile for better screw holding power, including reinforcing with MS tube of size 40 mm X 20 mm x 1 mm, joints of styles & rails to be mitered cut & joint with the help of PVC solvent cement, self driven self tapping screws & M.S. rectangular pipes bracket of size 190 mm X 100 mm of cross section size 35 mm x 17 mm x 1 mm at each corner. Single piece extruded 5mm thick solid PVC Lock rail of size 115 mm x 35 mm x 35 mm, out of which 95 mm to be flat and 20 mm to be tapered at both ends, having 15 mm solid core in middle of rail section integrally extruded, fixing the styles & rails with the help of solvent and self driven self tapping screws of 125 mm x 11 mm, including providing 5 mm Single piece solid PVC extruded sheet inserted in the door as panel, all complete as per manufacturer's specification and direction of Engineer-in-charge.

		<u>{</u>			
9.142.1	Non decorative finish (matt finish)				
	Details of cost for one shutter 2.20x1.08m				
	=2.38 sqm				
	MATERIAL:	1			
8735	35 mm thick factory made solid panel PVC door	į			
	shutter of single piece extruded profile non decorative				
	finished (Matt finished)	.sqm	2.38	2295.00	E462.40
8100	Powder coated M.S. butt hinges 100 mm X58 mm	i	2.00	2293.00	5462.10
	X 1.9 mm	10 Nos	4.00	120.00	50.00
0637	Bright finished or black enameled mild steel screws	10 1105	4.00	130.00	52.00
	40 mm	100 N	40.00	22.22	
0640	Bright finished or black enameled mild steel screws	100 Nos	48.00	60.00	28.80
	20 mm	4700 14			
	LABOUR:	100 Nos	8.00	35.00	2.80
0156					
0114	Carpenter (average) Beldar	day	0.40	369.00	147.60
9999	Sundries	day	0.40	306.00	122.40
5555		L.S.	30.35	2.12	64.34
	TOTAL Add Water Charges @ 1%				5880.04
	TOTAL				58.80
	Add GST 12% on "X" (multiplying factor 0.1405)				5938.84 (X)
	Total				834.41
	Add CPOH @ 15% on "Y"			**	6773.25 (Y)
	Cost of 2.38 sgm			*	1015.99
	Cost of 1 sqm				7789.24
	labour cess @1%				3272.79
	Rate including labour cess	•			32.73 3305.52
		Say Rs.	3305.50	Per sam	3303.52
9.142.2		,			
	Details of cost for one shutter 2.20x1.08m=2.38 sqm MATERIAL:				
8736	35 mm thick factory made solid panel PVC door shutter				
	of single piece extruded profile decorative finished				
	(wood grain finished)	sam	2 20	0707.00	
8100	Powder coated M.S. butt hinges 100 mm X 58 mm X	sqm	2.38	2707.00	6442.66
	1.9 mm	10 No -	4.00		
0637	Bright finished or black enameled mild steel screws	10 Nos	4.00	130.00	52.00
0001	40 mm	400 11			
0640		100 Nos	48.00	60.00	28.80
0040	Bright finished or black enameled mild steel screws 20 mm				
O Y	20 111111	100 Nos	8.00	35.00	2.80
JL 1	563 P/	/ / /	TO BC	D/SOR_11th Ed	dition 2020
4	7	W	00	D.JOIN_III E	uition_ 2022

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	LABOUR:				
0156	Carpenter (average)		0.40	260.00	147.60
0114	Beldar	day	0.40	369.00	
9999		day	0.40	306.00	122.40
5555	Sundries	L.S.	30.35	2.12	64.34
	TOTAL				6860.60
	Add Water Charges @ 1%				68.61
	TOTAL				6929.21
	Add GST 12% on "X" (multiplying factor 0.1405)				973.55
	Total				7902.76
	Add CPOH @ 15% on "Y"				1185.41
	Cost of 2.38 sqm				9088.18
	Cost of 1 sqm				3818.56
	labour cess @1%				38.19
	Rate including labour cess				3856.75
	trate metaling raped 9055 t	Say Rs.	3856.70	Per sqm	0000.70
9.143	Providing and Fixing factory made uPVC door frame, m				
	55 mm with wall thickness 2.0 mm (± 0.2 mm), corner with plastic brackets and stainless steel screws, reinfo profile of Size 28 mm x 30 mm having wall thickness 2 r of 125 mm long stainless steel hinges to the frame, fixing size of anchor dash fastners, all complete as per manufin-charge.	rcing hinge on the numerous the number of the frame	side vertical n), including with jamb w	of the fram providing & vith required	es with PVC fixing 3 nos d number &
	m-charge.				
	Dotails of post for 5 wester				
	Details of cost for 5 metre				
	MATERIAL:				
8745	65 mm x 55 mm x 2 mm thick Factory made door				
	frame of PVC extruded section in white, grey or				
	wooden finish	metre	5.00	204.00	
			5 00	364.00	1820.00
	LAROUR	mene	0.00	001.00	1020.00
0156	LABOUR:				1020.00
0156	LABOUR: Carpenler (average)	day	0.15	369.00	55.35
0114	LABOUR: Carpenler (average) Beldar	day day	0.15 0.15		
	LABOUR: Carpenler (average) Beldar Sundries	day	0.15	369.00	55.35
0114	LABOUR: Carpenler (average) Beldar Sundries TOTAL	day day	0.15 0.15	369.00 306.00	55.35 45.90
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1%	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92 1931.17 19.31
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1%	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre	day day	0.15 0.15	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre	day day	0.15 0.15 4.68	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1%	day day	0.15 0.15 4.68	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre	day day	0.15 0.15 4.68	369.00 306.00	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess	day day L.S.	0.15 0.15 4.68	369.00 306.00 2.12	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess	day day L.S.	0.15 0.15 4.68	369.00 306.00 2.12	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76
0114	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess	day day L.S. Say Rs. or shutter, s	0.15 0.15 4.68 516.80 F	369.00 306.00 2.12	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2	day day L.S. Say Rs. or shutter, s mm (± 0.2 r	0.15 0.15 4.68 516.80 F	369.00 306.00 2.12 Per metre Is made of I	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by respective section.	day day L.S. Say Rs. or shutter, s mm (± 0.2 means of 2 n	0.15 0.15 4.68 516.80 F styles and rainm), with into	369.00 306.00 2.12 Per metre Is made of I	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side,
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @ 1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness	day day L.S. Say Rs. or shutter, s mm (± 0.2 i neans of 2 n 2 mm (± 0.	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm), Lockra	369.00 306.00 2.12 Per metre Is made of I built bead of prackets of some state of the state of	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by pVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to	Say Rs. or shutter, somm (± 0.2 ineans of 2 no 2 mm (± 0)	0.15 0.15 4.68 516.80 Fityles and railem), with into os of plastic lack man, when the control os of plastic lack man, with into os of plastic lack man, with	369.00 306.00 2.12 Per metre Is made of It built bead of size 10 iding with E	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and inserting	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and inserting	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by pVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and insertin nuts and washers complete, all as per manufacturer's sp	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and insertin nuts and washers complete, all as per manufacturer's sp Details of cost for one door shutter 2.20x1.08m	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and insertin nuts and washers complete, all as per manufacturer's sp Details of cost for one door shutter 2.20x1.08m	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and insertin nuts and washers complete, all as per manufacturer's sp Details of cost for one door shutter 2.20x1.08m = 2.38 sqm MATERIAL:	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37
0114 9999	LABOUR: Carpenter (average) Beldar Sundries TOTAL Add Water Charges @ 1% TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% on "Y" Cost of 5 metre Cost of 1 metre labour cess @1% Rate including labour cess Providing and fixing 37 mm thick factory made PVC do section of size 100 mm x 37 mm with wall thickness 2 styles and rails mitered cut and joint at the corners by r PVC profile of size 28 mm x 30 mm, with wall thickness mm, wall thickness 2 mm (± 0.2 mm) will be fixed to beads and panel of size 100 mm x 20 mm, and insertin nuts and washers complete, all as per manufacturer's sp Details of cost for one door shutter 2.20x1.08m	Say Rs. or shutter, somm (± 0.2 mm (± 0.3 the vertical g 2 nos tiel	0.15 0.15 4.68 516.80 F styles and rai mm), with int os of plastic I 2 mm). Lockra styles. Provi	369.00 306.00 2.12 Per metre Is made of It built bead of prackets of significant factors with February 1998.	55.35 45.90 9.92 1931.17 19.31 1950.48 (274.04 2224.53 (333.68 2558.21 511.64 5.12 516.76 PVC hollow n one side, size 75 mm 00 mm x 37

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	and panels of PVC extruded section in white or grey				
	finish i/c carriage	sqm	2.38	2479.00	5900.02
	LABOUR:				
0156	Carpenter (average)	day	0.40	369.00	147.60
0114	Beldar	day	0.40	306.00	122.40
9999	Sundries	L.Ś.	20.36	2.12	43.16
	TOTAL				6213.18
	Add Water Charges @ 1%	•			62.13
	TOTAL				6275.32 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				881.68
	Total				7157.00 (Y
	Add CPOH @ 15% on "Y"				1073.55
	Cost of 2.38 sqm	,;			8230.55
	Cost of 1 sqm	,			3458.21
	labour cess @1%	<u>.</u>			34.58
	Rate including labour cess				3492.79

Say Rs. 3492.80 Per sqm

Providing and Fixing factory made PVC door frame made of PVC extruded sections of size 75 mm x 53 mm, having wall thickness 2.0 mm (± 0.2 mm). Both verticals sides of the frame reinforced with PVC profile of cross section size 28 mm x 30 mm x 2 mm thickness (± 0.2 mm) and 75 mm x 200 mm long, including reinforcing both ends of the top frame with PVC profile. PVC Door Frame and PVC reinforcement profile to be mitred cut jointed and fusion welded together, including providing and fixing 3 nos of 125 mm long stainless steel hinges to frame, fixing the frame with jamb with required nos & sizes of anchor dash fastener, all complete as per manufacturer's specification and direction of engineer-incharge.

Details of cost	for	5	metre
MATERIAL			

	MATERIAL:				
8747	75 mm x 53 mm x 2.0 mm thick Factory made				
	door frame of PVC extruded section in white,				
	grey or wooden finish	metre	5.00	413.00	2065.00
	LABOUR:		0.00	170.00	2000.00
0156	Carpenter (average)	day	0.15	369.00	55.35
0114	Beldar	day	0.15	306.00	45.90
9999	Sundries	L.S.	4.68	2.12	9.92
	TOTAL				2176.17
	Add Water Charges @ 1%				21.76
	TOTAL				2197.93 (X)
	Add GST 12% on "X" (multiplying factor 0.1405)			·	308.81
	Total	•		•	2506.74 (Y)
	Add CPOH @ 15% on "Y"				376.01
	Cost of 5 metre				2882.75
	Cost of 1 metre	-1			576.55
	labour cess @1%				5.77
	Rate including labour cess	•			582.32

JXL 2 By Or

9/ A &

Per metre

Code No	Description		Unit	Quantity	Rate ₹	Amount ₹
9.146	Providing and fixing 37 mm thick factory made PVC Do	oor	shutter,	styles and ra	ails made of	PVC hollow
	extruded printed and laminated section having overall	din	nension 1	15 mm x 3/	mm with w	all thickness
	2 mm (± 0.2 mm) with inbuilt beading on one side, the inserting 2 nos PVC profile reinforcement of size 75 mm	sty	es and ra	ong with cro	ss section si	ze of 28 mm
	\times 30 mm having wall thickness 2 mm (± 0.2 mm). Style	IX A	hae elier	reinforceme	nts to be fu	sion welded
	together. Only hinge side vertical style to be reinforce	d v	vith PVC	profile reinf	orcement in	full length.
	Printed and laminated PVC lock rail of size 110 mm x 3	7 n	nm havini	g wall thickn	ess 2 mm (±	0.2 mm) to
	be welded horizontally with the vertical styles after ins	ert	ing PVC p	rofile reinfo	rcement as i	n styles and
	rails, providing with PVC snap fit beading, panels of 10	00 x	20 mm	printed & la	minated and	inserting 2
	nos 6 mm dia bright steel rod horizontally with both si	ide	threaded	and tighten	ed with che	ck nuts and
	washers complete, all as per manufacturer's specification					
	Detailed from a fire and a long to the page 1000 do do	Į.				
	<u>Details of cost for one door shutter 2.20x1.08m</u> = 2.38 sqm	i				
	MATERIAL:	•.				
8748	37 mm thick Factory made fusion welded shutter with					
	style,rails and panels of PVC extruded section in					
	wooden finish		sqm	2.38	2703.00	6433.14
0156	LABOUR: Carpenter (average)	ļ	dov	0.40	369.00	147.60
0136	Beldar	•	day day	0.40 0.40	306.00	147.60 122.40
9999	Sundries		L.S.	20.36	2.12	43.16
	TOTAL	1				6746.30
	Add Water Charges @ 1% TOTAL					67.46
	Add GST 12% on "X" (multiplying factor 0.1405)					6813.77 (X 957.33
	Total					7771.10 (Y
	Add CPOH @ 15% on "Y"					1165.67
	Cost of 2.38 sqm Cost of 1 sqm					8936.77 3754.94
	labour cess @1%					37.55
	Rate including labour cess					3792.49
			Say Rs.	3792.50	Per sqm	
9.147 A	Providing and fixing factory made uPVC white windows comprising of uPVC multi-chambered fra extruded profiles duly reinforced with 1.60 ± 0.2 mm roll forming process of required length (shape & siz glazing beads of appropriate dimension, EPDM gaske zinc alloy (white powder coated) casement handles, of finished wall, plastic packers, plastic caps and neces & sash shall be mitred cut and fusion welded at all convelded including drilling of holes for fixing hardware the gap between frame and adjacent finished wall shover backer rod of required size and of approved qualification of Engineer-in-Charge. (Single / double greparately) Note: For uPVC frame, sash and mullion extruded pro	thize et, s G.I i sar orn hall uali	, sash a ck galvar according tainless fasteners y stainles ers, mulli and drain be filled ty, all cos panes	and mullion nized mild s g to uPVC p steel (SS 30- 100 x 8 mm ss steel scre ion (if requir nage of wate with weath mplete as p and silicon	(where ever teel section profile), uP\ 4 grade) fric size for fixi- ews etc. Pro- ed) shall be r etc. After er proof sili er approved	er required) made from C extruded tion hinges, ng frame to file of frame also fusion fixing frame con sealant
9.147 A1	Casement window single panel with S.S. friction hing frame 47 x 50 mm & sash 47 x 68 mm both having we pane glazing bead of appropriate dimension. (Area of	vali	thicknes	s of 1 0 + 0	2	mall series) single glass
	Detail of Cost for uPVC casement window size 0.50 x 1.35 m = 0.68 sqm					
	MATERIAL					
8121	uPVC extruded (small series) casement window frame size 47x50mm i/c 5% wastage		metre	3.89	280 00	1089.20
BCD/SOR_	11th Edition_2022	-	BI	(Bru-	9/1	18

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8122	uPVC extruded (small series) casement window sash/window mullion size 47x68mm i/c 5% wastage	metre	3.68	311.00	1144.48
8125	uPVC extruded glazing bead of appropriate dimension for small series casement window Sash Galvanized iron reinforcement for :-	metre	3.49	100.00	349.00
3991	Galvanized from (1.6 ± 0.2 mm) thick reinforcement for small series—casement window frame, sash, mullion i/c 5% wastage Window Frame = 3.59 M + Window Sash = 3.38 M	metre	6.97	70.00	487.90
	Total = 6.97 M				
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre ;	14.55	15.00	218.25
3995	G.I fasteners 100 x 8 mm	each	8	15.00	120.00
8757	Stainless steel friction hinges (SS-304 grade) size 300 x 19 x 1.9 mm for uPVC window	each	2	260.00	520.00
8750	Zinc alloy (white powder coated) casement handle for uPVC window	each	1	130.00	130.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S. į	170	2.12	360.40
162	Labour for fabrication of uPVC extruded casement windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm į	0.68	520.00	353.60
163	Labour for installation of uPVC extruded casement windows including scaffolding	sqm	0.68	369.00	250.92
	TOTAL			_	5023.75
	Add 1 % Water charges TOTAL				50.24
	Add GST 12% on "X" (multiplying factor 0.1405)				5073.99 (X)
	Total			-	712.90
	Add 15 % Contractor's profit and overheads on "Y"				5786.88 (Y)
	Cost of 0.68 sqm			-	868.03 6654.92
	Cost of 1.00 sqm				9786.64
	Add labour cess @1 %				97.87
	Rate including labour cess			-	9884.51
	Rate including labour cess			20	9884.51
9.147 A2	Casamant window double was to the a contract	Say Rs.	9884.50	Per sqm	
Code	Casement window double panels with S.S. friction hing Description	ges (300 x 1 Unit	9 x 1.9 mm) r Quantity	made of (sm Rate	
			addinity	rate	Amount
	Detail of cost for uPVC casement window size 1,00 x 1,35 m = 1,35 sqm. MATERIAL	Ė			
8121	uPVC extruded (small series) casement window frame size 47x50mm i/c 5% wastage	metre	4.94	280.00	1383.20
8122	uPVC extruded (small series) casement window sash/window Mullion size 47x68 mm i/c 5% wastage Window Sash = 7.44 M + Window Mullion =1.42 M Total = 8.86 M	metre	8.86	311.00	2755,46
8125	uPVC extruded glazing bead of appropriate dimension for small series casement window Sash i/c 5% wastage Galvanized iron reinforcement for	metre	7.06	100.00	706.00
of X	- L 2 B	1	BCD.	/SOR_11 th E	dition_2022

mm) thick reinforcement for ion i/c 5% wastage + Window Sash = = 1.35 M window i/c 5% wastage	metre	12.63	70.00	884.10
+ Window Sash = = 1.35 M vindow i/c 5% wastage				
+ Window Sash = = 1.35 M vindow i/c 5% wastage				
= 1.35 M vindow i/c 5% wastage				
vindow i/c 5% wastage				
	nietre	27.91	15.00	418.65
	each	10.00	15.00	150.00
ges (SS-304grade) size 300 vindow	each	4.00	260.00	1040.00
coated) casement handle for	each	2.00	130.00	260.00
W 27				
, plastic caps, SS screws and	Lı.S.	170	2.12	360.40
JPVC extruded casement	cam .	1.35	520.00	702.00
holes,	sqm	1.55	320.00	702.00
res, hire charges				
ricity charges etc.	į			
uPVC extruded casement		4.05	369.00	100.45
lding	sqm :	1.35	369.00	498.15
laing	į		ñ. -	9157.96
				91.58
			-	9249.54 (X)
Itiplying factor 0.1405)			0_	1299.56
Total	*)			10549.10 (Y)
rofit and overheads on "Y"				1582.36
				12131.46
				8986.27 89.86
SS				9076.13
Rate including labour cess				9076.13
panels with top fixed with S.S. f	Say Rs riction hinge	. 9076.10 es (350 x 19 x	Per sqm 1.9 mm) mad	de of (small
				·
	Unit	Quantity	Rate	Amount
casement window size 1.20 x				
	•			
eries) casement window frame	metre	6.30	280.00	1764.00
eries) casement window	metre	9.80	244.00	22.7
ones of suscement will dow	mette	9.00	311.00	3047.80
ze 47x68				
ze 47x68 +				
ze 47x68				
ze 47x68 +			100.00	1062.00
ze 47x68 + M	metre	10.62		1062.00
ze 47x68 + M g bead of appropriate dimension	metre	10.62	.00.00	
te 47x68 + M bead of appropriate dimensionent window Sash i/c 5%	metre	10.62		
ze 47x68 + M g bead of appropriate dimension	metre	10.62		
siz VI			ng bead of appropriate dimension metre 10.62	ng bead of appropriate dimension metre 10.62 100.00 nent window Sash i/c 5%

Code No	Description	Unit	Quantity	Rate ₹	Amount
3991	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	15.05	70.00	1053.50
	small series casement				
	window frame, sash, mullion i/c 5% wastage				
	Window Frame = 6.00 M + Window Sash = 6.68 M + Window Mullion = 2.37 M				
	Total = 15.05 M				
7390	EPDM Gasket for uPVC window i/c 5% wastage				
	wastage	metre	37.34	15.00	560.10
3995	G.I fasteners 100 x 8 mm	each	12.00	15.00	180.00
8758	Stainless steel friction hinges (SS-304grade) size 350 x 19 x 1.9 mm for uPVC window	each	4.00	361.00	1444.00
8750	Zinc alloy (white powder coated) casement handle for uPVC window	each	2.00	130.00	260.00
9999	Sundries, plastic packers, plastic caps, SS screws and	L.S.	170.00	2.12	360.40
	carriage of material LABOUR				
162	Labour for fabrication of uPVC extruded casement	sqm	2.16	520.00	1123.20
	windows including drilling holes,	·	į		
	fixing of fittings & hardwares, hire charges		•		
	of drill machine and electricity charges etc.				
163	Lobour for installation of ADVO automical		1		
103	Labour for installation of uPVC extruded casement windows including scaffolding	sqm	2.16	369.00	797.04
	TOTAL				11652.04
	Add 1 % Water charges TOTAL				116.52
	Add GST 12% on "X" (multiplying factor 0.1405)		•		11768.56 (X)
	Total				1653.48
	Add 15 % Contractor's profit and overheads on "Y"				13422.04 (Y) 2013.31
	Cost of 2.16 sqm				15435.35
	Cost of 1.00 sqm				7146.00
	Add labour cess @1 %				71.46
	Rate including labour cess				7217.46
	Rate including labour cess				7217.46
0.4474.4	One has well at the state of th	Say Rs.		Per sqm	· .
9.147A.4	Casement window single panel with S.S. friction series) frame $67 \times 60 \text{ mm}$ & sash $67 \times 80 \text{ mm}$ both has glazing bead / double glazing bead of appropriate dime	ving wall th	ickness of 2.	$3 \pm 0.2 \text{mm}$	and single
	Detail of cost for uPVC casement window size 0.70 x 1.35 m = 0.95 sqm		•		
8126	MATERIAL uPVC extruded (big series) casement window frame		4.0.4		
0120	size 67x60 mm i/c 5% wastage	metre	4.31	351.00	1512.81
8128	uPVC extruded (big series) casement window	metre	4.02	469.00	1885.38
	sash/window mullion size 67x80 mm i/c 5% wastage				
8130	uPVC extruded glazing bead of appropriate dimension for big series casement window sash i/c 5% wastage	metre	3.83	135.00	517.05
o ×	Galvanized iron reinforcement for :-				
4 1	B 569 9		BCD/	SOR_11th E	Edition_2022

No	Description	Unit	Quantity	Rate ₹	Amount ₹
3992	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	7.73	75.00	579.75
	big series casement				
	window frame, sash, mullion, 1/c 5% wastage				
	Window Frame = 4.01 M + Window Sash =				
	3.72 M				
	Total = 7.73 M				
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	15.99	15.00	239 85
3995	G.I fasteners 100 x 8 mm	each	10.00	15.00	150 00
8759	Stainless steel friction hinges (SS-304grade) size 400	each	2.00	365.00	730.00
8750	x 19 x 1.9 mm for uPVC window. Zinc alloy (white powder coated) casement handle for	oneb	1.00	120.00	120.00
	uPVC window	each	1.00	130.00	130.00
9999	Sundries, plastic packers, plastic caps, SS screws and	L.S.	170.00	2.12	360.40
	carriage of material	1			
162	LABOUR Labour for fabrication of uPVC extruded casement				
	windows including drilling holes,	sqm	0.95	520.00	494.00
	fixing of fittings & hardwares, hire charges				
	of drill machine and electricity charges etc.	Į.			
163	Labour for installation of uPVC extruded casement				
,	windows including scaffolding	sqm	0.95	369.00	350.55
	TOTAL	į			6949.79
	Add 1 % Water charges	•			69.50
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				7019.29
	Total				986.21
	Add 15 % Contractor's profit and overheads on "Y"				8005.50 \ 1200.82
	Cost of 0.95 sqm Cost of 1.00 sqm				9206.32
	Add labour cess @1 %				9690.87
	Rate including labour cess				96.91
	Rate including labour cess				9787.77 9690.87
		Say Rs.	9690.90	Per sqm	5050.07
9.147A.5	Casement window double panels with S.S. frictio series)frame 67 x 60 mm & sash / mullion 67 x 80 mm single glazing bead/ double glazing bead of appropria	n hinges (3 both having te dimensio	350 x 19 x y wall thickn n. (Area of w	1.9 mm) ma ess of 2.3 ± (vindow above	de of (big 0.2 mm and e 1.50 sqm
	Detail of Cost for uPVC casement window size 1.20 x				
	4.05 and 4.60 and				
	1.35 m = 1.62 sqm				
8126	1.35 m = 1.62 sqm. MATERIAL	matra	5.00		
	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm /c 5% wastage	metre	5.36	351.00	1881.36
8126 8128	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage uPVC extruded (big series) casement window sash/window mullion size 67x	metre metre	5.36 9.13	351.00 469.00	1881.36 4281.97
	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage uPVC extruded (big series) casement window	•			
	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage uPVC extruded (big series) casement window sash/window mullion size 67x 80 mm i/c 5% wastage Window Sash = 7.71 M + Window Mullion = 1.42 M	•			
8128	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage uPVC extruded (big series) casement window sash/window mullion size 67x 80 mm i/c 5% wastage Window Sash = 7.71 M + Window Mullion = 1.42 M Total = 9.13 M uPVC extruded glazing bead of appropriate dimension for big series casement window	metre	9.13	469.00	4281.97
8128 8130	1.35 m = 1.62 sqm. MATERIAL uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage uPVC extruded (big series) casement window sash/window mullion size 67x 80 mm i/c 5% wastage Window Sash = 7.71 M + Window Mullion = 1.42 M Total = 9.13 M uPVC extruded glazing bead of appropriate dimension for big series casement window sash i/c 5% wastage	metre	9.13	469.00	4281.97

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
3992	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	13.83	75.00	1037.25
	big series casement window frame, sash, mullion i/c 5%				
	wastage				
	Window Frame = 5.31 M + Window Sash =				
	7.11 M + Window Mullion = 1,41 M Total = 13.83 M				
	10tal - 13.63 W				
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	30.62	15.00	459.3
3995	G.I fasteners 100 x 8 mm	each	12.00	15.00	180
8758	Stainless steel friction hinges (SS-304 grade) size 350 x 19 x 1.9 mm for uPVC window	each	4.00	361.00	1444
8750	Zinc alloy (white powder coated) casement handle for	each	2.00	130.00	260
	uPVC window		ì		
9999	Sundries, plastic packers, plastic caps,SS screws and carriage of material	L.S.	170.00	2.12	360.4
	LABOUR				
162	Labour for fabrication of uPVC extruded casement	sqm	1.62	520.00	842.4
	windows including drilling holes,				
	fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.		ļ		
	or an moduline and dissuisity dilarges site.		•		
163	Labour for installation of uPVC extruded casement	sqm	1.62	369.00	597.78
	windows including scaffolding TOTAL		;		10005.00
	Add 1 % Water charges				12335.36 123.35
	TOTAL				12458.71 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				1750.45
	Total Add 15 % Contractor's profit and overheads on "Y"		•.		14209.16 (Y 2131.37
	Cost of 1.62 sqm				16340.54
	Cost of 1.00 sqm				10086.75
	Add labour cess @1 % Rate including labour cess				163.41
	Rate including labour cess				10250.16 10,250.16
	water moraling labels coop	Say Rs.	10250.20	Per sqm	10,230.10
0.4474.0				•	
9.147A.6	Casement cum fixed panel window having both end si at top completely fixed ventilator with S.S friction hing	ngle casem	ent panel, n	niddle fixed	panels and
	67 x 60 mm , sash 67 x 80 mm , & mullion 67 x 80 mm	all having	wall thickne	ss of 2.3 ± 0	ne s) frame 0.2 mm and
	single glazing bead/double glazing bead of appropriate	dimension.	. (Area of wi	ndow above	- min and
	3.00 sqm upto 5.00 sqm).		-		
	Detail of cost for uPVC casement cum fixed window				
	size $2.50 \times 1.60 \text{ m} = 4.00 \text{ sqm}$.		·		
0400	MATERIAL PROPERTY OF THE PROPE				
8126	uPVC extruded (big series) casement window frame size 67x60 mm i/c 5% wastage	metre	8.61	351.00	3022.11
8128	uPVC extruded (big series) casement window	metre	15.17	469.00	7114.73
	sash/window mullion size 67x80 mm i/c 5% wastage			100.00	7114.73
	Window Sash = 6.24 M + Window Mullion =8.93 M				
8130	Total = 15.17 M uPVC extruded glazing bead of appropriate dimension	matra	27.05	425.00	2752.75
0100	for big series casement window sash i/c 5% wastage	metre	27.85	135.00	3759.75
0 4	Galvanized iron reinforcement for :-	/ h	<i>a</i>		
* ~	ST 61 571 9/	1/	BCD.	SOR_11th Ed	dition_2022
		M			

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
3992	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series casement window frame, sash, mullion, big & small series sliding window frame i/c 5% wastage Window Frame = 8.31 M + Window Sash = 5.64 M +	metre	21.90	75.00	1642.50
7390	Window Mullion = 7.95 M Total = 21,90 M EPDM Gasket for uPVC window/door i/c 5% wastage	metre	83.45	15.00	1251.75
3995 8758	i/c 5% wastage G.I fasteners 100 x 8 mm Stainless steel friction hinges (SS-304grade) size 350	each each	16.00 4.00	15.00 361.00	240.00 1444.00
8750	x 19 x 1.9 mm_for uPVC window Zinc alloy (white powder coated) casement	each	2.00	130.00	260.00
9999	handle for uPVC window Sundries, plastic packers, plastic caps,SS screws and carriage of material	L.S.	170.00	2.12	360.40
162	LABOUR Labour for fabrication of uPVC extruded casement windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity	sqm	4.00	520.00	2080.00
163	charges etc. Labour for installation of uPVC extruded casement windows including scaffolding	sqm	ļ 4.00	369.00	1476.00
	TOTAL Add 1 % Water charges TOTAL Add GST 12% on "X" (multiplying factor 0.1405)		1		22651.24 226.51 22877.75 (X) 3214.32 26092.08 (Y)
	Add 15 % Contractor's profit and overheads on "Y" Cost of 4.00 sqm Cost of 1.00 sqm Add labour cess @1 %		•		3913.81 30005.89 7501.47 75.01
	Rate including labour cess Rate including labour cess				7576.49 7576.49

Say Rs. 7576.50 Per sqm

9.147B Providing and fixing factory made uPVC white colour fixed glazed windows/ ventilators comprising of uPVC multi-chambered frame and mullion (where ever required) extruded profiles duly reinforced with 1.60 ± 0.2 mm thick galvanized mild steel section made from roll forming process of required length (shape & size according to uPVC profile), , uPVC extruded glazing beads of appropriate dimension, EPDM gasket, G.I fasteners 100 x 8 mm size for fixing frame to finished wall, plastic packers, plastic caps and necessary stainless steel screws etc. Profile of frame shall be mitred cut and fusion welded at all corners, mullion (if required) shall be also fusion welded including drilling of holes for fixing hardware's and drainage of water etc. After fixing frame the gap between frame and adjacent finished wall shall be filled with weather proof silicon sealant over backer rod of required size and of approved quality, all complete as per approved drawing & direction of Engineer-in-Charge. (Single / double glass panes and silicon sealant shall be paid separately).

Note: For uPVC frame, sash and mullion extruded profiles minus 5% tolerance in dimension i.e. in depth & width of profile shall be acceptable.

9.147B.1 Fixed window / ventilator made of (small series) frame 47 x 50 mm & mullion 47 x 68 mm both having wall thickness of 1.9 ± 0.2 mm and single glazing bead of appropriate dimension. (Area upto 0.75 s

Detail of cost for uPVC fixed window size 1.20 x 0.50 m = 0.60 sqm.MATERIAL uPVC extruded (small series) fixed window frame size 8121 metre 3.57 280.00 999.60 uPVC extruded (small series) fixed window mullion 8122 metre 0.53 311.00 164.83 size 47x68 mm ₽ X \ 572 \ BL BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8125	uPVC extruded glazing bead of appropriate dimension for small series fixed window Sash Galvanized iron reinforcement for :-	metre	3.99	100.00	399.00
3991	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for small series fixed window frame and mullion i/c 5% wastage Window Frame = 3.27 M + Window Mullion	metre	4.25	70.00	297.50
	= 0.98 M		:		
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	8.38	15.00	125.70
3995	G.I fasteners 100 x 8 mm SS screws and carriage of material	each	8.00	15.00	120.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded fixed windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.		o. 6 ၀	520.00	312.00
163	Labour for installation of uPVC extruded fixed windows including scaffolding	sqm	0.60	369.00	221.40
	TOTAL				3000.43
	Add 1 % Water charges		l		30.00
	TOTAL				3030.43 (X
	Add GST 12% on "X" (multiplying factor 0.1405)				425.78
	Total				3456.21 (Y
	Add 15 % Contractor's profit and overheads on "Y" Cost of 0.60 sqm				518.43
	Cost of 1.00 sqm		-		3974.64
	Add labour cess @1 %				6624.40 66.24
	Rate including labour cess				6690.65
	Rate including labour cess				6690.65
	3.3.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4	Say Rs.	6690.70	Per sqm	3333.55

9.147C Providing and fixing factory made uPVC white colour casement/ Casement cum fixed glazed door comprising of uPVC multi-chambered frame, sash and mullion (where ever required) extruded profiles duly reinforced with 1.60 ± 0.2 mm thick galvanized mild steel section made from roll forming process of required length (shape & size according to uPVC profile), uPVC extruded glazing beads of appropriate dimension, EPDM gasket, zinc alloy (white powder coated) 3D hinges and one handle on each side of panels along with zinc plated mild steel multi point locking having transmission gear, cylinder with keeps and one side key,G.I fasteners 100 x 8 mm size for fixing frame to finished wall and necessary stainless steel screws, etc. Profile of frame & sash shall be mitred cut and fusion welded at all corners, mullion (if required) shall be also fusion welded including drilling of holes for fixing hardware's and drainage of water etc. After fixing frame the gap between frame and adjacent finished wall shall be filled with weather proof silicon sealent over backer rod of required size and of approved quality, all complete as per approved drawing & direction of Engineer-in-Charge. (Single / double glass panes and silicon sealent shall be paid

Note: For uPVC frame, sash and mullion extruded profiles minus 5% tolerance in dimension i.e. in depth & width of profile shall be acceptable.

9.147C.1 Casement door with 3D hinges made of (big series) frame 67 x 64 mm & sash 67 x 110 mm both having wall thickness of 2.3 ± 0.2 mm and single glazing bead / double glazing bead of appropriate dimension. (Area of door upto 2.00 sqm).

Detail of cost for uPVC casement door size 0.90 x 2.10 m = 1.89 sqm.

PX 1 B BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
==	MATERIAL				
8127	uPVC extruded (big series) casement door frame size	metre	5.36	396.00	2122.5
	67x64 mm i/c 5% wastage				
8129	uPVC extruded (big series) casement door sash size	metre	6.02	568.00	3419.38
	67x110 mm i/c 5% wastage				
8130	uPVC extruded glazing bead of appropriate dimension	metre	5.22	135.00	704.70
	for big series casement door sash i/c 5% wastage				
	gg.		1		
	Galvanized iron reinforcement for :-				
3992	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	5.14	75.00	385.50
	big series casement				
	window/door frame, sash, mullion, i/c 5%				
	wastage		1		
			<i>(</i> ,)		
3993	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	1 5.72	100.00	572.00
	big series casement door sash i/c 5% wastage		\$.		
390	EPDM Gasket for uPVC window/door i/c 5% wastage	metre	22.91	15.00	343.65
	Control and Control of the Edward Control of				
995	G.I fasteners 100 x 8 mm	each	10.00	15.00	150.00
116	Zinc alloy (white powder coated) 3D Hinges for uPVC do	or each	3.00	455.00	1365.00
117	Zinc alloy (white powder coated) handles with zinc	each set	1 1.00	2635.00	2635.00
	plated mild steel multi point locking having				4,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	transmission gear, cylinder with keeps and one side		•		
	key for uPVC casement door				
	,		i		
99	Sundries, plastic packers, plastic caps, SS screws and	L.S.	170.00	2.12	360.40
	carriage of material LABOUR	2.0.	170.00	2.12	300.40
	LABOUR				
52	Labour for fabrication of uPVC extruded casement/fixed	sqm	1.89	520.00	982.80
	windows/and door including drilling holes, fixing of fittings	Sqiii	1.03	320.00	302.00
	& hardwares, hire charges of drill machine and electricity		•		
	charges etc.				
	Labour for installation of uPVC extruded casement	sqm	1.89	369.00	697.41
3	windows and doors including scaffolding	Sqiii	1.03	309.00	097.41
	TOTAL				12720 20
	Add 1 % Water charges				13738.38 137.38
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				13875.76 1949.54
	Total				
	Add 15 % Contractor's profit and overheads on "Y"				15825.31
	Cost of 1.89 sqm				2373.80
	Cost of 1.00 sqm				-1 8199.10
	Add labour cess @1 %				9629.16
	Rate including labour cess				96.29
	Rate including labour cess		-		9725.45
	Nate including labour cess	Sau Da	0705 50	-	9725.45
		Say KS.	9725.50	Per sqm	
147C.2	Casement door with top hung ventilator with 3D and S (big series) frame 67 x 64 mm, sash 67 x 110 mm & m	Say Rs.	hinges (400	Per sqm x 19 x 1.9 m	ıml mad
	2.3 ± 0.2 mm and single glazing bead / double glazing upto 2.50 sqm)	bead of a	ou mm all n ppropriate c	aving wall (limension.(/	hickness Area of do
	Detail of cost for uPVC casement door size 0.90 x 2.70 m = 2.43 sqm MATERIAL				
3127	uPVC extruded (big series) casement door frame size 67x64 mm i/c 5% wastage	metre	6.30	396.00	2494.80
129	uPVC extruded (big series) casement door sash size 67x110 mm i/c 5% wastage	metre	6.01	568.00	3413.68
/SOR_1	1 th Edition_2022	Br _	(Bre-	Q/ N	1 3

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8128	uPVC extruded (big series) casement door	metre	3.55	469.00	1664.9
	sash/mullion size 67x80 mm i/c 5% wastage Door sash				
	(67 mm x 80 mm) = 2.60 M +Door mullion (67 mm x 80				
0120	mm) = 0.95 M Total = 3.55 M	motro	8.06	135.00	1088.10
8130	uPVC extruded glazing bead of appropriate dimension for big series casement door sash i/c 5% wastage	metre	8.00	133.00	1000.1
	Galvanized iron reinforcement for :-				
3992	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	9.26	75.00	694.5
0002	big series casement door				
	frame, sash, mullion, i/c 5% wastage				
	Door Frame = 6.08 M + Ventilator Sash =				
	2.30 M + Mullion = 0.88 M		1		
	Total = 9.26 M		:		
3993	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	5.71	100.00	571.00
	big series casement door				
	sash i/c 5% wastage				
7390	EPDM Gasket for uPVC window/door i/c5% wastage	metre	31.98	15.00	479.70
3995	G.I fasteners 100 x 8 mm	each	12.00	15.00	100.00
8116	Zinc alloy (white powder coated) 3D Hinges for uPVC	each	3.00	455.00	180.00 1365.00
0110	door	Cacii	3.00	433.00	1303.00
8117	Zinc alloy (white powder coated) handles with zinc	each set	1.00	2635.00	2635.00
	plated mild steel multi point				
	locking having transmission gear, cylinder				
	with keeps and one side key for uPVC casement door				
	casement door				
8759	Stainless steel friction hinges (SS-304 grade) size 400	each	2.00	365.00	730.00
	x 19 x 1.9 mm for uPVC				
	window				
8750	Zinc alloy (white powder coated) casement handle for	each	1.00	130.00	130.00
	uPVC window/ door				
9999	Sundries, plastic packers, plastic caps, SS screws and	L.S.	170.00	2.12	360.40
	carriage of material LABOUR				0.00
162	Labour for fabrication of uPVC extruded casement	sqm	2.43	520.00	0.00 1263.60
	doors including drilling holes,	oqiii	2.10	020.00	٠,
	fixing of fittings & hardwares, hire charges				ě
	of drill machine				
	and electricity charges etc.		Į,		
163	Labour for installation of uPVC extruded casement	sqm	2.43	369.00	896.67
	ventilator and doors including scaffolding		•		
	TOTAL				17967.40
	Add 1 % Water charges TOTAL				179.67
	Add GST 12% on "X" (multiplying factor 0.1405)				18147.07 2549.66
	Total				20696.74
	Add 15 % Contractor's profit and overheads on "Y"				3104.51
	Cost of 2 43 sqm				23801.25
	Cost of 1.00 sqm Add labour cess @1 %				9794.75
	Rate including labour cess				97.95 9892.70
	Rate including labour cess				9892.70
		Say Rs.	9892.70 P	er sqm	
		/ A	1		

https://civil.amitkumarsachin.com

	Providing and fixing factory made uPVC white color dimension comprising of uPVC multi-chambered frar profiles duly reinforced with 1.60 \pm 0.2 mm thick (ır sliding gl	azod windov	1 4 50	
	forming process of required length (shape & size acc of uPVC extruded glazing beads and uPVC extruded (white powder coated) touch locks with hook, zinc bearing capacity to be 40 kg), G.I fasteners 100 x 8 necessary stainless steel screws etc. Profile of frame at all corners, including drilling of holes for fixing halframe the gap between frame and adjacent finished sealent over backer rod of required size and of apdrawing & direction of Engineer-in-Charge. (Single sealent shall be paid separately) Note: For uPVC frame and sash extruded profiles mi width of profile shall be acceptable.	me with in- galvanized ording to u interlocks, alloy body mm size fo & sash sh rdware's an wall shall proved qua / double gi inus 5% tol	mild steel s PVC profile), EPDM gaske with single frixing fram all be mitred d drainage of the filled with dity, all com lass panes, erance in dir	ack and sa ection mad appropriatet, wool pile e nylon rol ne to finish cut and fu f water etc. weather p plete as powire mesh nension i.e	de from rol e dimensior e, zinc alloy lers (weigh led wall and sion welded . After fixing broof silicor er approved and silicor . in depth &
	Two track two panels sliding window made of (small both having wall thickness of 1.9 \pm 0.2 mm and single of window upto 1.75 sqm)	l series) fra e glazing be	me 52 x 44 n ead of approp	nm & sash oriate dime	32 x 60 mm nsion. (Area
	Detail of cost for uPVC sliding window size 1.20 x 1.35 m = 1.62 sqm. MATERIAL				
8133	uPVC extruded (small series) 2 track sliding window frame size 52x44 mm i/c 5% wastage	metre	5.36 !	314.00	1683.04
8137	uPVC extruded (small series) 2 track sliding window sash size 32x60mm i/c 5% wastage	metre	7.90	291.00	2298.90
8140	uPVC extruded interlock of appropriate dimension for small series sliding window sash i/c 5% wastage	metre	2.69	88.00	236.72
8131	uPVC extruded glazing bead of appropriate dimension for small series sliding window sash i/c 5% wastage Galvanized iron reinforcement for	metre	6.92	66.00	456.72
3991	Galvanized from (1.6 ± 0.2 mm) thick reinforcement for small series 2 track sliding window frame and sash i/c 5% wastage 2 Track Sliding (Window Frame = 5.06 M + Window Sash = 7.30 M) Total = 12.36 M	metre	12.36	70.00	865.20
7390	EPDM Gasket for uPVC window/door i/c 5% wastage	metre	13.84	15.00	ء 207.60
8773	Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre	18.48	20.00	369.60
3995 8751	G.I fasteners 100 x 8 mm Zinc alloy (white powder coated) touch	each	12:00	15.00	180.00
8752	lock with hook for uPVC window Zinc alloy body with single nylon roller (weight bearing capacity to be 40 Kg) for uPVC sliding window	each each	2.00 4.00	114.00 60.00	228.00 240.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	1.62	520.00	842.40

LONG				T = -	
Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
163	Labour for installation of uPVC extruded sliding windows including scaffolding	sqm	1.62	369.00	597.78
	TOTAL				8566.36
	Add 1 % Water charges				85.66
	TOTAL				8652.02 (
	Add GST 12% on "X" (multiplying factor 0.1405)				1215.61
	Total				9867.63 (
	Add 15 % Contractor's profit and overheads on "Y"			4	1480.14
	Cost of 1.62 sqm				11347.78
	Cost of 1.00 sqm				7004.80
	Add labour cess @1 %				70.05
	Rate including labour cess			1	7074.85
	Rate including labour cess			()	7074.85
		Say Rs.	7074.90	Per sqm	
	Three track three panels sliding window with fly proof wire mesh panels) made of (small series) frame 92 x 44 thickness of 1.9 \pm 0.2 mm and single glazing bead of al 1.75 sqm).	mm & sash	32 x 60 mn	n both havir Area of wind	ng wall
-	Detail of cost for uPVC sliding window size 1.20 x 1.35 m = 1.62 sqm. MATERIAL				
8135	uPVC extruded (small series) 3 track sliding window frame size 92x44 mm i/c 5% wastage	metre	5.06	1418.00	2115.08
8137	uPVC extruded (small series) 3 track sliding window sash size 32x60mm i/c 5% wastage	metre	11.84	291.00	3445.44
8140	uPVC extruded interlock of appropriate dimension for small series sliding window sash i/c 5% wastage	metre	4.04	88.00	355.52
8131	uPVC extruded glazing bead of appropriate dimension for small series sliding window sash i/c 5% wastage	metre	10.38	66.00	685.08
3991	Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for small series sliding window frame and sash i/c 5% wastage 3 Track Sliding (Window Frame = 9.52 m + Window Sash = 10.94 m) Total = 20.46 M	metre	20.46	70.00	1432.20 •
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	20.76	⁺ 15.00	311,40
8773	Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre	27.72	20.00	554.40
3995	G.I fasteners 100 x 8 mm	each	12.00	15.00	180.00
3751	Zinc alloy (white powder coated) touch lock with hook	each	2.00		
3752	for uPVC window Zinc alloy body with single nylon roller (weight bearing capacity to be 40 Kg) for uPVC sliding window	each	6.00	114.00 60.00	228.00 360.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40

our for fabrication of uPVC extruded sliding flows including drilling holes, g of fittings & hardwares, hire charges rill machine and electricity charges etc. our for installation of uPVC extruded sliding flows including scaffolding factor installation of uPVC extruded sliding flows including scaffolding factor installation of uPVC extruded sliding flows including scaffolding factor installation of uPVC extruded sliding flows including scaffolding flows including scaffolding factor 0.1405) Total 15 % Contractor's profit and overheads on "Y" is of 1.62 sqm is of 1.62 sqm including labour cess flows a factor including labour cess flows a factor including labour cess flows a factor including labour cess flows and single glastic including labour cess flows and single g	zing bead /	67 x 50 mm 8		
dows including drilling holes, g of fittings & hardwares, hire charges rill machine and electricity charges etc. our for installation of uPVC extruded sliding dows including scaffolding rAL. 1 % Water charges rAL 6ST 12% on "X" (multiplying factor 0.1405) Total 1 15 % Contractor's profit and overheads on "Y" ist of 1.62 sqm at of 1.00 sqm 8 labour cess @1 % te including labour cess Rate including labour cess track two panels sliding window made of (big see in with the see of 2.3 ± 0.2 mm and single glates and the see of the see of 2.3 ± 0.2 mm and single glates and considered the see of 2.3 ± 0.2 mm and considered the 2.3	Say Rs ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm 8 double glazi	Per sqm k sash 46 x	11467.70 114.68 11582.38 1627.32 13209.70 1981.46 15191.16 93.77.26 93.77 9471.03 9471.03
our for installation of uPVC extruded sliding dows including scaffolding TAL 1 % Water charges TAL SST 12% on "X" (multiplying factor 0.1405) Total 1 15 % Contractor's profit and overheads on "Y" st of 1.62 sqm st of 1.62 sqm st lof 1.00 sqm llabour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big see an	Say Rs ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm 8 double glazi	Per sqm k sash 46 x	11467.70 114.68 11582.38 1627.32 13209.70 1981.46 15191.16 93.77.26 93.77 9471.03 9471.03
our for installation of uPVC extruded sliding dows including scaffolding FAL 1.1 % Water charges FAL GST 12% on "X" (multiplying factor 0.1405) I 15 % Contractor's profit and overheads on "Y" st of 1.62 sqm st of 1.00 sqm labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big see the goal) with thickness of 2.3 ± 0.2 mm and single glassinsion . (Area of window above 1.75 sqm upto 2.5 and cost for uPVC sliding window size 1.50 x 1.35 and the structure of the structure	Say Rs ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm 8 double glazi	Per sqm k sash 46 x	11467.70 114.68 11582.38 1627.32 13209.70 1981.46 15191.16 93.77.26 93.77 9471.03 9471.03
dows including scaffolding FAL 1 % Water charges FAL 6ST 12% on "X" (multiplying factor 0.1405) Total 115 % Contractor's profit and overheads on "Y" ist of 1.62 sqm ist of 1.00 sqm Il labour cess @1 % is including labour cess Rate including labour cess track two panels sliding window made of (big see ing wall thickness of 2.3 ± 0.2 mm and single glas insion . (Area of window above 1.75 sqm upto 2.5 isail of cost for uPVC sliding window size 1.50 x 1.35 is 2.03sqm TERIAL VC extruded (big series) 2 track sliding window in size 67x50mm i/c 5% wastage	Say Rs ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm 8 double glazi	Per sqm k sash 46 x	11467.70 114.68 11582.38 1627.32 13209.70 1981.46 15191.16 93.77.26 93.77 9471.03 9471.03
dows including scaffolding FAL 1 % Water charges FAL 6ST 12% on "X" (multiplying factor 0.1405) Total 115 % Contractor's profit and overheads on "Y" ist of 1.62 sqm ist of 1.00 sqm Il labour cess @1 % is including labour cess Rate including labour cess track two panels sliding window made of (big see ing wall thickness of 2.3 ± 0.2 mm and single glas insion . (Area of window above 1.75 sqm upto 2.5 isail of cost for uPVC sliding window size 1.50 x 1.35 is 2.03sqm TERIAL VC extruded (big series) 2 track sliding window in size 67x50mm i/c 5% wastage	Say Rs ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm 8 double glazi	sash 46 x	114.68 11582.38 1627.32 13209.70 1981.46 15191.16 9377.26 93.77 9471.03 9471.03
FAL 1 % Water charges FAL SST 12% on "X" (multiplying factor 0.1405) Total 1 15 % Contractor's profit and overheads on "Y" It of 1.62 sqm It of 1.00 sqm I labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big se in the strength of t	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	114.68 11582.38 1627.32 13209.70 1981.46 15191.16 9377.26 93.77 9471.03 9471.03
TAL GST 12% on "X" (multiplying factor 0.1405) Total I 15 % Contractor's profit and overheads on "Y" Ist of 1.62 sqm Ist of 1.00 sqm I labour cess @1 % I e including labour cess Rate including labour cess track two panels sliding window made of (big see no wall thickness of 2.3 ± 0.2 mm and single gla: Insion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	11582.38 1627.32 13209.70 1981.46 15191.16 9377.26 93.77 9471.03 9471.03
TAL GST 12% on "X" (multiplying factor 0.1405) Total I 15 % Contractor's profit and overheads on "Y" Ist of 1.62 sqm Ist of 1.00 sqm I labour cess @1 % I e including labour cess Rate including labour cess track two panels sliding window made of (big see no wall thickness of 2.3 ± 0.2 mm and single gla: Insion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	1627.32 13209.70 1981.46 15191.16 9377.26 93.77 9471.03 9471.03
Total I 15 % Contractor's profit and overheads on "Y" st of 1.62 sqm I labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single glar nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL /C extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	13209.70 1981.46 15191.16 9377.26 93.77 9471.03 9471.03
I 15 % Contractor's profit and overheads on "Y" Ist of 1.62 sqm Ist of 1.00 sqm I labour cess @1 % I e including labour cess Rate including labour cess track two panels sliding window made of (big see ag wall thickness of 2.3 ± 0.2 mm and single glasension. (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	1981.46 15191.16 9377.26 93.77 9471.03 9471.03
st of 1.62 sqm st of 1.00 sqm I labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single gla: nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	15191.16 9377.26 93.77 9471.03 9471.03
st of 1.00 sqm I labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single gla: nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	9377.26 93.77 9471.03 9471.03
I labour cess @1 % e including labour cess Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single gla: nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	. 9471.00 67 x 50 mm & double glazi	sash 46 x	93.77 9471.03 9471.03
e including labour cess Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single gla: nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL //C extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	67 x 50 mm 8 double glazi	sash 46 x	9471.03 62 mm both
Rate including labour cess track two panels sliding window made of (big se ng wall thickness of 2.3 ± 0.2 mm and single glas nsion. (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL //C extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	67 x 50 mm 8 double glazi	sash 46 x	62 mm both
ng wall thickness of 2.3 ± 0.2 mm and single glassion. (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	ries) frame zing bead / 0 sqm).	67 x 50 mm 8 double glazi	sash 46 x	
ng wall thickness of 2.3 ± 0.2 mm and single glassion. (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window me size 67x50mm i/c 5% wastage	zing bead / 0 sqm).	double glazi		
nsion . (Area of window above 1.75 sqm upto 2.5 ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window ne size 67x50mm i/c 5% wastage	0 sqm).	:	ng bead of	appropriate
ail of cost for uPVC sliding window size 1.50 x 1.35 = 2.03sqm TERIAL VC extruded (big series) 2 track sliding window ne size 67x50mm i/c 5% wastage		·		
- 2.03sqm TERIAL √C extruded (big series) 2 track sliding window ne_size 67x50mm i/c 5% wastage	metre	į		
TERIAL √C extruded (big series) 2 track sliding window ne_size 67x50mm i/c 5% wastage	metre	į		
VC extruded (big series) 2 track sliding window ne size 67x50mm i/c 5% wastage	metre	•		
ne size 67x50mm i/c 5% wastage	metre			
사용 - 1 : 1 : 1 : 1 : 1 : 1 : 1 : 1 : 1 : 1		5.99	424.00	2539.76
			0.57.00	
e 46x62mm i/c 5% wastage	metre	8.36	357.00	2984.52
VC extruded interlock of appropriate dimension for	metre	2.65	98.00	250.70
series sliding window sash i/c 5% wastage	mene	2.05	96.00	259.70
VC extruded glazing bead of appropriate dimension	metre	7.64	85.00	649.40
big series of sliding window Sash i/c 5% wastage				0 10.10
Ivanized iron reinforcement for :-				
Ivanized iron (1.6 ± 0.2 mm) thick reinforcement for series sliding window	metre	5.69	75.00	426.75
me (2 track sliding window frame i/c 5%				
stage)				
Ivanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	7.76	90.00	698540
series sliding window				000,10
stage)				
PDM Gasket for uPVC window i/c 5%				
stage	motro	15 20 [†]	45.00	
	metre	15.28	15.00	229.20
ding window i/c 5% wastage	metre	19.37	20.00	387.40
I fasteners 100 x 8 mm	each			210.00
nc alloy (white powder coated) touch lock with hook	each	2.00		228.00
uPVC window				220.00
oc alloy body with single pylop rollor (weight bands				
pacity to be 40 Kg) for uPVC sliding window	each	4.00	60.00	240.00
and the state of t				
undries plastic nackers plastic caps SS assessment	l L.S.	170.00	2 12	
and lest, plastic packers, plastic caps, 35 screws and			2.12	360.40
rriage of material				
	series sliding window me (2 track sliding window frame i/c 5% stage) DM Gasket for uPVC window i/c 5% stage pol pile/ weather pile strip for uPVC ding window i/c 5% wastage I fasteners 100 x 8 mm nc alloy (white powder coaled) touch lock with hook uPVC window nc alloy body with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window undries, plastic packers, plastic caps, SS screws and rriage of material	series sliding window me (2 track sliding window frame i/c 5% stage) DM Gasket for uPVC window i/c 5% stage ool pile/ weather pile strip for uPVC ding window i/c 5% wastage fasteners 100 x 8 mm ac alloy (white powder coaled) touch lock with hook uPVC window ac alloy body with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window andries, plastic packers, plastic caps, SS screws and triage of material BOUR	series sliding window me (2 track sliding window frame i/c 5% stage) DM Gasket for uPVC window i/c 5% stage metre 15.28 and pile/ weather pile strip for uPVC ding window i/c 5% wastage fasteners 100 x 8 mm and alloy (white powder coated) touch lock with hook uPVC window and alloy body with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window and alloy body with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window and alloy body with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window and riage of material BOUR	series sliding window me (2 track sliding window frame i/c 5% stage) DM Gasket for uPVC window i/c 5% stage DM Gasket for uPVC window i/c 5% stage old pile/ weather pile strip for uPVC metre 19.37 20.00 fasteners 100 x 8 mm each 14.00 15.00 each 14.00 15.00 each 2.00 114.00 uPVC window In alloy with single nylon roller (weight bearing pacity to be 40 Kg) for uPVC sliding window Indiries, plastic packers, plastic caps, SS screws and L.S. 170.00 2.12 or integer in the control of

No	Description	Unit	Quantity	Rate ₹	Amount
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes,	sqm	2.03	520.00	1055.60
	fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.				
163	Labour for installation of uPVC extruded sliding windows including scaffolding	sqm	2.03	369.00	749.07
	TOTAL			•	11018.20
	Add 1 % Water charges				110.18
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				11128.38 1563.54
	Total				12691.92
	Add 15 % Contractor's profit and overheads on "V"				1903.79
	Add 15 % Contractor's profit and overheads on "Y" Cost of 2.03 sqm			<u>'</u>	14595.71
	Cost of 1.00 sqm			•	7190.00
	Add labour cess @1 %				71.90
	Rate including labour cess				7261.90
	Rate including labour cess				7261.90
147D.4	Three track three panels sliding window with fly pro	Say Rs.	7261.90	Per sqm	
	thickness of 2.3 \pm 0.2 mm and single glazing bead / d (Area of window above 1.75 sqm).	louble glazii	ng bead of	appropriate į	dimension.
	Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm.				
8136	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage	metre	6.62	583.00	3859.46
8139	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage	metre	13.49	358.00	4829.42
8139	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage		13.49 3.98	358.00 98.00	4829.42 390.04
8139 8141	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for	metre	13.49	358.00	4829.42
3139 3141 3132	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for -	metre metre metre	13.49 3.98 11.91	358.00 98.00	4829.42 390.04 1012.35
8139 8141 8132	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window	metre metre	13.49 3.98	358.00 98.00 85.00 75.00	4829.42 390.04
8139 8141 3132	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre metre metre	13.49 3.98 11.91	358.00 98.00 85.00	4829.42 390.04 1012.35
8139 8141 8132 8992	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre metre metre	13.49 3.98 11.91	358.00 98.00 85.00 75.00	4829.42 390.04 1012.35
8139 8141 8132 8992	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage)	metre metre metre	13.49 3.98 11.91 12.64	358.00 98.00 85.00 75.00	4829.42 390.04 1012.35 948.00
3139 3141 3132 3992	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5%	metre metre metre	13.49 3.98 11.91 12.64	358.00 98.00 85.00 75.00	4829.42 390.04 1012.35 948.00
3139 3141 3132 3992 994	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5% wastage)	metre metre metre metre	13.49 3.98 11.91 12.64	358.00 98.00 85.00 75.00	4829.42 390.04 1012.35 948.00
8139 8141 8132 8992 8994 390 773	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage UPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5% wastage) EPDM Gasket for uPVC window i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding window	metre metre metre metre	13.49 3.98 11.91 12.64 12.59	358.00 98.00 85.00 75.00 90.00	4829.42 390.04 1012.35 948.00 1133.10
8136 8139 8141 8132 3992 3994 3773 995 751	MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash (3 track sliding window sash i/c 5% wastage) EPDM Gasket for uPVC window i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre metre metre metre metre	13.49 3.98 11.91 12.64 12.59 23.81 30.96	358.00 98.00 85.00 75.00 90.00	4829.42 390.04 1012.35 948.00 1133.10 357.15 619.20

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Sundries, plastic packers, plastic caps, SS screws and	L.S.	170.00	2.12	360.40
	carriage of material LABOUR	2.0.	11,0.00		
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes,	sqm	2.43	520.00	1263.60
	fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.				
163	Labour for installation of uPVC extruded casement/ sliding windows including scaffolding	sqm	2.43	369.00	896.67
	TOTAL				16497.39 164.97
	Add 1 % Water charges TOTAL			!	16662.36 (
	Add GST 12% on "X" (multiplying factor 0.1405)				2341.06
	Total		!		19003.43 (
	Add 15 % Contractor's profit and overheads on "Y"				2850.51 21853.94
	Cost of 2.43 sqm				8993.39
	Cost of 1.00 sqm Add labour cess @1 %				89.93
	Rate including labour cess			!	9083.32
	Rate including labour cess			•	9083.32
		Say Rs.	9083.30	Per sqm	
9.147D.5	Three track three panels sliding window made of (big both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 squared Detail of cost for uPVC sliding window size 1.80 x 1.35	ngle glazin		louble glaz	ing bead of
3.1470.3	both having wall thickness of 2.3 \pm 0.2 mm and si appropriate dimension. (Area of window above 1.75 sq.	ngle glazin		louble glaz	ing bead of
8136	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage	ngle glazin m) metre	g bead / d	583.00	3859.46
8136 8139	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage	mgle glazin m) metre metre	6.62 11.85	583.00	3859.46 4242.30
8136 8139 8141	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage	metre metre metre	6.62 11.85 5.30	583.00 358.00 98.00	3859.46 4242.30 519.40
8136 8139	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for	mgle glazin m) metre metre	6.62 11.85	583.00	3859.46 4242.30
8136 8139 8141	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage	metre metre metre	6.62 11.85 5.30	583.00 358.00 98.00	3859.46 4242.30 519.40
8136 8139 8141	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window	metre metre metre	6.62 11.85 5.30	583.00 358.00 98.00	3859.46 4242.30 519.40 872.10
8136 8139 8141 8132	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 square Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for :- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window	metre metre metre metre metre metre	6.62 11.85 5.30 10.26	583.00 358.00 98.00 85.00	3859.46 4242.30 519.40 872.10
8136 8139 8141 8132	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 sqi Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for:- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash i/c 5% wastage)	metre metre metre metre metre metre	6.62 11.85 5.30 10.26	583.00 358.00 98.00 85.00	3859.46 4242.30 519.40 872.10
8136 8139 8141 8132	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 sqi Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for :- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5% wastage) EPDM Gasket for uPVC window i/c 5% wastage	metre metre metre metre metre metre	6.62 11.85 5.30 10.26	583.00 358.00 98.00 85.00	3859.46 4242.30 519.40 872.10
8136 8139 8141 8132 3992	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 sqi Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for:- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash i/c 5% wastage)	metre metre metre metre metre metre metre	6.62 11.85 5.30 10.26	583.00 358.00 98.00 85.00 75.00	3859.46 4242.30 519.40 872.10 948.00
8136 8139 8141 8132 3992 3994	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 sqi Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for :- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5% wastage) EPDM Gasket for uPVC window i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding window	metre metre metre metre metre metre metre	6.62 11.85 5.30 10.26 12.64	583.00 358.00 98.00 85.00 75.00	3859.46 4242.30 519.40 872.10 948.00 985.50
8136 8139 8141 8132 3992 3994 7390 8773	both having wall thickness of 2.3 ± 0.2 mm and si appropriate dimension. (Area of window above 1.75 sqi Detail of cost for uPVC sliding window size 1.80 x 1.35 m = 2.43 sqm. MATERIAL uPVC extruded (big series) 3 track sliding window frame size 116x45mm i/c 5% wastage uPVC extruded (big series) 3 track sliding window sash size 46x62mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage Galvanized iron reinforcement for:- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (3 track sliding window frame i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window sash (3 track sliding window sash i/c 5% wastage) EPDM Gasket for uPVC window i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre metre metre metre metre metre metre	6.62 11.85 5.30 10.26 12.64 10.95	583.00 358.00 98.00 85.00 75.00 90.00	3859.46 4242.30 519.40 872.10 948.00 985.50

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8752	Zinc alloy body with single nylon roller (weight bearing capacity to be 40 Kg) for uPVC sliding window	each	6.00	60.00	360.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	2.43	520.00	1263.60
163	Labour for installation of uPVC extruded sliding windows including scaffolding TOTAL Add 1 % Water charges TOTAL Add GST 12% on "X" (multiplying factor 0.1405)	sqm	2.43	369.00	896.67 15663.23 156.63 15819.86 (X 2222.69 18042.55 (Y
	Add 15 % Contractor's profit and overheads on "Y" Cost of 2.43 sqm Cost of 1.00 sqm Add labour cess @1 % Rate including labour cess Rate including labour cess			!	2706.38 20748.94 8538.66 85.39 8624.04 8624.04
		Say Rs.	8624.00	Per sam	

9.147E Providing and fixing factory made uPVC white colour sliding glazed window above 1.50 m in height dimension comprising of uPVC multi-chambered frame with in-built roller track and sash extruded profiles duly reinforced with 1.60 ± 0.2 mm thick galvanized mild steel section made from roll forming process of required length (shape & size according to uPVC profile), appropriate dimension of uPVC extruded glazing beads, uPVC extruded interlocks and uPVC extruded Inline sash adaptor (if required), EPDM gasket, wool pile, zinc alloy (white powder coated) handle on one side of extreme panel along with zinc plated mild steel multi point locking having transmission gear with keeps, zinc alloy (white powder coated) touch lock with hook (if required for wire mesh panel), stainless steel (SS 304 grade) body with adjustable double nylon rollers (weight bearing capacity to be 120 kg), G.I fasteners 100 x 8 mm size for fixing frame to finished wall and necessary stainless steel screws etc. Profile of frame & sash shall be mitred cut and fusion welded at all corners, including drilling of holes for fixing hardware's and drainage of water etc. After fixing frame the gap between frame and adjacent finished wall shall be filled with weather proof silicon sealent over backer rod of required size and of approved quality, all complete as per approved drawing & direction of Engineer-in-Charge. (Single / double gla

Note: For uPVC frame and sash extruded profiles minus 5% tolerance in dimension i.e. in depth & width of profile shall be acceptable.

9.147E.1 Two track two panels sliding window made of (big series) frame 67 x 50 mm & sash 46 x 62 mm both having wall thickness of 2.3 ± 0.2 mm and single glazing bead / double glazing bead of appropriate dimension. (Area of window above 2.50 sqm upto 4.00 sqm.)

Detail of cost for uPVC sliding window size 1.50 x 2.40 m = 3.60 sqm. MATERIAL

8134 uPVC extruded (big series) 2 track sliding window frame metre 8.19 424.00 3472.56 size 67x50mm i/c 5% wastage

8138 uPVC extruded (big series) 2 track sliding window sash metre 12.77 357.00 4558.89 size 46x62mm i/c 5% wastage

J X L 2 B BCD/SOR_11th Edition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8141	uPVC extruded interlock of appropriate dimension for big series of sliding window Sash i/c 5% wastage	metre	4.86	98.00	476.28
8132	uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage	metre	12.04	85.00	1023.40
3992	Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding window frame (2 track sliding window frame i/c 5% wastage)	metre	7.89	75.00	591.75
3994	Galvanized iron (1.6 \pm 0.2 mm) thick reinforcement for big series sliding window sash (2 track sliding window sash i/c 5% wastage)	metre	12.17	90.00	1095.30
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	24.08	15.00	361.20
8773	Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre	30.40	20.00	608.00
3995	G.I fasteners 100 x 8 mm	each	16.00	15.00	240.00
8118	Zinc alloy (white powder coated) handles along with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding window	each set	2.00	1535.00	3070.00
8753	Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC sliding window	each	4.00	105.00	420.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	3.60	520.00	1872.00
163	Labour for installation of uPVC extruded sliding windows including scaffolding	sqm	3.60	369.00	1328.40
	TOTAL Add 1 % Water charges TOTAL Add GST 12% on "X" (multiplying factor 0.1405)			•	19478,18 194.78 19672.96 (2764.05
	Total Add 15 % Contractor's profit and overheads on "Y"				22437.01 ([*] 3365.55
	Cost of 3.60 sqm Cost of 1.00 sqm Add labour cess @1 % Rate including labour cess Rate including labour cess				25802.56 7167.38 71.67 7239.05 7239.05
	11th Edition_2022	Say Rs.	7239.10	Per sqm	, 208.00

https://civil.amitkumarsachin.com

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.147E.2	Two track four panels sliding window made of (big set having wall thickness of 2.3 ± 0.2 mm and single glazi	ries) frame ng bead / d	67 x 50 mm & ouble glazing	sash 46 x bead of ap	62 mm both opropriate
	dimension. (Area of window above 4.00 sqm upto 8.00			•	
	Detail of cost for uPVC sliding window size 3.00 x 2.40 m = 7.20 sqm.				
	MATERIAL				
8134	MATERIAL uPVC extruded (big series) 2 track sliding window frame size 67x50mm i/c 5% wastage	metre	11.34	424.00	4808.16
8138	uPVC extruded (big series) 2 track sliding window sash size 46x62mm i/c 5% wastage	metre	25.75	357.00	9192.75
8141	uPVC extruded interlock of appropriate dimension for big series sliding window sash i/c 5% wastage	metre	9.71	98.00	951.58
8142	uPVC extruded inline adaptor of appropriate dimension for big series sliding window sash i/c 5%	metre	2.40	98.00	235.20
8132	wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding window Sash i/c 5% wastage	metre	24.31	85.00	2066.35
3992	Galvanized iron reinforcement for Galvanized iron (1.6 \pm 0.2 mm) thick reinforcement for big series sliding window frame (2 track sliding window frame i/c 5% wastage)	metre	11.04	75.00	828.00
3994	Galvanized iron (1.6 \pm 0.2 mm) thick reinforcement for big series sliding window sash (2 track sliding window sash i/c 5% wastage)	metre	24.55	90.00	2209.50
7390	EPDM Gasket for uPVC window i/c 5% wastage	metre	48.62	15.00	729.30
8773	Wool pile/ weather pile strip for uPVC sliding window i/c 5% wastage	metre	61.21	20.00	1224.20
3995	G.I fasteners 100 x 8 mm	each	24.00	15.00	360.00
8118	Zinc alloy (white powder coated) handles along with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding window	each set	2.00	1535.00	3070.00
8753	Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC sliding window	each	8.00	105.00	840.00
3754	Zinc alloy (white powder coated) cresent lock for uPVC sliding window	each	2.00	110.00	220.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding windows including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	7.20	520.00	3744.00
163	Labour for installation of uPVC extruded sliding windows including scaffolding	sqm	7.20	369.00	2656.80
	TOTAL Add 1 % Water charges TOTAL				33496.24 334.96 33831.20

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
No				<u> </u>	4753.28
	Add GST 12% on "X" (multiplying factor 0.1405) Total				38584.49 (Y
	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -				5787.67
	Add 15 % Contractor's profit and overheads on "Y"				44372.16
	Cost of 7.20 sqm				6162.80
	Cost of 1.00 sqm				61.63
	Add labour cess @1 %				• 6224.43
	Rate including labour cess Rate including labour cess				6224.43
	Nate including labour error	Say Rs.	6224.40	Per sqm	
9.147F 9.147F.1	Providing and fixing factory made uPVC white colour chambered frame with in-built roller track and sash examm thick galvanized mild steel section made from rosize according to uPVC profile), appropriate dimensional extruded interlock and uPVC extruded Inline sash adaralloy (white powder coated) handle with key on one mild steel multi point locking having transmission georesent lock (if required), stainless steel (SS 304 grangles) (weight bearing capacity to be 120 kg), G.I fasteners 1 and necessary stainless steel screws etc. Profile of welded at all corners, including drilling of holes for fix fixing frame the gap between frame and adjacent fix silicon sealent over backer rod of required size a approved drawing & direction of Engineer-in-Charges T V b Note: For uPVC frame and sash extruded profiles mix width of profile shall be acceptable Two track two panels sliding door made of (big series)	Il forming pension uPV pension uPV petor (if requiside of extract with keep de) body with the work ar with keep de) body with the work ar with keep de) body with the work and of appropersion (Single / conus 5% tole and of appropersion with the work and t	rocess of re C extruded uired), EPDM reme panels os, zinc alloy ith adjustabiste for fixin ash shall be re's and drais shall be fill oved quality louble glass	equired lenging by glazing by glazing by glazing by glazing with a long with a long frame to mitred curinage of walled with word, all compares, wind mension i.e.	gth (shape & eads, uPVC ool pile, zinc plated wder coated) nylon rollers finished wall t and fusion ter etc. After eather proof olete as per re mesh and
5.1471.1	having wall thickness of 2.3 ± 0.2 mm and single glaz dimension. (Area of door above 2.00 sqm upto 5.00 sq	ing bead /			
	Detail of cost for sliding door size 2.00 x 2.10 m = 4.20 sqm.				
0404	MATERIAL		6.0:	40	
8134	uPVC extruded (big series) 2 track sliding door frame size 67x50mm i/c 5% wastage	metre	8.61	424.00	3650.64
8143	uPVC extruded 2 track sliding door sash (big series)	metre	12.60	385.00	
	size 46x82mm i/c 5% wastage				4851.00
8141	uPVC extruded interlock of appropriate dimension for	metre	4.23	00.00	
	his series stilling days said 17 50/			98.00	4851.00 414.54
0122	big series sliding door sash i/c 5% wastage				414.54
8132	big series sliding door sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage	metre	11.54	85.00	
8132	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage	metre			414.54
	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for		11.54	85.00	414.54 980.90
8132 3992	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre metre			414.54
	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for		11.54	85.00	414.54 980.90
	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash i/c 5% wastage)		11.54 8.31	85.00 75.00	980.90 623.25
3992	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for	metre	11.54	85.00	414.54 980.90
3992	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage)	metre	11.54 8.31	85.00 75.00	980.90 623.25
3992	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash	metre metre	8.31 12.00	85.00 75.00 90.00	414.54 - 980.90 , 623.25
3992 3994 7390	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) EPDM Gasket for uPVC door i/c 5% wastage	metre metre metre	11.54 8.31 12.00 23.08	85.00 75.00 90.00 15.00	980.90 623.25
3992 3994	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) EPDM Gasket for uPVC door i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding door i/c	metre metre	8.31 12.00	85.00 75.00 90.00	414.54 - 980.90 , 623.25
3992 3994 7390 8773	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) EPDM Gasket for uPVC door i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding door i/c 5% wastage	metre metre metre metre	11.54 8.31 12.00 23.08 29.43	85.00 75.00 90.00 15.00 20.00	414.54 980.90 623.25 1080.00 346.20 588.60
3992 3994 7390 8773 3995	uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage Galvanized iron reinforcement for Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (2 track sliding door sash i/c 5% wastage) EPDM Gasket for uPVC door i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding door i/c	metre metre metre	11.54 8.31 12.00 23.08	85.00 75.00 90.00 15.00	414.54 - 980.90 - 623.25 1080.00

No	Description	Unit	Quantity	Rate ₹	Amount ₹
8119	Zinc alloy (white powder coated) handles with key along	each set	2.00	1265.00	2530.00
	with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding door				
8753	Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC	each	4.00	105.00	420.00
9999	sliding door Sundries, plastic packers, plastic caps, SS screws and carriage of material	L.S.	170.00	2.12	360.40
162	LABOUR Labour for fabrication of uPVC extruded sliding doors including drilling holes, fixing of fittings & hardwares,	sqm	4.20	520.00	2184.00
	hire charges of drill machine and electricity charges etc.				
163	Labour for installation of uPVC extruded sliding doors including scaffolding	sqm	4.20	369.00	1806.00
	TOTAL				20105.53
	Add 1 % Water charges TOTAL				201.06 20306.59 ()
	Add GST 12% on "X" (multiplying factor 0.1405)				2853.08
	Total				23159.66 (
	Add 15 % Contractor's profit and overheads on "Y"				3473.95
	Cost of 4.20 sqm				26633.61
	Cost of 1.00 sqm				6341.34
	Add labour cess @1 % Rate including labour cess				63.41 6404.75
	Rate including labour cess				6404.75
	Nate Melaunig labour cook	Say Rs.	6404.80	Per sqm	4,04,000
	Two track four panels sliding door made of (big series)				
	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 sq. Detail of cost for uPVC sliding door size 4.00 x 2.10 m.	ng bead / do			
	having wall thickness of 2.3 ± 0.2 mm and single glazing dimension. (Area of door above 8.00 sqm upto 10.00 sq	ng bead / do			
8134	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 sq. Detail of cost for uPVC sliding door size 4.00 x 2.10 m = 8.40 sqm.	ng bead / do			
8143	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 squared by the squar	ng bead / do qm). metre metre	12.81 25.42	424.00 385.00	5431.44 9786.70
	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 squared by the squar	ng bead / do qm). metre	uble glazing 12.81	bead of app	5431.44
8143	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 squared by the squar	ng bead / do qm). metre metre	12.81 25.42	424.00 385.00	5431.44 9786.70
8143 8141	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 squared by the squar	ng bead / do qm). metre metre metre	12.81 25.42 8.45	424.00 385.00 98.00	5431.44 9786.70 828.10
8143 8141 8142	having wall thickness of 2.3 ± 0.2 mm and single glazin dimension. (Area of door above 8.00 sqm upto 10.00 sq Detail of cost for uPVC sliding door size 4.00 x 2.10 m = 8.40 sqm. MATERIAL uPVC extruded (big series) 2 track sliding door frame size 67x50mm i/c 5% wastage uPVC extruded 2 track sliding door sash (big series) size 46x82mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding door sash i/c 5% wastage uPVC extruded inline adaptor of appropriate dimension for big series sliding door sash uPVC extruded glazing bead of appropriate dimension	ng bead / do qm). metre metre metre metre metre	12.81 25.42 8.45 2.10	424.00 385.00 98.00 98.00	5431.44 9786.70 828.10 205.80
8143814181428132	having wall thickness of 2.3 ± 0.2 mm and single glazin dimension. (Area of door above 8.00 sqm upto 10.00 sq Detail of cost for uPVC sliding door size 4.00 x 2.10 m = 8.40 sqm. MATERIAL uPVC extruded (big series) 2 track sliding door frame size 67x50mm i/c 5% wastage uPVC extruded 2 track sliding door sash (big series) size 46x82mm i/c 5% wastage uPVC extruded interlock of appropriate dimension for big series sliding door sash i/c 5% wastage uPVC extruded inline adaptor of appropriate dimension for big series sliding door sash uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash Galvanized iron reinforcement for :- Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door frame (2 track sliding door same	metre metre metre metre metre metre metre	12.81 25.42 8.45 2.10 23.30	424.00 385.00 98.00 98.00	5431.44 9786.70 828.10 205.80
8143 8141 8142 8132 3992	having wall thickness of 2.3 ± 0.2 mm and single glazindimension. (Area of door above 8.00 sqm upto 10.00 squared in the size of the size	metre metre metre metre metre metre metre metre	12.81 25.42 8.45 2.10 23.30	424.00 385.00 98.00 98.00 585.00	5431.44 9786.70 828.10 205.80 1980.50

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
8773	Wool pile/ weather pile strip for uPVC sliding door i/c	metre	59.29	20.00	1185.80
3995	5% wastage G.I fasteners 100 x 8 mm	each	26.00	15.00	390.00
8119	Zinc alloy (white powder coated) handles with key along with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding door	each set	2.00	1265.00	2530.00
8753	Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC	each	8.00	105.00	840.00
8754	sliding door Zinc alloy (white powder coated) cresent lock for uPVC sliding door	each	2.00	110.00	220.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding doors including drilling holes, fixing of fittings & hardwares, hire charges of drill	sqm	8.40	520.00	4368.00
	machine and electricity charges etc.				į
163	Labour for installation of uPVC extruded sliding doors including scaffolding	sqm	8.40	369.00	3099.60
	TOTAL Add 1 % Water charges TOTAL				35043.39 350.43 35393.82 4972.83
	Add GST 12% on "X" (multiplying factor 0.1405) Total				40366.66
	Add 15 % Contractor's profit and overheads on "Y" Cost of 8.40 sqm Cost of 1.00 sqm Add labour cess @1 % Rate including labour cess Rate including labour cess				6055.00 46421.65 5526.39 55.26 5581.65 5581.65
.147F.3	Three track three panels sliding door made of (big ser	Say Rs.		Per sqm	82 mm
. 1477.3	both having wall thickness of 2.3 ± 0.2 mm and single appropriate dimension. (Area of door above 5.00 sqm)	glazing bea			
	Detail of cost for uPVC sliding door size 3.00 x 2.10 m = 6.30 sqm. MATERIAL				*
8136	uPVC extruded (big series) 3 track sliding door frame size 116x45mm i/c 5% wastage	metre	10.71	583.00	6243.93
8143	uPVC extruded 3 track sliding door sash (big series) size 46x82mm i/c 5% wastage	metre	19.09	385.00	7349.65
8141	uPVC extruded interlock of appropriate dimension for big series sliding door sash i/c 5% wastage	metre	8.45	98.00	828.10
8132	uPVC extruded glazing bead of appropriate dimension for big series of sliding door i/c 5% wastage	metre	17.51	85.00	1488.35
3992	Galvanized iron reinforcement for - Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door frams (3 track sliding door frame i/c 5%	metre	20.82	75.00	1561,50
	wastage)				

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
3994	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (3 track sliding door sash i/c 5% wastage)	metre	18.19	90.00	1637.10
7390	EPDM Gasket for uPVC door i/c 5% wastage	metre	35.01	15.00	525.15
8773	Wool pile/ weather pile strip for uPVC sliding door i/c 5% wastage	metre	46.63	20.00	932.60
3995	G.I fasteners 100 x 8 mm	each	24.00	15.00	360.00
8119	Zinc alloy (white powder coated) handles with key along with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding door	each set	2.00	1265.00	2530.00
8753	Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC sliding door	each	6.00	105.00	630.00
9999	Sundries, plastic packers, plastic caps, SS screws and carriage of material LABOUR	L.S.	170.00	2.12	360.40
162	Labour for fabrication of uPVC extruded sliding doors including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	6.30	520.00	3276.00
163	Labour for installation of uPVC extruded sliding doors including scaffolding TOTAL	sqm	6.30	369.00	2324.70
	Add 1 % Water charges TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				30047.48 300.47 30347.95 (X 4263.89 34611.84 (Y
	Add 15 % Contractor's profit and overheads on "Y" Cost of 6.30 sqm Cost of 1.00 sqm Add labour cess @1 % Rate including labour cess Rate including labour cess				5191.78 39803.62 6318.03 63.18 6381.22 6381.22
9.147 F.4	Three track three panels sliding door with fly proof S.S mesh panels) made of (big series) frame 116 x 45 mm 8 of 2.3 ± 0.2 mm and single glazing bead / double glazin door above 2.00 sqm upto 5.00 sqm)	S wire mesh & sash 46 x 8	32 mm both I	azed & one naving wall t	hickness
	Detail of cost for uPVC sliding door size 2.00 x 2.10 m = 4.20 sqm MATERIAL				•
8136	uPVC extruded (big series) 3 track sliding door frame size 116x45mm i/c 5% wastage	metre	8.61	583.00	5019.63
8143	uPVC extruded 3 track sliding door sash (big series) size 46x82mm i/c 5% wastage	metre	18.90	385.00	7276.50
8141	uPVC extruded interlock of appropriate dimension for	metre	6.34	98.00	621.32
8132	big series sliding door sash i/c 5% wastage uPVC extruded glazing bead of appropriate dimension for big series of sliding door Sash i/c 5% wastage	metre	17.82	85.00	1514.70
of X	587 Q	A .	BCD/	SOR_11th Ed	lition_2022

3992 G b fi v 3994 G	Salvanized iron reinforcement for :- Salvanized iron (1.6 ± 0.2 mm) thick reinforcement for oig series sliding door frame (3 track sliding door frame i/c 5% wastage)	metre	8.31	75.00	000.05
t	wastage)			73.00	623.25
	Galvanized iron (1.6 ± 0.2 mm) thick reinforcement for big series sliding door sash (3 track sliding door sash i/c 5% wastage)	metre	18.00	90.00	1620.00
7390	EPDM Gasket for uPVC door i/c 5% wastage Wool pile/ weather pile strip for uPVC sliding door i/c	metre metre	36.64 44.14	15.00 20.00	549.60 882.80
3995 8119	5% wastage G.I fasteners 100 x 8 mm Zinc alloy (white powder coated) handles with key along with zinc plated mild steel multi point locking having transmission gear with keeps for uPVC sliding door	each each set	18.00 2.00	15.00 1265.00	270,00 2530,00
	Zinc alloy (white powder coated) touch lock with hook	each	1.00	133.00	133.00
8753	for wire mesh shutter Stainless Steel (SS - 304) with adjustable double nylon roller (weight bearing capacity to be 120 Kg) for uPVC	each	6.00	105.00	630 <mark>1</mark> 00
9999	sliding door Sundries, plastic packers, plastic caps, SS screws and carriage of material	L.S.	170.00	2.12	360.40 į
162	LABOUR Labour for fabrication of uPVC extruded sliding doors including drilling holes, fixing of fittings & hardwares, hire charges of drill machine and electricity charges etc.	sqm	4.20	520.00	2184.00
163	Labour for installation of uPVC extruded sliding doors including scaffolding TOTAL Add 1 % Water charges TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add 15 % Contractor's profit and overheads on "Y" Cost of 4.20 sqm Cost of 1.00 sqm Add labour cess @1 % Rate including labour cess Rate including labour cess	sqm Say Re	4.20 s. 8207.60	369.00 Per sqm	1549.80 25765.00 257.65 26022.65 (X 3656.18 29678.83 (Y 4451.82 34130.66 8126.35 81.26 8207.61
	Providing and fixing stainless steel (SS-304 g uPVC windows, of approved quality, with nec direction of Engineer-incharge.	rade) fricti essary sta	on hinges inless stee	to the side	e/ top hung etc. as per
9.148.1	200 x 19 x 1.9 mm Details of cost for 10 Nos MATERIAL:				
8755	Stainless steel friction hinge of size 200 mm x 19 x 1.9 mm for uPVC windows	each	10.00	212.00	2120.00
8647 9999	Stainless steel screws 30 mm x4 mm Carriage	100 Nos L.S.	40.00 2.73	35.84 2.12	14.34 5.79
0112 0114	Carpenter 2nd class Beldar 11th Edition_2022	day day	0.14 0.14	369.00 306.00	51.66 42.84

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL				2234.62
	Add Water Charges @ 1%				22.35
	TOTAL				2256.97
	Add GST 12% on "X" (multiplying factor 0.1405)				317.10
	Total				2574.07 (
	Add CPOH @ 15%				386.11
	Cost of 10 nos				2960.19
	Cost of each				296.02
	labour cess @1%				2.96
	Rate including labour cess				298.98
		Say Rs.	299.00	Each	
9.148.2	250 x 19 x 1.9 mm				
	Details of cost for 10 Nos				
	MATERIAL:				
8756	Stainless steel friction hinge of size 250 mm				
	x 19 x 1.9 mm for uPVC windows	each	10.00	237.00	2370.00
8647	Stainless steel screws 30 mm x4 mm	100 Nos	40.00	35.84	14.34
9999	Carriage	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.14	369.00	
0114	Beldar	day	0.14		51.66
	TOTAL	uay	0.14	306.00	42.84
	Add Water Charges @ 1%				2484.62
	TOTAL				24.85
	Add GST 12% on "X" (multiplying factor 0.1405)				2509.47
					352.58
	Total				2862.05 (`
	Add CPOH @ 15%				429.31
	Cost of 10 nos				3291.36
	Cost of each				329.14
	labour cess @1%				3.29
	Rate including labour cess	_			332.43
9.148.3	300 x 19 x 1.9 mm	Say Rs.	332.40	Each	
9.140.3					
	Details of cost for 10 Nos				
0757	MATERIAL:				
8757	Stainless steel friction hinge of size 300 mm				
	x 19 x 1.9 mm for uPVC windows	each	10.00	260.00	2600.00
8647	Stainless steel screws 30 mm x4 mm	100 Nos	40.00	35.84	14.34
9999	Carriage	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.14	306.00	42.84
	TOTAL	,			2714.62
	Add Water Charges @ 1%				27.15
	TOTAL				2741.77
	Add GST 12% on "X" (multiplying factor 0.1405)				
	Total				385.22
	Add CPOH @ 15%				3126.99 (\
	Cost of 10 nos				469.05
	Cost of each				3596.04
	labour cess @1%				359.60
					3.60
	Rate including labour cess				363.20
9.148.4	350 x 19 x 1.9 mm	Say Rs.	363.20	Each	
J. 140.4					
	Details of cost for 10 Nos				
	MATERIAL:				
8758	Stainless steel friction hinge of size 350 mm				
8758	Stainless steel friction hinge of size 350 mm x 19 x 1.9 mm for uPVC windows	each	10.00	361.00	3610.00
8758 8647		each 100 Nos	10.00	361,00 35.84	3610.00
	x 19 x 1.9 rnm for uPVC windows	each 100 Nos L.S	10.00 40.00 2.73	361,00 35.84 2.12	3610.00 14.34 5.79

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0114	Beldar	day	0.14	306.00	42.84
	TOTAL	00)			3724.62
					37.25
	Add Water Charges @ 1% TOTAL				3761.87
					528.54
	Add GST 12% on "X" (multiplying factor 0.1405)				4290.41
	Total				643.56
	Add CPOH @ 15%				4933.97
	Cost of 10 nos				493.40
	Cost of each				4.93
	labour cess @1%				498.33
	Rate including labour cess			F I-	430.55
		Say Rs.	498.30	Each	
9.148.5	400 x 19 x 1.9 mm				
	Details of cost for 10 Nos				ć
	MATERIAL:				
8759	Stainless steel friction hinge of size 400 mm				
	x 19 x 1.9 mm for uPVC windows	each	10.00	365.00	3650.00
8647	Stainless steel screws 30 mm x4 mm	100 Nos	40.00	35.84	14.34
9999	Carriage	L.S.	2.73	2.12	5.79
0112	Carpenter 2nd class	day	0.14	369.00	51.66
0112	Beldar	day	0.14	306.00	42.84
0114	TOTAL	ady	0		3764.62
					37.65
	Add Water Charges @ 1%				3802.27
	TOTAL				
	Add GST 12% on "X" (multiplying factor 0.1405)				534.22
	Total				4336.49
	Add CPOH @ 15%				650.47
	Cost of 10 nos				4986.96
	Cost of each				498.70
	labour cess @1%				4.99
	Rate including labour cess				503.68
		Say Rs.	503.70	Each	
9.149	Providing and fixing casement handle made of				
	zinc alloyed (white powder coated) for uPVC				
	casement window with necessary screws etc.				
	complete.				
	Details of cost for 10 Nos				
0750	MATERIAL:				
8750	Zinc alloy (white powder coated) casement				
	handle for uPVC windows	each	10.00	130.00	1300.00
9999	Carriage	L.S.	4.42	2.12	9.37
9999	Sundries (Screws)	L.S.	3.00	2.12	6.36
	LABOUR:				
0156	Carpenter (average)	day	0.13	369.00	46.13
2,00	TOTAL	-			1361.86
	Add Water Charges @ 1%				13.62
	TOTAL				1375.47
	Add GST 12% on "X" (multiplying factor 0.1405)				193.25
	Total				1568,73
	Add CPOH @ 15%				235.31
	Cost of 10 nos				1804.04
					180.40
	Cost of each				
	labour cess @1%				
		Sau Da	102 20	East-	1.80 182.21
	labour cess @1%	Say Rs.	. 182.20	Each	

Coat with	dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	each L.S. L.S. day	10.00 4.42 3.00 0.13	114.00 2.12 2.12 369.00	1140.00 9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59 160.80
Coat with	ted) touch lock for uPVC sliding window in necessary screws etc. complete. alls of cost for 10 Nos TERIAL: alloy (white powder coated) Touch Lock for C windows riage dries (Screws) OUR: benter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. inplete. alls of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi 8752 Zinc 9999 Sund LABG 0156 Carp 9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Sund LABG 0156 Carp Add 0	n necessary screws etc. complete. alls of cost for 10 Nos TERIAL: alloy (white powder coated) Touch Lock for C windows riage dries (Screws) OUR: benter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. alls of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATE 8752 Zinc 9999 Sund LABC 0156 Carp Add 0	ails of cost for 10 Nos TERIAL: alloy (white powder coated) Touch Lock for C windows riage dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. ails of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATE 8752 Zinc 9999 Sund LABC 0156 Carp Add 0	ERIAL: calloy (white powder coated) Touch Lock for C windows riage dries (Screws) OUR: center (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9751 Zinc uPV0 9999 Carri 9999 Sunc LAB0 0156 Carp 9.151 Prov slidi com Detai MATE 8752 Zinc 9999 Sund LAB0 0156 Carp Add 0	alloy (white powder coated) Touch Lock for C windows riage dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9999 Carri 9999 Sunc LABC 0156 Carp 9.151 Prov slidi com Detai MATE 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add 0	C windows riage dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9999 Carri 9999 Sund LABG 0156 Carp 9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABG 0156 Carp Add 0	riage dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	L.S. L.S. day	4.42 3.00 0.13	2.12 2.12 369.00	9.37 6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9999 Sund LABC 0156 Carp 9.151 Prov slidi com Detai MATE 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add 0	dries (Screws) OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	L.S. day	3.00	2.12 369.00	6.36 46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Provisidia com Detai MATE 8752 Zinc. 9999 Sund LABC 0156 Carpi Add 0	OUR: Denter (average) TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	day	0.13	369.00	46.13 1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Provisidia com Detai MATE 8752 Zinc. 9999 Carris 9999 Sund LABC 0156 Carpi Add C	TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	ŕ			1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	TOTAL Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	ŕ			1201.86 12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	Add Water Charges @ 1% TOTAL GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	12.02 1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	1213.87 170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	170.55 1384.42 (207.66 1592.09 159.21 1.59
9.151 Prov slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	Total Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @ 1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	1384.42 (207.66 1592.09 159.21 1.59
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add C	Add CPOH @ 15% Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	207.66 1592.09 159.21 1.59
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add C	Cost of 10 nos Cost of each labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. uils of cost for 10 Nos	Say Rs.	160.80	Each	1592.09 159.21 1.59
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add C	Cost of each labour cess @1% Rate including labour cess widing and fixing steel roller for uPVC ing window with necessary screws etc. nplete.	Say Rs.	160.80	Each	159.21 1.59
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	labour cess @1% Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. iils of cost for 10 Nos	Say Rs.	160.80	Each	1.59
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	Rate including labour cess viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete. iils of cost for 10 Nos	Say Rs.	160.80	Each	
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add C	viding and fixing steel roller for uPVC ing window with necessary screws etc. nplete.	Say Rs.	160.80	Each	160.80
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carp Add C	ing window with necessary screws etc. nplete. ills of cost for 10 Nos	Say Ks.	160.80	Each	
slidi com Detai MATI 8752 Zinc 9999 Carri 9999 Sund LABC 0156 Carpi Add 0	ing window with necessary screws etc. nplete. ills of cost for 10 Nos				
9.152 Provslidii	nplete. nils of cost for 10 Nos				
9999 Sund LABC 0156 Carp 9.152 Prov	ills of cost for 10 Nos				
9999 Carris 9999 Sund LABC 0156 Carpi Add 0					
8752 Zinc 9999 Carris 9999 Sund LABC 0156 Carpi Add 0					
9999 Carri 9999 Sund LABC 0156 Carpo Add C			40.00		
9999 Sund LABC 0156 Carp Add C	alloy rollers for uPVC windows	each	10.00	60.00	600.00
9.152 Prov	•	L.S.	4.42	2.12	9.37
O156 Carpo Add C	dries (Screws)	L.S.	3.00	2.12	6.36
Add 0 9.152 Prov slidii			0.40		
9.152 Prov slidii	eenter (average) TOTAL	day	0.13	369.00	46.13
9.152 Prov slidii					661.86
9.152 Prov slidii	Add Water Charges @ 1% TOTAL				6.62
9.152 Prov slidii	GST 12% on "X" (multiplying factor 0.1405)				668.47 93.92
slidi	Total				762.39 (`
slidi	Add CPOH @ 15%				114.36
slidi	Cost of 10 nos				876.75
slidi	Cost of each				87.68
slidi	labour cess @1%				0.88
slidi	Rate including labour cess				88.55
slidi	•	Say Rs.	88.60	Each	20.00
slidi	viding and fixing steel roller for uPVC	-			
	ing door with necessary screws etc.				
com	plete.				
	ils of cost for 10 Nos				
	ERIAL:				
	alloy rollers for uPVC door	each	10.00	105.00	1050.00
9999 Carria		L.S.	4.42	2.12	1050.00
	Iries (Screws)	L.S.	3.00	2.12	9.37 6.36
LABC			3.00	4.14	0.30
		day	0.13	369.00	40.40
2.23 Oa.pc	OUR:	day	0.13	509.00	46.13
	DUR: enter (average)				1111.86 11.12
	OUR: enter (average) TOTAL				
D X \	DUR: enter (average)				1122.97

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add GST 12% on "X" (multiplying factor 0.1405)		I	L	157.78
	Total				1280.75
	Add CPOH @ 15%				192.11
	Cost of 10 nos				1472.86
	Cost of each				147.29
	labour cess @1%				1.47
	Rate including labour cess				148.76
9.153	Description of the second of t	Say Rs.	148.80	Each	
3.133	Providing and fixing steel (white power coated) crescent lock for uPVC sliding window/ door				
	with necessary screws etc. complete.				
	Details of cost for 10 Nos MATERIAL:				
8754	Zinc alloy (white powder coated) casement lock for				
	uPVC windows	each	10.00	110.00	1100.00
9999	Carriage	L.S.	4.42	2.12	9.37
9999	Sundries (Screws)	L.S.	3.00	2.12	6.36
	LABOUR:				
0156	Carpenter (average)	day	0.13	369.00	46.13
	TOTAL	105			1161.86
	Add Water Charges @ 1%				11.62
	TOTAL				1173.47
	Add GST 12% on "X" (multiplying factor 0.1405)				164.87
	Total				1338.35
	Add CPOH @ 15%				200.75
	Cost of 10 nos Cost of each				1539.10
	labour cess @1%				153.91
	Rate including labour cess	Say Rs.	155.40	Each	1.54 155.45
9.154	Rate including labour cess Providing and fixing frame work for partitions	/ wall linii	ng etc. ma	Each	155.45 50x1.6 mm
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling	/ wall linii and floor	ng etc. ma in a grid	de of 50x	155.45 50x1.6 mm
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling	/ wall linii and floor	ng etc. ma in a grid	de of 50x	155.45 50x1.6 mm
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening	/ wall lining and floor for doors	ng etc. ma in a grid s, windows	de of 50x pattern wi	155.45 50x1.6 mm ith spacing
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way.	/ wall lining and floor for doors (verticall	ng etc. ma in a grid s, windows y & horizo	de of 50x pattern wi , electrica ntally) or	155.45 50x1.6 mm ith spacing Il conduits, at required
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding	/ wall lining and floor for doors (verticall at junction	ng etc. ma in a grid s, windows y & horizo ns and fixi	de of 50x pattern wi , electrica ntally) or	155.45 50x1.6 mm ith spacing I conduits, at required
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. concharge. Details of cost for 2.4x2.4 m panel=5.76m² or	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Providing and fixing frame work for partitions hollow MS tube,placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. cocharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. coacharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL:	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. coacharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Providing and fixing frame work for partitions hollow MS tube,placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. concharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/
9.154	Rate including labour cess Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. concharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg	/ wall lining and floor for doors (verticall at junction dia, 75 mmplete, all	ng etc. ma in a grid s, windows ly & horizo ns and fixi m long etc as per dire	de of 50x pattern wi s, electrica ntally) or ng the fran ,, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in-
	Providing and fixing frame work for partitions hollow MS tube,placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. concharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg	/ wall lining and floor for doors (verticall at junction dia, 75 m	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc	de of 50x pattern wi , electrica ntally) or ng the frai including	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in-
4009	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. concharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type	/ wall lining and floors for doors s (verticall at junction dia, 75 mmplete, all	ng etc. ma in a grid s, windows by & horizons and fixing m long etc as per dire	de of 50x pattern wi i, electrica ntally) or ng the fran i, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in-
4009	Providing and fixing frame work for partitions hollow MS tube,placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt	/ wall lining and floor for doors (verticall at junction dia, 75 mmplete, all	ng etc. ma in a grid s, windows ly & horizo ns and fixi m long etc as per dire	de of 50x pattern wi s, electrica ntally) or ng the fran ,, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in-
4009 8776	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing	/ wall lining and floors for doors s (verticall at junction dia, 75 mmplete, all	ng etc. ma in a grid s, windows by & horizons and fixing m long etc as per dire	de of 50x pattern wi i, electrica ntally) or ng the fran i, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in-
4009 8776 3.50.3	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing LABOUR:	/ wall lining and floors for doors s (verticall at junction dia, 75 mmplete, all kilogram each sqm	ng etc. ma in a grid s, windows by & horizons and fixing m long etc as per direct 61.27 20.00 4.80	de of 50x pattern wis, electrica ntally) or ng the frain, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in- 3676.20 49580.00
4009 8776 13.50.3	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing	/ wall lining and floors for doors so (verticall at junction dia, 75 mmplete, all kilogram each sqm	ng etc. ma in a grid s, windows by & horizons and fixing m long etc as per direct 20.00 4.80 0.40	de of 50x pattern wis, electrica ntally) or ng the fram, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in- 3676.20 49580.00 166.08
4009 8776 3.50.3 0116 0103	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing LABOUR: Fitter (grade 1)	/ wall lining and floors for doors so (vertically at junction dia, 75 mmplete, ally kilogram each sqm day day	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc as per dire 61.27 20.00 4.80 0.40 0.53	de of 50x pattern wis, electrica ntally) or ng the fram, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in- 3676.20 49580.00 166.08
4009 8776 13.50.3	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing LABOUR: Fitter (grade 1) Blacksmith 2nd class	/ wall lining and floors for doors so (vertically at junction dia, 75 mmplete, all kilogram each sqm day day day	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc as per dire 61.27 20.00 4.80 0.40 0.53 1.23	de of 50x pattern wis, electrica ntally) or ng the fram, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in- 3676.20 49580.00 166.08 168.00 195.57 376.38
4009 8776 13.50.3 0116 0103 0114 0100	Providing and fixing frame work for partitions hollow MS tube, placed along the walls, ceiling @bolt, including making provision for opening switch boards 60 cm centre to centre both way spacing near opening, with necessary welding ceiling/ floors with steel dash fasteners of 8 mm with two coats of approved steel primer etc. corcharge. Details of cost for 2.4x2.4 m panel=5.76m² or 58.35 Kg MATERIAL: M.S.Pipe section @ 10.13 kg/sqm=58.35 Kg+ Add 5% wastage = 2.92 Kg Total = 61.27 Kg Mild steel tubes hot finished welded type Stainless steel dash fastener of 8 mm dia and 75 mm long bolt Steel primer5 x 2 x 2.40 x 0.05 x 4 = 4.80 sqm Rate as per Item Number 13.50.3 of SH: Finishing LABOUR: Fitter (grade 1) Blacksmith 2nd class Beldar	/ wall lining and floors for doors so (vertically at junction dia, 75 mmplete, ally kilogram each sqm day day	ng etc. ma in a grid s, windows y & horizo ns and fixi m long etc as per dire 61.27 20.00 4.80 0.40 0.53	de of 50x pattern wis, electrica ntally) or ng the fram, including ection of E	155.45 50x1.6 mm ith spacing il conduits, at required me to wall/ g providing ingineer-in- 3676.20 49580.00 166.08

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Sundries	L.S.	33.56	2.12	71.15
	TOTAL				54252.88
	Add Water Charges @ 1% except on A i.e on				
	(54252.8772 - 166.08)=				540.87
	TOTAL				54793.75
	Add GST 12% on "X" except A(multiplying factor 0.1405)				7675.19
	Total				62468.93
	Add CPOH @ 15% except on A i.e on				
	(62468.932128666 - 166.08)=				9345.43
	Cost of 58.35 kg				71814.36
	Cost of 1 kg				1230.75
	labour cess @1%				12.31
	Rate including labour cess				1243.06
		Say Rs.	1243.10	per ka	
9.155	Providing and fixing panelling or paneling and g shutters for doors, windows and clerestory wind			-	_

9.155 Providing and fixing panelling or paneling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (area of opening for panel grooves or rebated to be measured). Panelling for panelled and glazed shutters 25mm to 40mminserts excluding portion inside thick:Pre-laminated with decorative lamination on both side exterior Grade - I MDF Board 12 mm thick confirming to IS:14587

Details of cost for 0.66 sqm Detail of cost for a door with 2/3rd paneling. $200 \times 108 \text{ cm} = 2.16 \text{ sqm}$ Pannel area 4x45.1x36.55cm = 0.66 sqm MATERIAL: Both side laminated 12mm thick MDF Board 4x47.2x38.65 cm = 0.73 sqmAdding 10% wastage= 0.07 sqm Total= 0.80 sam 2484 Pre-laminated with decorative lamination on both side exterior Grade - I MDF Board 12 mm thick confirming to IS:14587 0.80 469.00 375.20 sam 9999 Sundries (Carriage of MDF board) L.S. 1.82 2.12 3.86 LABOUR: 0111 Carpenter 1 st class day 0.57 413.00 235.41 9999 Sundries L.S. 4.42 2.12 9.37 **TOTAL** 623.84 Add Water Charges @ 1% 6.24 TOTAL 630.08 Add GST 12% on "X" (multiplying factor 0.1405) 88.53 718.60 (Y) Add CPOH @ 15% 107.79 Cost of 0.66 sqm 826.39 Cost of 1 sqm 1252.11 labour cess @1% 12.52 Rate including labour cess 1264.63 Say Rs. 1264.60 per sqm

Providing and fixing Pre -laminated medium density fibre board exterior grade (Grade-I) IS:14587:1998 marked, to frame, backing or studding with screws etc. complete (Frames, backing or studding to be paid separately).

9.156.1 Pre-laminated with decorative lamination on both side exterior Grade - I MDF Board 12 mm thick confirming to IS:14587

Details of cost for 7.00 sqm Detail of cost for 350x200 cm = 7sqm

9.156

FX L & BCD/SOR_11th Edition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:				
	12 mm thick both side laminated board				
	= 7.00 sqm Add for wastage @5% = 0.35 sqm				
	Total= 7.35 sqm				
2484	Pre-laminated with decorative lamination on both				
	side exterior Grade - I MDF Board 12 mm thick			100.00	2447 15
	confirming to IS:14587	sqm	7.35	469.00	3447.15 28.66
9999	Sundries (Carriage of MDF board)	L.S.	13.52 26.91	2.12 2.12	57.05
9999	Sundries and screws	L.S.	20.51	2.12	
0112	LABOUR:	day	0.90	369.00	332.10
0112	Carpenter 2nd class Beldar	day	1.00	306.00	306.00
0114	TOTAL	,			4170.96
	Add Water Charges @ 1%				41.71 4212.67
	TOTAL				591.88
	Add GST 12% on "X" (multiplying factor 0.1405) Total				4804.55 (Y
	Add CPOH @ 15%				720.68
	Cost of 7.00 sqm				5525.23
	Cost of 1 sqm				789.32
	labour cess @1%				7.89 797.21
	Rate including labour cess	Say Rs.	797.20	per sqm	737.21
0 156 2	Pre-laminated with decorative lamination on	Say NS.	131.20	per squi	
9.130.2	both side exterior Grade - I MDF Board 18 mm				
	thick confirming to IS:14587				
	Details of cost for 7.00 sqm				
	Detail of cost for 350x200 cm = 7sqm				
	MATERIAL:				
	18 mm thick both side laminated board				
	= 7.00 sqm Add for wastage @5% = 0.35 sqm				
	Total= 7.35 sqm				
2485	Pre-laminated with decorative lamination on both				
	side exterior Grade - I MDF Board 18 mm thick				
	confirming to IS:14587	sqm	7.35	609.00	4476.15
9999	Sundries (Carriage of MDF board)	L.S.	19.76	2.12	41.89
9999	Sundries and screws LABOUR:	L.S.	26.91	2.12	57.05
0112	Carpenter 2nd class	day	0.90	369.00	332.10
0112	Beldar	day	1.00	306.00	306.00
.,	TOTAL	,			5213.19
	Add Water Charges @ 1%				52.13
	TOTAL				5265.32
	Add GST 12% on "X" (multiplying factor 0.1405) Total				739.78
	Add CPOH @ 15%				6005.10 (Y 900.77
	Cost of 7.00 sqm				6905.87
	Cost of 1 sqm				986.55
	labour cess @1%				9.87
	Rate including labour cess	Say Rs.	006.40		996.42
9.157	Providing and fixing Pre-laminated medium der	oay KS. Isitv fihre	996.40 board IS:	per sqm • 14587•19	98 markad
307	with one side decorative lamination other sid	le balanci	ing lamina	ation Grad	te-llexterior
	grade) in shelves with screws and fittings wherev	er require	ed, edaes i	o be seale	d with PVC
	edge bending tape 2.00 mm thick of approved bra	nd (fitting	s to be pa	id separate	elv).
001000	11th Edition_2022 \$\frac{1}{2} \frac{1}{2} \frac{1}{2}	BL	(3)	α / Λ	

9.157.1	Pre-laminated with decorative lamination one			₹	₹
	Tre-laminated with decorative lamination one				
	side and other side balancing lamination				
	exterior Grade - I MDF Board 18 mm thick				
	confirming to IS:14587				
	Details of cost for 0.60 sqm				
	Detail of cost for 4 Nos. 75x20 cm shelves				
	= 0.60 sqm				
	MATERIAL: 18 mm Thick MDF Board out side laminated				
	= 0.60 sqm				
	Add wastage @ 5% = 0.03 sqm				
2488	Total= 0.63 sqm Pre-laminated with decorative lamination one				
2400	side and other side balancing lamination exterior				
	Grade - I MDF Board 18 mm thick confirming to				
	IS:14587	sqm	0.63	582.00	366.66
	PVC edge bending tape 2.00 mm thick				
0.400	4X0.75 = 3.00 metre				
2489 9999	PVC edge bending tape 2.00 mm thick Sundries (Carriage of MDF board)	metre L.S.	3.00 0.91	21.00 2.12	63.00 1.93
	LABOUR:	2.0.	0.51	2.12	1.55
0112	Carpenter 2nd class	day	0.11	369.00	40.59
0114 9999	Beldar Sundries and screws	day	0.06	306.00	18.36
3333	TOTAL	L.S.	7.80	2.12	16.54 507.08
	Add Water Charges @ 1%				5.07
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				512.15
	Total				71.96 584.10 (Y
	Add CPOH @ 15%				87.62
	Cost of 0.60 sqm Cost of 1 sqm				671.72
	labour cess @1%				1119.53 11.20
	Rate including labour cess				1130.73
9.157.2	Pre-laminated with decorative lamination one	Say Rs.	1130.70	per sqm	
	side and other side balancing lamination				
	exterior Grade - I MDF Board 25 mm thick				
	confirming to IS:14587				
	Details of cost for 0.60 sqm				
	Details of cost for 4 Nos. 75x20 cm shelves				
	= 0.60 sqm				
	MATERIAL: 25 mm Thick MDF Board outside laminated				
	= 0.60 sqm				
	Add wastage @ 5% = 0.03 sqm				
	Total= 0.63 sqm				
	Pre-laminated with decorative lamination one side and other side balancing lamination exterior				
	Grade - I MDF Board 25 mm thick confirming to				
	IS:14587	sqm	0.63	877.00	552.51
1	PVC edge bending tape 2.00 mm thick	•			552,01
	4X0.75 = 3.00 metre				
2489	PVC edge bending tape 2.00 mm thick	metre	3 00	21.00	63.00
D_L	S 395 Q	´	BCI	D/SOR_11th E	dition_2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9999	Sundries (Carriage of MDF board)	L.S.	1.82	2.12	3.86
	LABOUR:				
0112	Carpenter 2nd class	day	0.11	369.00	40.59
0114	Beldar	day	0.06	306.00	18.36
9999	Sundries and screws	L.S.	7.80	2.12	, 16.54
	TOTAL	2.0.	. ,,,,		694.85
	Add Water Charges @ 1%				6.95
	TOTAL				701.80
	Add GST 12% on "X" (multiplying factor 0.1405)				98.60
	Total				800.41
	Add CPOH @ 15%				120.06
	Cost of 0.60 sqm				920.47
	Cost of 1 sqm				1534.11
	labour cess @1%				15.34
	Rate including labour cess				1549.45
	rtate moraumy rapour obse	Say Rs.	1549.50	per sqm	
9.158	Providing and fixing in wall lining medium densit				arked. Pre-
	laminated one side decorative lamination and				
			ue balanc	ing ianiin	ation, with
	necessary fixing arrangement and screws etc. co	mpiete.			
9.158.1	12 mm thick.				
	Details of cost for 10.00 sqm				
	Detail of cost for 10 sqm				
	MATERIAL:				
	12 mm thick MDF Board Grade-I ,one side laminated				
	= 10.00 sgm				
	Add wastage @10 %=1.00 sqm				
	Total=11.00 sqm				
2487	Pre-laminated with decorative lamination one				
	side and other side balancing lamination exterior				
	Grade - I MDF Board 12 mm thick confirming to				
	IS:14587	sqm	11.00	439.00	4829.00
9999	Sundries (Carriage of MDF board)	L.S.	13.52	2.12	28.66
9999	Sundries and screws	L.S.	26.91	2.12	57.05
	LABOUR:				
0112	Carpenter 2nd class	day	1.28	369.00	472.32
0114	Beldar	day	1.43	306.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210.00
,	TOTAL	545.1	00.00	22.00	7034.61
	Add Water Charges @ 1%				70,35
	TOTAL				7104.96
	Add GST 12% on "X" (multiplying factor 0.1405)				998.25
	Total				8103.20 (
	Add CPOH @ 15%				1215.48
	Cost of 10.00 sgm				9318.68
	Cost of 1 sqm				931.87
	labour cess @1%				9.32
	Rate including labour cess				941.19
			041.20	per sqm	041.13
	Nate including labour cess	Sav Rs.	341.20		
9.158.2	18 mm thick.	Say Rs.	941.20	,	
9.158.2	18 mm thick.	Say Rs.	341.20		
9.158.2	18 mm thick. Details of cost for 10.00 sqm	Say Rs.	941.20	,	
9.158.2	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm	Say Rs.	341.20	,	
9.158.2	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL:	Say Rs.	541.20	,	
9.158.2	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL: 18 mm thick MDF Board Grade-I,	Say Rs.	541.20	,	
9.158.2	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL: 18 mm thick MDF Board Grade-I, one side laminated = 10.00 sqm	Say Rs.	541.20	,	
9.158.2	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL: 18 mm thick MDF Board Grade-I, one side laminated = 10.00 sqm Add wastage @10 % = 1.00 sqm	Say Rs.	541.20	,	
	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL: 18 mm thick MDF Board Grade-I, one side laminated = 10.00 sqm Add wastage @10 % = 1.00 sqm Total= 11.00 sqm	Say Rs.	541.20		
2488	18 mm thick. Details of cost for 10.00 sqm Detail of cost for 10 sqm MATERIAL: 18 mm thick MDF Board Grade-I, one side laminated = 10.00 sqm Add wastage @10 % = 1.00 sqm		341.20		a

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	side and other side balancing lamination exterior				
	Grade - I MDF Board 18 mm thick confirming to				
	IS:14587	sqm	11.00	582.00	6402.00
9999	Sundries (Carriage of MDF board)	L.S.	13.52	2.12	28.66
9999	Sundries and screws	L.S.	26.91	2.12	57.05
	LABOUR:				
0112	Carpenter 2nd class	day	1.28	369.00	472.32
0114	Beldar	day	1.43	306.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210.00
7010	TOTAL	00011	00,00		8607.61
	Add Water Charges @ 1%				86.08
	TOTAL				8693.69
	Add GST 12% on "X" (multiplying factor 0.1405)				1221.46
	Total				9915.15 (Y
	Add CPOH @ 15%				1487.27
	Cost of 10.00 sqm				11402.42
	Cost of 1 sqm				1140.24
	labour cess @1%				11.40
	Rate including labour cess				1151.64
		Say Rs.	1151.60	per sqm	
9.158.3	25 mm thick.				
	Details of cost for 10.00 sqm				
1	Detail of cost for 10 sqm				
	MATERIAL:				
	25 mm thick MDF Board Grade-I ,one side				
	laminated = 10.00 sqm				
	Add wastage @10 % = 1.00 sqm				
	Total= 11.00 sqm				
2486	Pre-laminated with decorative lamination one				
	side and other side balancing lamination exterior				
	Grade - I MDF Board 25 mm thick confirming to				
	IS:14587	sqm	11.00	877.00	9647.00
9999	Sundries (Carriage of MDF board)	L.S.	13.52	2.12	28.66
9999	Sundries and screws	L.S.	26.91	2.12	57.05
	LABOUR:	vi.	4.00	000.00	470.00
0112	Carpenter 2nd class	day	1.28	369.00	472.32
0114	Beldar	day	1.43	306.00 22.00	437.58
7048	Rawl plug 50 mm (designation 10 nos)	each	55.00	22.00	1210.00 11852.61
	TOTAL				118.53
	Add Water Charges @ 1% TOTAL				11971.14
					1681.94
	Add GST 12% on "X" (multiplying factor 0.1405) Total				13653.08 (Y)
	Add CPOH @ 15%				2047.96
	Cost of 10.00 sqm				15701.04
	Cost of 1 sqm				1570.10
	labour cess @1%				15.70
	Rate including labour cess				1585.81
	Nate mending lands. book	Say Rs.	1585.80 g	oer sqm	O 3.0 I

9.159 Providing and fixing 25mm thick pre-laminated medium density fibre board exterior grade (
Grade-I) IS:14587:1998 marked one side decorative and other side balancing lamination for cupboard shutters edges to be sealed with PVC edge bending tape 2.00 mm thick of approved brand including ISI marked nickeled plated bright finishing M.S. piano hinges IS:3818 marked with necessary screwed complete.

Details of cost for 2.20 sqm Detail of Cost for 2.20 sqm (2.20 m x 1.00 m)

X \ BCD/SOR_11th Edition_ 2022

No	Description	Unit	Quantity	Rate ₹	Amount ₹
	MATERIAL:				
2486	Pre-laminated with decorative lamination one				
	side and other side balancing lamination exterior				
	Grade - I MDF Board 25 mm thick confirming to				
	IS:14587	sqm	2.20	877.00	1929.40
9999	Sundries(Carriage of MDF board)	L.S.	26.94	2.12	57.11
	PVC edge bending tape 2.00 mm thick				
	2x(2.20+1.00) = 6.40 metre				101.10
2489	PVC edge bending tape 2.00 mm thick	metre	6.40	21.00	134.40
	Fitting for a door of 2.20 m x1.00 mTotal = 2(2.20)				
0608	= 4.40 metre				
0000	Nickel plated bright finished mild steel piano hinges 1 mm thick 25 mm wide	metre	4.40	39.00	171.60
0639	Bright finished or black enameled mild steel	mene	4.40	00.00	,,,,,,,
0000	screws 25 mm	100 Nos	125.00	40.00	50.00
	LABOUR:				
	For fixing shutter and fittings				
0156	Carpenter (average)	day	0.55	369.00	202.95
0114	Beldar	day	0.55	306.00	168.30 2713.76
	TOTAL Add Water Charges @ 1%				27.14
	TOTAL				2740.90
	Add GST 12% on "X" (multiplying factor 0.1405)				385.10
	Total				3126.00 (Y
	Add CPOH @ 15%				468.90
	Cost of 2.20 sqm Cost of 1 sqm				3594.90 1634.04
	labour cess @1%				16.34
	Rate including labour cess				1050 20
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				1650.38
		Say Rs		per sqm	
9.160	Providing and fixing skirting with Pre-laminated	medium d	ensity fibre	board ex	terior grade
9.160	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side deco	medium d rative and	ensity fibre other side	board ex	terior grade lamination)
9.160	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screw	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
9.160	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with I	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete.	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick.	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick. Details of cost for 6.00 sqm	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with approved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
9.160.1	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
9.160.1	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior	medium d rative and vs, includi	ensity fibre other side ng drilling	board ex balancing necessar	terior grade lamination) y holes for
9.160.1	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to	medium d rative and vs, includi	ensity fibre other side ng drilling bending ta	e board ex balancing necessar ape 2.00 n	terior grade lamination) y holes for
9.160.1 2488	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587	medium d rative and vs, includi PVC edge	ensity fibre other side ng drilling bending ta	e board ex balancing necessar ape 2.00 n	terior grade lamination) y holes for
9.160.1 2488 9999	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board)	medium d rative and vs, includi PVC edge sqm L.S.	ensity fibre other side ng drilling bending ta	board ex balancing necessar ape 2.00 n	terior grade lamination) y holes for nm thick of 3841.20 17.19
9.160.1 2488 9999 2489	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick	medium d rative and vs, includi PVC edge sqm L.S. metre	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00	board exbalancing necessar ape 2.00 n	terior grade lamination) y holes for nm thick of 3841.20 17.19 630.00
9.160.1 2488 9999 2489 7048	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick Rawl plug 50 mm (designation 10 nos)	medium d rative and vs, includi PVC edge sqm L.S. metre each	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00 102.00	board exbalancing necessar ape 2.00 necessar	terior grade lamination) y holes for nm thick of 3841.20 17.19 630.00 2244.00
9.160.1 2488 9999 2489	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screwrawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick	medium d rative and vs, includi PVC edge sqm L.S. metre	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00	board exbalancing necessar ape 2.00 n	terior grade lamination) y holes for nm thick of 3841.20 17.19 630.00
9.160.1 2488 9999 2489 7048	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screw rawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick Rawl plug 50 mm (designation 10 nos) Sundries (Labour for drilling hole) LABOUR:	sqm L.S. metre each L.S.	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00 102.00 130.00	582.00 2.12 21.00 2.12	sterior grade lamination) y holes for nm thick of 3841.20 17.19 630.00 2244.00 275.60
9.160.1 2488 9999 2489 7048 9999	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screw rawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick Rawl plug 50 mm (designation 10 nos) Sundries (Labour for drilling hole)	medium d rative and vs, includi PVC edge sqm L.S. metre each	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00 102.00	board exbalancing necessar ape 2.00 necessar	3841.20 17.19 630.00 2244.00 275.60
9.160.1 2488 9999 2489 7048 9999 0112	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screw rawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick Rawl plug 50 mm (designation 10 nos) Sundries (Labour for drilling hole) LABOUR: Carpenter 2nd class	medium d rative and vs, includi PVC edge sqm L.S. metre each L.S.	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00 102.00 130.00 0.77 0.86 53.82	582.00 2.12 21.00 2.12 369.00	sterior grade lamination) y holes for nm thick of 3841.20 17.19 630.00 2244.00 275.60
9.160.1 2488 9999 2489 7048 9999 0112 0114 9999	Providing and fixing skirting with Pre-laminated (Grade-I) IS: 14587:1998 marked, (one side decowith necessary fixing arrangements and screw rawl plugs etc. and edges to be sealed with fapproved brand complete. 18 mm thick. Details of cost for 6.00 sqm Detail of cost for skirting 200 mm wide & 30 m long Area 0.20 mx30 m = 6.0 sqm MATERIAL: Area 0.20 m x30 m = 6.0 sqm Add wastage @ 10 % = 0.60 sqm Total = 6.60 sqm Pre-laminated with decorative lamination one side and other side balancing lamination exterior Grade - I MDF Board 18 mm thick confirming to IS:14587 Sundries (Carriage of MDF board) PVC edge bending tape 2.00 mm thick Rawl plug 50 mm (designation 10 nos) Sundries (Labour for drilling hole) LABOUR: Carpenter 2nd class Beldar	medium d rative and vs, includi PVC edge sqm L.S. metre each L.S. day day	ensity fibre other side ng drilling bending ta 6.60 8.11 30.00 102.00 130.00 0.77 0.86	582.00 2.12 21.00 22.00 2.12 369.00 306.00	3841.20 17.19 630.00 2244.00 275.60

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	TOTAL				7669.38
	Add Water Charges @ 1%				76.69
	TOTAL				7746.08
	Add GST 12% on "X" (multiplying factor 0.1405)				1088.32
	Total				8834.40 (Y)
	Add CPOH @ 15%				1325.16
	Cost of 6.00 sqm				10159.56
	Cost of 1 sqm				1693.26
	labour cess @1%				16.93
	Rate including labour cess				1710.19
		Say Rs.		per sqm	
9.160	Providing and fixing skirting with Pre-laminated				
	(Grade-I) IS: 14587:1998 marked, (one side decor	ative and o	other side b	alancing la	amination)
	with necessary fixing arrangements and screws,	including	drilling nec	essary hol	es for
	rawl plugs etc. and edges to be sealed with PVC	-	_	_	
	approved brand complete.	· J - · · · · · · ·	y,		
	approvou arana compretor				
9.160.2	25 mm thick.				
002	Details of cost for 6.00 sqm				
	Detail of cost for skirting 200 mm wide & 30 m long				
	Area 0.20 mx30 m = 6.0 sqm				
;	MATERIAL:				
,	Area 0.20 m x30 m = 6.0 sqm				
	Add wastage @ 10 % = 0.60 sqm				
	Total = 6.60 sqm				
2486	Pre-laminated with decorative lamination one				
	side and other side balancing lamination exterior				
	Grade - I MDF Board 25 mm thick confirming to				
			2.00	077.00	
0000	IS:14587	sqm	6.60	877.00	5788.20
9999	Sundries (Carriage of MDF board)	L.S.	8.11	2.12	17.19
2489	PVC edge bending tape 2.00 mm thick	metre	30.00	21.00	630.00
7048 9999	Rawl plug 50 mm (designation 10 nos)	each	102.00	22.00	2244.00
9999	Sundries(Labour for drilling hole)	L.S.	130.00	2.12	275.60
0440	LABOUR:				
0112	Carpenter 2nd class	day	0.77	369.00	284.13
0114	Beldar	day	0.86	306.00	263.16
9999	Sundries(Screws and sand papers)	L.S.	53.82	2.12	114.10
	TOTAL				9616.38
	Add Water Charges @ 1%				96.16
	TOTAL				9712.55
	Add GST 12% on "X" (multiplying factor 0.1405)				1364.61
	Total Add CPOH @ 15%				11077.16 (Y)
	Cost of 6.00 sqm				1661.57
	Cost of 6.00 sqm				12738.73
	labour cess @1%				2123.12
	Rate including labour cess				21.23
	Nate including labour cess	Sau De	2144 40 m		2144.35

599

Say Rs. 2144.40 per sqm

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.161	Providing and fixing fire resistant door frame of sect on vertical sides having built in rebate made out of 1 120gm/m²) suitable for mounting 120 min Fire Rated with Mineral wool Insulation having density min 96K. Anchor fastners 14 nos (5 each on vertical style & 4 fixing in the opening along with Factory made Templ 100x89x3mm for fixing of fire rated glazed shutter. Tresistant primer or Powder coating of not less than 3 of Engineer - in- charge. (Cost of SS ball bearing him	.6 mm thick C Glazed Door g/m³ . The fra on horizonta ate for SS Ba The frame sha o micron in c	Shutters. The will have I style of size II Bearing Hill be finished lesired shad	e frame sha a provision M10 x 80) inges of Sized with a app	II be filled of G.I. suitable for e roved fire
	Details of cost for 5.81 metre (Door size- 1710 x 2050 mm) MATERIAL:				
8017	Fire Rated door Frame made with1.6 mm thick G.I. Sheet (120 minutes) LABOUR:	metre	5.81	1200.00	6972.00
9999	For fixing in position all complete	L.S.	130.00	2.12	275.60
9999	Sundries and carriage (Fasteners, sims, Hole Plugs etc) Total	L.S.	250.00	2.12	530.00 7777.60
	Add water charges @ 1% Total Add GST 12% on "X" (multiplying factor 0.1405) Tota	ıl			77.78 7855.38 1103.68 8959.06 (Y)
	Add CPOH @ 15% Cost of 5.81 metre Cost of 1 metre labour cess @1%				1343.86 10302.91 1773.31 17.73 1791.04
	Rate including labour cess	Say Rs.	1791.00	per metre	

Providing and fixing 60 mm thick glazed fire resistant door shutters of 120 min Fire Rating 9.162 confirming to IS:3614 (Part II) or EN1634-1:1999, tested and certified as per laboratory approved by Engineer-in-charge, with suitable mounting on door frame, consisting of vertical styles, top rail & side rail 60 mm x 60 mm wide and bottom rail of 110 mm x 60 mm made out of 1.6mm thick G.I. sheet (zinc coating not less than 120gm/m²) duly filled mineral wool insulation having density min 96 kg/m³ and fixing with necessary stainless steel ball bearing hinges of size 100x89x3mm of approved make, including applying a coat of approved fire resistant primer or powder coating not less than 30 micron etc all complete as per direction of Engineer-in-charge (panelling to be paid for seperately).

	Details of cost for 3.50 sqm (Door size- 1710 x 2050 mm) material MATERIAL:				
8018					
	(120 minutes), including hinges but without glass	cam	3.50	6000.00	21000.00
-0-	panels but including wastages	sqm	3.50	0000.00	21000.00
8101	Stainless steel ball bearing hinges of size 100x89x3mm LABOUR:	each	8.00	450.00	3600.00
9999	For fixing in position all complete	L.S.	130.00	2.12	275.60
- 9999	Sundries and carriage	L.S.	280.00	2.12	593.60
	Total				25469.20
	Add water charges @ 1%				254.69
	Total				25723.89
	Add GST 12% on "X" (multiplying factor 0.1405)				3614.21
BCD/SO	R_11th Edition_ 2022	- Bs	(Br)		18

Code No	Description		Unit	Quantity	Rate ₹	Amount ₹
		Total				29338.10 (`
	Add CPOH @ 15%					4400.71
	Cost of 3.5 sqm					33738.81
	Cost of 1 sqm					9639.66
	labour cess @1%					96.40
	Rate including labour ce	ess				9736.06

Say Rs. 9736.10 per sqm

1791.04

9.163 Providing and fixing non load bearing fixed frame for fire resistant glazed Partition for 120 min Fire Rating, made out to a profile of dimension 60mm x 70 mm of 1.6 mm thick galvanised steel sheet as per test evidence suitable for fixing fire rated glass for 120 min of both integrity & radiation control (EW120) & minimum 15 min of insulation (EI15). The profile has to be fixed to the supporting construction by mea

500 mm (approx) c/c. Linear meaurement of frame shall be measured for payment. The frame shall be filled with mineral wool insulation of density min 96kg/m³. and finished with a approved fire resistant primer or Powder coating of not less than 30 micron in desired shade as per the directions of Engineer - in-charge.

Details of cost for 5.81 metre (Door size-1710 x 2050 mm) MATERIAL: 8017 Fire Rated door Frame made with 1.6 mm thick G.I. Sheet (120 minutes) metre 5.81 1200.00 6972.00 LABOUR: 9999 For fixing in position all complete L.S. 130.00 2 12 275.60 9999 Sundries and carriage (Fasteners, sims, Hole Plugs etc) LS 250.00 2.12 530.00 Total 7777.60 Add water charges @ 1% 77.78 Total 7855 38 Add GST 12% on "X" (multiplying factor 0.1405) 1103.68 Total 8959.06 (Y) Add CPOH @ 15% 1343.86 Cost of 5.81 mtere 10302.91 Cost of 1 metre 1773.31 labour cess @1% 17.73

Providing and fixing glazing in fire resistant door shutters, fixed panels & partitions etc., with G.I. beading made out of 1.6 mm thick G.I. sheet (zinc coating not less than 120 gm/m²) of size 20 x 33 mm screwed with M4 x 38 mm SS screws at distance 75 mm from the edges and 150 mm c/c, including applying a coat of approved fire resistant primer/powder coating of not less than 30 micron on G.I. beading, & special ceramic tape of 5 x 20 mm size etc complete in all respect as per direction of Engineer-in- charge. The glass shall be clear, toughened, interlayered, non-wired fire resistant having 11 mm thickness of approved brand with 120 minutes of fire resistance both integrity & radiation control (EW120) and minimum 15 min of insulation (EI15) and having a sound reduction of ?37dB and LT of 86%. Glass shall be compliant to class 2(B)2 category of Impact Resistance as per EN 12600. The glass should be manufactured in UL & TUV audited Facility and

Say Rs.

1791.00 per metre

Rate including labour cess

Resistance as per EN 12600. The glass should be manufactured in UL & TUV audited Facility and including UL-EU Certification. The maximum glazing size cannot be more than 1100 mm x 2200 mm (w x h) or 2.42 sq mts in total area. The test report for the complete system (Glazed Door or Partition) will be considered valid only if it contains the stamp and signature of the authorized signatory from the glass manufacturer. (Actual glass size is to be measured at site for payments).

Details of cost for 3.50qm (Door size 1710 mm x 2050 mm) Glazing area- 2x0.679x1.808= 2.46 sqm

MATERIAL

9.164

2640 Clear, toughened, interlayered, non-wiredfire resistant (120 minutes) glass panes11 mm thick

PX BCD/SOR_11th Edition_ 2022

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
2641	G.I. U beading of 1.6 mm thick G.I. Sheet with M4x38mm SS screws	metre	9.91	250 00	2477.50
2642	Ceramic tape 5x20 mm size		19.82	400.00	7928.00
	LABOUR:	metre	19.02	,55.55	
9999	For fixing in position all complete	L.S.	180.00	2.12	381.60
9999	Sundries and carriage & Calcium Silicate Blocks	L.S.	10.00	2.12	21.20 73538.30
	Total Add water charges @ 1% Total				735.38 74273.68
	Add GST 12% on "X" (multiplying factor 0.1405)				10435.45 84709.14 (
	Add CPOH @ 15%				12706.37
	Cost of 2.46 sqm				97415.51 39599.80
	Cost of 1 sqm labour cess @1%				396.00
	Rate including labour cess	Say Rs.	39995.80	per sqm	39995.80
0.465.4	Providing and fixing bright /matt finished Stainless Stanecessary screws etc all complete.				
9.165.1	125 mm Details of cost for ten nos (125 mm) MATERIAL				
	Stainless steel fancy handles (125mm)for kitchen	10 Nos	1.00	700.00	700.00
8214	cabinet SS screws 20mm	100 Nos.	0.40	110.00	44.00
9999	Carriage of material LABOUR	LS	1.82	2.12	3.86
111	Carpenter 1st class TOTAL	day	0.06	413.00	24.78 772.64
	Add Water Charges @ 1%				7.73
					780.36
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total				109.64
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405)				109.64 890.01 133.50
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos				109.64 890.01 133.50 1023.51
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no				109.64 890.01 133.50 1023.51 102.35
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos	Sav Rs.	103.40	Each	109.64 890.01 133.50 1023.51
0.165.2	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1%	Say Rs.	103.40	Each	109.64 890.01 133.50 1023.51 102.35 1.02
).165.2	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess	Say Rs.	103.40	Each	109.64 890.01 133.50 1023.51 102.35 1.02
9.165.2	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm)				109.64 890.01 133.50 1023.51 102.35 1.02 103.37
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet	10 Nos	1.00	500.00	109.64 890.01 133.50 1023.51 102.35 1.02 103.37
8214	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm	10 Nos 100 Nos.	1.00 0.40	500.00 110.00	109.64 890.01 133.50 1023.51 102.35 1.02 103.37
	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm Carriage of material LABOUR	10 Nos 100 Nos. L.S.	1.00 0.40 1.82	500.00 110.00 2.12	109.64 890.01 133.50 1023.51 102.35 1.02 103.37 500.00 44.00 3.86
8214	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm Carriage of material LABOUR Carpenter 1st class	10 Nos 100 Nos.	1.00 0.40	500.00 110.00	109.64 890.01 133.50 1023.51 102.35 1.02 103.37 500.00 44.00 3.86
8214 9999	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm Carriage of material LABOUR	10 Nos 100 Nos. L.S.	1.00 0.40 1.82	500.00 110.00 2.12	109.64 890.01 133.50 1023.51 102.35 1.02 103.37 500.00 44.00 3.86
8214 9999	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm Carriage of material LABOUR Carpenter 1st class TOTAL Add Water Charges @ 1% TOTAL	10 Nos 100 Nos. L.S.	1.00 0.40 1.82	500.00 110.00 2.12	109.64 890.01 133.50 1023.51 102.35 1.02 103.37 500.00 44.00 3.86 24.78 572.64 5.73 578.36
8214 9999	TOTAL Add GST 12% on "X" (multiplying factor 0.1405) Total Add CPOH @ 15% Cost for 10nos Cost for1 no labour cess @1% Rate including labour cess 100mm Details of cost for ten nos (100 mm) MATERIAL Stainless steel fancy handles (100mm) for kitchen cabinet SS screws 20mm Carriage of material LABOUR Carpenter 1st class TOTAL Add Water Charges @ 1%	10 Nos 100 Nos. L.S.	1.00 0.40 1.82	500.00 110.00 2.12	109.64 890.01 133.50 1023.51 102.35 1.02 103.37 500.00 44.00 3.86 24.78 572.64 5.73

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
NO	Add CPOH @ 15%				98.94
	Cost for 10nos				758.57
					75.86
	Cost for1 no				0.76
	labour cess @1%				76.62
	Rate including labour cess	Say Rs.	76.60	Each	
9.165.3	75 mm				
3.103.3	Details of cost for ten nos (75 mm) MATERIAL				
	Stainless steel fancy handles (75mm) for				
	kitchen cabinet	10 Nos	1.00	300.00	300.00
8214	SS screws 20mm	100 Nos.	0.40	110.00	44.00
		LS	1.82	2.12	3.86
9999	Carriage of material LABOUR	20	7.02		
111	Carpenter 1st class	day	0.06	413.00	24.78
111	TOTAL				372.64
	Add Water Charges @ 1%				3.73
	TOTAL				376.36
					52.88
	Add GST 12% on "X" (multiplying factor 0.1405) Total				429.24
					64.39
	Add CPOH @ 15%				493.63
	Cost for 10nos				49.36
	Cost for1 no				10.5.30
;	labour cess @1%				0.49
	Rate including labour cess	Say Rs.	49.90	Each	49.86
	Providing and fixing 18mm thick both sides Pre-lamin per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not	vith suitable n cabinet un	full thread der kitcher	ed steel scr ı counter e	ews etc. in
9.166 9.166.1	per IS: 15786:2008 of approved brand and shade v partitions, boxes, shelves, racks and cupboard, kitche	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade v partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick	vith suitable n cabinet un	full thread der kitcher	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade v partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick Details of cost for 4 nos.	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade verificens, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Note 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm.	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade verificens, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Note 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Note 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
).166.1	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as	vith suitable n cabinet un	full thread der kitcher to be paid s	ed steel scr ı counter e	ews etc. in
).166.1	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated	vith suitable in cabinet un te: Fittings	full thread der kitcher to be paid s	ed steel scr i counter e separately).	ews etc. in
0.166.1 NA	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008	vith suitable in cabinet un te: Fittings	full thread der kitcher to be paid s	ed steel scr counter e separately).	ews etc. in etc. all
0.166.1 NA	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board	vith suitable in cabinet un te: Fittings	full thread der kitcher to be paid s	ed steel scr i counter e separately).	ews etc. in etc. all
0.166.1 NA 9977	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR	vith suitable in cabinet un te: Fittings sqm L.S.	full thread der kitcher to be paid s	ed steel scr counter e separately). 650 2.12	ews etc. in etc. all 409.50 1.93
NA 9977	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class	vith suitable in cabinet un te: Fittings sqm L.S. day	full thread der kitcher to be paid s 0.63 0.91 0.11	ed steel scr counter eseparately). 650 2.12 369.00	ews etc. in stc. all 409.50 1.93
NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	ews etc. in etc. all 409.50 1.93 40.59 18.36
NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class	vith suitable in cabinet un te: Fittings sqm L.S. day	full thread der kitcher to be paid s 0.63 0.91 0.11	ed steel scr counter eseparately). 650 2.12 369.00	409.50 1.93 40.59 18.36 16.54
NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92
NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Note 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92
0.166.1 NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Notes) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87
0.166.1 NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78
0.166.1 NA 9977 112 114	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405)	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10
9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88
9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y"	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88 84.13
9.166.1 NA 9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitched complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88 84.13 645.01
9.166.1 NA 9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL Add Cess @ 1% on "Z"	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88 84.13 645.01 1075.02
9.166.1 NA 9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL Add Cess @ 1% on "Z" Cost of 0.60 sqm.	sqm L.S. day day	o.63 0.91 0.11 0.06	ed steel scr i counter e separately). 650 2.12 369.00 306.00	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88 84.13 645.01 1075.02 10.75
9.166.1 NA 9977 112 114 9999	per IS: 15786:2008 of approved brand and shade we partitions, boxes, shelves, racks and cupboard, kitche complete as per direction of Engineer-in-charge (Not 18 mm thick) 18 mm thick Details of cost for 4 nos. 75x20cm shelves= 0.60 sqm. MATERIAL 18mm thick particle board 4x75x20cm = 0.60sqm. Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm 18mm thick both sides Pre-laminated cement bonded wood particle board as per IS: 15786:2008 Carriage of board LABOUR Carpenter 2nd class Beldar Sundries, Painting edges & Screws TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL Add Cess @ 1% on "Z"	sqm L.S. day day	o.63 0.91 0.11 0.06	650 2.12 369.00 306.00 2.12	409.50 1.93 40.59 18.36 16.54 486.92 4.87 491.78 69.10 560.88 84.13 645.01 1075.02

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
9.167	Providing and fixing 6mm thick both sides Pre-lami per IS: 15786:2008 of approved brand and shade on the backing of racks, drawer, cupboard, kitchen cas per direction of Engineer-in-charge.	with suital	ne tuli inteac	eu steel se	,, 0 0
	Details of cost for 350x200cm = 7sqm. MATERIAL 6mm thick board = 7.00sqm.+ Add wastage @				
	5% = 0.35 sqm. Total = 7.35 sqm				
NA	6mm thick both sides Pre-laminated cement bonded wood particle board as				
	per IS : 15 786:2008	sqm	7.35	455.6	3348.66
9977	Carriage of particle board	L.S.	13.52	2.12	28.66
9999	Sundries and screws	L.S.	26.91	2.12	57.05
9999	LABOUR				0.00
112	Carpenter 2nd class	day	0.9	369.00	332.10
114	Beldar	day	1	306.00	306.00
,	TOTAL	•			4072.47
	Add 1 % Water charges on "W"				40.72
1	TOTAL				4113.20
	Add GST on "X" (multiplying factor 0.1405)				577 .90
	TOTAL				4691.10
	Add 15% CPOH on "y"				703.67
	TOTAL				5394.77
					770.68
	Add Cess @ 1% on "Z"				
					7.7
	Add Cess @ 1% on "Z"				7.7
9.168	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm	thick one s	Say Rs.	778.40	7.7 ² 778.39 her side
9.168 NA	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say	marine pl pe with hot raulic type) fixing auto	ide decorati y as per IS glue by ed etc. comple	ve and otl 5 710 of a ge bending te as per	7.7 778.39 her side approved machine direction
	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tag etc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11	marine pl pe with hot raulic type) fixing auto sqm	ide decorati y as per IS glue by ed etc. comple	ve and otto 5 710 of a ge bending te as per	7.7° 778.39 her side approved machine
NA	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tap etc. with auto closing spring loaded hinges (hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm	marine pl pe with hot raulic type) fixing auto	ide decorati y as per IS glue by ed etc. comple	ve and otl 5 710 of a ge bending te as per	7.7 778.39 her side approved machine direction
NA 9977	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tap etc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)=	marine pl pe with hot raulic type) fixing auto sqm	ide decorati y as per IS glue by ed etc. comple	ve and otto 5 710 of a ge bending te as per 1745 2.12	7.7- 778.39 her side approved machine direction
NA 9977	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tap etc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)=	marine pl pe with hot raulic type) fixing auto sqm L.S.	cide decorati y as per IS glue by ed etc. comple 2.31 29.64	ve and otto 5 710 of a ge bending te as per	7.74 778.39 her side approved j machine direction 4030.9
NA 9977	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tagetc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and foliating hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)= 6.20 metre	marine pl pe with hot raulic type) fixing auto sqm L.S.	cide decorati y as per IS glue by ed etc. comple 2.31 29.64	ve and otto 5 710 of a ge bending te as per 1745 2.12 21.00	7.7- 778.39 her side approved machine direction 4030.9
NA 9977 2489	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tagetc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and foliating hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)= 6.20 metre LABOUR For fixing shutter and PVC edge bending tape	marine pl pe with hot raulic type) fixing auto sqm L.S.	cide decorati y as per IS glue by ed etc. comple 2.31 29.64 6.2	ve and otto 5 710 of a ge bending te as per 1745 2.12	7.74 778.39 her side approved j machine direction 4030.9
NA 9977 2489	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tap etc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)= 6.20 metre LABOUR For fixing shutter and PVC edge bending tape Carpenter (average)	marine pl pe with hot raulic type) fixing auto sqm L.S. metre	cide decorati y as per IS glue by ed etc. comple 2.31 29.64 6.2	ve and otto from the state of t	7.7- 778.39 her side approved machine direction 4030.9 62.8 130.2
NA 9977 2489	Add Cess @ 1% on "Z" Cost of 7 sqm. Cost of 1 sqm Say Providing and fixing cupboard shutter with 19mm balancing lamination factory pressed BWP grade brand including 2mm thick PVC edge banding tap etc. with auto closing spring loaded hinges {hyd of Engineer-in-charge.(Payment of providing and f closing hinges shall be paid separately) Details of cost for 2.2 sqm MATERIAL 19mm thick prelaminated 2.20sqm. + Add wastage @ 5% ply = 0.11 sqm. Total= 2.31 sqm Carriage of shutter PVC edge bending tape 2 X (2.00+1.10)= 6.20 metre LABOUR For fixing shutter and PVC edge bending tape Carpenter (average) Beldar	marine pl pe with hot raulic type) fixing auto sqm L.S. metre	cide decorati y as per IS glue by ed etc. comple 2.31 29.64 6.2	ve and otto from the state of t	7.7- 778.39 her side approved machine direction 4030.9 62.8

Code No	Description	Unit	Quantity	Rate ₹	Amount ₹
	Add GST on "X" (multiplying factor 0.1405)				637.72 5176.65
	TOTAL				776.50
	Add 15% CPOH on "y" TOTAL				5953.14
	Add Cess @ 1% on "Z"				2705.97
	Cost of 2.2 sqm.				27.06
	Cost of 1 sqm				2733.03
	Say		Say Rs.	2733.00	
9.169	Providing and fixing 19mm thick both side bath marine ply as per IS 710 of approved brand boxe etc. including necessary nails, screws etc. charge.	es, shelves, racl	ks, almirah,	cupboard	and drawer
	Details of cost for 4 nos.				
	75x20cm shelves= 0.60 sqm.				
	MATERIAL				
	19mm thick particle board				
	4x75x20cm = 0.60sqm.				
	Add wastage @ 5% = 0.03sqm. Total= 0.63 sqm				
NA	19mm thick both side balancing lamination factory				
	pressed BWP grade marine ply as per IS 710				
	marine ply do per le 770	sqm	0.63	1650	1039.50
9977	Carriage of board	L.S.	0.91	2.12	1.93
	LABOUR				
0112	Carpenter 2nd class	day	0.11	369.00	40.59
0114	Beldar	day	0.06	306.00	18.36
9999	Sundries, Painting edges & Screws	L.S.	7.8	2.12	16.54
	TOTAL				1116.92 \ 11.17
	Add 1 % Water charges on "W" TOTAL				1128.08
	Add GST on "X" (multiplying factor 0.1405)				158.50
	TOTAL				1286.58
	Add 15% CPOH on "y"				192.99
	TOTAL				1479.57
	Add Cess @ 1% on "Z"				2465,95
	Cost of 0.6 sqm.				24.66
	Cost of 1 sqm		C D-	2400.00	2490.60
	Say		Say Rs.	2490.60	
9.170	Providing and fixing stainless steel fancy hand complete as per direction of Engineer-in-charge.		make fixed	with SS so	crews etc.
9.170.1	200mm				
	Details of cost for 10 nos.				
NA	MATERIAL Stainless steel fancy handle	10 Nos	1	1000	1000 0-
8212	SS screws 30mm	100 Nos	0.4	230.00	1000.00
9977	Carriage of materials	L.S.	2.73	2.12	92.00 5.79
,	LABOUR				5.19
111	Carpenter 1st class	day	0.06	413.00	24.78
	TOTAL				1122.57
	Add 1 % Water charges on "W"				11.23
	TOTAL				1133.79
	Add GST on "X" (multiplying factor 0.1405)				159.30
	TOTAL		-		1293.09
~ •	By 605	/ /			

Code	Description	Unit	Quantity	Rate ₹	Amount ₹
No	Add 15% CPOH on "y"				193.96
	TOTAL				1487.05 Z
	Add Cess @ 1% on "Z"				148.71
	Cost of 10nos				1.49 150.19
	Cost of 1 nos			450.20	150.19
	Say		Say Rs.	150.20	
9.171	Providing and fixing stainless steel soft closing spri of approved make/brand to cupboard shutters w making necessary recess in board and finished etc Engineer-in-charge.	ith full thre	aueu steer s	CICIO III	raulic type) luding
	Details of cost for 10 nos.				
	MATERIAL	10 sets	1	1525	1525.00
NA	Soft closing stainless steel hinges	100 Nos	0.4	230.00	92.00
8212	SS screws 30mm	L.S.	2.73	2.12	5.79
9977	Carriage of materials LABOUR			412.00	24.78
111	Carpenter 1st class	day	0.06	413.00	1647.57 W
	TOTAL				16.48
	Add 1 % Water charges on "W"				1664.04 X
	TOTAL				233.80
;	Add GST on "X" (multiplying factor 0.1405)				1897.84 Y
	TOTAL				284.68
	Add 15% CPOH on "y"				2182.52 Z
	TOTAL Add Cess @ 1% on "Z"				218.25
	Cost of 10 nos				2.18
	Cost of 1 nos				220.43
	Say		Say Rs.	220.40	
9.172 NA	Providing and fixing stainless steel soft closing her approved make 500 mm long with screws etc. complemental control of the stainless of cost for 10 Sets. MATERIAL Stainless steel telescopic drawer channels	avy type tele ete as per d	scopic drawe irections of E	r channels ingineer- ii	of n- charge
	500mm long	set	10	535	5350.00
	CARDIACE	L.S.	19.5	2.12	41.34
9977	CARRIAGE Sundries including screws and fixing charges.	L.S.	100.1	2.12	212.21
9999	TOTAL	2.0.			5603.55 W
	Add 1 % Water charges on "W"				56.04
	TOTAL				5659.59 X
	Add GST on "X" (multiplying factor 0.1405)				795.17
	TOTAL				6454.76 Y
	Add 15% CPOH on "y"				968.21
	TOTAL				7422.97 Z
	Add Cess @ 1% on "Z"				742.30
	Cost of 10 sets				7.42
	Cost of 1set				749.72
	Say		Say Rs.	749.70	
	ex L	- 'Q,	- Om-	0/1	1 3
	7	17	_ •	V h	X

Code No	Description	Unit	Quantity	Rate	Amount
9.173	Providing and fixing readymade 304 grade accessories such as right angle basket (Pla Cutlery) kitchen utensil basket, Dinner basket as per site requirement including finis be fixed with necessary stainless steel nuts & etc. as per direction of Engineer-in-charge, basket shall be considered excluding weigh fasteners telescopic basket channels etc. I shall be paid separately).	in Cup & Saucer, set basket, kitching (wherever req & bolts, Stainless St (For payment purp at of all fixing acces	plant, Partition been grain to be uired) and fitti teel screws & cose only we ssories such	on, Bottle ra pasket, Multip ings. The san telescopic ight of Stain as nuts, bo	d ck, Thali, ourpose me shall channel less steel
	Details of cost for 2kg+ Add wastage @ 5% = 0.10 Total= 2.1 kg				
NA 9999	MATERIAL Stainless steel (Grade-304) basket (rea Stainless steel nuts & SS screws etc LABOUR For fixing	dymade) Kg L.S	2.1 7.5	240 2.12	504.00 15.90
0102 0114	Blacksmith 1st class Beldar TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL Add Cess @ 1% on "Z" Cost of 2 kg Cost of 1kg Say	day day	0.05 0.05 Say Rs.	413.00 ⁴ 306.00 ⁴ 1	0.00 20.65 15.30 555.85 V 5.56 561.41 X 78.83 640.29 Y 96.04 736.33 Z 368.16 3.68 371.85
9.174	Providing and fixing 2mm thick 16 to 19mm for cupboard/wardrobe shutters including no binding machine etc. complete as per direction	ecessary synthetic	resin hot pre		
2489 9977	Details of cost for 10 metre MATERIAL PVC edge binding tape Carriage of materials	metre L.S.	10 2.73	21.00 2.12	210.00
0111 0114	LABOUR Carpenter 1st class Beldar TOTAL Add 1 % Water charges on "W" TOTAL Add GST on "X" (multiplying factor 0.1405) TOTAL Add 15% CPOH on "y" TOTAL Add Cess @ 1% on "Z" Cost of 10 metre Cost of 1metre Say	day day	0.05 0.05 Say Rs.	413.00 306.00 ·	5.79 0.00 20.65 15.30 251.74 2.52 254.25 X 35.72 289.98 y 43.50 333.47 z 33.35 0.33 33.68